
Catheter CATHETER  FOLEY 3 WY 24FR

3401060

0167V24S

06200167V24S 265.05

Catheter CATHETER 5CC 16FR 2WY FOLEY

0021210

0165SI16‐

UROLOGICAL

06200165SI16 114.45

Catheter TAUT INTRODUCER PI‐104 8 FR X 3.5"

3901332

PI‐104 397.50

Catheter CATHETER 5CC 18FR 2WY COUNCIL

3400605

0196SI18

06200196SI18 251.85

Catheter CATHETER 5MX4CM AQ URETERAL BALOON

3987707

AUB‐5‐4 3,009.60

Catheter CATHETER CONE TIP 8FR URETERAL

3401195

138008 169.05

Catheter CATHETER 137504 SPIRAL TIP 4FR

3400049

137504

0620137504 66.15

Catheter CATHETER 20FR FOLEY COUDE 2WY

3411509

0168L20

06200168L20 127.05

Catheter CATHETER 5CC 22FR 2WY FOLEY

0021234

0165SI22‐

UROLOGICAL

06200165SI22 115.20

Catheter CATHETER 30CC 22FR CONCAVE

3400608

1857SI22

06201857SI22 274.20

Catheter CATHETER POLLACK OPEN END FLEXI

3400612

G14521 185.25

Catheter CATH SUPRAPUBIC G14920 RUTNER

3400074

G14920 933.45

Catheter CATHETER 3WY 30CC 24FR HEMA

3400037

2557H24

06202557H24 282.75

Catheter CATHETER 40‐5021 5 FR JACKY RADIAL 100

3801115

40‐5021 526.50

Catheter CATH CHOLANG TAUL 4.5FR 45.7CM 20018‐M55

3811457

20018‐M55 825.00

Catheter CATHETER 5FR 42.5 FILIFORM  ST TIP REUSE

3900999

021805 911.70

Catheter CATHETER 3CC 10FR PEDI FOLEY

0021211

0165SI10‐

UROLOGICAL

06200165SI10 114.45



Catheter CATHETER 30CC 20FR 2WY FOLEY

0021220

0166SI20‐

UROLOGICAL

06200166SI20 118.05

Catheter CATHETER 30CC 22FR 2WY FOLEY

0021235

0166SI22‐

UROLOGICAL

06200166SI22 117.30

Catheter CATHETER 12 FR STRAIGHT VINYL

0021363

421712‐

UROLOGICAL

0620421712 17.00

Catheter CATHETER 16FR  STRAIGHT VINYL

0021362

421716‐

UROLOGICAL

0620421716 17.00

Catheter KIT 8FR FEMALE CATHETER

0021826

CKF105L‐TRISTATE

6415CKF105L

4352CKF105L 57.45

Catheter CATHETER 30CC 20FR 3WY FOLEY

3400599

0167SI20 195.00

Catheter CATHETER 2557H20 3WY 20FR 30CC HEMA

3400039

2557H20

06202557H20

CC 282.75

Catheter CATHETER 6FR FILIFORM WOVEN SPIRAL TIP

3901000

022006 585.75

Catheter CATHETER 021803 FILIFORM STRAIGHT TIP 3F

3400045

021803 911.70

Catheter CATHETER 0167SI16 30CC 16FR/3WY FOLEY

3821309

0167SI16‐

UROLOGICAL

06200167SI16 191.85

Catheter CATHETER 5CC 18FR 2 WY COUDE FOLE

0021349

0168L18‐

UROLOGICAL

06200168L18 127.05

Catheter CATHETER 5CC 12FR 2WY FOLEY

0021212

0165SI12‐

UROLOGICAL

06200165SI12 114.45

Catheter CATHETER 5CC 18FR 2 WY FOLEY

0021229

0165SI18‐

UROLOGICAL

06200165SI18 114.45



Catheter CATHETER 5CC 20FR 2WY FOLEY

0021238

0165SI20‐

UROLOGICAL

06200165SI20 114.45

Catheter CATHETER 30CC 16FR 2WY FOLEY

0021274

0166SI16‐

UROLOGICAL

06200166SI16 117.30

Catheter CATHETER 30CC 18FR 2WY FOLEY

0021317

0166SI18‐

UROLOGICAL

06200166SI18 117.30

Catheter CATHETER 6FR FILIFORM WOVEN ST TIP REUSE

3801050

021806 1,239.30

Catheter CATHETER 12 GA X 3" ANGIOCATH

3400043

382277

0723382277 26.70

Catheter CATHETER D‐10016 DUETTE 5CC 16FR SINGLE

3400078

D‐10016 97.50

Catheter CATHETER D‐10018 DUETTE 5CC 18FR SINGLE

3400079

D‐10018 97.50

Catheter CATHETER 5FR X 70CM OPEN END URETERAL

3800759

21305

021305 183.90

Catheter CATHETER 3WY 30 CC 22FR

3400038

2557H22

06202557H22 280.80

Catheter CATHETER 73016SI 30CC 16 FR 3WY FOLEY

3400044

73016SI

062073016SI 196.20

Catheter CATHETER 30CC 24FR CONCAVE

3400609

1857SI24

06201857SI24 338.70

Catheter CATHETER 30CC 24FR HEMATURIA

3400603

2551H24

06202551H24 295.05

Catheter CATHETER 30CC 22FR HEMATURIA

3400602

2551H22

06202551H22 302.10

Catheter CATHETER  ULTRAXX NEPH BLN

3400633

G30357

UNBS‐10‐15‐CS 3,925.88

Catheter 5FR DUAL LUMEN 3CG PWR PICC SOLO

3800878

1295108FD 3,508.50

Catheter CATHETER LANGSTON 145 DGR PGTL 110CM

3411780

5540 2,349.00



Catheter CATHETER JR 3.5 5 FR

3801316

534‐519T

534519T 133.50

Catheter BALLOON UROMAX 15FR

3801336

M0062251010 3,676.50

Catheter TRAY 16FR SILICONE FOLEY CATHETER

3411782

900116A‐

UROLOGICAL

0620900116A 225.30

Catheter CATHETER 5.5 FR METAL BALL TI‐DISPOSBLE

3800631

ERCP‐1‐HKB

G21868

ERCP‐1‐HKB‐D

G57289 900.00

Catheter CATHETER 8888221320 12FR 20CM MAH ELITE

0031436

8888221320 1,880.10

Catheter CATHETER 150075 PULMONARY WEDGE PRESSURE

3411778

150075 1,020.00

Catheter CATHETER PASSER 8591‐38

3988885

8591‐38 1,470.00

Catheter CATHETER 40‐5011 5 FR TIG RADIAL

3400052

40‐5011 526.50

Catheter CATHETER 40‐6011 6 FR TIG RADIAL 100

3400075

40‐6011 526.50

Catheter CATHETER 8888221316 12FR 16CM MAH ELITE

0031437

8888221316 1,880.10

Catheter CATHETER 7523‐63 5FR 125CM JR 4.0

3899201

7523‐63 135.75

Catheter CATHETER 7513‐53 6FR X 125CM MULTI A2

3899199

7513‐53 135.75

Catheter CATHETER 7521‐63 5FR 125 CM JL 4.0

3899200

7521‐63 135.75

Catheter CATHETER 7509‐53 6FR 125CM BRAIDED PIG

3899198

7509‐53 135.75

Catheter CATHETER 7529‐53 5FR 7.5CM BRAIDED PIG

3899202

7529‐53 135.75

Catheter CATH 5FR RADIAL TIG 4.5 110CM 40‐5014

3899211

40‐5014 263.25

Catheter CATHETER 7501‐63 6FR 125CM JL4.0

3899197

7501‐63 135.75

Catheter CATH 5FR RADIAL TIG 4.0 110CM 40‐5013

3899210

40‐5013 263.25

Catheter CATH 5F JACKY RADIAL 110CM

3899212

40‐5023 263.25



Catheter CATHETER 30CC 14FR 2WY FOLEY

0021265

0166SI14‐

UROLOGICAL

06200166SI14 117.30

Catheter CATHETER 40‐6023 6FR JACKY RADIAL 110CM

3800386

40‐6023 526.50

Catheter CATHETER 40‐6024 6FR SARAH RADIAL 110CM

3800385

40‐6024 526.50

Catheter CATHETER 5FR 42.5CM FILIFORM SPIRAL TIP

3801057

022005

0620022005 704.85

Catheter CATHETER ICY HEPARIN IC‐389

3400076

8700‐0782‐01 11,497.92

Catheter CATHETER 534‐542T 5F MPA2 100CM

3411779

534542T 166.80

Catheter CATHETER 534‐560T 5FR IM

3899190

534‐560T 133.50

Catheter CATHETER CORONARY SINUS BALLOON

3801749

BVCS6180 1,650.00

Catheter CATHETER 534‐570T RCB 100 CM 5 FRENCH

3811702

534570T 133.50

Catheter CATHETER 534‐572T 5 FR LCB 100CM

3811701

534572T 133.50

Catheter CATHETER 5FR JL 4.5

3411787

534517T 166.95

Catheter INTRATHECAL CATHETER 8784

3801635

8784 7,125.00

Catheter CATHETER 20G 1.88"  ANGIOCATH

3901054

381137

0723381137 66.75

Catheter CATHETER  BERMAN SWAN ANGIOGRAPH

3411775

AI‐07137 1,650.00

Catheter CATHETER THERMODILUTION BLN 7FR 110CM

3411794

AI‐07367 1,725.00

Catheter CATHETER INFUSION PORT THERM 7.5FR 110CM

3411795

AI‐07077‐G 2,055.00

Catheter KIT CVC 16CM MULTI‐LUMEN PI FLEXTIP 7F

0092556

CDC‐42703‐XP1A

0455703XP1A

3280703XP1A 1,873.50

Catheter CATHETER ROUND TP 3WAY 20FR WITH RIBS

0092559

2551H20 302.10

Catheter CATHETER ROUND TP 3WAY 22FR WITH RIBS

0092560

2551H22 302.10

Catheter CATHETER 6FR RADIAL TIG 4.0 110CM TERUMO

3899712

40‐6013 527.40



Catheter CP CATHETER 12 FR STRAIGHT VINYL

0021363LUM

421712‐

UROLOGICAL

0620421712 17.00

Catheter CATHETER 5CC 18FR 2 WY COUDE FOLE

3421349

0168L18‐

UROLOGICAL

06200168L18 127.05

Catheter CATHETER THORACIC 14036 36 FR X 20" SILC

0024048

14036 147.75

Catheter CATHETER 9.5FR GROSHONG DUAL LUMEN

5299500

7726954 5,685.75

Catheter CATHETER TRIALYSIS 15CM CURVED

0092579

5865150 4,182.38

Catheter CATHETER TRIALYSIS 20CM CURVED

0092580

5865200 4,182.38

Catheter CATHETER 834F75 7.5 SWAN GANZ VENOUS

0027852

834F75 1,800.00

Catheter CATHETER THORACIC 14032 32 FR X 20" SILC

0023977

14032 147.75

Clip CLIP RANEY SCALP

3901267

FF015P 96.90

Clip CLIP AVM‐910 FILSHIE DO NOT USE

3901335

AVM‐910 2,315.10

Clip CLIP HEMOCLIP SML

3801275

001205 174.75

Clip CLIP DEVICE RESOLUTION 360

3901147

M00521231 3,285.00

Clip CLIP 002204 HEMOCLIP MED

3801272

002204

3280002204 205.05

Clip CLIP  HEMOCLIP LRG

3801273

004204 396.75

Clip CLIP 544240 HEM‐O‐LOK  LARGE (PURPLE)

3500001

544240 530.40

Clip CLIP 544230  HEM‐O‐LOK ML (GREEN)

3500000

544230

3280544230 530.40

Clip CLIP APPLIER 10ML DIRECT DRIVE

3800657

CA090 1,575.00

Clip CLIP DEVICE RESOLUTION 235CM

3801412

M00522610 2,810.10

Clip LIGATOR 6 SHOOTER MULTIBAND EGD

3810359

MBL‐6

G22553 5,842.50



Drain DRAIN BULB ROUND TROCAR 100CC 3/16"

3893449

0073320

06200073320 192.45

Drain DRAIN JP 2560‐000‐10 7MM FLAT FULL PERF

3800218

2560‐000‐10 492.15

Drain CATHETER THORACIC 40FR X 20

3800558

8888572586

358388572586

071588572586 134.85

Drain DRAIN 430‐5116 ROBERTSON SUPRAPUBIC

3400833

430‐5116

07404305116 1,490.85

Drain DRAIN 80450 ABRAMSON TRIPLE SUMP

3801229

0080450 495.60

Drain DRAIN 6660 4MM WIDTH FLAT SIDE HOLE

3900579

6660 602.55

Drain DRAIN JP 2561‐000‐10 10MM FLAT FULL PERF

3901307

2561‐000‐10 492.15

Drain DRAIN HEMOVAC 1/8

0031272

0043610

06200043610 137.70

Drain DRAIN BULB ROUND TROCAR 100CC 1/8"

3893452

0073310

06200073310 192.45

Drain DRAIN BULB FLAT TROCAR 3/4 PERF 20CMX7MM

3893451

0072360

06200072360 261.60

Drain DRAIN 3/16 ROUND 2537‐000‐10

3800219

00‐2537‐000‐10 492.15

Drain DRAIN 1/8" RND MED HEMVAC

3800862

00‐2536‐000‐10 1,147.50

Drain DRAIN JP 2563‐000‐10 10MM FLAT 3/4 PERF

3800861

00‐2563‐000‐10 1,210.50

Drain DRAIN JP 10MM FULLY PERFORATED

3901314

2500‐04‐10 250.65

Drain FILTER REDI FLOW

3981090

631030 1,714.95

Drain KIT PERCUTANEOUS DRAIN CAVITY CATH 14FR

3801091

AK‐01600 2,154.00

Drain BULB MINI HEMOVAC 100ML

3993821

00‐2568‐000‐10 196.50

Drain DRAIN JP CHANNEL ROUND 19FR (BLAKE)

3902729

JP‐2230 198.60

Drain CP DRAIN HEMOVAC 1/8

0031272LUM

0043610

06200043610 137.70



Drain CATHETER THORACIC 14028 28 FR X 20" SILC

0023940

14028 147.75

Dressing PLASTER ROLL 3" X 3YD XTRA FAST DRYING

0186016

7363

4927007363 17.00

Dressing PADDING 2502 4" X 12 STERILE UNDERCAST

0086364

2502

3583002502

0715002502 22.20

Dressing PADDING 4221 4IN X 12FT WEBRIL UNDERCAST

0186365

4221

3583004221

0715004221 209.40

Dressing INTERCEED  ADHESION BARRIER 3 X 4

3800423

4350 4,511.41

Dressing SURGICEL 2" X 3" ABSORBABLE HEMOSTAT

9010951

1953

2300001953 1,023.15

Dressing BANDAGE ESMARK 4" X 9 STERILE LF

3810750

35‐409

603435D409 22.50

Dressing BANDAGE ESMARK STERILE LF 6"X9

3810751

35D609

603435D609 33.75

Dressing PLASTER 7392 5 X 30 XTRA FAST DRYING

0186338

7392

4927007392 17.00

Dressing DRESSING HYPAFIX 4IN X 2YD

3901074

4216

6504004216 80.40

Dressing PADDING 4152 3IN X 12FT WEBRIL UNDERCAST

0186356

4152

3583004152

0715004152 167.70

Dressing DRESSING1974 SURGIFOAM ABS GELATIN

0031490

1974

2300001974 556.95

Dressing FEMSTOP COMPRESSION SYSTEM

3900735

11165

C11165 1,350.00

Dressing BANDAGE 6286 TRIANGULAR 40 X 40 X 56 CLO

0020506

6286

KC6286 21.00

Dressing DRESSING 433605 5 X 9 XEROFORM PETROLEUM

0019982

84433605

358384433605

071584433605 17.00



Dressing DRESSING NETBND03 #3 MED HAND/ARM/LEG

0190449

NETBND03

1314NETBND03 89.40

Dressing DRESSING MEPITEL ONE 4"X7.2" LATEX FREE

3800156

291099

0158291099 130.20

Dressing PAD CEYP22S STERILE OVAL EYE

0191028

2841

3583002841

0715002841

C‐EYP22S

0707CEYP22S 17.00

Dressing DRESSING VASELINE 1/2"X72"

0020131

8884421600

358384421600

071584421600 22.20

Dressing DRESSING PETROLEUM GAUZE 1X8"

0020140

CUR251180

4352UR251180

CUR251180Z 17.00

Dressing BANDAGE 2084S COBAN 4 X 5 STERILE WRAP

0031446

2084S

450902084S 34.80

Dressing DRESSING BIOPATCH ANTIMICROBIAL 1"

0019797

4150

2300004150 102.60

Dressing ABRA ABDM WOUND CLOSURE

3000002

CWK08 51,792.00

Dressing STOCKINETTE NON22430 8" X 48" STRL 2 PLY

0030059

NON22430 57.45

Dressing BANDAGE 3" ELASTIC VELCRO LATEX FR

0019937

513LF

20470513LF 17.00

Dressing STOCKINETTE STK4044 4" X 4 STERILE BIAS

0030078

STK4044‐ALBA 

HEALTH

1314STK4044 43.65

Dressing STOCKINETTE 22660 6" X 12FT BIAS ROLL

0024262

NON22660 44.55

Dressing DRESSING 4" X 4" 12‐PLY STRL GAUZE

0190830

C5139

20470C5139 17.00

Dressing DRESSING SPANDAGE #4 LRG HAND/ARM/FOOT

3989591

MT04

435000MT04 69.30



Dressing DRESSING TEGADERM 2‐3/8X2 3/4

0019786

1624W

450901624W 17.00

Dressing DRESSING TELFA STRL NON‐ADH  3X4

0019966

134

2047000134 17.00

Dressing DRESSING STERILE TELFA NON ADHESIVE 8X3

0019967

1238

3583001238

0715001238 17.00

Dressing DRESSING NETBND08 #8 MED CHEST/BACK

0190476

NETBND08‐MEDI‐

TECH

1314NETBND08 218.55

Dressing DRESSING 4 X 4 16 PLY STRL GAUZE

0019722

416‐10

2047041610 17.00

Dressing DRESSING 6 X 6 STERILE KERLIX 10/TR

0019740

7310

3583007310

0715007310 17.00

Dressing DRESSING ABD STERILE 8X10

0020444

5810

2047005810 17.00

Dressing DRESSING MEPILEX BORDER 4"X4"

0019741

295300

0158295300 47.10

Dressing BANDAGE 2" ELASTIC VELCRO LATEX FR

0019928

512LF

20470512LF 17.00

Dressing BANDAGE 4" ELASTIC VELCRO LATEX FR

0019946

514LF

20470514LF 17.00

Dressing DRESSING TEGADERM 4X4.75"

0019795

1626W

450901626W 17.00

Dressing DRESSING NETBND04 #4 LRG HAND/ARM/FOOT

0190458

NETBND04

1314NETBND04 100.20

Dressing DRESSING NETBND07 #7 SML CHEST/BACK

0190485

NETBND07‐MEDI‐

TECH

1314NETBND07 181.50

Dressing DRESSING 1628 6 X 8 TEGADERM TRANSPARENT

9100912

1628

4509001628 20.10



Dressing DRESSING VASELINE GAUZE 6X36"

0020168

8884416600

358384416600

071584416600 23.25

Dressing BANDAGE STERILE KERLIX ROLL 4X4

0020033

645

2047000645 17.00

Dressing DRESSING C5119 2 X 2 8 PLY STERILE GAUZE

0190831

C5119

20470C5119 17.00

Dressing STOCKINETTE NON22640 4" X 12FT BIAS ROLL

0024253

NON22640 37.80

Dressing DRESSING NETBND11 # 11 XX‐LRG CHEST/BACK

3900785

NETBND11

1314NETBND11 320.40

Dressing DRESSING NETBND09 #9 LRG CHEST/BACK

3901061

NETBND09

1314NETBND09 248.85

Dressing DRESSING MEPITEL ONE 4"X7.2"

0019826

289500

0158289500 136.35

Dressing DRESSING MESALT RIBBON 3/4"X39"

0019827

285299

0158285299

285280

0158285280 29.40

Dressing TAPE 82004 SCOTCHCAST 4 X 4 WHITE CAST

3800259

82004

4509082004 49.50

Dressing DRESSING 4X4 SILVR CALCM ALGINATE

0019832

529968

3158529968 123.00

Dressing STOCKINETTE IMPERV 12" X 48 STR

3901333

NON22535 63.45

Dressing BANDAGE 6" ELASTIC VELCRO LATEX

0019955

REB3016‐KERMA 

MEDICAL

1314REB3016 21.60

Dressing STOCKINETTE 7764 6" X 48 STRL TUBULAR

0030077

7764

0153007764 41.55

Dressing CONTACT DRESSING ADAPTIC 3"X3"

0020113

6112

3583006112

0715006112 17.00



Dressing DRESSING NETBND06 #6 LRG HEAD/SHOULDER

0190467

NETBND06‐MEDI‐

TECH

1314NETBND06 121.50

Dressing DRESSING 4X4 STERILE TRACH GAUZE

0021728

6242P

358306242P

071506242P 17.00

Dressing DRESSING MEPILEX BORDER 6"X6"

0019783

295400A

0158295400 79.95

Dressing STOCKINETTE 22630 3" X 12FT BIAS ROLL ST

0024244

NON22630 31.65

Dressing DRESSING 433301 1 X 8 XEROFORM STERILE

0019973

8884433301

358384433301

CUR253180

071584433301 17.00

Dressing CONTACT DRESSING ADAPTIC 3"X8"

0020122

6113

3583006113

0715006113 17.00

Dressing DRESSING 31644 4.33"X 4.33" NON‐ADHESIVE

3810970

31644 131.85

Dressing CTP APLIGRAF BI‐LAYERED 44CM

3810984

APLIGRAF‐COM 17,806.25

Dressing STOCKINETTE 2PLY 4X3 STRL TUBULAR 7743

3989702

7743

0153007743 30.30

Dressing PLASTER 7367 ROLL 4 X 5 XTRA FAST DRYING

0186025

7367

4927007367 19.35

Dressing PAD  EPI FOAM 7.75 X 11.5 X .5"

5200237

EPF‐3

929356 285.00

Dressing BANDAGE CBN1002 COBAN 2" X 5 YDS N‐STRL

0031447

CBN1002‐AVCOR 

HEALTHCARE

1314CBN1002 17.00

Dressing DRESSING 58201 1" #12 TUBEGAUZ

0190412

58201

4304058201 17.00

Dressing KIT MED GRANUFOAM DRESS WND/VAC

0019811

M8275052

M8275052‐5

M8275052‐10 671.55



Dressing KIT M8275099 LRG SILVER GRANUFOAM DRESS

0019820

M8275099

M8275099/10 1,022.40

Dressing CLOSURE 1/4 X 3 STERI STRIP R1546 SKIN

0020676

R1541

45090R1541 17.00

Dressing KIT LRG GRANUFOAM DRESS WND/VAC

0019812

M8275053

M8275053/10 736.65

Dressing DRESSING 282000 MEPILEX SACRUM 7.2"X7.2

0019830

282000

0158282000 487.80

Dressing DRESSING MEPILEX LITE 6" X 6"

3800371

284390

0158284390

284390A 76.35

Dressing VAC SMALL SILVER GRANUFOAM DRESSING

0019818

M8275098

M8275098/10 673.95

Dressing DRESSING ABDOMINAL CURITY 5X9

0020443

7196D

358307196D

071507196D 17.00

Dressing DRESSING 2 X 3 STERILE NON‐ADHERENT

0019965

NON25700

4352NON25700 60.90

Dressing DRESSING VASELINE 3X9

0020159

84423600

358384423600

071584423600 17.00

Dressing VAC MEDIUM SILVER GRANUFOAM DRESSING

0019819

M8275096

M8275096/10 1,857.60

Dressing DRESSING MEPILEX FOAM 4"X4"

0019781

294199

0158294199 49.50

Dressing DRESSING MEPILEX LITE 4"X4"

0019778

284190

0158284190 38.85

Dressing KIT SML GRANUFOAM DRESS WND/VAC

0019810

M8275051

M8275051/10 532.50

Dressing DRESSING MEPILEX AG FOAM 4"X4"

0019807

287100

0158287100 116.25



Dressing DRESSING MEPILEX SACRUM 6.3"X7.9"

0019984

282055

0158282055 102.15

Dressing PLASTER 7362 2" X 3YD XTRA FAST DRYING

0186007

7362

4927007362 17.00

Dressing DRESSING 90307 TEGADERM AG SILVER 1"X12

5200234

90307

4509090307 106.80

Dressing DRESSING TEGADERM AG SILVER 4X5

5200233

90303

4509090303 131.10

Dressing DRESSING TEGADERM 1‐3/4

0019792

1622W

450901622W 17.00

Dressing SPANDAGE #8 CHEST/BACK

3982206

435000MT08 150.90

Dressing BANDAGE TRIANGULAR 40 X 40 X 56 CLO

6920506

6286

KC6286 21.00

Dressing STOCKINETTE STK4044 4" X 4 STERILE BIAS

3830078

STK4044‐ALBA 

HEALTH

1314STK4044 43.65

Dressing PLASTER 7390 3 X 15 XTRA FAST DRYING

0186310

7390

4927007390 17.00

Dressing PLASTER 7391 4 X 15 XTRA FAST DRYING

0186329

7391

4927007391 17.00

Dressing PICO DRESSING KIT 10X20CM 66022012

3902796

66800951

650466800951

66022012

650466022012 3,505.50

Dressing PICO DRESSING KIT 10X30CM 66022013

3902797

66800952

650466800952

66022003

650466022003

66022013

650466022013 3,505.50

Dressing PICO 10X40CM STERILE

3902798

66800953

650466800953 3,444.00

Dressing VAC DRESSING WHITE FOAM LRG

0019815

M6275034 180.15



Dressing PICO DRESSING ONLY 10X20CM

3902075

66022022

650466022022 2,011.05

Dressing PICO DRESSING ONLY 10X30CM

3902076

66022023

650466022023 2,011.05

Dressing ANTIMICROBIAL DRESSUBG 2X5" CONTACT LYR

3903212

ABS‐4025 240.00

Dressing CP DRESSING TELFA STRL NON‐ADH  3X4

0019966LUM

134

2047000134 17.00

Dressing CP BANDAGE 3" ELASTIC VELCRO LATEX FR

0019937LUM

513LF

20470513LF 17.00

Dressing CP DRESSING 4 X 4 16 PLY STRL GAUZE

0019722LUM

416‐10

2047041610 17.00

Dressing CP BANDAGE 4" ELASTIC VELCRO LATEX FR

0019946LUM

514LF

20470514LF 17.00

Dressing CP DRESSING TEGADERM 4X4.75"

0019795LUM

1626W

450901626W 17.00

Dressing CP DRESSING TEGADERM 2‐3/8X2 3/4

0019786LUM

1624W

450901624W 17.00

Dressing CP BANDAGE STERILE KERLIX ROLL 4X4

0020033LUM

645

2047000645 17.00

Dressing CP DRESSING STERI TELFA NON ADHESIVE 8X3

0019967LUM

1238

0715001238 17.00

Dressing CP DRESSING 433301 1 X 8 XEROFORM STERIL

0019973LUM

8884433301

071584433301 17.00

Dressing CP CONTACT DRESSING ADAPTIC 3"X3"

0020113LUM

6112

0715006112 17.00

Dressing CP DRESSING ABD STERILE 8X10

0020444LUM

5810

2047005810 17.00

Dressing CP BANDAGE 2" ELASTIC VELCRO LATEX FR

0019928LUM

512LF

20470512LF 17.00



Dressing CP BANDAGE 6" ELASTIC VELCRO LATEX

0019955LUM

REB3016‐KERMA 

MEDICAL

1314REB3016 21.45

Dressing CP DRESSING 6 X 6 STERILE KERLIX 10/TR

0019740LUM

7310

0715007310 17.00

Dressing CP CONTACT DRESSING ADAPTIC 3"X8"

0020122LUM

6113

0715006113 17.00

Dressing CP BANDAGE CBN1002 COBAN 2" X 5 YDS N‐ST

0031447LUM

CBN‐1002‐AVCOR 

HEALTHCARE

1314CBN1002 17.00

Dressing CP DRESSING 4" X 4" 12‐PLY STRL GAUZE

0190830LUM

C5139

20470C5139 17.00

Dressing CP BANDAGE 2084S COBAN 4 X 5 STERIL WRAP

0031446LUM

2084S

450902084S 34.80

Dressing CP PADDING 2502 4" X 12 STER UNDERCAST

0086364LUM

2502

0715002502 21.30

Dressing ABTHERA DRESSING KIT WITH SENSA TRAC

3904780

M8275026/5.S 32,292.00

Dressing DRESSING OPSITE PLUS 4‐3/4X4

3817825

66000710

650466000710 17.00

Dressing PADDING 4519 6IN X 12FT WEBRIL UNDERCAST

0186374

4519

3583004519

0715004519 158.55

Dressing PLASTER 7368 ROLL 6 X 5 XTRA FAST DRYING

0186034

7368

4927007368 26.85

Dressing PLASTER 7396 5 X 45 SPLINT FAST DRYING

0186347

7396

4927007396 17.00

Dressing TAPE 82003 SCOTCHCAST 3 X 4 WHITE CAST

3800255

82003

4509082003 36.45

Implant SCREW IM SML INTERLOCK 3.7X55MM

3900950‐C

00‐2253‐055‐37 2,520.00

Implant SCREW IM SML INTERLOCK 3.7MMX90MM

3900957‐C

00‐2253‐090‐37 2,520.00



Implant K‐WIRE STYLE 7 .035 (0186‐001‐79)

3200810

186‐01‐79

00‐0186‐001‐79 102.00

Implant GUIDE PIN  3.2MM THREADED (DHS)

3800532‐C

1181‐20 405.00

Implant SCREW 1/2 THD CANNULATED 4.0X12MM

3201506‐C

00‐1147‐012‐41 2,574.00

Implant STENT 8.5 FR X 7 CM ADVANIX

3800745

M00534630 2,616.30

Implant SCREW WASHERLOC 4.5X42MM CORTICAL

3900980‐C

908642 1,890.00

Implant SCREW WASHERLOC 54MM

3900986‐C

908654 1,950.00

Implant SCREW BONE MULCH 10.5MM X 40MM

3900991‐C

907340 5,785.50

Implant CANCELLOUS 1‐4MM 30CC LYO

3900966‐C

00500701 6,925.50

Implant CANCELLOUS 4‐10MM 30CC

3900968‐C

00600718 6,925.50

Implant ANCHOR MITEK GII 210493

3800017

210493 6,498.00

Implant STAPLE 128696 RICHARDS LRG REG

3500935‐C

12‐8696 1,229.85

Implant STAPLE 128724 RICHARDS MED SHORT

3500937‐C

12‐8724 1,229.85

Implant SCREW 1/2 THREAD CANNULATED 4.0X30MM

3201515‐C

00‐1147‐030‐41 2,574.00

Implant NAIL LONG 2.0 011 X 340MM X 1

3600690‐C

3225‐0340S 30,618.00

Implant NAIL LONG 2.0 11 X 320MM X 13

3600698‐C

3230‐0320S 30,618.00

Implant NAIL LONG 2.0 11 X 280MM X 12

3600705‐C

3325‐0280S 27,716.58

Implant NAIL KIT TROCHANTERIC 011 X 180MM X125

3600730‐C

3125‐1180S 21,425.55

Implant NAIL KIT TROCHANTERIC 011 X 180MM X130

3600731‐C

3130‐1180S 21,243.75

Implant SCREW 3060‐0130S LAG 10.5 X 130MM

3600745‐C

3060‐0130S 8,240.40

Implant SCREW 3.5 CANN PART THD 16MM 205‐016

3200004‐C

205‐016 3,052.80

Implant SCREW 3.5 CANN PT 36MM 205‐036

3200020‐C

205‐036 2,805.00

Implant SCREW 42MM CANN PT 205.042

3200023‐C

205.042 3,124.80

Implant SCREW  4.5MM CANN PT 26MM 215‐426

3200057‐C

215‐426 2,070.00



Implant SCREW 1/2 THREAD CANNULATED 4.0X34MM

3201517‐C

00‐1147‐034‐41 2,574.00

Implant SCREW 4.5MM CANN PT 38MM 215.438

3200063‐C

215‐438 2,070.00

Implant SCREW 4.5 X 44MM CANN PT 214.544

3200065‐C

214.544 2,820.00

Implant SCREW 4.5 X 72MM CANN PT 214.572

3200072‐C

214.572 2,070.00

Implant SCREW 4.5 X 22MM CANN FT 214.722

3200074‐C

214.722 2,385.00

Implant WASHER 10MM FOR 4.5 CANNULATED SCREW

3200095‐C

219‐91 410.40

Implant SCREW 4.5 X 54MM CANN PT 214.554

3200814‐C

214.554 3,096.00

Implant PLATE 245.20 RECONST 2.7MM 6 HOLE

3600570

245‐20 3,030.00

Implant STEINMAN PIN XFIX 5.0 X 150MM

3610894

293‐50 345.00

Implant PLATE 223.561 3.5MM LCP 6 HOLE

3800466‐C

223.561 5,690.88

Implant PLATE 241.951 3.5MM LCP T 74MM OBLIQUE L

3800486‐C

241.951 3,790.50

Implant SCREW 4.0 X 75MM 1/2 THD CANNULATED

3201530‐C

00‐1147‐075‐41 2,574.00

Implant SCREW 3.5 X 16MM LOCKING 212.104

3800495‐C

212.104 3,000.00

Implant SCREW 3.5 X 38MM LOCKING 212.116

3800506‐C

212.116 2,678.40

Implant PLATE T MAXILLOFACIAL 5 X 5 HOLE

3900657‐C

420.70 2,235.00

Implant PLATE Y MAXILLOFACIAL 2 X 5 HOLE

3900659‐C

420.62 2,265.00

Implant PLATE L MAXILLOFACIAL 3 X 4 HOLE

3900700‐C

447.53 2,295.00

Implant PLATE MAXILLOFACIAL ORBITAL RIM 1

3900714‐C

447.22 3,720.00

Implant SCREW 2.0MM MAXILLOFACIAL 6MM

3900578‐C

401.156 892.50

Implant SCREW 1.0MM MAXILLOFACIAL 5MM

3900663‐C

400.505 975.00

Implant SCREW 1.0MM MAXILLOFACIAL 8MM

3900667‐C

400.508 975.00

Implant SCREW 1.2MM MAXILLOFACIAL 5MM

3900670‐C

400.605 870.00

Implant SCREW 4.0 X 90MM 1/2 THD CANNULATED

3201533‐C

00‐1147‐090‐41 2,574.00



Implant SCREW 1.2MM MAXILLOFACIAL 6MM

3900671‐C

400.606 870.00

Implant SCREW 602695S CANNULATED 6.5 X 95MM TL20

3211857‐C

602695S

602695 5,720.66

Implant SCREW 602710S CANNULATED 6.5 X 110MM TL2

3211860‐C

602710S 5,386.50

Implant SCREW 602885S CANNULATED 6.5 X 85MM TL40

3211872‐C

602885S 5,386.50

Implant SCREW 611110S CANNULATED 8.0 X 110MM TL2

3211896‐C

611110S 2,895.00

Implant SCREW 2.0MM DIA. 22MM LENGTH

3200832‐C

F20‐22T‐09 2,280.00

Implant SCREW 3.0MM DIA. 22MM L

3200841‐C

F30‐22T‐11 3,075.00

Implant SCREW 3.0MM DIA. 36MM L

3200848‐C

F30‐36T‐11 3,090.00

Implant SCREW  4.0MM DIA. 36MM L

3200859‐C

F40‐36T‐11 2,580.00

Implant SCREW 4.0MM DIA. 60MM L

3200865‐C

F40‐60T‐11 2,730.00

Implant SCREW 1/3 THREAD CANNULATED 4.0X22MM

3201548‐C

00‐1147‐022‐40 2,574.00

Implant K‐WIRE 1.1MM X 100MM

3200867‐C

K100‐11S 375.00

Implant STEINMAN PIN STYLE 6 4.8X229MM

3600943

00‐0262‐001‐04 246.00

Implant STEINMAN PIN THREAD STYLE 6 4.0X229MM

3600944

00‐0262‐002‐04 232.05

Implant STEINMAN PIN THREAD STYLE 6  3.2X229MM

3600946

00‐0262‐004‐04 190.05

Implant CERCLAGE CABLE 1.8X910MM 00‐2232‐002‐28

3200042‐C

00‐2232‐002‐28 5,651.55

Implant PLATE CABLE‐READY BONE 6H‐6BND 187MM

3200046‐C

00‐2232‐003‐01 9,004.80

Implant SCREW CORTICAL ST SML HEX 3.5X95MM

3200101‐C

00‐4835‐095‐01 333.00

Implant SCREW CORTICAL ST SML HEX 3.5X80MM

3200104‐C

00‐4835‐080‐01 333.00

Implant SCREW CORTICAL ST SML HEX 3.5X70MM

3200106‐C

00‐4835‐070‐01 333.00

Implant SCREW LAG STANDARD THREAD 12.7DX95MM

3200263‐C

00‐1193‐010‐40 4,001.40

Implant SCREW 1/3 THREAD CANNULATED 4.0X42MM

3201558‐C

00‐1147‐042‐40 2,574.00

Implant SCREW LAG STANDARD THREAD 12.7DX115MM

3200268‐C

00‐1193‐010‐50 3,687.19



Implant SCREW LAG STANDARD THREAD 12.7DX125MM

3200270‐C

00‐1193‐010‐55 3,060.00

Implant SCREW LAG STANDARD THREAD 12.7DX130MM

3200271‐C

00‐1193‐010‐57 3,060.00

Implant SCREW CORTICAL S/T SML HEX 2.7X26MM

3200301‐C

00‐4827‐026‐01 288.00

Implant PLATE COMPRESSION 2.7 X 60MM 7H 2.5M THK

3200313‐C

00‐4927‐007‐00 2,115.00

Implant SCREW CORTICAL MINI CURCIFORM 1.5X10MM

3200331‐C

00‐4815‐010‐02 252.00

Implant SCREW CORTICAL MINI CRUCIFORM 2.0X24MM

3200341‐C

00‐4820‐024‐02 270.00

Implant SCREW CORTICAL MINI CRUCIFORM  2.0X6MM

3200355‐C

00‐4820‐006‐02 270.00

Implant SHELL MULTI POLAR 55MM 5001‐55

3200373‐C

5001‐55 5,714.25

Implant SCREW CORTICAL ST SM HEX 3.5X20MM

3200379‐C

00‐4835‐020‐01 333.00

Implant SCREW 1/3 THREAD CANNULATED 4.0X48MM

3201561‐C

00‐1147‐048‐40 2,574.00

Implant SCREW CORTICAL ST SML HEX 3.5X36MM

3200384‐C

00‐4835‐036‐01 333.00

Implant SCREW 4.0X14MM CANC SML HEX FULL THD

3200391‐C

00‐4840‐014‐00 270.00

Implant SCREW 4.0X36MM CANC SM HEX FULL THD

3200400‐C

00‐4840‐036‐00 270.00

Implant SCREW 4.0X18MM CANC SM HEX PART THD 7MM

3200415‐C

00‐4840‐018‐01 270.00

Implant SHELL MULTI POLAR 58MM 5001‐58

3200421‐C

5001‐58 5,714.25

Implant FEM HEAD 53MM HIP 00‐7818‐53‐00

3200448‐C

7818‐53

00‐7818‐053

00‐7818‐053‐00 7,125.00

Implant NAIL IM M/DN FEMORAL  9MM DIA X 28CM

3200454‐C

00‐2252‐280‐09 13,549.20

Implant SCREW LF 4.5 MALLEOLAR 30MM

3200494‐C

4845‐30‐08 325.50

Implant SCREW LF 4.5 MALLEOLAR 35MM

3200495‐C

4845‐35‐08 325.50

Implant SCREW LF 4.5 MALLEOLAR 40MM

3200496‐C

4845‐40‐08 325.50

Implant SCREW 1/3 THREAD CANNULATED 4.0X100M

3201572‐C

00‐1147‐100‐40 2,574.00

Implant SCREW LF 4.5 MALLEOLAR 50MM

3200498‐C

4845‐50‐08 325.50



Implant SCREW 6.5 X 45MM CANC LG HEX 16MM THD

3200507‐C

00‐4865‐045‐01 468.00

Implant SCREW 6.5 X 70MM CANC  LG HEX 16MM THD

3200512‐C

00‐4865‐070‐01 468.00

Implant SCREW 6.5 X 60MM CANC LG HEX 32MM THD

3200524‐C

00‐4865‐060‐02 468.00

Implant SCREW 6.5 X 75MM CANC LG HEX 32MM THD

3200526‐C

00‐4865‐075‐02 468.00

Implant SCREW BASIC FRAG 4.5 CORTICAL

3200540‐C

4845‐26‐01 288.00

Implant SCREW LF 4.5 CORTICAL 54MM

3200553‐C

4845‐54‐01 288.00

Implant SCREW 4.5 CORTICAL 60MM

3200556‐C

4845‐60‐01 199.20

Implant WASHER MINI 1.5,2.0MM SCREWS 4.5MM OD

3200575‐C

00‐4900‐020‐51 441.00

Implant SCREW CANC LG HEX FULL THREAD 6.5X30MM

3201177‐C

00‐4865‐030‐00 468.00

Implant SCREW UNIV LOCK 2.7X8MM

3201579‐C

00‐4828‐008‐02 1,476.00

Implant SCREW BONE MULCH10.5MMX20MM 907320

3001501‐C

907320 6,042.00

Implant SCREW LOCK LNG PERI 3.5X22MM

3201405‐C

00‐2359‐022‐35 1,422.00

Implant SCREW LOCK LNG PERI 3.5X46MM

3201417‐C

00‐2359‐046‐35 1,422.00

Implant SCREW LOCK LNG PERI 3.5X58MM

3201423‐C

00‐2359‐058‐35 1,422.00

Implant SCREW FULL THREAD CANNULATED 3.5X16MM

3201434‐C

00‐1147‐016‐36 2,484.00

Implant SCREW FULL THREAD CANNULATED 3.5X100M

3201461‐C

00‐1147‐100‐36 2,484.00

Implant SCREW FULL THREAD CANNULATED 3.5X110MM

3201463‐C

00‐1147‐110‐36 2,484.00

Implant SCREW PART THREAD CANNULATED 3.5X20MM

3201473‐C

00‐1147‐020‐35 2,484.00

Implant SCREW PART THREAD CANNULATED 3.5X50MM

3201488‐C

00‐1147‐050‐35 2,484.00

Implant SCREW PART THREAD CANNULATED 3.5X90MM

3201496‐C

00‐1147‐090‐35 2,484.00

Implant SCREW 4.0 X 70MM 1/2 THD CANNULATED

3201529‐C

00‐1147‐070‐41 2,574.00

Implant SCREW UNIV LOCK 2.7X38MM

3201594‐C

00‐4828‐038‐02 1,476.00

Implant SCREW 1/2 THREAD CANNULATED 4.0X105MM

3201536‐C

00‐1147‐105‐41 2,574.00



Implant SCREW 4.0 X 85MM 1/3 THD CANNULATED

3201569‐C

00‐1147‐085‐40 2,574.00

Implant SCREW 1/3 THD CANNULATED 4.0X115M

3201575‐C

00‐1147‐115‐40 2,574.00

Implant SCREW UNIV LOCK 2.7X18MM

3201584‐C

00‐4828‐018‐02 1,476.00

Implant SCREW UNIV LOCK 2.7X40MM

3201595‐C

00‐4828‐040‐02 1,476.00

Implant SCREW LOCK STERILE 2.7X12MM

3201605‐C

47‐4828‐012‐02 1,476.00

Implant SCREW LOCK STERILE 2.7X20MM

3201609‐C

47‐4828‐020‐02 1,476.00

Implant SCREW LOCK STERILE 2.7X36MM

3201617‐C

47‐4828‐036‐02 1,476.00

Implant SCREW LOCK STERILE 2.7X42MM

3201620‐C

47‐4828‐042‐02 1,476.00

Implant SCREW LOCK 3.5X30MM

3201632‐C

00‐2369‐030‐35 1,296.00

Implant SCREW UNIV LOCK 2.7X46MM

3201598‐C

00‐4828‐046‐02 1,476.00

Implant SCREW TI LOCK 3.5X28MM

3201646‐C

47‐2369‐028‐35 1,320.00

Implant PLATE 135D X 10 HOLE VERSA‐FXII STD TUBE

3600278‐C

00‐1193‐135‐10 7,297.50

Implant PLATE STRAIGHT 2.0 X 17MM 3 HOLE

3600362‐C

00‐4920‐003‐02 738.00

Implant PLATE 1/3 TUBULAR W/COLLAR 7H 85MM

3600432‐C

00‐4935‐007‐03 882.00

Implant PLATE COMPRESSION 3.5 X 121MM 10 HOLE

3600441‐C

00‐4935‐010‐00 1,890.00

Implant PLATE COMPRESSION 3.5 X 97MM 8 HOLE

3600444‐C

00‐4935‐008‐00 1,836.00

Implant PLATE 4.5 X 295MM COMPRESSION  BROAD 18H

3600455‐C

00‐4945‐018‐01 3,735.00

Implant PLATE CLOVERLEAF 3.5 X 104MM  4 HOLE

3600480‐C

00‐4935‐004‐16 3,420.00

Implant PLATE T 4.5 X 68MM 3 HOLE

3600483‐C

00‐4945‐003‐04 2,295.00

Implant NAIL IM M/DN FEMORAL 14MM DIA X 42CM

3600681‐C

00‐2252‐420‐14 13,549.20

Implant SCREW LOCK STERILE 2.7X8MM

3201603‐C

47‐4828‐008‐02 1,476.00

Implant PLATE 1/3 TUBULAR W/ COLLAR 8H 97MM

3600982‐C

00‐4935‐008‐03 945.00

Implant PLATE 3.5 X 79MM ULS DUAL COMP 6H STRL

3601111‐C

47‐4936‐006‐07 3,915.90



Implant PLATE 3.5 X 73MM UNIV LOCK 3H OBLQ

3601120‐C

00‐4936‐035‐04 4,161.00

Implant PLATE 3.5 X 51MM UNIV LOCK 3H RT OBLQ

3601123‐C

00‐4936‐033‐06 4,161.00

Implant PLATE 2.7X82MM 7H1/4 TUB 00‐4928‐007‐03

3601150‐C

00‐4928‐007‐03 2,088.00

Implant PLATE 2.7 X 36MM ULS 1/4 TUBULAR 3H

3601152‐C

47‐4928‐003‐03 2,088.00

Implant PLATE 2.7X93MM ULS 1/4 TUBULAR 8H STRL

3601157‐C

47‐4928‐008‐03 2,421.00

Implant PLATE 2.7 X 107MM ULS DUAL COMP 9H STRL

3601173‐C

47‐4928‐009‐07 4,275.00

Implant PLATE 2.7X141MM ULS DUAL COMP 12H STRL

3601175‐C

47‐4928‐012‐07 4,856.40

Implant PLATE 2.7 X 81MM ULS REC 10H

3601179‐C

00‐4928‐010‐13 5,001.75

Implant SCREW LOCK STERILE 2.7X18MM

3201608‐C

47‐4828‐018‐02 1,476.00

Implant PLATE L 2.7X42MM ULS 3H SHAFT OBL RIGHT

3601207‐C

47‐4928‐010‐02 4,403.25

Implant PLATE L 2.7X65MM ULS 5H SHAFT OBL LEFT

3601210‐C

47‐4928‐019‐02 4,591.35

Implant PLATE 3.5 X 66MM UL R/STR 5H

3601223‐C

00‐4936‐005‐13 5,130.00

Implant PLATE 3.5 X 53MM ULS RECON STRT 4H STRL

3601232‐C

47‐4936‐004‐13 5,172.75

Implant PLATE 3.5 X 79MM ULS RECON STRT 6H STRL

3601234‐C

47‐4936‐006‐13 5,942.25

Implant NAIL IM M/DN TIBIAL 10MM DIA X 32CM

3610396‐C

00‐2253‐320‐10 13,910.40

Implant NAIL IM M/DN TIBIAL 11MM DIA X 34CM

3610398‐C

00‐2253‐340‐11 13,910.40

Implant PLATE T 3.5 X 52MM OBLQ 3H HEAD 3H SHAFT

3610707

00‐4935‐033‐05 2,340.00

Implant NAIL IM M/DN FEMORAL 12MM DIA X 40CM

3611390‐C

00‐2252‐400‐12 13,549.20

Implant NAIL IM M/DN FEMORAL 11MM DIA X 32CM

3611395‐C

00‐2252‐320‐11 13,549.20

Implant SCREW LOCK STERILE 2.7X30MM

3201614‐C

47‐4828‐030‐02 1,476.00

Implant PLATE 3.5 X 60MM CALCANEAL SMALL

3611723‐C

00‐4935‐060‐17 5,215.50

Implant PLATE 130D X 5 HOLE VERSA‐FXII STD TUBE

3800280‐C

00‐1193‐130‐05 5,963.63

Implant SCREW LAG LARGE THREAD 15.8DX80MM

3800539‐C

00‐1193‐015‐32 4,360.50



Implant SCREW LAG 15.8D X 85MM LARGE THD

3800540‐C

00‐1193‐015‐35 4,360.50

Implant SCREW LAG 15.8D X 90MM LARGE THD

3800541‐C

00‐1193‐015‐37 4,061.25

Implant SCREW LAG LARGE THREAD 15.8DX110MM

3800545‐C

00‐1193‐015‐47 4,360.50

Implant SCREW CORTICAL ST SML HEX 3.5X38MM

3800557‐C

00‐4835‐038‐01 333.00

Implant PLATE 145D X 4 HOLE VERSA‐FXII SHT TUBE

3900634‐C

00‐1193‐145‐94 5,664.38

Implant HEAD 7818‐42 42MM HIP

3900742‐C

7818‐42

00‐7818‐042 7,125.00

Implant HEAD 7818‐50 50MM HIP

3900744‐C

7818‐50

00‐7818‐050 7,125.00

Implant SCREW LOCK STERILE 2.7X46MM

3201622‐C

47‐4828‐046‐02 1,476.00

Implant SCREW SELF TAPPING 6.5X15MM

3900899‐C

00‐6250‐065‐15 1,773.75

Implant SCREW RECON LG 5.5MM DIA X 90MM

3900915‐C

00‐2252‐090‐55 3,744.00

Implant SCREW RECON LG 5.5MM DIAX110MM

3900919‐C

00‐2252‐110‐55 3,744.00

Implant SCREW IM MED INTERLOCK 4.2X70MM

3900934‐C

00‐2253‐070‐42 2,520.00

Implant SCREW IM MED INTERLOCK 4.2X90MM

3900938‐C

00‐2253‐090‐42 2,520.00

Implant NAIL CAP 0MM  EXTENDED

3900939‐C

00‐2252‐001‐00 2,520.00

Implant NAIL CAP 15MM M/DN EXTENDED

3900942‐C

00‐2252‐001‐15 3,420.00

Implant SCREW IM SML INTERLOCK 3.7X20MM

3900943‐C

00‐2253‐020‐37 2,520.00

Implant NAIL IM M/DN TIBIAL 12MM DIA X 36CM

3900963‐C

00‐2253‐360‐12 13,910.40

Implant SCREW LOCK STERILE 2.7X60MM

3201626‐C

47‐4828‐060‐02 1,476.00

Implant SCREW WASHERLOC 4.5X26MM CORTICAL

3900972‐C

908626 1,890.00

Implant SCREW WASHERLOC 4.5X40MM CORTICAL

3900979‐C

908640 1,890.00

Implant SCREW WASHERLOC 4.5X46M CORTICAL

3900982‐C

908646 1,890.00

Implant SCREW WASHERLOC 60MM

3900989‐C

908660 1,950.00



Implant SCREW 8962S CANN INTRF 9X30

3210388‐C

8962S 1,305.00

Implant SCREW LOCK 3.5X20MM

3201627‐C

00‐2369‐020‐35 1,377.00

Implant SCREW 8972S CANN INTRF 7X30

3210981‐C

8972S 1,305.00

Implant OPTIUM TGEL10 GEL 10CC

3900959‐C

TGEL10 18,315.00

Implant OPTIUM TPUT10 PUTTY 10CC

3900960‐C

TPUT10 17,737.50

Implant STAPLE 128726 RICHARDS LRG SHORT

3500936‐C

12‐8726 891.15

Implant NAIL LONG 2.0 011 X 400MM X 1

3600693‐C

3225‐0400S 31,293.00

Implant NAIL LONG 2.0 11 X 380MM X 12

3600710‐C

3325‐0380S 31,293.00

Implant NAIL LONG 2.0 11 X 420 X 125 L

3600712‐C

3325‐0420S 30,618.00

Implant NAIL LONG 2.0 11 X 340MM X 13

3600717‐C

3330‐0340S 30,618.00

Implant SCREW 1896‐5025S 5 X 25MM FULLY THREADED

3600746‐C

1896‐5025S 3,207.60

Implant SCREW 3.5 CANN FT 20MM 205‐220

3200033‐C

205‐220 1,920.00

Implant SCREW LOCK 3.5X48MM

3201641‐C

00‐2369‐048‐35 1,296.00

Implant SCREW 3.5 CANN FT 34MM 205.234

3200040‐C

205.234 1,920.00

Implant SCREW  4.5MM CANN PT 28MM 215‐428

3200058‐C

215‐428 2,070.00

Implant SCREW  4.5MM CANN PT 30MM 215‐430

3200059‐C

215‐430 2,070.00

Implant SCREW 4.5 X 64MM CANN PT 214.564

3200070‐C

214.564 2,070.00

Implant PLATE 223.581 3.5MM LCP 8 HOLE

3800467‐C

223.581 4,759.50

Implant PLATE 241.401 LCP 1/3 TUB 10 HOLE/117MM

3800482‐C

241.401 2,865.60

Implant PLATE 241.931 3.5MM LCP T 52MM OBLIQUE L

3800484‐C

241.931 7,826.00

Implant PLATE 245.081 3.5MM LCP RECON 8 HOLE/112

3800489‐C

245.081 7,476.00

Implant SCREW 3.5 X 12MM LOCKING 212.102

3800493‐C

212.102 3,000.00

Implant SCREW 3.5 X 28MM LOCKING 212.110

3800501‐C

212.110 3,000.00



Implant SCREW TI LOCK 3.5X20MM

3201643‐C

47‐2369‐020‐35 1,320.00

Implant WASHER WASHERLOC 16MM 908436

3200324‐C

908436 5,158.50

Implant SCREW 3.5 X 45MM LOCKING 212.119

3800508‐C

212.119 3,000.00

Implant SCREW 3.5 X 55MM LOCKING 212.123

3800510‐C

212.123 3,000.00

Implant PLATE 30MM STRUT MAXILLOFACIAL 16

3900648‐C

420.01 4,403.25

Implant PLATE DOUBLE Y MAXILLOFACIAL 1 X

3900652‐C

420.68 2,340.00

Implant PLATE L MAXILLOFACIAL 4 X 6 HOLE

3900703‐C

447.54 2,550.00

Implant PLATE MAXILLOFACIAL ZYGOMATIC DCP

3900711‐C

443.46 2,430.00

Implant PLATE 241.61 CALANCEAL 60MM

3901021‐C

241.61 8,991.36

Implant SCREW 1.0MM MAXILLOFACIAL 7MM

3900665‐C

400.507 975.00

Implant SCREW 1.7MM MAXILLOFACIAL 4MM

3900690‐C

400.654 1,230.00

Implant SCREW CANNULATED 6.5X45MM TL20 602645S

3211847‐C

602645S

602645 4,179.95

Implant SCREW LG IM INTERLOCK 5.5X30MM

3211799‐C

00‐2253‐030‐55 2,520.00

Implant SCREW CANNULATED 6.5X80MM TL20  602680S

3211854‐C

602680S 4,305.35

Implant SCREW CANNULATED 6.5X105MM TL2  602705

3211859‐C

602705S

602705 4,434.46

Implant SCREW 602860S CANNULATED 6.5 X 60MM TL40

3211867‐C

602860S 3,555.00

Implant SCREW 602915S CANNULATED 6.5 X 115MM TL4

3211878‐C

602915S 2,475.00

Implant SCREW 611045S CANNULATED 8.0 X 45MM TL25

3211883‐C

611045S 2,475.00

Implant SCREW 611075S CANNULATED 8.0 X 75MM TL25

3211889‐C

611075S 3,990.00

Implant SCREW 2.0MM DIA. 15MM LENGTH

3200824‐C

F20‐15T‐09 2,280.00

Implant SCREW 3.0MM DIA. 24MM L

3200842‐C

F30‐24T‐11 3,075.00

Implant SCREW 4.0MM DIA 24MM LO

3200853‐C

F40‐24T‐11 2,580.00



Implant SCREW 4.0MM DIA 32MM LO

3200857‐C

F40‐32T‐11 3,450.00

Implant SCREW LG IM INTERLOCK 5.5X35MM

3211830‐C

00‐2253‐035‐55 2,520.00

Implant K‐WIRE 0.6 X 70MM TROCAR POINT 1 END

3200289

4901‐06‐07

00‐4901‐006‐07 114.30

Implant STEINMAN PIN  STYLE 6  2.0X229MM 5/64

3600936

00‐0187‐001‐69 118.50

Implant STEINMAN PIN STYLE 6  3.2X229MM 1/8

3600939

00‐0187‐004‐69 135.00

Implant SCREW CORTICAL ST SML HEX 3.5X90MM

3200102‐C

00‐4835‐090‐01 333.00

Implant SCREW CORTICAL ST SML HEX 3.5X75MM

3200105‐C

00‐4835‐075‐01 333.00

Implant SCREW 6.5 X 60MM CANC LG HEX FULL THD

3200116‐C

00‐4865‐060‐00 468.00

Implant SCREW 6.5 X 70MM CANC LG HEX FULL THD

3200118‐C

00‐4865‐070‐00 468.00

Implant SCREW LAG STANDARD THREAD 12.7DX135MM

3200253‐C

00‐1193‐010‐60 3,060.00

Implant SCREW LAG STANDARD THREAD 12.7DX105MM

3200266‐C

00‐1193‐010‐45 4,001.40

Implant PLATE COMPRESSION 2.7 X 20MM 2H 2.0M THK

3200309‐C

00‐4927‐002‐00 1,395.00

Implant SCREW LG IM INTERLOCK 5.5X75MM

3211838‐C

00‐2253‐075‐55 2,520.00

Implant PLATE COMPRESSION 2.7 X 52MM  6H 2.0M TH

3200312‐C

00‐4927‐006‐00 1,845.00

Implant FEMORAL STEM 165MM 30‐4555‐30

3200319‐C

30‐4555‐30 5,998.97

Implant SCREW CORTICAL MINI CRUCIFORM 1.5X11MM

3200332‐C

00‐4815‐011‐02 252.00

Implant SCREW CORTICAL MINI CRUCIFORM 1.5X14MM

3200335‐C

00‐4815‐014‐02 252.00

Implant SCREW CORTICAL SML HEX 2.7X10MM

3200344‐C

00‐4827‐010‐00 252.00

Implant SCREW CORTICAL MINI CRUCIFORM 2.0X14MM

3200359‐C

00‐4820‐014‐02 270.00

Implant SCREW CORTICAL ST SML HEX 3.5X12MM

3200375‐C

00‐4835‐012‐01 333.00

Implant SCREW CORTICAL ST SML HEX 3.5X14MM

3200376‐C

00‐4835‐014‐01 333.00

Implant SCREW CORTICAL ST SML HEX 3.5X22MM

3200380‐C

00‐4835‐022‐01 333.00

Implant SCREW CORTICAL ST SML HEX 3.5X45MM

3200386‐C

00‐4835‐045‐01 333.00



Implant SCREW LG IM INTERLOCK 5.5X85MM

3211840‐C

00‐2253‐085‐55 2,520.00

Implant SCREW CANC SM HEX FULL THREAD 4.0X10MM

3200389‐C

00‐4840‐010‐00 270.00

Implant SCREW 4.0X20MM CANC SM HEX FULL THD

3200394‐C

00‐4840‐020‐00 270.00

Implant SCREW 4.0X22MM CANC SM HEX FULL THD

3200395‐C

00‐4840‐022‐00 270.00

Implant SCREW CANC SM HEX FULL THREAD 4.0X40MM

3200401‐C

00‐4840‐040‐00 270.00

Implant SCREW CANC SM HEX FULL THREAD 4.0X45MM

3200402‐C

00‐4840‐045‐00 270.00

Implant SCREW LAG STANDARD THREAD 12.7DX80MM

3200406‐C

00‐1193‐010‐32 3,687.19

Implant SCREW 4.0X20MM CANC SM HEX PART THD 8MM

3200416‐C

00‐4840‐020‐01 270.00

Implant SCREW LF 6.5 CANC 50MM

3200522‐C

00‐4865‐050‐02 321.00

Implant SCREW BASIC FRAG 4.5 CORTICAL

3200541‐C

4845‐28‐01 288.00

Implant SCREW LF 4.5 CORTICAL 34MM

3200544‐C

4845‐34‐01 288.00

Implant PLATE Y CALCANEAL 3.5X87MM

3600248

00‐4935‐087‐17 5,258.25

Implant SCREW 4.5 X 40MM CORTICAL S/T LRG HEX

3200546‐C

00‐4845‐040‐01 333.00

Implant NUT 4.5 CORTEX SCREW

3200578‐C

4900‐45‐50 705.00

Implant SCREW LOCK LNG PERI 3.5X18MM

3201403‐C

00‐2359‐018‐35 1,422.00

Implant SCREW LOCK LNG PERI 3.5X32MM

3201410‐C

00‐2359‐032‐35 1,422.00

Implant SCREW LOCK LNG PERI 3.5X36MM

3201412‐C

00‐2359‐036‐35 1,422.00

Implant SCREW FULL THREAD CANNULATED 3.5X14MM

3201433‐C

00‐1147‐014‐36 2,484.00

Implant SCREW FULL THREAD CANNULATED 3.5X30MM

3201441‐C

00‐1147‐030‐36 2,484.00

Implant SCREW FULL THREAD CANNULATED 3.5X32MM

3201442‐C

00‐1147‐032‐36 2,484.00

Implant SCREW FULL THREAD CANNULATED 3.5X36MM

3201444‐C

00‐1147‐036‐36 2,484.00

Implant SCREW FULL THREAD CANNULATED 3.5X38MM

3201445‐C

00‐1147‐038‐36 2,484.00

Implant PLATE 150D X 5 HOLE VERSA‐FXII SHT TUBE

3600287‐C

00‐1193‐150‐95 4,446.00



Implant SCREW FULL THREAD CANNULATED 3.5X85MM

3201458‐C

00‐1147‐085‐36 2,484.00

Implant SCREW FULL THREAD CANNULATED 3.5X115MM

3201464‐C

00‐1147‐115‐36 2,484.00

Implant SCREW FULL THREAD CANNULATED 3.5X125MM

3201466‐C

00‐1147‐125‐36 2,484.00

Implant SCREW PART THREAD CANNULATED 3.5X30MM

3201478‐C

00‐1147‐030‐35 2,484.00

Implant SCREW PART THREAD CANNULATED 3.5X42MM

3201484‐C

00‐1147‐042‐35 2,484.00

Implant SCREW PART THREAD CANNULATED 3.5X70MM

3201492

00‐1147‐070‐35 2,484.00

Implant SCREW PART THREAD CANNULATED 3.5X75MM

3201493‐C

00‐1147‐075‐35 2,484.00

Implant SCREW PART THREAD CANNULATED 3.5X105MM

3201499‐C

00‐1147‐105‐35 2,484.00

Implant SCREW 1/2 THREAD CANNULATED 4.0X42MM

3201521‐C

00‐1147‐042‐41 2,574.00

Implant SCREW 1/2 THREAD CANNULATED 4.0X50MM

3201525‐C

00‐1147‐050‐41 2,574.00

Implant PLATE 1/4 TUBULAR W/COLLAR  3H 23MM

3600318‐C

00‐4927‐003‐03 864.00

Implant SCREW 4.0 X 60M 1/2 THD CANNULATED

3201527‐C

00‐1147‐060‐41 2,574.00

Implant SCREW 1/3 THREAD CANNULATED 4.0X10MM

3201542‐C

00‐1147‐010‐40 2,574.00

Implant SCREW 1/3 THREAD CANNULATED 4.0X18MM

3201546‐C

00‐1147‐018‐40 2,574.00

Implant SCREW 1/3 THREAD CANNULATED 4.0X26MM

3201550‐C

00‐1147‐026‐40 2,574.00

Implant SCREW 4.0 X 65MM 1/3 THD CANNULATED

3201565‐C

00‐1147‐065‐40 2,574.00

Implant SCREW 1/3 THREAD CANNULATED 4.0X130MM

3201578‐C

00‐1147‐130‐40 2,574.00

Implant SCREW UNIV LOCK 2.7X32MM

3201591‐C

00‐4828‐032‐02 1,476.00

Implant SCREW  UNIV LOCK 2.7X44MM

3201597‐C

00‐4828‐044‐02 1,476.00

Implant SCREW LOCK STERILE 2.7X22MM

3201610‐C

47‐4828‐022‐02 1,476.00

Implant SCREW LOCK STERILE 2.7X40MM

3201619‐C

47‐4828‐040‐02 1,476.00

Implant PLATE 1/4 TUBULAR W/COLLAR 8H 63MM

3600320‐C

00‐4927‐008‐03 1,215.00

Implant SCREW LOCK STERILE 2.7X44MM

3201621‐C

47‐4828‐044‐02 1,476.00



Implant SCREW LOCK STERILE 2.7X50MM

3201624‐C

47‐4828‐050‐02 1,476.00

Implant SCREW LOCK 3.5X22MM

3201628‐C

00‐2369‐022‐35 1,296.00

Implant SCREW LOCK 3.5X40MM

3201637‐C

00‐2369‐040‐35 1,296.00

Implant SCREW LOCK 3.5X46MM

3201640‐C

00‐2369‐046‐35 1,296.00

Implant SCREW TI LOCK 3.5X38MM

3201650‐C

47‐2369‐038‐35 1,320.00

Implant PLATE COMPRESSION 4.5X326 NARROW 20 HOLE

3600247‐C

00‐4945‐020‐00 4,275.00

Implant PLATE 135D X 14 HOLE VERSA‐FXII STD TUBE

3600280‐C

00‐1193‐135‐14 7,728.00

Implant PLATE 150D X 2 HOLE VERSA‐FXII STD TUBE

3600282‐C

00‐1193‐150‐02 4,303.50

Implant PLATE STRAIGHT 2.0 X 29MM 5 HOLE

3600364‐C

00‐4920‐005‐02 846.00

Implant PLATE L  2.7 X 35MM OBLIQUE LEFT

3600324‐C

00‐4927‐003‐09 756.00

Implant PLATE L 2.0 X 21MM OBLIQUE LEFT

3600365‐C

00‐4920‐002‐09 756.00

Implant PLATE 1/4 TUBULAR W/ COLLAR 7H 55MM

3600372‐C

00‐4927‐007‐03 1,170.00

Implant PLATE T 3.5 X 74MM OBLQ 3H HEAD 5H SHAFT

3600438‐C

00‐4935‐035‐05 2,520.00

Implant PLATE 4.5 X 199MM COMPRESSION NRW 12H

3600465‐C

00‐4945‐012‐00 2,340.00

Implant PLATE 4.5 X 87MM COMPRESSION NRW 5 HOLE

3600466‐C

00‐4945‐005‐00 1,620.00

Implant PLATE SEMI TUBULAR 2 HOLE 39MM

3600467‐C

00‐4945‐002‐03 702.00

Implant PLATE SEMI TUBULAR 4 HOLE 71MM

3600469‐C

00‐4945‐004‐03 756.00

Implant PLATE T  4.5 X 84MM  4 HOLE

3600484‐C

00‐4945‐004‐04 2,565.00

Implant PLATE 4945‐08‐04 LF T PLATE 8 HOLE

3600487‐C

4945‐08‐04 3,702.01

Implant PLATE 4945‐04‐11 LF BUTTRESS LT 4 HOLE

3600491‐C

4945‐04‐11 2,900.85

Implant PLATE T 2.7 X 32MM

3600361‐C

00‐4927‐003‐04 756.00

Implant SCREW WASHERLOC 4.5X24MM CORTICAL

3900971‐C

908624 1,890.00

Implant NAIL IM M/DN FEMORAL 10MM DIA X 36CM

3600664‐C

00‐2252‐360‐10 13,549.20



Implant NAIL IM M/DN FEMORAL 9MM DIA X 40CM

3600666‐C

00‐2252‐400‐09 13,549.20

Implant NAIL IM M/DN FEMORAL 13MM DIA X 38CM

3600675‐C

00‐2252‐380‐13 13,549.20

Implant NAIL IM M/DN FEMORAL 13MM DIA X 42CM

3600685‐C

00‐2252‐420‐13 13,549.20

Implant PIN 1/2 180X50MM

3600794

6006‐28 251.25

Implant NAIL IM M/DN TIBIAL 10MM DIA X 38CM

3600955‐C

00‐2253‐380‐10 13,910.40

Implant PLATE 3.5 X 63MM UNIV LOCK 3H RT OBLQ

3601125‐C

00‐4936‐034‐06 4,366.20

Implant PLATE 3.5 X 94MM LOCK 1/3 TUB 7H

3601134‐C

00‐4936‐007‐03 2,112.00

Implant PLATE 3.5 X 42MM ULS 1/3 TUBULAR 3H STRL

3601137‐C

47‐4936‐003‐03 2,187.00

Implant PLATE 2. X26MM 2H ULS DC 00‐4928‐002‐07

3601158‐C

00‐4928‐002‐07 3,465.00

Implant PLATE T  2.0 X 18MM 2 HOLE

3600367‐C

00‐4920‐002‐04 756.00

Implant PLATE 2.7 X 65MM ULS RECON 8

3601178‐C

00‐4928‐008‐13 4,899.15

Implant PLATE 2.7 X 49MM ULS RECON STRT 6H

3601183‐C

47‐4928‐006‐13 4,899.15

Implant PLATE 2.7X97MM ULS RECON STRT 12H STRL

3601186‐C

47‐4928‐012‐13 5,796.90

Implant PLATE 2.7X113MM ULS RECON STRT 14H STRL

3601187‐C

47‐4928‐014‐13 6,070.50

Implant PLATE 2.7 X 129MM ULS RECON STRT 16H

3601188‐C

47‐4928‐016‐13 6,292.80

Implant PLATE 2.7 X 62MM ULS 5H RT

3601199‐C

00‐4928‐018‐02 4,189.50

Implant PLATE 3.5 X 79MM UNIV LOCK DC 6H

3601214‐C

00‐4936‐006‐07 3,841.80

Implant PLATE 3.5 X 183MM UNIV LOCK DC 14H

3601220‐C

00‐4936‐014‐07 5,529.00

Implant PLATE 1/3 TUBULAR W/COLLAR 6H 73MM

3601347‐C

00‐4935‐006‐03 882.00

Implant NAIL IM M/DN TIBIAL 8MM DIA X 30CM

3610389‐C

00‐2253‐300‐08 13,910.40

Implant PLATE 1/3 TUBULAR W/COLLAR 2H 25MM

3600428‐C

00‐4935‐002‐03 780.00

Implant PLATE 135D X 6 HOLE VERSA‐FXII SHT TUBE

3610543‐C

00‐1193‐135‐96 5,664.38

Implant PLATE 150D X 6 HOLE VERSA‐FXII SHT TUBE

3610545‐C

00‐1193‐150‐96 4,446.00



Implant NAIL IM M/DN FEMORAL 10MM DIA X 42CM

3611394‐C

00‐2252‐420‐10 13,549.20

Implant NAIL IM M/DN FEMORAL 11MM DIA X 38CM

3611398‐C

00‐2252‐380‐11 13,549.20

Implant NAIL IM M/DN TIBIAL 11MM DIA X 38CM

3611531‐C

00‐2253‐380‐11 13,910.40

Implant SCREW ST CORTICAL SML HEX 3.5X30MM

3800449‐C

00‐4835‐030‐01 333.00

Implant SCREW LAG 15.8D X 95MM LARGE THD

3800542‐C

00‐1193‐015‐40 4,360.50

Implant SCREW 6.5 X 35MM SELF TAPPING

3900903‐C

00‐6250‐065‐35 1,773.75

Implant SCREW SELF TAPPING 6.5X40MM

3900904‐C

00‐6250‐065‐40 1,773.75

Implant SCREW RECON LG 5.5MM DIAX105MM

3900918‐C

00‐2252‐105‐55 3,744.00

Implant PLATE 4.5X135 COMPRESSION BROAD 8 HOLE

3600449‐C

00‐4945‐008‐01 2,925.00

Implant SCREW RECON LG 5.5MM DIA X 130MM

3900923‐C

00‐2252‐130‐55 3,744.00

Implant NUT CORTICAL DOUBLE LEAD M/DN 5.5MM

3900924‐C

00‐2240‐050‐00 2,610.00

Implant SCREW IM MED INTERLOCK 4.2X55MM

3900931‐C

00‐2253‐055‐42 2,520.00

Implant SCREW IM MED INTERLOCK 4.2X60MM

3900932‐C

00‐2253‐060‐42 2,520.00

Implant SCREW LG IM INTERLOCK 5.5X50MM

3211833‐C

00‐2253‐050‐55 2,520.00

Implant SLING SYST  AVAULTA PLUS ANTERIO

3800181

486101 23,031.25

Implant MESH TITANIZED 12" X 12" 6000424

3900603

6000424 36,450.00

Implant STENT 4.8F X 22‐30CM CONTOUR VL URETERAL

3901129

M0061801550 2,092.50

Implant PLATE ANATOMIC STND LEFT

3911801

DVRAL 9,520.00

Implant PLATE 4.5X151 COMPRESSION BROAD 9 HOLE

3600450‐C

00‐4945‐009‐01 2,925.00

Implant PLATE  ANATOMIC WIDE RIGHT

3911810‐C

DVRAWR 12,474.00

Implant PLATE FRAGMENT Y

3911817‐C

YFP 7,350.00

Implant PEG FULL THREAD 2.5 X 22MM

3911824‐C

FP22 1,110.00

Implant PEG SMOOTH 2.0 X 22MM

3911835‐C

P22000 1,110.00



Implant PEG SMOOTH 2.0 X 24MM

3911836‐C

P24000 1,110.00

Implant PEG SMOOTH 2.0 X 30MM

3911839‐C

P30000 1,350.00

Implant PEG PARTIAL THREAD 2.5 X 22MM

3911846‐C

TP22000 1,110.00

Implant PEG SCREW 2.5 X 14MM

3911853‐C

SP14000 1,125.00

Implant BONE CLAMP DRT

3911880‐C

BC 4,845.00

Implant KIT KYPHX HV‐R CEMENT 

3901327

C01B 3,465.00

Implant PLATE 4.5 X 71MM COMPRESSION  NRW 4 H

3600457‐C

00‐4945‐004‐00 1,620.00

Implant STEM PRESS FIT LD/FX SIZE 13 7834‐13

3200122‐C

7834‐13 14,000.00

Implant SHELL MULTI POLAR 47MM 5001‐47

3200366‐C

5001‐47 4,987.50

Implant STEM FIBER METAL SIZE10

3900811‐C

7841‐10 48,867.52

Implant STEM FIBER METAL SIZE 12

3900813‐C

7841‐12 48,867.52

Implant STEM 7841‐18 FIBER METAL SIZE 18

3900819‐C

7841‐18 46,533.76

Implant FEMORAL HEAD 22MM +3

3900884‐C

8018‐22‐30 8,777.44

Implant DISTAL CENTRALIZER 7859‐09 9MM

3900888‐C

7859‐09 1,509.75

Implant DISTAL CENTRALIZER 7859‐14 14MM

3900893‐C

7859‐14 1,242.00

Implant PLATE 4.5 X 151MM COMPRESSION NRW 9 HOLE

3600462‐C

00‐4945‐009‐00 1,800.00

Implant PLATE150D X 8 HOLE VERS‐FXII STD TUBE

3901194‐C

00‐1193‐150‐08 5,578.88

Implant SCREW BIO COMP INTERF FULL THD 9X28MM

3810525‐C

AR‐1390TC 3,525.00

Implant KIT 9.5 FR DUAL LUMEN CV CATHETER

0031406

7742000 3,090.00

Implant GRAFT 085189 HEMASHIELD 18 X 9

3811553

085189 9,453.08

Implant TUBE TRACH ARMOURED 6.5 CUFFED

3801037

43154‐065 213.75

Implant PLATE SEMI TUBULAR 167MM 10 HOLE

3600478‐C

00‐4945‐010‐03 1,035.00

Implant TUBE TRACH ARMOURED 8.0 CUFFED

3801038

43154‐080 213.75



Implant BUTTON 24 FR. 2.4 CM GASTRO TUBE

3800352

000286 4,446.00

Implant MESH 0123113 COMPOSIX 10" X 13"

3800442

0123113 28,876.50

Implant TUBE 70241075 DURAVENT W/ TWIN SPOON

3800433

70241075 326.85

Implant PLATE 4945‐14 LF DCP NARROW 14 HOLE

3600493‐C

4945‐14 2,040.00

Implant MESH TRELEX 2X4

3800048

019920 1,433.25

Implant GRAFT 085221 HEMASHIELD 22X11

3801065

085221 11,564.00

Implant NAIL IM M/DN FEMORAL  10MM DIA X 34CM

3600665‐C

00‐2252‐340‐10 13,549.20

Implant OBTURATOR 6F‐LL 15CM

3810097

406311 825.00

Implant SCREW  SELF DRILL 2.0 INF 12MM 201.932E

3201657‐C

201.932E 1,815.00

Implant NAIL IM M/DN FEMORAL 13MM DIA X 40CM

3600676‐C

00‐2252‐400‐13 13,549.20

Implant SCREW WASHERLOC 58MM

3900988‐C

908658 1,950.00

Implant MESH 1DLMC02 GORE DUAL 8 X 12

3800521

1DLMC02 4,773.75

Implant GUIDE PIN 1.6 X 6" THD TROCAR

3801524‐C

00‐1147‐094‐00 156.60

Implant NAIL IM M/DN FEMORAL 14MM DIA X 44CM

3600682‐C

00‐2252‐440‐14 13,549.20

Implant NAIL IM M/DN FEMORAL 14MM DIA X 46CM

3600683‐C

00‐2252‐460‐14 13,549.20

Implant PLATE 3.5 X 85MM UNIV LOCK 4H OBLQ

3601121‐C

00‐4936‐046‐04 4,856.40

Implant TUBE #6 TRACH LOW PRESSURE CUFF

0017822

6LPC

3583006LPC 913.95

Implant TUBE 4LPC #4 TRACH LOW PRESSURE CUFFED

0017813

4LPC‐SHILEY

3583004LPC 913.95

Implant SCREW BIO‐INTERF 7X23MM

3211926‐C

AR‐1370B 2,025.00

Implant SCREW BIO‐INTERF FULL THREAD 8X28MM

3211929‐C

AR‐1380TB 2,130.00

Implant ANCHOR HARPOON SIZE 2

3711496

902939 3,776.25

Implant PLATE  ANATOMIC NARW SHORT LEFT

3911809‐C

DVRANSL 9,520.00



Implant PLATE  ANATOMIC EXTRA EXT LEFT

3911813‐C

DVRAXXL 20,171.25

Implant PLATE 3.5 X 94MM ULS 1/3 TUBULAR 7H STRL

3601141‐C

47‐4936‐007‐03 2,322.00

Implant PEG SMOOTH 2.0 X 18MM

3911833‐C

P18000 1,110.00

Implant SCREW CORTICAL 3.5 X 12MM

3911863‐C

CS12000 1,110.00

Implant SCREW CORTICAL 3.5 X 16MM

3911865‐C

CS16000 1,110.00

Implant SCREW CORTICAL 3.5 X 15 MM

3911886‐C

CS15000 1,110.00

Implant CATHETER  ASH SPLIT 14 X 24

3901237

ASPC24‐3 4,346.25

Implant PLATE 241.55 CERV VERT 11 HOLE

3901071‐C

241.55 3,790.50

Implant PLATE CERVICAL 5 HOLE

3901088‐C

450.118 14,533.75

Implant PLATE 241.903 SF LOCKING PROX HUMERAL LO

3901199‐C

241.903 20,776.25

Implant PLATE 2.7 X 118MM ULS DUAL COMP 10H STRL

3601174‐C

47‐4928‐010‐07 4,403.25

Implant PLATE CERVICAL SPINE 5 HOLE

3901248‐C

450.120 14,533.75

Implant GRAFT S0704 VASCULAR 7MM X 40CM

3901182

S0704 6,312.75

Implant STEM PRESS FIT LD / FX SIZE 11 7834‐11

3200099‐C

7834‐11 14,000.00

Implant SHELL MULTI POLAR 43MM 5001‐43

3200350‐C

5001‐43 6,928.35

Implant SHELL MULTI POLAR 48MM 5001‐48

3200367‐C

5001‐48 5,714.25

Implant SHELL MULTI POLAR 49MM 5001‐49

3200368‐C

5001‐49 6,928.35

Implant SHELL MULTI POLAR 52MM 5001‐52

3200370‐C

5001‐52 5,714.25

Implant STEM 7850‐13 SZ13 ADVOC CEMENTED STANDAR

3900802‐C

7850‐13 22,687.50

Implant STEM 7850‐14 SZ14 ADVOC CEMENTED STANDAR

3900803‐C

7850‐14 24,062.50

Implant STEM 7850‐15‐20 ADVOC SZ15 CEMENTED EXTE

3900809‐C

7850‐15‐20 26,097.50

Implant PLATE 2.7 X 97MM ULS REC 12H

3601180‐C

00‐4928‐012‐13 5,668.65

Implant STEM 7841‐17 FIBER METAL SIZE 17

3900818‐C

7841‐17 46,533.76



Implant STEM 7841‐18‐30 FIBER METAL LM SIZE 18

3900826‐C

7841‐18‐30 46,533.76

Implant SHELL W/CLUSTER HOLES 48MM

3900828‐C

6200‐48‐22 17,970.70

Implant SHELL W/CLUSTER HOLES 56MM

3900832‐C

6200‐56‐22 18,690.66

Implant SHELL W/CLUSTER HOLES 68MM

3900838‐C

6200‐68‐22 16,484.05

Implant FEMORAL HEAD 22MM +0

3900883‐C

8018‐22‐02 7,125.00

Implant DISTAL CENTRALIZER 7859‐10 10MM

3900889‐C

7859‐10 1,509.75

Implant DISTAL CENTRALIZER 12MM VERSYS HIP SYST

3900891‐C

7859‐12 1,509.75

Implant PLATE 95 DEG X 8 HOLE VERSA‐FX II

3901235‐C

00‐1193‐095‐08 7,560.00

Implant PLATE 2.7 X 129MM ULS REC 16

3601182‐C

00‐4928‐016‐13 6,250.05

Implant SUTURE ANCHOR #2 TIGERTAIL 5.5X14.7MM

3901367

AR‐1927‐BFT 4,310.63

Implant SCREW BIO COMP INTERF ACL 9X23MM AR‐1390

3810522‐C

AR‐1390C 3,525.00

Implant PORT 8FR 0602830 MRI GROSHONG

3801023

0602830 3,720.00

Implant STENT 6F X 24CM CONTOUR URETERAL

3800514

M0061802220 2,092.50

Implant PLATE 2.7 X241MM ULS RECON STRT 30H STRL

3601191‐C

47‐4928‐030‐13 9,013.20

Implant MESH 14 X 15CM

3088198

RPK1415 22,618.75

Implant MESH RAK1611 16 X 11CM

3088199‐P

501450 22,618.75

Implant MESH SMALL CIRCLE 3" X 3"

3811497

0010203 8,736.00

Implant PLATE 2.7 X 42MM ULS 3H RT

3601197‐C

00‐4928‐010‐02 4,001.40

Implant GRAFT  HEMASHIELD 12X7

3801074

085127 9,453.08

Implant TUBE 8CFS TRACH CUFFLESS

3900261

8CSF

3583008CFS 698.85

Implant PLATE 2.7 X 62MM ULS 5H LT

3601198‐C

00‐4928‐017‐02 4,189.50

Implant SCREW BONE MULCH 10.5MM X 30MM

3900990‐C

907330 6,042.00

Implant MESH 0123680 COMPSIX 6" X 8"

3800445

0123680 8,190.00



Implant GRAFT V08060L PTFE 8X60CM

3801070

V08060L 9,338.00

Implant LIGATOR MBL‐6‐OV SIX SHOOTER MBL‐6‐0V

3901169

MBL‐6‐0V 2,898.30

Implant K‐WIRE 1.7MM PART THREAD

3801529‐C

00‐1142‐001‐17 189.00

Implant PLATE L 2.7X42MM ULS 3H SHAFT OBL LEFT

3601206‐C

47‐4928‐009‐02 4,403.25

Implant PLATE 3.5 X 92MM UNIV LOCK DC 7H

3601215‐C

00‐4936‐007‐07 4,095.45

Implant PLATE 3.5 X 131MM UNIV LOCK DC 10H

3601218‐C

00‐4936‐010‐07 4,423.20

Implant PLATE 2.7 X 39MM ULS T 2H HD

3601192‐C

00‐4928‐004‐02 4,001.40

Implant PLATE 3.5 X 40MM UNIV LOCK 3H

3601221‐C

00‐4936‐003‐13 5,073.00

Implant PLATE T 2.7 X 39MM 2H HEAD 3H SHAFT

3601202‐C

47‐4928‐004‐02 4,403.25

Implant PLATE 3.5 X 157MM UNIV LOCK 12H REC STR

3601230‐C

00‐4936‐012‐13 7,011.20

Implant PLATE 3.5 X 92MM ULS RECON STRT 7H STRL

3601235‐C

47‐4936‐007‐13 6,207.30

Implant NAIL IM M/DN TIBIAL 8MM DIA X 36CM

3610388‐C

00‐2253‐360‐08 13,910.40

Implant NAIL IM M/DN TIBIAL 8MM DIA X 28CM

3610391‐C

00‐2253‐280‐08 13,910.40

Implant NAIL IM M/DN TIBIAL 10MM DIA X 34CM

3610397‐C

00‐2253‐340‐10 13,910.40

Implant NAIL IM M/DN TIBIAL 11MM DIA X 30CM

3610400‐C

00‐2253‐300‐11 13,910.40

Implant NAIL IM M/DN TIBIAL 12MM DIA X 38CM

3610402‐C

00‐2253‐380‐12 13,910.40

Implant NAIL IM M/DN FEMORAL 11MM DIA X 34CM

3611396‐C

00‐2252‐340‐11 13,549.20

Implant NAIL IM M/DN FEMORAL 11MM DIA X 40CM

3611399‐C

00‐2252‐400‐11 13,549.20

Implant NAIL IM M/DN TIBIAL 9MM DIA X 30CM

3610393‐C

00‐2253‐300‐09 13,910.40

Implant NAIL IM M/DN TIBIAL 9MM DIA X 38CM

3611532‐C

00‐2253‐380‐09 13,910.40

Implant NAIL IM M/DN TIBIAL 11MM DIA X 36CM

3611533‐C

00‐2253‐360‐11 13,910.40

Implant SCREW 4.0X30MM CANC SM HEX FULL THD

3800454‐C

00‐4840‐030‐00 270.00

Implant WASHER FOR 3.0M CANNULATED SCREW

3801525‐C

00‐1147‐095‐00 522.00



Implant PLATE 130D X 4 HOLE VERSA‐FXII STD TUBE

3900633‐C

00‐1193‐130‐04 6,061.95

Implant SCREW SELF TAP BONE 6.5X30MM

3900902‐C

00‐6250‐065‐30 1,773.75

Implant SCREW RECON LG 5.5MM DIA X 95MM

3900916‐C

00‐2252‐095‐55 3,744.00

Implant SCREW RECON LG 5.5MM DIAX100MM

3900917‐C

00‐2252‐100‐55 3,744.00

Implant SCREW RECON LG 5.5MM DIA X 125MM

3900922‐C

00‐2252‐125‐55 3,744.00

Implant SCREW IM MED INTERLOCK 4.2X80MM

3900936‐C

00‐2253‐080‐42 2,520.00

Implant NAIL IM M/DN FEMORAL 11MM DIA X 44CM

3611401‐C

00‐2252‐440‐11 13,549.20

Implant SCREW IM MED INTERLOCK 4.2X85MM

3900937‐C

00‐2253‐085‐42 2,520.00

Implant SCREW IM SML INTERLOCK 3.7X30MM

3900945‐C

00‐2253‐030‐37 2,520.00

Implant SCREW IM SML INTERLOCK 3.7X50MM

3900949‐C

00‐2253‐050‐37 2,520.00

Implant SCREW IM SML INTERLOCK 3.7X60MM

3900951‐C

00‐2253‐060‐37 2,520.00

Implant SCREW IM SML INTERLOCK 3.7X65MM

3900952‐C

00‐2253‐065‐37 2,520.00

Implant SCREW IM SML INTERLOCK 3.7X70MM

3900953‐C

00‐2253‐070‐37 2,520.00

Implant SCREW LAG LARGE THREAD 15.8DX55MM

3800534‐C

00‐1193‐015‐20 3,315.00

Implant CANNULA INNER SHILEY 6.0 XLT TUBE

3800193

60XLTIN

358360XLTIN 77.40

Implant TUBE #8 TRACH LOW PRESSURE CUFF

0017831

8LPC

3583008LPC 913.95

Implant PORT DUAL LUMEN MRI IMPLANTED 9.

3901345

0605920 12,320.00

Implant SLING TOT HOOK 

3901355

BRD600HH 14,437.50

Implant SHUNT DENVER SINGLE‐VALVED ASCITES

3901008

42‐2055 26,166.25

Implant STENT 7F X 24CM CONTOUR URETERAL

3901050

M0061802320 2,835.00

Implant PLATE  ANATOMIC NARW LEFT

3911807‐C

DVRANL 9,520.00

Implant FRAGMENT PLATE RIGHT

3911814‐C

RHS 7,350.00



Implant SCREW LAG LARGE THREAD 15.8DX100MM

3800543‐C

00‐1193‐015‐42 4,061.25

Implant PEG  FULL THREAD 2.5 X 10MM

3911818‐C

FP10 1,110.00

Implant PEG FULL THREAD 2.5 X 26MM

3911826‐C

FP26

FP76 1,110.00

Implant PEG  FULL THREAD 2.5 X 28MM

3911827‐C

FP28 1,110.00

Implant PEG FULL THREAD 2.5 X 30MM

3911828‐C

FP30 1,845.00

Implant PEG PARTIAL THREAD 2.5 X 20MM

3911845‐C

TP20000 1,110.00

Implant PEG PARTIAL THREAD 2.5 X 26MM

3911848‐C

TP26000 1,110.00

Implant PEG SCREW 2.5 X 12MM

3911852‐C

SP12000 1,110.00

Implant SCREW CORTICAL 3.5 X 14MM

3911864‐C

CS14000 1,110.00

Implant K‐WIRE 1.6MM SS

3911867‐C

KW062SS 285.00

Implant STAPEDIAL PROSTHESIS SM APPLEBAUM

3901274

140956 5,355.29

Implant SCREW LAG LARGE THREAD 15.8DX105MM

3800544‐C

00‐1193‐015‐45 4,360.50

Implant CEMENT KYPHX HV‐R BONE

3200625

C01A 1,950.00

Implant SHEETING 1.6X12 (4X30CM) ADH SILC GEL

3901032

2393199

20‐10680 218.70

Implant ALLOGRAFT ACELLULAR DERMIS 5X10CM

3901263

471510 20,059.60

Implant ALLOGRAFT ACELLULAR DERMIS 4X16CM

3901264‐C

471416 25,811.23

Implant SUTURE WIRE  STEEL #1 25G

3901230‐P

DS25

230000DS25 280.95

Implant PLATE CERVICAL SPINE 8 HOLE

3900776‐C

487.34 28,984.50

Implant GRAFT PATCH 3CM X 6CM X 4MM

3800029

1803006004 3,876.00

Implant SHELL MULTI POLAR 40MM 5001‐40

3200325‐C

5001‐40 5,714.25

Implant HEAD 7818‐41 41MM HIP 00‐7818‐041

3200437‐C

7818‐41

00‐7818‐041 7,125.00



Implant HEAD 7818‐49 49MM HIP 00‐7818‐049

3200444‐C

7818‐49

00‐7818‐049 7,125.00

Implant SCREW  BF 4.5 CORTICAL 66MM

3900688‐C

4845‐66‐01 199.20

Implant SLING SYST FEMALE DESARA

3800233

CAL‐DS01 16,486.25

Implant STEM CEMENTED LD/FX SIZE 11

3900827‐C

7833‐11 14,000.00

Implant SHELL W/CLUSTER HOLES 58MM

3900833‐C

6200‐58‐22 19,698.25

Implant FEMORAL HEAD ADAPTOR 7818‐99‐01 +10.5

3900886‐C

7818‐99‐01

00‐7818‐099‐01 1,773.75

Implant PLATE 130D X 4 HOLE VERSA‐FXII SHT TUBE

3901222‐C

00‐1193‐130‐94 4,809.38

Implant SCREW BIO COMP INTERF ACL 8X23MM AR‐1380

3810521‐C

AR‐1380C 3,525.00

Implant INTRODUCER MICRO  5.0FRX5 CM

0031416

0678950 495.00

Implant SCREW IM MED INTERLOCK 4.2X25MM

3900926‐C

00‐2253‐025‐42 2,520.00

Implant FLOSEAL HEMASTATIC MATRIX 5ML FSP

3910020

1503350

1505288

1505288WT 2,857.80

Implant BUTTON 24FR 3.4 CM GASTRO TUBE

3800326

000287 4,845.00

Implant SCREW IM MED INTERLOCK 4.2MMX65MM

3900933‐C

00‐2253‐065‐42 2,520.00

Implant GRAFT HEMOSHIELD 24 X 12

3800044

085241 11,564.00

Implant GRAFT HEMASHIELD 16X8

3811554

02085168 9,453.08

Implant SCREW IM MED INTERLOCK 4.2X75MM

3900935‐C

00‐2253‐075‐42 2,520.00

Implant PORT THORACOPORT 11.5

3800417‐P

179303 966.75

Implant OBTURATOR 4F‐LL 15CM

3810096

406309 825.00

Implant SCREW IM SML INTERLOCK 3.7X45MM

3900948‐C

00‐2253‐045‐37 2,520.00

Implant PLATE 223.621 3.5MM LCP 12 HOLE

3800520‐C

223.621 4,175.25

Implant PLATE C SPINE 8 HOLE 60MM

3893506‐C

487.37 15,042.50



Implant GRAFT 1415020010 PATCH 15X20 1MM

3801013

1415020010 12,474.00

Implant GRAFT RRT06060070L RINGED 6X70CM

3810748

RRT06060070L 14,795.00

Implant GRAFT RD06005045L RINGED 6X45CM

3811557

RD06005045L 11,634.00

Implant SCREW IM SML INTERLOCK 3.7X75MM

3900954‐C

00‐2253‐075‐37 2,520.00

Implant SUTURE ANCHOR FT CORKSCREW 5.5X14.7MM

3800272

AR‐1927BCF 4,631.25

Implant GAMMA CLOSED TUBE CLIP

3600728‐C

1320‐0125S 2,025.00

Implant KIT FEMORAL BONE CEMENT PREP

3800549

5049‐55

005049‐55 2,260.50

Implant CANNULA  INNER SHILEY 5.0XLT TUBE

3800192

50XLTIN

358350XLTIN 77.40

Implant K‐WIRE THD 7‐DIAMOND 22.9CM.045" (1.1MM)

3200298

262‐12‐00

00‐0262‐012‐00 238.50

Implant TUBE #8 TRACH FENESTRATED LO

0017832

8FEN

3583008FEN 904.35

Implant BIO‐PUSHLOCK 4.5X18.5MM AR‐1922B

3200585

AR‐1922B 4,845.00

Implant SCREW BIO‐INTERF FULL THREAD 7X28M

3211927‐C

AR‐1370TB 2,025.00

Implant SCREW BIO‐INTERF FULL THREAD 9X28M

3211931‐C

AR‐1390TB 2,025.00

Implant SLING SYST  AVAULTA SOLO ANTERIO

3800180

486100 22,000.00

Implant ANCHOR 10301 ULTRAFIX MICROMITE

3901234‐C

10301 2,992.50

Implant ANCHOR QUICKANCHOR PLUS DS #2 222984

3901360

222984 5,956.50

Implant ANCHOR MICRO QUICKANCHOR 1.3MM 212865

3901227

212865 3,975.75

Implant FRAGMENT PLATE LEFT

3911815‐C

LHS 7,350.00

Implant PLATE FRAGMENT STRAIGHT

3911816‐C

STR 7,350.00

Implant PEG PARTIAL THREAD 2.5 X 14MM

3911842‐C

TP14000 1,200.00

Implant PEG PARTIAL THREAD 2.5 X 18MM

3911844‐C

TP18000 1,110.00



Implant PEG PARTIAL THREAD 2.5 X 28MM

3911849‐C

TP28000 1,526.40

Implant PEG SCREW 2.5 X 22MM

3911857‐C

SP22000 1,110.00

Implant PEG SCREW 2.5 X 24MM

3911858‐C

SP24000 1,350.00

Implant PEG SCREW 2.5 X 28MM

3911860‐C

SP28000 1,125.00

Implant SCREW CORTICAL 3.5 X 18MM

3911866‐C

CS18000 1,526.40

Implant EAR PROSTHESIS HAPEX GOLDENBERG

3801029

140964 7,294.00

Implant STAPEDIAL PROSTHESIS LG APPLEBAUM

3901273

140957 5,355.29

Implant MESH PARIETEX 2D 5.2 X 3.6

3800441

TEC1309 1,337.70

Implant PLATE MAXILLOFACIAL 9 HOLE

3900607‐C

421.021 3,630.00

Implant PLATE 241.65 RECON Y 87MM

3901075‐C

241.65 9,179.52

Implant SHELL MULTI POLAR 41MM 5001‐41

3200326‐C

5001‐41 4,987.50

Implant SHELL MULTI POLAR 45MM 5001‐45

3200364‐C

5001‐45 5,714.25

Implant STEM 7850‐16‐20 ADVOC SZ16 CEMENTED EXTE

3900810‐C

7850‐16‐20 33,139.80

Implant STEM FIBER METAL LM SIZE 12

3900820‐C

7841‐12‐30 46,533.76

Implant STEM 7841‐14‐30 FIBER METAL LM SIZE 14

3900822‐C

7841‐14‐30 26,812.50

Implant FEMORAL HEAD 28MM ‐3.5

3900878‐C

8018‐28‐01 7,125.00

Implant DISTAL CENTRALIZER 7859‐16 16MM

3900895‐C

7859‐16 1,509.75

Implant DISTAL CENTRALIZER 7859‐17 17MM

3900896‐C

7859‐17 1,162.80

Implant DISTAL CENTRALIZER 7859‐18 18MM

3900897‐C

7859‐18 1,162.80

Implant PLATE 1/3 TUBULAR W/ COLLAR 12H 145MM

3901304‐C

00‐4935‐012‐03 945.00

Implant SCREW 8961S CANN INTRF 9X25

3211754‐C

8961S 2,490.00

Implant TUBE TRACH ARMOURED 7.5 CUFFED

3801034

43154‐075 213.75

Implant BUTTON 24FR 4.4 CM GASTRO TUBE

3800087

000296 4,845.00



Implant MESH SMALL OVAL 3" X5"

3811496

0010201 10,052.00

Implant ANCHOR  MICRO QUICK 212866

3901354

212866 5,799.75

Implant CATHETER CHEST RT/ANGLE 32FR X 2

3400611

8888573055

358388573055

071588573055 186.15

Implant GRAFT PATCH 20 X 30 1.0MM

3800028

1420030010 23,320.00

Implant MESH 1DLMC04 GORE DUAL 15 X 19

3800523

1DLMC04 9,954.00

Implant CATHETER 561027 12 FR X 9" TROCAR

0023860

8888561027

358388561027

071588561027 221.10

Implant STENT 10 X 80MM WALLFLEX BILIARY UNCOVER

3800349

M00570650 25,297.66

Implant SCREW IM SML INTERLOCK 3.7X25MM

3900944‐C

00‐2253‐025‐37 2,520.00

Implant SCREW IM SML INTERLOCK 3.7X35MM

3900946‐C

00‐2253‐035‐37 2,520.00

Implant K‐WIRE STYLE 7 THD .9MM DIA X 229MM

3200296

262‐11‐00

00‐0262‐011‐00 238.50

Implant K‐WIRE THD 7‐DIAMOND 22.9CM.063" (1.6MM)

3200297

262‐13‐00

00‐0262‐013‐00 238.50

Implant TUBE 5.0 TRACH  CUFFED DISTAL

3800188

50XLTCD

358350XLTCD 1,156.95

Implant TUBE 8.0 TRACH CUFFED DISTAL

3800191

80XLTCD

358380XLTCD 1,156.95

Implant STENT 4FR X 26 URETERAL SILHOUETTE

3901301

B3837 1,950.00

Implant STENT 4FR X 30  URETERAL SILHOUETTE

3901303

B3839 1,950.00

Implant SCREW BIO‐INTERF W/DISP SHEATH 9X23MMM

3211930‐C

AR‐1390B 2,025.00

Implant SLING SYST AVAULTA SOLO POSTERI

3800182

486200 22,000.00

Implant DURASPHERE INJ BULKING AGENT 1ML

3901156

890‐215 3,150.00

Implant ANCHOR MINI QUICKANCHOR #2/0 18" 212033

3901359

212033 1,200.00



Implant PLATE ANATOMIC EXT RIGHT

3911802‐C

DVRAXR 11,760.00

Implant PLATE  ANATOMIC EXT LEFT

3911803‐C

DVRAXL 12,684.00

Implant PLATE  ANATOMIC NARW SHORT RT

3911808‐C

DVRANSR 9,520.00

Implant PLATE  ANATOMIC EXTRA EXT RIGHT

3911812‐C

DVRAXXR 20,171.25

Implant STENT 10 FR X 12 CM ADVANIX

3800740

M00534710 2,616.30

Implant PEG FULL THREAD 2.5 X 12MM

3911819‐C

FP12 1,110.00

Implant PEG FULL THREAD 2.5 X 16MM

3911821‐C

FP16 1,110.00

Implant PEG SMOOTH 2.0 X 12MM

3911830‐C

P12000 1,215.00

Implant PEG SMOOTH 2.0 X 14MM

3911831‐C

P14000 1,110.00

Implant PEG SMOOTH 2.0 X 16MM

3911832‐C

P16000 1,110.00

Implant PEG SMOOTH 2.0 X 26MM

3911837‐C

P26000 1,526.40

Implant PEG SCREW 2.5 X 18MM

3911855‐C

SP18000 1,110.00

Implant PEG SCREW 2.5 X 20MM

3911856‐C

SP20000 1,110.00

Implant PEG SCREW 2.5 X 26MM

3911859‐C

SP26000 1,200.00

Implant SCREW CORTICAL 3.5 X 10MM

3911862‐C

CS10000 1,110.00

Implant STENT 10 FR X 9 CM ADVANIX

3800741

M00534700 2,616.30

Implant SCREW CORTICAL 3.5 X 20MM

3911887‐C

CS20000 1,350.00

Implant GRAFT S0601 VASCULAR 6MM X 10CM

3901180

S0601 2,190.00

Implant SHELL MULTI POLAR 42MM 5001‐42

3200339‐C

5001‐42 5,714.25

Implant SHELL  MULTI POLAR 51MM

3810733‐C

5001‐51 6,928.35

Implant STEM CEMENTED LD/FX SIZE 14

3900707‐C

7833‐14 14,000.00

Implant STEM 7850‐11 SZ11 ADVOC CEMENTED STANDAR

3900800‐C

7850‐11 24,062.50

Implant STEM 7850‐16 SZ16 ADVOC CEMENTED STANDAR

3900805‐C

7850‐16 34,884.00



Implant STEM 7850‐17 SZ17 ADVOC CEMENTED STANDAR

3900806‐C

7850‐17 24,062.50

Implant STEM 7850‐13‐20 SZ13 ADVOC CEMENTED EXTE

3900807‐C

7850‐13‐20 24,062.50

Implant STEM FIBER METAL SIZE 11

3900812‐C

7841‐11 46,533.76

Implant CEMENT SMART SET HV

3201658

3092‐040 1,684.35

Implant STEM 7841‐15 FIBER METAL SIZE 15

3900816‐C

7841‐15 48,867.52

Implant STEM 7841‐15‐30 FIBER METAL LM SIZE 15

3900823‐C

7841‐15‐30 46,533.76

Implant STEM 7841‐16‐30 FIBER METAL LM SIZE 16

3900824‐C

7841‐16‐30 48,867.52

Implant STEM 7841‐17‐30 FIBER METAL LM SIZE 17

3900825‐C

7841‐17‐30 51,561.00

Implant SHELL W/ CLUSTER HOLES 50MM

3900829‐C

6200‐50‐22 19,625.65

Implant SHELL W/CLUSTER HOLES 54MM

3900831‐C

6200‐54‐22 19,625.65

Implant SHELL W/CLUSTER HOLES 60MM

3900834‐C

6200‐60‐22 19,625.65

Implant SHELL W/CLUSTER HOLES 66MM

3900837‐C

6200‐66‐22 16,484.05

Implant LINER MULTIPOLAR 28 X 50

3900872‐C

5001‐50‐28 4,271.44

Implant FEMORAL HEAD 28MM +7

3900881‐C

8018‐28‐14 7,125.00

Implant SCREW WASHERLOC 4.5X32MM CORTICAL

3900975‐C

908632 1,890.00

Implant DISTAL CENTRALIZER 7859‐13 13MM

3900892‐C

7859‐13

00‐7859‐013‐00 1,509.75

Implant DISTAL CENTRALIZER 7859‐15 15MM

3900894‐C

7859‐15 1,509.75

Implant DISTAL CENTRALIZER 7859‐19 19MM

3900898‐C

7859‐19 1,224.00

Implant SCREW BIO COMP INTERF ACL 7X28MM AR‐1370

3810523‐C

AR‐1370TC 3,525.00

Implant SCREW WASHERLOC 48MM

3900983‐C

908648 1,950.00

Implant STENT 6F X 26CM CONTOUR URETERAL

3800515

M0061802230 2,092.50

Implant STENT URETERAL STAMEY OPEN 6F

3800666

M0064001630 645.00



Implant SET SUPRAPUBIC STAMEY

3800422

081014

G55824 691.20

Implant SCREW 8971S CANN INTRF 7X25

3211796‐C

8971S 2,490.00

Implant TUBE 70145061 ARMSTRONG BEVELED GROMMET

3800438

70145061 219.00

Implant FIXATOR 99‐36501 WRIST ORTHOFIX ($900 EA

3800728

99‐36501 14,704.53

Implant CATHETER  ASH SPLIT 14 X 28

3900613

ASPC28‐3 4,346.25

Implant STAPLE 128692 RICHARDS SML REG

3500932‐C

12‐8692 1,224.75

Implant OBTURATOR

3810086

406310 82.50

Implant SCREW 8.0 CANNULATED 702612

3901311‐C

702‐612 6,355.50

Implant MESH VENTRALEX 1.7" X 1.7"

3800447

0010301 5,194.13

Implant GRAFT RINGED 8 X 60 CM

3800031

RRT08030070L 14,231.25

Implant MESH 1DLMC03 GORE DUAL 10 X 15

3800522

1DLMC03 6,070.50

Implant NAIL LONG 2.0 11 X 340MM X 13

3600699‐C

3230‐0340S 30,375.00

Implant MESH 1DLMC05 GORE DUAL 7.5 X 10

3800524

1DLMC05 4,132.50

Implant GRAFT V10070 PTFE 10X70CM

3801071

V10070 7,742.00

Implant PLATE 135D X 3 HOLE VERSA‐FXII STD TUBE

3893456‐C

00‐1193‐135‐03 6,061.95

Implant PLATE 1/4 TUBULAR W/COLLAR 6H 47MM

3900612‐C

00‐4927‐006‐03 1,125.00

Implant NAIL LONG 2.0 11 X 420MM X 13

3600703‐C

3230‐0420S 25,203.75

Implant PLATE 2.7X107MM ULS DC 9H 00‐4928‐009‐07

3601163‐C

00‐4928‐009‐07 4,146.75

Implant PLATE 2.7 X 26MM ULS DUAL COMP 2H

3601167‐C

47‐4928‐002‐07 3,645.00

Implant PLATE 2.7 X 113MM ULS REC 14

3601181‐C

00‐4928‐014‐13 5,985.00

Implant PLATE 2.7 X 81MM ULS RECON STRT 10H STRL

3601185‐C

47‐4928‐010‐13 5,130.00

Implant PLATE 2.7X145MM ULS RECON STRT 18H STRL

3601189‐C

47‐4928‐018‐13 6,412.50

Implant PLATE 2.7 X 39MM ULS L 3H SH

3601194‐C

00‐4928‐007‐02 4,001.40



Implant PLATE 2.7 X 39MM ULS L 3H RT

3601195‐C

00‐4928‐008‐02 4,001.40

Implant PLATE L 2.7X65MM ULS 5H SHAFT OBL RIGHT

3601211‐C

47‐4928‐020‐02 4,591.35

Implant NAIL LONG 2.0 11 X 440MM X 13

3600704‐C

3230‐0440S 30,618.00

Implant PLATE 3.5 X 66MM UNIV LOCK  DC 5H

3601213‐C

00‐4936‐005‐07 3,625.20

Implant PLATE 3.5 X 105MM UNIV LOCK DC  8H

3601216‐C

00‐4936‐008‐07 4,172.40

Implant PLATE 3.5 X 118MM UNIV LOCK DC  9H

3601217‐C

00‐4936‐009‐07 4,309.20

Implant PLATE 3.5 X 53MM LOCK REC 4H

3601222‐C

00‐4936‐004‐13 5,073.00

Implant PLATE 3.5 X 92MM UNIV LOCK R/STR 7H

3601225‐C

00‐4936‐007‐13 6,292.80

Implant PLATE 3.5 X 118MM UNIV LOCK 9H REC STR

3601227‐C

00‐4936‐009‐13 6,694.65

Implant PLATE 3.5 X 66MM ULS RECON STRT 5H STRL

3601233‐C

47‐4936‐005‐13 5,215.50

Implant NAIL IM M/DN FEMORAL  10MM DIA X 32CM

3601374‐C

00‐2252‐320‐10 13,549.20

Implant NAIL IM M/DN TIBIAL 8MM DIA X 34CM

3610387‐C

00‐2253‐340‐08 13,910.40

Implant NAIL IM M/DN TIBIAL 8MM DIA X 32CM

3610390‐C

00‐2253‐320‐08 13,910.40

Implant NAIL LONG 2.0 11 X 400MM X 12

3600711‐C

3325‐0400S 30,618.00

Implant PLATE 4945‐07 LF DCP NARROW 7 HOLE

3611650‐C

4945‐07 1,848.00

Implant SCREW 4.0X.35CM CANC SM HEX FULL THD

3800455‐C

00‐4840‐035‐00 270.00

Implant SCREW LAG LARGE THREAD 15.8DX115MM

3800546‐C

00‐1193‐015‐50 4,360.50

Implant SCREW LAG LARGE THREAD 15.8DX120MM

3800547‐C

00‐1193‐015‐52 4,360.50

Implant SCREW LAG LARGE THREAD 15.8DX125MM

3800548‐C

00‐1193‐015‐55 4,061.25

Implant PLATE PROX  HUM LOCK  4H LEFT

3893605

00‐2358‐002‐04 17,605.50

Implant NAIL IM M/DN TIBIAL 9MM DIA X 28CM

3900628‐C

00‐2253‐280‐09 13,910.40

Implant SCREW RECON LG 5.5MM DIA X 65MM

3900910‐C

00‐2252‐065‐55 3,744.00

Implant SCREW RECON LG 5.5MM DIA X 80MM

3900913‐C

00‐2252‐080‐55 3,744.00



Implant SCREW RECON LG 5.5MM DIAX115MM

3900920‐C

00‐2252‐115‐55 3,744.00

Implant NAIL LONG 2.0 11 X 360MM X 13

3600718‐C

3330‐0360S 33,183.00

Implant ADHESION BARRIER‐SEPRAFILM 4301‐02

3811487

50099619

4301‐02 4,145.61

Implant SCREW IM MED INTERLOCK 4.2X45MM

3900929‐C

00‐2253‐045‐42 2,520.00

Implant PLATE 140D X 5 HOLE VERSA‐FXII SHT TUBE

3901390‐C

00‐1193‐140‐95 5,664.38

Implant TUBE 6.0 TRACH CUFFED DISTAL

3800189

60XLTCD

358360XLTCD 1,156.95

Implant STENT 4FR X 28 URETERAL SILHOUETTE

3901302

B3838 1,950.00

Implant IMPLANT COLLAGEN

3800625

651005 4,986.79

Implant DURASPHERE  INJ BULKING AGENT 3ML

3901184

890‐216 8,750.00

Implant NAIL LONG 2.0 11 X 400MM X 13

3600720‐C

3330‐0400S 30,618.00

Implant PLATE ANATOMIC STANDARD RIGHT

3911800‐C

DVRAR 9,520.00

Implant PLATE  ANATOMIC NARROW RIGHT

3911806‐C

DVRANR 9,520.00

Implant PEG FULL THREAD 2.5 X 24MM

3911825‐C

FP24 1,110.00

Implant PEG SMOOTH 2.0 X 20MM

3911834‐C

P20000 1,110.00

Implant PEG SCREW 2.5 X 10MM

3911851‐C

SP10000 1,110.00

Implant SCREW CORTICAL 3.5 X 13 MM

3911885‐C

CS13000 1,350.00

Implant CATHETER  ASH SPLIT 14 X 36

3900619

ASPC36‐3 4,346.25

Implant PLATE RESORBAB 1.5MM ORBTL

3800148‐C

851.689.01S 15,028.75

Implant GRAFT S0604 VASCULAR 6MM X 40CM

3901181

S0604 6,312.75

Implant STEM CEMENTED LD/FX SIZE 12

3900747‐C

7833‐12

00‐7833‐012‐00 14,000.00

Implant NAIL KIT TROCHANTERIC 011 X 180MMX120

3600729‐C

3120‐1180S 21,428.55

Implant SHELL W/CLUSTER HOLES 62MM

3900835‐C

6200‐62‐22 17,970.70



Implant LINER MULTIPOLAR 28 X 44

3900870‐C

5001‐44‐28 4,583.37

Implant LINER MULTIPOLAR 28 X 53

3900873‐C

5001‐53‐28 3,750.00

Implant LINER MULTIPOLAR  28 X 57

3900874‐C

5001‐57‐28 3,735.00

Implant LINER MULTIPOLAR  22 X 40

3900876‐C

5001‐40‐22 3,750.00

Implant FEMORAL HEAD ADAPTOR 7818‐99‐02 +14

3900885‐C

7818‐99‐02

00‐7818‐099‐02 1,773.75

Implant SCREW BIO COMP INTERF ACL 7X23MM AR‐1370

3810520‐C

AR‐1370C 4,788.00

Implant SCREW BIO COMP INTERF FULL THD 8X28MM

3810524‐C

AR‐1380TC 3,375.00

Implant SCREW 8 X 17.5MM SET

3600732‐C

3003‐0822S 3,585.00

Implant PORT 8FR 7707540 MRI GROSHONG

3901073

7707540 3,750.00

Implant GRAFT 085201 HEMASHIELD 20X10

3801064

085201 9,453.08

Implant SCREW 05 X 65MM FULLY THREADED LOCKING

3600754‐C

1896‐5065S 3,207.60

Implant TUBE TRACH REINFORCED 7.0MM CUFFED

3801059

86550

3583086550 398.25

Implant TUBE 240072 RICHARDS MODIFIED T

3801025

240072 516.30

Implant SCREW  3.5 CANN PT 20MM 205‐020

3200009‐C

205‐020 1,920.00

Implant GRAFT 095218 HEMASHIELD STRAIGHT 18X30

3801005

095218 8,555.40

Implant GOODE T‐TUBE EAR 1.4X9.5X12MM 1026010

3800320

1026010 648.00

Implant SCREW 3.5 CANN PT 26MM 205‐026

3200012‐C

205‐026 2,490.00

Implant OBTURATOR  7F‐LL 15CM

3810062

406312 82.50

Implant MESH PARIETEX 13CM X 9CM TET1309

3901373

TET1309

3583TET1309 1,372.05

Implant SCREW IMF 8MM SELF‐DRILL 2.0M 201.928E

3201656‐C

201.928E 2,505.00

Implant COLLAGEN PORCINE (PERMACOL) 151828 1.5MM

3088177‐C

P151828 / TISSUE 

SCIENCE LAB

P151828 141,132.26



Implant SCREW 3.5 CANN PT 32MM 205‐032

3200016‐C

205‐032 3,268.80

Implant GRAFT PATCH 5X7.5 .6MM

3800030

1705007506 4,617.00

Implant MESH 1DLMC06 GORE DUAL 18 X 24

3800525

1DLMC06 16,032.50

Implant MESH 1DLMCP08 GORE DUAL PLUS 26 X 34

3800528

1DLMCP08 28,890.00

Implant GRAFT V06080L PTFE 6X80CM

3801069

V06080L 11,606.00

Implant GRAFT RR47010045L RINGED 4‐7 45CM

3811769

RR47010045L 10,136.00

Implant SCREW  3.5 CANN PT 44MM 205‐044

3200024‐C

205‐044 3,953.52

Implant PLATE 3.5 X 133MM LOCK 1/3 TUB 10H

3601136‐C

00‐4936‐010‐03 2,367.00

Implant PLATE 3.5 X 55MM ULS 1/3 TUBULAR 4H STRL

3601138‐C

47‐4936‐004‐03 2,187.00

Implant PLATE 2.7 X 49MM ULS DUAL COMP 4H

3601168‐C

47‐4928‐004‐07 3,650.85

Implant PLATE 2.7 X 61MM ULS DUAL COMP 5H

3601169‐C

47‐4928‐005‐07 3,736.35

Implant PLATE 2.7 X 42MM ULS L 3H LT

3601196‐C

00‐4928‐009‐02 4,001.40

Implant SCREW  3.5 CANN PT 48MM 205‐048

3200026‐C

205‐048 1,965.00

Implant PLATE 2.7 X 65MM ULS 5H OBLI

3601201‐C

00‐4928‐020‐02 4,189.50

Implant PLATE L 2.7X39MM ULS 3H SHAFT LEFT STRL

3601204‐C

47‐4928‐007‐02 4,403.25

Implant PLATE L 2.7 X 39MM ULS 3H SHAFT RIGHT ST

3601205‐C

47‐4928‐008‐02 4,403.25

Implant PLATE L 2.7X62MM ULS 5H SHAFT LEFT

3601208‐C

47‐4928‐017‐02 4,591.35

Implant PLATE 3.5 X 53MM LOCK DC 4H

3601212‐C

00‐4936‐004‐07 3,612.00

Implant PLATE 135D X 4 HOLE VERSA‐FXII SHT TUBE

3601546‐C

00‐1193‐135‐94 4,802.25

Implant NAIL IM M/DN TIBIAL 10MM DIA X 28CM

3611534‐C

00‐2253‐280‐10 13,910.40

Implant STEM 7850‐12‐20 SZ 12 ADVOC CMTD EXT NEC

3800533‐C

7850‐12‐20 24,062.50

Implant SCREW LAG LARGE THREAD 15.8DX65MM

3800536‐C

00‐1193‐015‐25 3,315.00

Implant SCREW SELF TAPPING 6.5X25MM

3900901‐C

00‐6250‐065‐25 1,773.75



Implant SCREW 3.5 CANN FT 10MM 205‐210

3200028‐C

205‐210 1,920.00

Implant STAPLE 128690 RICHARDS XSM REG

3500931‐C

12‐8690 514.35

Implant SCREW 6.5 X 50MM SELF TAPPING

3900905‐C

00‐6250‐065‐50 1,773.75

Implant SCREW 6.5 X 60MM SELF TAPPING

3900906‐C

00‐6250‐065‐60 1,489.20

Implant SCREW RECON LG 5.5MM DIA X 85MM

3900914‐C

00‐2252‐085‐55 3,744.00

Implant SCREW IM MED INTERLOCK 4.2X40MM

3900928‐C

00‐2253‐040‐42 2,520.00

Implant SCREW IM MED INTERLOCK 4.2X50MM

3900930‐C

00‐2253‐050‐42 2,520.00

Implant NAIL CAP 5MM M/DN EXTENDED

3900940‐C

00‐2252‐001‐05 3,078.00

Implant INTEGRAL SHORT GTR W/2 CABLES 23X53MM

3900958‐C

00‐2232‐002‐04 19,280.25

Implant PLATE ULS IMPLANT S 3.5MM

3601108‐C

00‐4836‐035‐40 5,016.00

Implant SCREW  3.5 CANN FT 18MM 205‐218

3200032‐C

205‐218 1,920.00

Implant SCREW 4.2 X 35MM MED INTERLOCK IM

3200129‐C

00‐2253‐035‐42 2,520.00

Implant CANNULA INNER SHILEY 7.0 XLT TUBE

3800194

70XLTIN

358370XLTIN 92.40

Implant STENT 4FR X 24 URETERAL SILHOUETTE

3901300

B3836 1,950.00

Implant SCREW BIO‐INTERF W/DISP SHEATH 8X23MM

3211928‐C

AR‐1380B 2,130.00

Implant MESH TITANIZED 10 X 15

3800529

6000138 3,375.00

Implant SHUNT ASCITES DENVER (DOUBLE‐VALVE)

3901309

42‐2050 26,166.25

Implant PLATE  ANATOMIC SHORT LEFT

3911805‐C

DVRASL 9,520.00

Implant SCREW 3.5 X 28MM CANN FULL THRED 205.228

3200037‐C

205.228 1,920.00

Implant PEG FULL THREAD 2.5 X 18MM

3911822‐C

FP18 1,110.00

Implant PEG FULL THREAD 2.5 X 20MM

3911823‐C

FP20 1,110.00

Implant PEG SMOOTH 2.0 X 10MM

3911829‐C

P10000 1,526.40

Implant PEG PARTIAL THREAD 2.5 X 10MM

3911840‐C

TP10000 1,200.00



Implant PEG PARTIAL THREAD 2.5 X 30MM

3911850‐C

TP30000 1,200.00

Implant PEG SCREW 2.5 X 16MM

3911854‐C

SP16000 1,110.00

Implant PEG SCREW 2.5 X 30MM

3911861‐C

SP30000 1,125.00

Implant SURGIWRAP 27204‐01 BIORESORBABLE SHEET

3901363

27204‐01

27204‐05 3,662.25

Implant CATHETER  ASH SPLIT 14 X 32

3900618

ASPC32‐3 4,346.25

Implant STEM  PRESS FIT LD / FX SIZE 12 7834‐12

3200098‐C

7834‐12 14,000.00

Implant SCREW 4.5MM CANN PT 32MM 215‐432

3200060‐C

215‐432 2,070.00

Implant STEM CEMENTED LD/FX SIZE 18 7833‐18

3200321‐C

7833‐18 13,916.00

Implant SHELL MULTI POLAR 46MM 5001‐46

3200365‐C

5001‐46 7,301.84

Implant HEAD 7818‐52 52MM HIP

3200446‐C

7818‐52

00‐7818‐052 7,125.00

Implant PLATE COMP 3.5X73MM 6HOLE 00‐4935‐006‐00

3900609‐C

00‐4935‐006‐00 1,665.00

Implant STEM PRESS FIT LD/FX SIZE 14

3900730‐C

7834‐14 14,000.00

Implant STEM CEMENTED LD/FX SIZE 16

3900760‐C

7833‐16 14,000.00

Implant STEM 7850‐12 SZ12 ADVOC CEMENTED STANDAR

3900801‐C

7850‐12 38,280.60

Implant STEM 7850‐15 SZ15 ADVOC CEMENTED STANDAR

3900804‐C

7850‐15 22,687.50

Implant STEM 7850‐14‐20 SZ14 ADVOC CEMENTED EXTE

3900808‐C

7850‐14‐20 22,687.50

Implant STEM FIBER METAL SIZE 13

3900814‐C

7841‐13 48,867.52

Implant SCREW  4.5MM CANN PT 34MM 215‐434

3200061‐C

215‐434 2,070.00

Implant STEM 7841‐16 FIBER METEL SIZE 16

3900817‐C

7841‐16 48,867.52

Implant STEM FIBER METAL LM SIZE 13

3900821‐C

7841‐13‐30 46,533.76

Implant LINER MULTIPOLAR  28 X 60

3900875‐C

5001‐60‐28 3,735.00

Implant FEMORAL HEAD 28MM +10.5

3900882‐C

8018‐28‐05 5,557.50



Implant DISTAL CENTRALIZER 7859‐11 11MM

3900890‐C

7859‐11 1,509.75

Implant PLATE 130D X 6 HOLE VERSA‐FXII STD TUBE

3901223‐C

00‐1193‐130‐06 4,655.48

Implant SUTURE ANCHOR PUSHLOCK PEEK 3.5X19.5MM

3901340

AR‐1926PS 5,130.00

Implant SCREW 4.5MM CANN PT 40MM 215.440

3200064‐C

215‐440 2,070.00

Implant INTRODUCER MICRO 4.5FRX5 CM

0031415

0678945 471.00

Implant SCREW 4.5MM CANN FT 32MM 217.732

3200079‐C

214‐732 2,070.00

Implant GRAFT HEMASHIELD STRAIGHT 16X30

3910011

095216 8,148.00

Implant STENT 6 X 28 DOUBLE J

3801202

5202200 3,719.25

Implant SCREW 4.5 X 46MM CANN PT 214.546

3200262‐C

214.546 2,070.00

Implant MESH 019930 TRELEX 3X6

3810050

019930 1,501.50

Implant WIRE CERCLAGE 18GA/1.0MM 291.05

3211548

291‐05 70.95

Implant PORT 8FR MRPP80AFS CT PRO‐FUSE

3890540

MRPP80AFS 4,061.25

Implant MESH SURGIPRO 3X5

3800019

SPM35W

3583SPM35W 389.55

Implant WIRE CERCLAGE 20G/0.8MM 291.09

3211549

291‐09 498.75

Implant GUIDE PIN  3.2MM X 304.8MM RECON N

3900630‐C

00‐2246‐023‐00 339.00

Implant TUBE 7.0 TRACH CUFFED DISTAL

3800190

70XLTCD

358370XLTCD 1,156.95

Implant STENT 6F X 22CM CONTOUR URETERAL

3901085

M0061802210 2,325.00

Implant PLATE  ANATOMIC SHORT RIGHT

3911804‐C

DVRASR 9,520.00

Implant PLATE  ANATOMIC WIDE LEFT

3911811‐C

DVRAWL 9,520.00

Implant PEG FULL THREAD 2.5 X 14MM

3911820‐C

FP14 1,110.00

Implant PEG SMOOTH 2.0 X 28MM

3911838‐C

P28000 1,755.00

Implant PEG PARTIAL THREAD 2.5 X 12MM

3911841‐C

TP12000 1,200.00



Implant PEG PARTIAL THREAD 2.5 X 16MM

3911843‐C

TP16000 1,350.00

Implant PEG PARTIAL THREAD 2.5 X 24MM

3911847‐C

TP24000 1,110.00

Implant PLATE 245.18 RECONST 3.5MM 8 HOLE

3600566

245‐18 6,169.68

Implant NAIL LONG 2.0 11 X 300MMM X 1

3600688‐C

3225‐0300S 30,618.00

Implant FIXATOR CFD147 AGEE WRIST JACK

3901271

CFD147 19,937.50

Implant PLATE MAXILLOFACIAL ADAPTION 24

3900608‐C

421.010 9,380.00

Implant PLATE 241.901 SF LOCKING PROX HUMERAL SH

3901198‐C

241.901 32,373.00

Implant SCREW 1.3MM MAXILLOFACIAL 6MM

3900606‐C

400.626 1,177.50

Implant STEM PRESS FIT LD/FX SIZE 15

3200318‐C

7834‐15 14,000.00

Implant SHELL MULTI POLAR 44MM 5001‐44

3200363‐C

5001‐44 7,301.84

Implant PLATE 130D X 3HOLE VERSA‐FIX II STD TUBE

3211933‐C

00‐1193‐130‐03 6,061.95

Implant STEM 7841‐14 FIBER METAL SIZE 14

3900815‐C

7841‐14 46,533.76

Implant SHELL W/CLUSTER HOLES 52MM

3900830‐C

6200‐52‐22 19,698.25

Implant SHELL W/CLUSTER HOLES 64MM

3900836‐C

6200‐64‐22 19,698.25

Implant PLATE CERVICAL SPINE 8 HOLE

3800159‐C

487.30 15,730.00

Implant SHELL W/CLUSTER HOLES 70MM

3900839‐C

6200‐70‐22 16,484.05

Implant LINER MULTIPOLAR  28 X 47

3900871‐C

5001‐47‐28 3,750.00

Implant LINER MULTIPOLAR  22 X 42

3900877‐C

5001‐42‐22 4,271.44

Implant FEMORAL HEAD 28MM +0

3900879‐C

8018‐28‐02 7,125.00

Implant FEMORAL HEAD 28MM +3.5

3900880‐C

8018‐28‐03 7,125.00

Implant FEMORAL HEAD ADAPTOR +7.0MM 12/14

3900887‐C

7818‐99

00‐7818‐099‐00 1,773.75

Implant STENT 7FR X 90CM URINARY DIV

3800457

5231600 3,599.85

Implant SCREW 1.8MM TITANIUM LOCK 497.78

3800160‐C

497.78 477.00



Implant STENT 6F X 28CM CONTOUR URETERAL

3800704

M0061802240 2,835.00

Implant PLATE 241.051 3.5MM LCP T 74MM OBLIQUE R

3800471‐C

241.051 4,617.00

Implant ANCHOR MITEK QUICK 212031

3800065

212031 3,676.50

Implant CATHETER 410235F BILARY

3400993

41‐023‐5F

410235F 1,500.00

Implant PLATE 241.351 LCP 1/3 TUB 5 HOLE/57MM

3800478‐C

241.351 3,804.75

Implant MESH TRELEX 6X6

3800045

019960 1,853.25

Implant SURGIWRAP 27504‐01 130MM X 200MM X .05MM

3900590

27504‐05 3,662.25

Implant DIGNITY MID SZ 8F CT PORT

3890541

MRDP80AMN 5,415.00

Implant PLATE 241.381 LCP 1/3 TUB 8 HOLE/93MM

3800481‐C

241.381 4,089.75

Implant CATHETER CHEST TUBE 16 FR

3900588

8888570515

358388570515

071588570515 80.55

Implant SCREW 3.5 X 14MM LOCKING 212.103

3800494‐C

212.103 3,000.00

Implant PORT VISIPORT 5‐11MM

3900575‐P

176673P

0570176673P

3583176673P 2,376.00

Implant MESH 0123810 COMPSIX 8" X 10"

3800443

0123810 13,790.00

Implant MESH 0123460 COMPSIX 4" X 6"

3800446

0123460 4,545.75

Implant SCREW 3.5 X 18MM LOCKING 212.105

3800496‐C

212.105 3,000.00

Implant GUIDE PIN 1.6MM X 9" PART THD TROCAR TIP

3801522‐C

00‐1147‐086‐00 237.60

Implant GUIDE PIN 1.6MX9" SMOOTH SHFT TROCAR TIP

3801523‐C

00‐1147‐090‐00 156.60

Implant SCREW 3.5 X 24MM LOCKING 212.108

3800499‐C

212.108 3,000.00

Implant SCREW 3.5 X 40MM LOCKING 212.117

3800507‐C

212.117 3,000.00

Implant SCREW 3.5 X 50MM LOCKING 212.121

3800509‐C

212.121 2,678.40

Implant NAIL LONG 2.0 011 X 360MM X 1

3600691‐C

3225‐0360S 31,293.00



Implant PLATE 42MM STRUT MAXILLOFACIAL 22

3900650‐C

420.04 4,959.00

Implant SCREW 4.0 X 40MM CAN FULL THRED 206.040

3200008‐C

206.040 345.60

Implant PLATE T MAXILLOFACIAL 5 X 7 HOLE

3900658‐C

420.71 2,340.00

Implant SCREW CORTEX ST 3.5 X 12MM

3800513‐C

204.812 544.05

Implant MICROMATRIX POWDER 500MG MICRONIZED

3893616‐C

MM0500 18,658.75

Implant SHEET 4 X 12CM SURG THIN GENTRIX

3893621‐C

PSM0412 15,180.00

Implant PLATE T MAXILLOFACIAL 3 X 4 HOLE

3900678‐C

421.071 2,775.00

Implant STENT  6FX24CM INLAY W/O GUIDEWIRE

3800928

778624 1,768.05

Implant WOUND MATRIX 3 X 7CM FEN CYTAL

3800683‐C

WS0307 2,520.00

Implant SCREW BIOCOMP INTERF DELTA TAPR 10X35MM

3801403

AR‐5035TC‐10 3,525.00

Implant SUTURE ANCHOR BIOCOMP PL 2.9X15.5MM

3801409

AR‐1923BC 5,700.00

Implant PLATE L MAXILLOFACIAL 3 X 4 HOLE

3900681‐C

421.053 3,405.00

Implant SCREW 4.5 X 38MM CAN SET 214.538

1300132‐C

214.538 3,980.88

Implant SUTURE ANCHOR SWLCK TENODESIS  BIOCOMP

3987670

AR‐1662BC 5,842.50

Implant GOLD TISSUE MARKERS MT‐NW‐887‐825 20CM

3987683

MT‐NW‐887‐825

MTNW887825 3,195.00

Implant SUTURELASSO SD WIRE LOOP

3987696

AR‐4068‐05SD 2,100.00

Implant PSN TIBIA  RT 5DEG SZ D STEMMED

3987735

42‐5320‐067‐02 17,875.00

Implant FEM STEM COXAVERA HI OFST SZ16

3987758

3L93716 53,587.50

Implant SCREW LO‐PRO CORTICAL 3.5X28MM

3987796

1312‐18‐028 750.00

Implant SCREW CORTICAL LOCK 3.5X18MM

3987799

8161‐35‐018 1,725.00

Implant PLATE L MAXILLOFACIAL 3 X 4 HOLE

3900682‐C

421.052 3,405.00

Implant ART SURFACE LT CR 12MM

3987852

42‐5110‐004‐12 17,187.50

Implant SCREW 16MM THREAD CANNULATED 5.5X50MM

3987864

00‐1147‐050‐55 2,709.00



Implant FEM STEM SZ14 CORAIL COXA VERA

3988805

3L93714 34,330.50

Implant JUGGERKNOT ANCHOR 2.9MM #2 MAXBRAID SUT

3988831

912029 3,705.00

Implant LAG SCREW 10.5 X 125MM

3988867

47‐2485‐125‐10 6,805.80

Implant SCREW CORTICAL 5.0 X 42.5MM 3.5MM HEX

3988880

47‐2484‐042‐50 2,574.00

Implant PSN TIBIA 5 DEG SZ G LEFT STEMMED

3988912

42‐5320‐079‐01 17,875.00

Implant TIBIAL TRAY MBT SZ 4

3988922

1294‐35‐140 67,048.80

Implant PIN CLAVICLE 3.0

3988984

1129‐12‐020 14,327.50

Implant PLATE MAXILLOFACIAL ADAPTION 20 H

3900709‐C

447.10 5,514.75

Implant PSN FEMURAL HD RT SZ 8

3988992

42‐5006‐064‐02 27,500.00

Implant SCREW 3.5 X 24MM LOCK HEXALOBE

3989015

30‐0240 1,875.00

Implant PSN FEM HEAD RT CR SZ 12

3989045

42‐5026‐074‐02 27,500.00

Implant LAG SCREW NATURAL NAIL SYST 10.5X100MM

3989061

47‐2485‐100‐10 6,805.80

Implant HIP STEM B SZ 7 FITMORE OFFSET 40.25

3899128

01.00551.207 29,025.00

Implant HUMERAL HD 50X24X52MM VERSA‐DIAL

3989188

113055 13,650.00

Implant ROD CURVED 50MM PS92006‐50

3989219

PS92006‐50 1,500.00

Implant LINER 52 X 36MM VITE

3989226

00‐8851‐010‐36 20,625.00

Implant PERSONA PATELLA 32MM VE

3989235

42‐5402‐000‐32 13,300.00

Implant PLATE Y MAXILLOFACIAL 1 X 3 HOLE

3900713‐C

447.61 2,265.00

Implant SCREW 4.5 X 33MM  INV/REV

3989243

01.04223.033 1,965.00

Implant FEMUR PLATE  PROX 18 HOLE

3989267

02.03263.118 19,536.00

Implant SCREW NCB CORT 4.0X46MM

3989269

02.03155.046 1,530.00

Implant SCREW NCB CORT 4.0X36MM

3989270

02.03155.036 1,530.00

Implant SCREW NCB  4.0X38MM

3989271

02.03155.038 1,530.00



Implant SCREW PEEK CF 8MM X 25MM

3989280

10026 2,856.00

Implant SCREW PEEK CF 9MM X 30MM

3989285

10031 3,000.00

Implant HIP STEM B SZ 9 FITMORE OFFSET 41.50

3989300

01.00551.209 32,062.50

Implant SCREW PEEK CF 10MM X 25MM

3989330

10034 3,000.00

Implant PLATE 245.061 3.5MM LCP RECON 6HL/84MM

3900729‐C

245.061 11,018.00

Implant ZIPTIGHT ANKLE FIX SYSTEM

3989359

909857 8,470.00

Implant FEMORAL HEAD BIOLOX +7 36MM

3989370

00‐8775‐036‐04 17,875.00

Implant BONE CHIPS CANCELLOUS 60CC

3989376

05B009

05B009LL 10,850.00

Implant HIP STEM B EXT SZ 7 FITMORE OFFSET 47.25

3989390

01.00551.307 29,025.00

Implant PEG SMOOTH  2.7 X 24MM

3989414

1312‐27‐024 1,485.00

Implant SCREW CORTICAL NON‐LOCK 3.5X26MM

3989425

8150‐37‐026 645.00

Implant SCREW 4.0X16MM LOCK CANCELLOUS

3989433

8161‐40‐016 1,725.00

Implant TM HUM STEM 17 X 130MM

3989443

00‐4348‐117‐13 37,800.00

Implant TOGGLELOC ZIPLOOP FEM IMPLNT SYS

3989457

909848 12,215.00

Implant LAPIDUS PLATE 5 HOLE

3989461

LAP40F 16,720.00

Implant SCREW 1.0MM MAXILLOFACIAL 4MM

3900662‐C

400.504 840.00

Implant SCREW 3.0 X 20MM LOCK

3989463

LS30‐20T 3,375.00

Implant PSN FEM  HEAD LT CR SZ 11

3989524

42‐5026‐070‐01 27,500.00

Implant ART SURFACE RT 11MM

3989546

42‐5214‐005‐11 17,187.50

Implant FEMORAL HEAD BIOLOX+3.5 36MM

3989550

00‐8775‐036‐03 17,875.00

Implant IMPLANT SMALL TESTICULAR TOROSA

3989593

450‐1325 26,262.50

Implant IMPLANT LG TESTICULAR  TOROSA

3989595

450‐1329 26,262.50

Implant GUIDEWIRE 1.6MM STANDARD DRILL TIP

3989606

00‐2360‐033‐16 700.20



Implant FEM HD  BIOLOX  32MM +5

3989616

1365‐32‐320 13,395.62

Implant PSN FEMURAL HD RT SZ 11

3989617

42‐5006‐070‐02 27,500.00

Implant SCREW 1.2MM MAXILLOFACIAL 3MM

3900668‐C

400.603 1,005.00

Implant NAIL LONG 2.0 11 X 320MM X 12

3600707‐C

3325‐0320S 30,618.00

Implant IMPLANT MALLEABLE PENILE PROTHESIS

3989628

91‐9509SC 93,000.00

Implant STEINMAN PIN STYLE 5  2.0X229M

3989641

00‐0187‐001‐59 118.50

Implant SCREW NCB CORT 5.0X85MM

3989667

02.03150.085 2,286.00

Implant CROSSFIX ALL/SUT MENISCAL CURVED RPR KIT

3989737

CM‐8002 6,091.88

Implant SCREW 2.7 X 16MM NO LOCK HEXALOBE

3989757

30‐0347 1,200.00

Implant PLATE VDR PROX 70‐0350

3989763

70‐0350 14,368.75

Implant PLATE CORONOID STANDARD LEFT 70‐0413

3989764

70‐0413 17,421.25

Implant KIT DISP FOR BIO‐TENODESIS 3X8MM

3989775

AR‐1530DS 4,075.50

Implant STEINMAN PIN THD 2.0X229M

3989786

00‐2620‐033‐00 246.00

Implant SCREW CSLP CANCELLOUS 4.0MM 16M

3981001

450.133 6,583.50

Implant SCREW 1.2MM MAXILLOFACIAL 4MM

3900669‐C

400.604 870.00

Implant BASEPLATE FINNED SZ 7

3987008

351‐02‐107 15,125.00

Implant INSERT KNEE EMPWR  RT 16MM SZ7

3981011

342‐16‐707 12,600.00

Implant PLATE DISTAL FIBULA LOCK 8H 132MM LEFT

3981050

00‐2357‐018‐08 9,634.80

Implant PSN FEMURAL HD RT SZ 4

3981060

42‐5006‐056‐02 27,500.00

Implant LAPIDUS PLATE 5 HOLE

3981064

LAP35BF 16,720.00

Implant STAPLE MONOCORTICAL 2.0MM 10X10X10

3981068

ST101010 15,468.75

Implant PLATE DISTL FIBULA LOCK 8H 132MM RIGHT

3981088

00‐2357‐017‐08 9,634.80

Implant FEMUR CR LEFT SZ 5

3981104

1504‐00‐105 31,215.38



Implant SUTURE ANCHOR FT CS 4 NEEDLES 5.5X14.7MM

3981119

AR‐1927BCNF 4,773.75

Implant KNEE SYS INTBRACE KNEE LIG AUG REPAIR

3981120

AR‐5511‐CP 16,431.25

Implant SCREW 1.2MM MAXILLOFACIAL 8MM

3900672‐C

400.608 870.00

Implant SCREW LO‐PRO LOCK SS 2.7X16MM

3981126

AR‐8827L‐16 1,725.00

Implant SCREW LO‐PRO SS CORTICAL 3.5X16MM

3981128

AR‐8835‐16 525.00

Implant ART SURFACE LT TB EF 12MM

3981144

42‐5114‐007‐12 17,187.50

Implant SCREW 1.7MM MAXILLOFACIAL 6MM

3900692‐C

400.656 1,230.00

Implant SCREW CORTEX ST 3.5 X 14MM 204.814

3600809‐C

204.814 544.05

Implant SCREW CORTEX ST 3.5 X 18MM 204.818

3600811‐C

204.818 585.00

Implant STENT 6F X 26 DOUBLE PIGTAIL

3800925

5606026 1,050.00

Implant SHEET 10 X15CM SURG THIN GENTRIX

3893623‐C

PSM1015 44,850.00

Implant SCREW 1.7MM MAXILLOFACIAL 8MM

3900693‐C

400.658 1,230.00

Implant SHEET 7 X 10CM SURG GENTRIX

3893625‐C

PSMX0710 24,543.75

Implant SHEET 16 X 20CM THICK SURG MATRIX

3893629‐C

PSMT1620 97,920.00

Implant MESH 6.4CM X 6.4CM C‐QUR

3801168

31201 6,612.00

Implant STENT 6FX28CM INLAY W/O GUIDEWIRE

3800930

778628 1,768.05

Implant CABLE PIN 40MM IMPLANT SET

3600803‐C

00‐2232‐050‐19 7,560.00

Implant STENT 18 X 10.3MM WALLFLEX ESOPHAGEAL

3800852

M00516700 32,691.06

Implant SCREW 2.0MM MAXILLOFACIAL 4MM

3900715‐C

401.154 891.00

Implant SCREW LAG LARGE THREAD 15.8DX130MM

3200092‐C

00‐1193‐015‐57 4,360.50

Implant MESH 0115320 RIGHT 3DMAX  MEDIUM 3 X 5

3800938

0115320 2,115.00

Implant MESH 0115310 LEFT 3DMAX  MEDIUM 3 X 5

3800939

0115310 2,115.00

Implant SCREW BIOCOMP INTERF RND DELTA 9X28MM

3801406

AR‐5028C‐09 3,525.00



Implant SPEEDBRIDGE 4.75X19.1MM BC AR‐2600SBS‐4

3801408

AR‐2600SBS‐4 23,925.00

Implant SUTURE ANCHOR SWLCK TENODESIS 7X19.1MM

3801410

AR‐1662BCC‐7 6,198.75

Implant SUTURE ANCHOR BIOCOMP SUT‐TAK 3X14.5MM

3801411

AR‐1934BCF 4,346.25

Implant SCREW 4.5 X 40MM CAN SET 214.540

3200133‐C

214.540 3,980.88

Implant SCREW 2.4MM MAXILLOFACIAL 6MM

3900720‐C

401.306 666.00

Implant PATCH PARIETEX VENTRAL 4.6CM

3987658

PCO4VP 4,695.52

Implant PSN FEMURAL HD  RT SZ 5

3987742

42‐5006‐058‐02 27,500.00

Implant FEM HEAD  36  +5 320 CERAMIC

3987757

1365‐36‐320 13,528.48

Implant SCREW FIXED LOCK 3.5 HEX 4.75 X 30MM

3987773

180553 1,965.00

Implant SCREW CORTICAL LOCK 3.5X10MM

3987803

8161‐35‐010 1,725.00

Implant HIP STEM A SZ 2 FITMORE OFFSET 31.50

3987844

01.00551.102 32,062.50

Implant FEMORAL HEAD +3.5X32MM DIA

3987846

8018‐032‐03 7,125.00

Implant BONE VOID FILL  5ML CERAMANT

3987859

800‐4000 19,126.25

Implant SCREW 2.4MM MAXILLOFACIAL 10MM

3900722‐C

401.310 666.00

Implant LINER NEUTRAL 36MM X 56MM

3988809

1221‐36‐056 11,399.50

Implant TIBIAL BASE FXD BRING SZ 8

3988814

1506‐10‐008 21,838.44

Implant SCREW 6.0X60MM

3988837

47‐2484‐60‐60 2,664.00

Implant LAG SCREW 10.5X110MM

3988849

47‐2485‐110‐10

EX#47‐2485‐110‐10 6,805.80

Implant SCREW 7.0 X 65MM CANNULATED THREAD 32MM

3988863

00‐1147‐065‐71 3,168.00

Implant Z NAIL TIBIA 10MM X 38CM UNIV

3988871

47‐2495‐380‐10 19,775.25

Implant MYSTIM PATIENT PROGRAMMER

3988889

97740 16,362.50

Implant SCREW 7.0 X 32MM CANNULATED THREAD 75MM

3988899

00‐1147‐075‐71 3,168.00

Implant PSN PATELLA  29MM VE

3988905

42‐5402‐000‐29 13,300.00



Implant ART SURFACE RT 10MM

3988937

42‐5210‐005‐10 17,187.50

Implant SCREW CANNULATED 6.5X85MM TL20 602685S

3211855‐C

602685S 4,305.35

Implant GUIDE WIRE .045 X 6 SINGLE TROCAR

3988393

WS‐1106ST 210.00

Implant PLATE HUMRL 4 HOLE RT 9MM

3988941

00‐2358‐001‐04 17,605.50

Implant FEMORAL NAIL 40CM

3988949

47‐2491‐400‐13 20,790.00

Implant FEM HD 3.5 X 36MM BILOX CERM

3988955

00‐8775‐036‐01 17,875.00

Implant FEMUR LEFT  SZ 7

3988956

1504‐10‐107 30,079.13

Implant PLATE PROX  HUM LOCK 12H RIGHT

3988990

00‐2358‐001‐12 18,991.50

Implant SCREW NCB 5.0X42MM

3989030

02.03150.042 2,286.00

Implant Z NAIL TIBIA 11MM X 36CM UNIV

3989048

47‐2495‐360‐11 19,775.25

Implant TOGGLELOC FEM ZIP LOOP #7

3989055

904755 4,937.63

Implant SCREW 602865S CANNULATED 6.5 X 65MM TL40

3211868‐C

602865S 2,475.00

Implant MICRO BONE SCREW  18MM  ACUTRAK 2

3989062

AT2‐C18 6,569.25

Implant SCREW CORTICAL 2.7X14MM

3989074

1312‐27‐214 750.00

Implant PSN FEMURAL HD LT SZ 8 NRW

3989081

42‐5020‐064‐01 27,500.00

Implant HIP STEM B EXT SZ 3 FITMORE OFFSET 45.00

3989095

01.00551.303 32,062.50

Implant PLATE PROX HUM LOCK 12H LEFT

3989121

00‐2358‐002‐12 18,991.50

Implant FIBERSNARE #2 FIBERWIRE STIFF CLOSED 26"

3989124

AR‐7209SN 1,575.00

Implant FEMORAL HEAD 0X36MM DIA 12/14 TAPER

3989152

8018‐36‐02 7,125.00

Implant SCREW 4.5 X 36MM INV/REV

3989159

01.04223.036 1,965.00

Implant SCREW 4.5 X 42MM INV/REV

3989164

01.04223.042 1,965.00

Implant SCREW 602870S CANNULATED 6.5 X 70MM TL40

3211869‐C

602870S 5,386.50

Implant NAIL LONG 2.0 11 X 340MM X 12

3600708‐C

3325‐0340S 30,618.00



Implant FEMUR  RIGHT SIZE 5

3989166

1504‐10‐205 31,222.13

Implant PATELLA  35MM CEMENT AOX

3989168

1518‐20‐035 7,143.50

Implant SCREW CORTICAL 5.0X80MM

3989175

02‐0315‐008‐0 2,286.00

Implant SCREW CORTICAL 5.0X85MM

3989178

02‐0315‐008‐5 2,286.00

Implant SCREW CORTICAL 5.0X34MM

3989182

02‐0315‐003‐4 2,286.00

Implant SCREW CAP  LOCKING

3989183

02‐0315‐030‐0 2,088.00

Implant STEINMAN PIN THREAD TIP 1/8 DIAX2.5" LNG

3989192

406669 2,865.00

Implant SCREW 602880S CANNULATED 6.5 X 80MM TL40

3211871‐C

602880S 5,386.50

Implant FEM STEM SZ11 CORAIL STND

3989209

3L92511 34,134.75

Implant STENT 7 X 7 DUODENAL BEND BILIARY

3989213

M00533650 727.80

Implant PLATE PROX HUM LOCK 4H LEFT

3989221

00‐2358‐002‐04 17,605.50

Implant SCREW CORTICAL  4.0 X 25MM

3989230

47‐2484‐025‐40 2,574.00

Implant GLENOSPHERE 36MM REVERSE BASE PLATE

3989241

00‐4349‐036‐11 22,962.50

Implant SCREW NCB 5.0X38MM

3989268

02.03150.038 2,286.00

Implant SCREW PEEK CF 7X30MM

3989276

10023 3,360.00

Implant FEM HD 35MM  +5

3989309

1365‐52‐000 7,402.50

Implant SCREW 611070S CANNULATED 8.0 X 70MM TL25

3211888‐C

611070S 3,645.00

Implant SCREW LO‐PRO CORTICAL 3.5X42MM

3989316

1312‐18‐042 750.00

Implant SCREW LO‐PRO CORTICAL 3.5X38MM

3989318

1312‐18‐038 750.00

Implant SCREW PEEK CF 10MM X 35MM

3989332

10036 3,034.50

Implant GFS II STANDARD 12MM LOOP 10691

3989338

10691 3,429.75

Implant GFS II LARGE 15MM LOOP 10703

3989342

10703 3,429.75

Implant Z NAIL TIBIA 10MM X 32CM UNIV

3989372

47‐2495‐320‐10 19,775.25



Implant SCREW CORTICAL 5.0 X 27.5MM

3989371

47‐2484‐027‐50 2,574.00

Implant Z NAIL CPM 10MM X 36CM 130 LEFT

3989386

47‐2493‐363‐10 27,183.75

Implant SCREW LO‐PRO CORTICAL 3.5X32MM

3989407

1312‐18‐032

131218032 750.00

Implant SCREW 2.0MM DIA. 14MM LENGTH

3200823‐C

F20‐14T‐09 2,730.00

Implant PSN TIBIA 5 DEG SZ G RIGHT STEMMED

3989418

42‐5320‐079‐02 17,875.00

Implant SCREW CORTICAL NON‐LOCK 3.5X18MM

3989723

8150‐37‐018 645.00

Implant SCREW 4.0X42MM LOCK CANCELLOUS

3989436

8161‐40‐042 1,725.00

Implant SCREW CANNULATED THREAD 7.0X70MM

3989440

00‐1147‐085‐71 3,168.00

Implant LAG SCREW 10.5X105MM

3989487

47‐2485‐105‐10 6,805.80

Implant SCREW 4.5 X 36MM CORTICAL

3989508

14022‐36 525.00

Implant SCREW CANNULATED 6.5X85MM

3989534

00‐1147‐095‐65 3,078.00

Implant PSN FEMURAL HD RT SZ 6

3989542

42‐5006‐060‐02 27,500.00

Implant FEM HD 32MM +1

3989581

1365‐21‐000 7,297.50

Implant SCREW 2.0MM DIA. 21MM LENGTH

3200831‐C

F20‐21T‐09 2,280.00

Implant SCREW PERI CANULTD CONICAL 3.5X40MM

3989605

00‐2359‐040‐37 1,332.00

Implant FEMUR  PS RIGHT SIZE 6

3989614

1504‐10‐206 31,458.38

Implant TIBIAL INSERT SZ6 5MM AOX

3989615

1516‐50‐605 17,170.31

Implant ART SURFACE RT 10MM

3989630

42‐5210‐006‐10 17,187.50

Implant NAIL TITANIUM ELSTC 2.0X440M

3989664

475.920 5,870.86

Implant NAIL TITANIUM ELSTC 2.5X440M

3989665

475.925 6,797.25

Implant STENT 6 X 30 MULTI‐FLEX

3801207

5476300 1,500.00

Implant STENT 6 X 24 DOUBLE J

3811458

5202800 3,750.00

Implant SCREW 3.0MM DIA. 16MM L

3200838‐C

F30‐16T‐11 2,280.00



Implant SCREW 3.0MM DIA. 20MM L

3200840‐C

F30‐20T‐11 3,090.00

Implant STENT 8.5 X 5 ADVANIX BILLIARY

3800746

3462

M00534620 2,616.30

Implant SCREW 4.0 X 20MM CAN FULL THRED 206.020

3200007‐C

206.020 345.60

Implant SCREW CORTEX ST  3.5 X 26MM 204.826

3200018‐C

204.826 585.00

Implant PLATE PROXHUM LOK 6HOLE LT00‐2358‐002‐06

3200049‐C

00‐2358‐002‐06 18,034.50

Implant SCREW 3.0MM DIA. 30MM L

3200845‐C

F30‐30T‐11 2,730.00

Implant STENT 6F X 22 DOUBLE PIGTAIL

3800923

5606022 1,050.00

Implant SCREW CORTEX ST 3.5 X 10MM

3800512‐C

204.810 453.60

Implant BURN MATRIX 5 X 5CM CYTAL

3893617‐C

BMM0505 11,900.00

Implant SHEET 5 X 5CM SURG GENTRIX

3893624‐C

PSMX0505 9,660.00

Implant STENT 6FX26CM INLAY W/O GUIDEWIRE

3800929

778626 1,768.05

Implant STENT 6FX22CM  INLAY W/O GUIDEWIRE

3800395

778622 1,768.05

Implant SCREW 4.0MM DIA. 34MM L

3200858‐C

F40‐34T‐11 3,450.00

Implant STIMULATOR SPF + MINI MESH  60 SPINE

3800931‐C

10‐1398M 92,400.00

Implant PUMP SYNCHROMED II PROGRAMABLE

3800933

8637‐20 135,700.00

Implant PORT 6.6FR MRDP66ALN CT DIGNITY

3987697

MRDP66ALN 4,061.25

Implant SCREW 4.0MM DIA. 40MM L

3200861‐C

F40‐40T‐11 3,450.00

Implant ART SURFACE RT 10MM

3987734

42‐5210‐004‐10 17,187.50

Implant ART SURFACE RT 13MM

3987746

42‐5214‐004‐13 17,187.50

Implant GRIPTION SHELL  60MM

3987748

1217‐32‐060 17,297.50

Implant LINER 36X60

3987756

1221‐36‐060 11,238.50

Implant GLENOSPHERE STD 36MM HUM BEARING

3987767

115310 15,812.50

Implant HUM BEARING  STD 44‐36MM

3987768

XL‐115363 15,647.50



Implant SCREW LO‐PRO CORTICAL 3.5X22MM

3987797

1312‐18‐022 1,320.00

Implant SCREW LO‐PRO CORTICAL 3.5X40MM

3987798

1312‐18‐040

131218040 750.00

Implant SCREW LOCKING CORTICAL 3.5X22MM

3987800

8161‐35‐022 1,725.00

Implant JUGGERKNOTLESS SOFT ANCHOR 2.1

3987855

110005198 7,336.00

Implant K‐WIRE 0.9MM X 100MM

3200866‐C

K100‐09S 153.75

Implant NAIL LONG 11 X 360MM X 125 LT

3600709‐C

3325‐0360S 31,293.00

Implant PLATE TIBIAL LOCK 6 HOLE 104M

3987870

00‐2357‐004‐06 16,038.00

Implant SCREW 6.5 X 20MM CANCELLOUS BONE

3987893

1217‐20‐500 1,136.25

Implant GRIPTION SHELL  56MM

3988808

1217‐32‐056 17,541.56

Implant FEMUR  LEFT SZ 8

3988812

1504‐10‐108 31,502.25

Implant Z NAIL CPM 11.5MM X 42CM 130 LEFT

3988878

47‐2493‐423‐11 27,183.75

Implant JUG 1.45 SHT RIGID SZ 2 ANCHOR 110005315

3988894

110005315 5,700.00

Implant ART SURFACE LT 11MM VE

3988904

42‐5124‐005‐11 20,625.00

Implant SCREW Z‐NAIL COR 5.0X50M

3988908

47‐2484‐050‐50 2,574.00

Implant PSN ALL POLY PATELLA PLY 35MM X 9.0MM

3988913

42‐5400‐000‐35 9,100.00

Implant STEINMAN PIN STYLE 6  4.8X229MM

3600942

00‐0187‐007‐69 136.05

Implant STENT 10 X 80MM WALLFLEX BILIARY F/C

3988942

M00570540

M00570380 38,263.46

Implant HIP STEM B SZ 3  FITMORE OFFSET 38.00

3988954

01.00551.203 32,062.50

Implant LINER NEUT 36MM X 54MM JJ X 36

3988965

00‐8751‐011‐36 12,600.00

Implant HIP STEM B SZ 8  FITMORE OFFSET 40.88

3988966

01.00551.208 32,062.50

Implant FEM HD 36MM X 0 BILX CERM

3988967

00‐8775‐036‐02 17,875.00

Implant LAG SCREW 10.5X115MM

3988999

47‐2484‐115‐10 6,805.80



Implant SCREW 3.0 X 16MM LOCK HEXALOBE

3989018

30‐0282 1,875.00

Implant FEM PLATE  DISTAL 21H

3989028

02.0226.4021 21,491.25

Implant SCREW NCB UNICORTICAL 5.0X12MM

3989036

02.03151.012 2,088.00

Implant CABLE PIN45MM IMPLANT SET 00‐2232‐050‐20

3200044

00‐2232‐050‐20 7,087.95

Implant SCREW CORTICAL 2.7X16MM

3989071

1312‐27‐216 750.00

Implant Z NAIL CMN 11.5MM X 36CM 130 RIGHT

3989086

47‐2493‐362‐11 27,183.75

Implant MICRO BONE SCREW 13MM ACUTRAK

3989136

AT2‐C13 6,569.25

Implant PSN FEMURAL HD LT SZ 6 NRW

3989137

42‐5020‐060‐01 27,500.00

Implant MICRO BONE SCREW 22MM ACUTRAK 2

3989148

AT2‐C22 6,569.25

Implant BASE PLATE TM RV 15MM

3989156

00‐4349‐015‐00 26,675.00

Implant PIN TM REV 2.5MM

3989161

47‐4309‐025‐01 2,384.25

Implant FEM PLATE 15 H NCBPP

3989174

02‐0326‐401‐5 18,653.25

Implant PLATE CABLE/READY BONE 10H‐10BND 305M

3200048‐C

00‐2232‐003‐03 14,025.00

Implant SCREW CORTICAL 5.0X46MM

3989180

02‐0315‐004‐6 2,286.00

Implant Z NAIL TIBIA 8.3MM X 32CM UNIV

3989228

47‐2495‐320‐08 19,775.25

Implant GRAFT 5CC ACCUFILL (BONE FILLER)

3989262

201.050 40,950.00

Implant SCREW PEEK CF 9MM X 25MM

3989284

10030 3,000.00

Implant SHELL CONTINUUM CLUSTER 58 LL

3989291

00‐8757‐058‐01 25,437.50

Implant SCREW CORTICAL 5.0 55MM

3989302

47‐2484‐055‐50 2,574.00

Implant TIBIAL INSERT SZ 3 5MM AOX

3989308

1516‐50‐305 17,019.06

Implant HUMERAL OFFSET HEAD 17X46MM

3989352

00‐4302‐046‐17 14,781.25

Implant ART SURFACE LT CR 10MM

3989373

42‐5110‐005‐10 17,187.50

Implant SCREW CORTICAL ST SML HEX 3.5X60MM

3200108‐C

00‐4835‐060‐01 333.00



Implant TUBE 70141039 STRAIGHT VENT PACIFIC

2100112

70141039 157.50

Implant GRIPTION SHELL  50MM

3989378

1217‐32‐050 17,297.50

Implant LINER NEUTRAL 50MM

3989379

1221‐32‐050 11,238.50

Implant FEM STEM SZ 8 CORAIL STND COLRD

3989381

3L92498 34,131.38

Implant TIBIAL INSERT SZ6 6MM AOX

3989400

1516‐50‐606 17,170.31

Implant SCREW LO‐PRO CORTICAL 3.5X50MM

3989409

1312‐18‐050 750.00

Implant SCREW CORTICAL NON‐LOCK 3.5X22MM

3989422

8150‐37‐022 645.00

Implant SCREW LOCKING CORTICAL 3.5X24MM

3989429

8161‐35‐024 1,725.00

Implant SCREW 4.0X36MM LOCK CANCELLOUS

3989437

8161‐40‐036 1,725.00

Implant SCREW 4.0X40MM LOCK CANCELLOUS

3989438

8161‐40‐040 1,725.00

Implant SCREW LAG STANDARD THREAD 12.7DX120MM

3200269‐C

00‐1193‐010‐52 3,687.19

Implant SCREW 7.0 X 70MM THD CANNULATED

3989439

00‐1147‐030‐70 3,168.00

Implant BONE GRAFT CALCIGEN S SYSTEM

3989451

348012 6,555.00

Implant PLATE PROX HUM LOCK 8H LEFT

3989469

00‐2358‐002‐08 18,554.25

Implant SCREW NCB 5.0X65MM

3989473

02.03150.065 2,286.00

Implant HUMERAL NAIL  8X240MM

3989479

1817‐08‐241 19,167.50

Implant GUIDE PIN  3.2MM X 14"

3989512

1401214 1,545.00

Implant MATRIX PLUS 10 X 15CM GENTRIX

3989535

MSPL1015 49,725.00

Implant ART SURFACE RT 10MM

3989547

42‐5214‐004‐10 17,187.50

Implant FEMUR CR  LEFT SZ 4

3989551

1504‐00‐104 31,222.13

Implant SCREW CORTICAL SML HEX 2.7X32MM

3200303‐C

00‐4827‐032‐00 252.00

Implant PLATE PROX 6 HOLE 114MM L RT

3989602

00‐2358‐001‐06 18,034.50

Implant SCREW CORTICAL MINI CRUCIFORM 1.5X12MM

3200334‐C

00‐4815‐012‐02 252.00



Implant SCREW CORTICAL SML HEX 2.7X12MM

3200346‐C

00‐4827‐012‐00 252.00

Implant STENT 6 X 26 DOUBLE J

3801201

5202100 3,179.25

Implant SCREW CORTICAL ST SML HEX 3.5X28MM

3200383‐C

00‐4835‐028‐01 333.00

Implant TVT VAGINAL TAPPING SYSTEM

3800223

810041B 12,196.10

Implant SCREW CORTICAL ST SML HEX 3.5X40MM

3200385‐C

00‐4835‐040‐01 333.00

Implant NAIL LONG 2.0 11 X 320MM X 13

3600716‐C

3330‐0320S 30,618.00

Implant TUBE 16 FR REPL G‐TUBE STRAIGHT ENFIT

3800838

M00582060

M00509901 430.05

Implant SEALANT PLEURAL AIR LEAK

3800184

PGPS002 11,900.00

Implant SET GENESYS PROCERVA PROCEDURE

3800357

58021 91,188.00

Implant PUTTY 02‐6000‐100 EVO3C  10 CC ACCELL

3200137‐C

02‐6000‐100 29,852.55

Implant CANCELLOUS 30CC 1‐4MM CRUSHED BONE

3200142‐C

03‐0100‐300

03‐0100‐30 5,571.75

Implant CANCELLOUS 30CC 4‐10MM BONE CHIPS

3200143‐C

03‐0400‐300 5,571.75

Implant SCREW 4.0X26MM CANC SM HEX FULL THD

3200397‐C

00‐4840‐026‐00 270.00

Implant SCREW CORTEX  ST 3.5 X 38MM 204.838

3600814‐C

204.838 414.00

Implant STENT 6F X 24 DOUBLE PIGTAIL

3800924

5606024 1,050.00

Implant STENT 6F X 28 DOUBLE PIGTAIL

3800926

5606028 1,050.00

Implant MICROMATRIX POWDER 100MG MICRONIZED

3893614‐C

MM0100 3,876.00

Implant BURN MATRIX 7 X 10CM  CYTAL

3893618‐C

BMM0710 16,156.25

Implant BURN MATRIX 10X15CM  CYTAL

3893619‐C

BMM1015 30,375.00

Implant SHEET 10 X15CM SURG GENTRIX

3893626‐C

PSMX1015 49,725.00

Implant SCREW LAG STANDARD THREAD 12.7DX85MM

3200407‐C

00‐1193‐010‐35 3,687.19

Implant SHEET 10 X15CM THICK SURG MATRIX

3893628‐C

PSMT1015 59,062.50



Implant PLATE PROX TIBIAL 3.5MM 14H LT LOCK

3200145‐C

00‐2357‐004‐14 18,983.25

Implant PLATE DISTL TIBIAL LOCK 14H 216MM LNG RT

3600274‐C

00‐2357‐007‐14 18,554.25

Implant WOUND MATRIX 3 X 3.5CM FEN CYTAL

3800682‐C

WS0303 1,260.00

Implant WOUND MATRIX 7 X10CM FEN  CYTAL

3800684‐C

WS0710 5,486.25

Implant SCREW 4.0X22MM CANC SM HEX PART THD 9MM

3200417‐C

00‐4840‐022‐01 270.00

Implant SCREW BIOCOMP INTERF RND DELTA 10X28M

3801405

AR‐5028C‐10 3,525.00

Implant MESH 30902 PROLOOP LARGE

3001359

30902 1,860.00

Implant MESH LAP PROGRIP 10X15 DF FLATSHEET

3987659

LPG1510

3583LPG1510 6,124.51

Implant SUTURE ANCHOR SWIVELOCK TENODESIS 8MM

3987690

AR‐1662BC‐8 29,362.50

Implant SUTURE ANCHOR PUSHLOCK PEEK 2.4X11.3MM

3987692

AR‐2922BC 8,008.00

Implant NAIL TI ELASTIC 3.0MM

3987740

475.930 6,679.26

Implant PSN PATELLA  32MM

3987745

42‐5400‐000‐32 9,100.00

Implant HIP STEM B SZ 6 FITMORE OFFSET 39.62

3987753

01.00551.206 29,025.00

Implant SCREW 4.0X40MM CANC SM HEX PART THD 14M

3200425‐C

00‐4840‐040‐01 270.00

Implant HUM TRAY  STD 44MM W/LOCK RING

3987769

115370 26,675.00

Implant FEM SHAFT FRESH FROZEN  6CM

3987816

27B006

27B006LL 23,168.75

Implant SCREW 6.5 X 85MM 16MM THD CANNULATED

3987847

00‐1147‐085‐65 3,078.00

Implant PSN FEM HEAD RT CR SZ 7

3987883

42‐5026‐062‐02 27,500.00

Implant MICRO BONE SCREW 24MM  ACUTRAK 2

3988818

AT2‐C24‐S (STERILE)

AT2‐C24‐S 6,569.25

Implant SYNCHROMED MESH POUCH KIT 8590‐1

3988884

8590‐1 1,275.00

Implant PATELLA  CEMENT AOX 38MM

3988957

1518‐20‐038 7,136.50



Implant SCREW 3.5 X 34MM CORTEX

3988961

204.834 522.00

Implant HUMERAL STEM MINI 11MM X 83MM

3988971

113631 37,800.00

Implant SCREW 4.0X45MM CANC SM HEX PART THD 15M

3200426‐C

00‐4840‐045‐01 270.00

Implant SCREW COMP LOCK  3.5 HEX 4.75 X 20 ST

3988973

180551 1,965.00

Implant PLATE DISTL FIBULA  LOCK 4H 80MM RIGHT

3988981

00‐2357‐017‐04 8,341.20

Implant IMPLANT FLEX HINGE TOE SZ 2

3988987

G4260102 18,548.75

Implant MICRO BONE SCREW 28MM  ACUTRAK 2

3988991

AT2‐C28 7,098.00

Implant ART SURFACE RT 11MM

3988995

42‐5214‐007‐11 17,187.50

Implant TIBIAL INSERT SZ 7 8MM AOX

3989004

1516‐50‐708 17,170.31

Implant TIBIAL INSERT SIZ 7 6MM AOX

3989006

1516‐50‐706 17,170.31

Implant SCREW NCB UNICORTICAL 5.0X14MM

3989037

02.03151.014 2,088.00

Implant SCREW CORTICAL 5.0 37MM

3989049

47‐2484‐37‐50 2,574.00

Implant MICRO BONE SCREW 20MM ACUTRAK 2

3989063

AT2‐C20 6,569.25

Implant HEAD 7818‐44 44MM HIP 00‐7818‐044‐00

3200439‐C

7818‐44

00‐7818‐044‐00 7,125.00

Implant PEG SMOOTH  2.7X22MM

3989077

1312‐27‐022 1,485.00

Implant FEM HD  36MM + 8.5

3989126

1365‐53‐000 7,402.50

Implant PORT DIGNITY LO‐PRO 8F CT

3989130

MRDP80ALN 5,486.25

Implant ART SURFACE LT CR 10MM

3989139

42‐5110‐004‐10 17,187.50

Implant ART SURFACE RT 12MM VE

3989151

42‐5224‐007‐12 20,625.00

Implant STEM TM REV 16 X 130MM

3989155

00‐4349‐016‐13 55,375.00

Implant TIBIAL BASE PLTFRM SZ 4

3989167

1506‐10‐004 21,835.00

Implant SCREW CORTICAL 5.0X60MM

3989177

02‐0315‐006‐0 2,286.00

Implant SCREW UNICORTICAL 5.0X10MM

3989184

02‐0315‐101‐0 2,088.00



Implant HEAD 7818‐47 47MM HIP 00‐7818‐047

3200442‐C

7818‐47

00‐7818‐047 7,125.00

Implant SCREW PEEK CF 7MM X 20MM

3989274

10021 3,000.00

Implant FEMORAL HEAD 3.5 X 36MM DIA

3989299

8018‐036‐01 7,125.00

Implant SCREW LO‐PRO CORTICAL 3.5X36MM

3989317

1312‐18‐036

131218036 750.00

Implant SCREW MULTI DIRECT 3.5X30MM

3989320

8163‐35‐030 2,505.00

Implant K‐WIRE 1.6

3989325

144256 390.00

Implant SUTURE ANCHOR KNOTLESS PEEK CF 55

3989335

10315 3,659.25

Implant GFS II STANDARD 15MM LOOP 10692

3989339

10692 3,429.75

Implant STEM TM REVERSE 12 X 170M

3989363

00‐4349‐012‐17 51,625.00

Implant HEAD 7818‐48 48MM HIP 00‐7818‐048

3200443‐C

7818‐48

00‐7818‐048 7,125.00

Implant HUMERAL OFFSET HEAD 27X52MM

3989364

00‐4302‐052‐27 14,781.25

Implant GLENOID POST MODULAR HYBRID POLY

3989369

113951 4,916.25

Implant FEM STEM SZ13 CORAIL STND COLRD

3989404

3L92503 33,166.80

Implant ART SURFACE RT 12MM

3989419

42‐5214‐010‐12 17,187.50

Implant SCREW CORTICAL NON‐LOCK 3.5X12MM

3989426

8150‐37‐012 645.00

Implant HUMERAL OFFSET HEAD 21X52MM

3989445

00‐4302‐052‐21 14,781.25

Implant Z NAIL CPM 13MM X 38CM 130 RIGHT

3989450

47‐2493‐382‐13 27,183.75

Implant ZIPTIGHT AC JOINT TWO ZIPLOOPS

3989454

904835 8,183.00

Implant FEMUR RIGHT SIZE 8

3989459

1504‐10‐208 31,215.38

Implant SCREW 3.0 X 16MM LOCK

3989462

LS30‐16T 3,375.00

Implant HEAD 7818‐57 57MM HIP

3200451‐C

7818‐57

00‐7818‐057 7,125.00



Implant SCREW 3.0 X 22MM NON LOCK

3989467

PS30‐22T 3,375.00

Implant PSN FEMURAL HD LT SZ 12

3989495

42‐5006‐074‐01 27,500.00

Implant SCREW 6.5 X 60MM CANC LG HEX 16MM THD

3200510‐C

00‐4865‐060‐01 468.00

Implant SCREW 3060‐0075S LAG 10.5 X 75MM

3600734‐C

3060‐0075S 8,240.40

Implant SCREW 6.5 X 45MM CANC LG HEX 32MM THD

3200521‐C

00‐4865‐045‐02 468.00

Implant SCREW CANC LG HEX 32MM THREAD 6.5X105MM

3200532‐C

00‐4865‐105‐02 486.00

Implant STENT 24CM 6FR 145361 PERCUFLEX

3800621

M0061453610 1,176.00

Implant SCREW 4.5 X 14MM CORTICAL ST LG HEX

3200534‐C

00‐4845‐014‐01 288.00

Implant STENT ZIMMON 7 X 7 BILIARY

3800918

ZSO‐7‐7

G22167 1,080.00

Implant SCREW BASIC FRAG 4.5 CORTICAL

3200542‐C

4845‐30‐01 288.00

Implant CANCELLOUS BONE CHIPS 15CC

3200144‐C

03‐0400‐150 3,633.75

Implant MESH C ‐ QUR 31200

3801167

31200 4,959.00

Implant SCREW CORTEX ST 3.5 X 45MM 204.845

3600815‐C

204.845 415.35

Implant STENT 6F X 30 DOUBLE PIGTAIL

3800927

5606030 1,050.00

Implant STENT 4.7FX24CM INLAY W / GUIDEWIRE

3893606

776424 2,218.35

Implant SCREW BASIC FRAG 4.5 CORTICAL

3200543‐C

4845‐32‐01 288.00

Implant STENT 6FX22‐32CM INLAY W / GUIDEWIRE

3893609

776600 1,470.00

Implant SHEET 7 X 10CM SURG THIN GENTRIX

3893622‐C

PSM0710 22,137.50

Implant ALLOGRAFT TRINITY ELITE SMALL

3800815

410001 11,830.00

Implant TUBE  8.5 FR 3 PORT JEJUNAL FEEDING

3800854

M00566320 2,046.60

Implant SCREW LF 4.5 CORTICAL 50MM

3200551‐C

4845‐50‐01 199.20

Implant MESH 0115321 RIGHT 3DMAX LRG

3800936

0115321 2,325.00

Implant KNEE ACL TIGHTROPE RT W/TITANIUM AR‐1588

3801401

AR‐1588RT 4,987.50



Implant SWIVELOCK C VENTED BIOCOMP 4.75X19.1MM

3801407

AR‐2324BCCT 6,697.50

Implant SCREW 4.5 X 46MM CAN SET 214.546

3200134‐C

214.546 3,980.88

Implant BALLOON OVAL DISSECTOR

3800696

SMBTTOVL 8,983.24

Implant SWIVELOCK C DBL LOAD BIOCOMP 4.75X22MM

3987689

AR‐2324BCC

AR‐2324BCC‐2 5,942.25

Implant MESH SYMBOTEX (SYM9) ROUND

3987698

SYM9

358300SYM9 4,685.40

Implant MATRIX PLUS 7 X10CM GENTRIX

3987749

MSPL0710 26,565.00

Implant FEMORAL HEAD +3.5X36MM DIA

3987754

8018‐036‐03 67,125.00

Implant SCREW CORTICAL MINI CRUCIFORM 2.0X18MM

3200584‐C

00‐4820‐018‐02 270.00

Implant SCREW LOCK 3.5 HEX  X 35MM

3987771

180554 1,965.00

Implant PLATE OLECRANON 10 HOLE

3987795

1312‐18‐601 20,542.50

Implant SCREW CORTICAL LOCK 3.5X14MM

3987802

8161‐35‐014 1,725.00

Implant PSN TIBIA  LT 5D SZ D STEMMED

3987853

42‐5320‐067‐01 17,875.00

Implant SCREW 16MM THREAD CANNULATED 5.5X60MM

3987863

00‐1147‐060‐55 2,709.00

Implant SCREW 6.5 X 70MM 32MM THD CANNULATED

3987868

00‐1147‐070‐66 3,078.00

Implant WASHER FOR 5.5 / 7.5MM SCREW

3987869

00‐1147‐098‐00 522.00

Implant OXFORD TWN PEG FEM MED

3987877

161469 48,906.00

Implant OXFORD TIBIA RT MED SIZE B

3987878

154721 33,831.00

Implant LINER NEUTRAL 54MM ACETABULAR

3988801

1221‐36‐054 11,415.88

Implant SCREW 6.5 X 35MM CANC LG HEX 16MM THD

3200689‐C

00‐4865‐035‐01 468.00

Implant FEM HD 36MM +15.5

3988810

1365‐55‐000 7,577.50

Implant FEM STEM SZ16 CORAIL HGH OFST

3988858

L20316 34,131.38

Implant Z NAIL RF 13MM X 40CM UNIV

3988835

47‐2494‐400‐13 25,665.75



Implant PIN 2.0MM THREADED

3988843

00‐2490‐046‐20 1,278.00

Implant Z NAIL CPM 13MM X 38CM 130 LEFT

3988879

47‐2493‐383‐13 27,183.75

Implant SCREW CORTICAL 5.0X30MM

3988909

47‐2484‐030‐50 2,574.00

Implant PSN FEM HEAD LT CR SZ 9 STANDARD

3988911

42‐5026‐066‐01 27,500.00

Implant PUMP 700CX  MS 15CM PS 1Z

3988932

72404231 109,908.00

Implant PSN TIBIA LT 5DEG SZ F STEMMED

3988935

42‐5320‐075‐01 17,875.00

Implant MICRO BONE SCREW 16MM ACUTRAK 2

3988939

AT2‐C16 6,569.25

Implant NAIL I/M M/DN TIBIAL 9MM X 32CM

3200957‐C

00‐2253‐320‐09 13,910.40

Implant TIBIAL BASE  PLTFRM SZ 6

3988958

1506‐10‐006 21,838.44

Implant SCREW PEDICLE 6.0 X 35MM

3988968

PS2009‐60‐35 24,475.00

Implant SCREW CORTICAL SHFT SH 6MM TH 3.5X22MM

3988979

00‐4835‐022‐04 288.00

Implant SCREW PERI 2.7 HEAD CORTICAL 3.5X16MM

3988982

00‐2348‐016‐35 486.00

Implant LAG SCREW 10.5 X 115MM

3989007

47‐2485‐115‐10 6,805.80

Implant LINER NEUTRAL 58 X 36MM SZ LL

3989025

00‐8751‐013‐36 12,600.00

Implant SCREW NCB CORT 5.0X75MM

3989034

02.03150.075 2,286.00

Implant PSN TIBIA RT 5DEG SZ H STEMMED

3989046

42‐5320‐083‐02 17,875.00

Implant EXPRESSBRAID BLUE/WHITE

3989056

110003539 750.00

Implant SCREW LOCK LNG PERI 3.5X38MM

3201413‐C

00‐2359‐038‐35 1,422.00

Implant SCREW 3060‐0090S LAG 10.5 X 90MM

3600737‐C

3060‐0090S 10,318.00

Implant SCREW CORTICAL 2.7X12MM

3989073

1312‐27‐212 750.00

Implant PSN TIBIA LT 5D SZ E STEMMED

3989080

42‐5320‐071‐01 17,875.00

Implant PSN PATELLA  38MM

3989105

42‐5400‐000‐38 9,100.00

Implant ART SURFACE RT CR 11MM

3989108

42‐5210‐004‐11 17,187.50



Implant TIBIAL INSERT SZ 5 6MM AOX

3989169

1516‐50‐506 17,170.31

Implant GLENOID POST MODULR HYBRID

3899186

PT‐113950 11,060.00

Implant SCREW LOCK LNG PERI 3.5X44MM

3201416‐C

00‐2359‐044‐35 1,422.00

Implant FEM STEM SZ10 CORAIL STND

3989205

3L92510 34,131.38

Implant FEM HD 36MM +1.5 12/14 TAPER M‐SPEC

3989206

1365‐51‐000 7,402.50

Implant ART SURFACE RT 12MM

3989217

42‐5214‐007‐12 17,187.50

Implant SCREW CORTICAL 4.0 35MM

3989229

47‐2484‐35‐40 2,574.00

Implant TIBIAL INSERT SZ 7 5MM AOX

3989233

1516‐50‐705 17,170.31

Implant LAG SCREW 10.5X95MM

3989247

47‐2485‐095‐10 6,805.80

Implant SCREW LOCK LNG PERI 3.5X52MM

3201420‐C

00‐2359‐052‐35 1,422.00

Implant MESH 6" X 4" PARIETEX

3901375

TEC1510 1,557.15

Implant COLLAGEN PORCINE (PERMACOL) 151020 1.5MM

3088175‐C

P151020/TISSUE 

SCIENCE LAB

P151020 55,340.75

Implant MESH  VENTRALEX 2.5" X 2.5"

3800448

0010302 5,906.63

Implant MESH 0123790 COMPSIX 7 " X 9"

3800444

0123790 11,550.00

Implant MESH 1DLMC08 GORE DUAL 26 X 34

3800526

1DLMC08 35,653.50

Implant MESH 1DLMCP06 GORE DUAL PLUS 18 X 24

3800527

1DLMCP06 18,617.50

Implant K‐WIRE 2.5MM PART THREAD

3801530‐C

00‐1142‐001‐25 189.00

Implant SCREW LOCK LNG PERI 3.5X54MM

3201421‐C

00‐2359‐054‐35 1,422.00

Implant SCREW FULL THREAD CANNULATED 3.5X20MM

3201436‐C

00‐1147‐020‐36 2,484.00

Implant SCREW FULL THREAD CANNULATED 3.5X70MM

3201455‐C

00‐1147‐070‐36 2,484.00

Implant STENT 6 X 28 MULTI‐FLEX

3801203

5476280 1,800.00

Implant SCREW FULL THREAD CANNULATED 3.5X75MM

3201456‐C

00‐1147‐075‐36 2,484.00



Implant STENT ZIMMON 7 X 4 BILIARY

3800917

ZSO‐7‐4

G22161 1,065.00

Implant CANCELLOUS 15CC 1‐4MM CRUSHED BONE

3200141‐C

03‐0100‐150 3,633.75

Implant MESH C‐QUR 31202 3.2" X 3.2"

3800449

31202 8,022.00

Implant SCREW CORTEX  ST 3.5 X 24MM 204.824

3600813‐C

204.824 478.80

Implant SCREW FULL THREAD CANNULATED 3.5X80MM

3201457‐C

00‐1147‐080‐36 2,484.00

Implant SCREW CORTEX ST  3.5 X 30MM

3800514‐C

204.830 585.00

Implant SCREW CORTEX ST 3.5 X 32MM

3800515‐C

204.832 471.60

Implant PLATE 130D X 6 HOLE VERSA‐FX II SHT TUBE

3200138‐C

00‐1193‐130‐96 5,664.38

Implant SCREW PART THREAD CANNULATED 3.5X18MM

3201472‐C

00‐1147‐018‐35 2,484.00

Implant BEACON CARE PACKAGE PROSTATE

3800679

ASM0094‐003 16,500.00

Implant FIBRIN SEALANT  ARTISS  4ML SYRINGE

3900019

1501652SP 4,758.93

Implant EXTENDER  TIGHTROPE BUTTON AR‐1589RT

3801402

AR‐1589RT 3,375.00

Implant SCREW BIOCOMP 9X35MM AR‐5035TC‐09

3801404

AR‐5035TC‐09 3,525.00

Implant POWERPORT ISP TITANIUM DEVICE 6FR  CATH

3800817

1706060 4,132.50

Implant GRAFTJACKET 4CMX 7CM MAXFORCE

3987654

8600‐4X07 54,937.50

Implant SCREW PART THREAD CANNULATED 3.5X36MM

3201481‐C

00‐1147‐036‐35 2,484.00

Implant MESH VENTERAL PATCH HERNIA

3801241

PCO8VP 7,100.94

Implant PSN FEMURAL HD RT SZ 7 NRW

3987736

42‐5020‐062‐02 27,500.00

Implant GLENOSPHERE MINI BASEPLATE 25MM

3987770

010000589 19,250.00

Implant SCREW CENTRAL 6.5X30MM

3987772

115396 1,965.00

Implant WASHER CORT LO‐PRO

3987804

1312‐18‐000 1,455.00

Implant BONE CHIPS FF 05B006LL 30CC

3987815

05B006

05B006LL 6,740.25



Implant PSN FEMURAL HD LT SZ 7 NRW

3987850

42‐5020‐062‐01 27,500.00

Implant SCREW PART THREAD CANNULATED 3.5X40MM

3201483‐C

00‐1147‐040‐35 2,484.00

Implant SCREW  3.5 CANN PT 18MM 205‐018

3200005‐C

205‐018 2,908.80

Implant JUGGERKNOTLESS 2.1 DISP KIT

3987854

110003172 6,070.50

Implant SCREW 16MM THREAD CANNULATED 5.5X70MM

3987865

00‐1147‐070‐55 2,709.00

Implant PSN FEM HEAD  LT CR SZ 8

3987881

42‐5026‐064‐01 27,500.00

Implant LINER NEUTRAL 36 X 58MM ACETABULAR

3988806

1221‐36‐058 11,742.50

Implant TIBIAL INSERT SZ 8 12MM AOX

3988815

1516‐50‐812 17,170.31

Implant MESH PARIETEX PNP8X3

3988826

PNP8X3 1,644.90

Implant SCREW 5.0X32.5MM

3988838

47‐2484‐32‐50 2,574.00

Implant SCREW CORTICAL 5.0 X 40MM

3988850

47‐2484‐040‐50 2,574.00

Implant SCREW PEDICLE  6.0 X 40MM VIKING

3988857

PS92009‐60‐40 8,400.00

Implant SCREW PART THREAD CANNULATED  3.5X48MM

3201487‐C

00‐1147‐048‐35 2,484.00

Implant SCREW CORTICAL 5.0 X 45MM 3.5MM HEX

3988875

47‐2484‐045‐50 2,574.00

Implant ART SURFACE LT CR 10MM

3988914

42‐5110‐006‐10 17,187.50

Implant ILIAC CREST WEDGE FRESH FROZ LRG

3988918

92‐40B004

40B004

40B004LL 10,696.00

Implant SLEEVE METAPHYSEAL 45MM

3988923

1294‐54‐110 41,505.10

Implant STEM UNIV FLUTED 115X14MM

3988924

86‐7428 24,640.00

Implant SYS SKW DEEP SCROTAL RETRACT

3988930

72403867 5,486.25

Implant GUIDEWIRE .035 X 6" SINGLE TROCAR

3988938

80‐1524 195.00

Implant ROD CURVED 35MM

3988969

PS92006‐35 1,500.00

Implant ALLOMATRIX DR GRAFT 3CC BONE SUBSTITUTE

3988988

86DR0300 13,930.00



Implant TIBIAL BASE  PLTFRM SZ 5

3989005

1506‐10‐005 21,835.00

Implant SCREW 1/2 THREAD CANNULATED 4.0X28MM

3201514‐C

00‐1147‐028‐41 2,574.00

Implant SCREW 3.0 X 16MM NO LOCK HEXALOBE

3989019

30‐0305 1,320.00

Implant SCREW NCB 5.0X46MM

3989029

02.03150.046 2,286.00

Implant SCREW NCB 5.0X44MM

3989031

02.03150.044 2,286.00

Implant SCREW CAP NCB LOCK

3989038

02.03150.300 2,088.00

Implant MESH C‐QUR 8X10IN

3989059

31536 15,537.50

Implant SCREW CORTICAL 2.7X18MM

3989072

1312‐27‐218 750.00

Implant ART SURFACE RT CR 12MM

3989101

42‐5210‐004‐12 17,187.50

Implant FEM STEM  SZ10 CORAIL STND COLRD

3989119

3L92500 34,131.38

Implant Z NAIL CPM 13MM X 36CM 130 LEFT

3989131

47‐2493‐363‐13 27,183.75

Implant SCREW 1/2 THREAD CANNULATED 4.0X36MM

3201518‐C

00‐1147‐036‐41 2,574.00

Implant ART SURFACE LT UC 10MM

3989138

42‐5112‐004‐10 17,187.50

Implant TIBIAL INSERT SZ 5 7MM AOX

3989141

1516‐50‐507 17,170.31

Implant MINI BONE SCREW 30MM ACUTRAK

3989149

AT2‐M30 6,569.25

Implant HUMERAL STEM MINI 15MM X 83MM

3989187

113635 37,800.00

Implant ADAPTER STANDARD TAPER

3989189

118001 3,000.00

Implant LINER NEUTRAL 36X52MM

3989207

1221‐36‐052 11,399.50

Implant MESH PARIETEX PROGRIP 15X9CM RECTANGULR

3989210

TEM1509G 3,553.65

Implant SCREW LOCKING INSERT

3989218

PS9‐5010 8,120.00

Implant SCREW 1/2 THREAD CANNULATED 4.0X44MM

3201522‐C

00‐1147‐044‐41 2,574.00

Implant STEM TM REVERSE 12 X 130MM

3989240

00‐4349‐012‐13 51,625.00

Implant SCREW PEEK CF 9MM X 35MM

3989286

10032 3,000.00



Implant PSN FEMURAL HD RT SZ 9

3989290

42‐5006‐066‐02 27,500.00

Implant HIP STEM B EXT SZ 8  FITMORE OFSET 47.88

3989293

01.00551.308 29,025.00

Implant SUTURE ANCHOR KNOTLESS PEEK CF 35

3989333

10313 3,659.25

Implant SCREW 4.0 X 80MM 1/2 THD CANNULATED

3201531‐C

00‐1147‐080‐41 2,574.00

Implant SCREW 1/2 THREAD CANNULATED 4.0X100MM

3201535‐C

00‐1147‐100‐41 2,574.00

Implant SCREW 4.0 X 70MM 1/3 THD CANNULATED

3201566‐C

00‐1147‐070‐40 2,574.00

Implant STENT 6 X 30 DOUBLE J

3801205

5202400 3,719.25

Implant STENT 6F 28CM 145363 PERCUFLEX

3900784

M0061453630 1,176.00

Implant SCREW 4.0 X 90MM 1/3 THD CANNULATED

3201570‐C

00‐1147‐090‐40 2,574.00

Implant SCREW 1/3 THREAD CANNULATED 4.0X105MM

3201573‐C

00‐1147‐105‐40 2,574.00

Implant SCREW CORTEX ST 3.5 X 28MM 204.828

3200559‐C

204.828 585.00

Implant SCREW 4.0 X 55MM CAN FULL THRED 206.055

3200015‐C

206.055 345.60

Implant SCREW CORTICAL ST 3.5 X 20MM 204.820

3200017‐C

204.820 585.00

Implant PORT 6.6FR MIDP66ALN CT DIGNITY W/MICRO

3000005

MIDP66ALN 4,061.25

Implant SCREW CORTEX ST 3.5 X 16MM 204.816

3600810‐C

204.816 585.00

Implant SHEET 5 X 5CM SURG THIN GENTRIX

3893620‐C

PSM0505 8,050.00

Implant SCREW 1/3 THREAD CANNULATED 4.0X120MM

3201576‐C

00‐1147‐120‐40 2,574.00

Implant SCREW 4.5 X 48MM CANN PT 214.548

3200066‐C

214.548 2,070.00

Implant WASHER FOR 3.5 / 4.0MM SCREW

3811526‐C

00‐1147‐096‐00 522.00

Implant GUIDE PIN 1.6MM X 6" PART THD TIP

3800568‐C

00‐1147‐084‐00 237.60

Implant SCREW LAG SHORT THREAD 12.7DX130MM

3200139‐C

00‐1193‐005‐57 3,687.19

Implant PLATE PROX TIBIAL 3.5MM 12H LT  LOCK

3200146‐C

00‐2357‐004‐12 18,723.38

Implant TUBE 12 FR 3 PORT JEJUNAL FEEDING

3800853

M00566340 2,046.60



Implant SCREW UNIV LOCK 2.7X14MM

3201582‐C

00‐4828‐014‐02 1,476.00

Implant IMPLANT MACROPLASTIQUE

3800685

MPQ‐2.5 7,053.75

Implant MESH 0115311 LEFT 3DMAX LRG

3800937

0115311 2,325.00

Implant MICRO BONE SCREW 30MM  ACUTRAK 2

3987667

AT2‐C30 7,098.00

Implant PSN PATELLA 29MM

3987733

42‐5400‐000‐29 9,100.00

Implant PSN STEM EXT 14 X 30MM

3987744

42‐5570‐001‐14 10,500.00

Implant ART SURFACE LT TB EF 10MM

3987792

42‐5114‐007‐10 17,187.50

Implant SCREW UNIV LOCK 2.7X48MM

3201599‐C

00‐4828‐048‐02 1,476.00

Implant MATRIX PLUS 5 X 7CM GENTRIX

3987835

MSPL0507 12,495.00

Implant SHELL 50 TM

3987842

0757‐50‐01 28,012.50

Implant SCREW 6.5 X 90MM 16MM THD CANNULATED

3987848

00‐1147‐090‐65 3,078.00

Implant BEARING OXFORD TIBIA  RT MED 4MM

3987879

159576 16,128.75

Implant ART SURFACE LT UC16MM

3987882

42‐5112‐005‐16 17,187.50

Implant ART SURFACE RT 16MM

3987885

42‐5212‐005‐16 17,187.50

Implant FEM STEM SZ14 CORAIL STND

3988811

3L92514 34,131.38

Implant ANCHOR PEEK 5.5 KNOTLESS

3988830

904843P 7,252.00

Implant NAIL END CAP 5MM

3988839

47‐2487‐008‐05 2,619.00

Implant SCREW UNIV LOCK 2.7X55MM

3201601‐C

00‐4828‐055‐02 1,476.00

Implant TIGHTROPE ABS BUTTON OBLONG 3.4X13MM

3988845

AR‐1588TB‐2 3,015.00

Implant Z NAIL CPM 13MM X 40CM 130 RIGHT

3988848

47‐2493‐402‐13 27,183.75

Implant ROD CURVED 60MM

3988861

PS92006‐60 1,500.00

Implant Z NAIL CPM 13MM X 42CM 130 RIGHT

3988865

47‐2493‐422‐13 27,183.75

Implant SCREW CORTICAL 5.0X52.5

3988869

47‐2484‐52‐50 2,574.00



Implant LAG SCREW 10.5 X 120MM

3988870

47‐2485‐120‐10 6,805.80

Implant NAIL CAP 10MM

3988872

47‐2487‐005‐10 2,754.00

Implant PIN THREADED 3.0MM

3988876

00‐2490‐046‐30 1,323.00

Implant K WIRE 1.6X100MM SINGLE TROCAR K100‐16S

3988896

K100‐165

K100‐16S 450.00

Implant SCREW LOCK STERILE 2.7X32MM

3201615‐C

47‐4828‐032‐02 1,476.00

Implant TIBIAL INSERT SZ 7 7MM AOX

3988959

1516‐50‐707 17,170.31

Implant ROD CURVED 40MM

3988970

PS92006‐40 1,500.00

Implant GLENOSPHERE 36 +3MM

3988972

115313 22,962.50

Implant SCREW LOCK 2.7M HEAD 3.5X14MM

3988983

00‐2359‐014‐38 1,377.00

Implant PLATE 1ST METATARSAL 4 H LOCK 70‐0008

3989011

70‐0008 9,828.00

Implant SCREW NCB 5.0X50MM

3989032

02.03150.050 2,286.00

Implant SCREW NCB 5.0X40MM

3989035

02.03150.040 2,286.00

Implant MINI BONE SCREW 20MM ACUTRAK

3989042

AT2‐M20 7,098.00

Implant MESH C‐QUR 6X8IN 31533

3989058

31533 9,030.00

Implant Z NAIL CPM 11.5MM X 38CM 130 LEFT

3989060

47‐2493‐383‐11 27,183.75

Implant SCREW LOCK STERILE 2.7X38MM

3201618‐C

47‐4828‐038‐02 1,476.00

Implant HIP STEM  A SZ 6 FITMORE OFFSET 33.62

3989067

01.00551.106 32,062.50

Implant ART SURFACE LT CR 11MM

3989082

42‐5110‐005‐11 17,187.50

Implant ART SURFACE RT CR 11MM

3989083

42‐5210‐005‐11 17,187.50

Implant LAG SCREW 10.5 X 90MM

3989085

47‐2485‐090‐10 6,805.80

Implant PSN FEM HEAD LT CR SZ 12

3989102

42‐5026‐074‐01 27,500.00

Implant MICRO BONE SCREW 10MM ACUTRAK

3989135

AT2‐C10 6,569.25

Implant LINER 36MM +3MM STANDARD

3989157

00‐4349‐036‐03 15,647.50



Implant SHEET 20 X 35CM THICK SURG MATRIX

3989172

PSMT2035 196,350.00

Implant SCREW CORTICAL 5.0X55MM

3989176

02‐0315‐005‐5 2,286.00

Implant SCREW CORTICAL 5.0X70MM

3989179

02‐0315‐007‐0 2,286.00

Implant SCREW LOCK 3.5X28MM

3201631‐C

00‐2369‐028‐35 1,377.00

Implant SCREW CORTICAL 5.0X36MM

3989181

02‐0315‐003‐6 2,286.00

Implant STEINMANN  PIN 3.2MMX9" THREAD

3989191

110003484 2,145.00

Implant TIBIAL BASE PLTFRM SZ 7

3989232

1506‐10‐007 21,835.00

Implant LINER 36MM +6MM STANDARD 00‐4349‐036‐06

3989242

00‐4349‐036‐06 15,647.50

Implant PSN TIBIA  RT 5DEG SZ F STEMMED

3989251

42‐5320‐075‐02 17,875.00

Implant SCREW PEEK CF 8MM X 30MM

3989281

10027 2,856.00

Implant SCREW PEEK CF 8MM X 35MM

3989282

10028 2,856.00

Implant FEMORAL HEAD +7.0X36MM DIA

3989292

8018‐036‐04 7,125.00

Implant Z NAIL CPM 130 RIGHT 11.5MMX40CM

3989301

47‐2493‐402‐11 27,183.75

Implant SCREW LOCK 3.5X32MM

3201633‐C

00‐2369‐032‐35 1,296.00

Implant FEMUR  LEFT SZ 3

3989305

1504‐10‐103 31,222.13

Implant SCREW PEEK CF 10MM X 30MM

3989331

10035 3,000.00

Implant JUGGERKNOT ANCHOR 1.5MM  KIT

3981179

912041 3,195.00

Implant HUMERAL HD 54X21X64MM VERSA‐DIAL

3981181

113063 13,650.00

Implant IMPLANT FLEX HINGE TOE  SZ 3

3981193

G4260003 18,548.75

Implant ANCHOR REELX STT KNOTLESS  4.5M

3981194

3910‐600‐062

3910‐600‐062 (MIN 

ORD 5 EA) 1,369.05

Implant PATELLA 38MM

3981198

42‐5402‐000‐38 13,300.00

Implant SCREW NCB 5.0X34MM

3981202

02.03150.034 2,286.00



Implant PATELLA  DOME CEMENT AOX 41MM

3981207

1518‐20‐041 7,143.50

Implant SCREW LOCK 3.5X34MM

3201634‐C

00‐2369‐034‐35 1,296.00

Implant Q‐FIX ANCHOR 2.8MM 25‐2800

3981252

25‐2800 9,800.00

Implant ADAPTER SIGMA FEM OFSET BOLT

3981297

96‐0784 4,987.50

Implant SCREW LO‐PRO LOCK SS 2.7X12MM

3981304

AR‐8827L‐12 1,725.00

Implant SCREW LO‐PRO LOCK 3.0MMX24MM

3981326

AR‐8933L‐24 2,250.00

Implant HUMERAL HD HGH OFSET 46X18MM

3993485

502446 27,500.00

Implant HUMERAL STEM 3B 74MM

3993497

503303B 40,500.00

Implant HUMERAL STEM 7B 90MM

3993509

503307B 40,500.00

Implant HUMERAL STEM 7C 90MM

3993510

503307C 40,500.00

Implant HUMERAL STEM 7C ASCND PTC

3993537

7503307C 40,500.00

Implant SCREW TI LOCK 3.5X44MM

3201653‐C

47‐2369‐044‐35 1,422.00

Implant HUMERAL STEM 8B ASCND PTC

3993539

7503308B 40,500.00

Implant HUMERAL STEM 8C ASCND PTC

3993540

7503308C 40,500.00

Implant HUMERAL STEM 9C ASCND PTC

3993543

7503309C

7503309C‐SPECIAL 

ORDER 47,118.50

Implant HUMERAL HD 52X19 LOW OFSET AEQ

3993552

DWF052 27,500.00

Implant HUMERAL HD 50X19 HGH OFSET AEQ

3993563

DWF151 27,500.00

Implant HUMERAL HD 52X19 LOW OFSET AEQ

3993575

DWF252 42,536.00

Implant HUMERAL HD 52X23 LOW OFSET AEQ

3993576

DWF253 42,536.00

Implant HUMERAL HD 50X19 HGH OFSET AEQ

3993583

DWF351 44,681.00

Implant INSERT 42DIA REVIS REV(+)6/17.5A

3993604

DWF421A 17,799.38

Implant RETN  RVS INSRT42MM(+)6 C 7.5*

3993614

DWF424C 23,478.13



Implant SCREW LG  IM INTERLOCK 5.5X25MM

3211798‐C

00‐2253‐025‐55 2,520.00

Implant SCREW 4.5MM CANN FT 30MM 214.730

3200078‐C

214‐730 2,070.00

Implant RETN  RVS INSRT42MM(+)9 B 12.5*

3993616

DWF425B 23,478.13

Implant TRAY LOW OFFSET REVERSED (+) 0

3993621

DWF510 12,600.00

Implant TRAY LOW OFFSET REVERSED (+) 6

3993622

DWF511 12,600.00

Implant INSERT 36DIA REVIS REV(+)6/12.5B

3993590

DWF361B

DWF361B ( (+) 

6/12.5B ) 7,125.00

Implant HUMERAL STEM 4C ASCND FLX STND

3993642

DWF604C 33,750.00

Implant HUMERAL STEM 2B ASCND FLX STD CMT

3993668

DWF702B 40,500.00

Implant HUMERAL STEM 2C ASCND FLX STD CMT

3993670

DWF702C 40,500.00

Implant HUMERAL HD 45 X 19 HGH OFST ASC FLX

3993711

DWG147 20,625.00

Implant HUMERAL HD 51 X 23 HGH OFST ASC FLX

3993717

DWG153 27,500.00

Implant SCREW LG IM INTERLOCK 5.5X40MM

3211831‐C

00‐2253‐040‐55 2,520.00

Implant HUMERAL HD 54 X 18 HGH OFST ASC FLX

3993718

DWG154 27,500.00

Implant SCREW MULTI DIRECT 2.7X14MM

3211950

1312‐27‐314

131227314 2,490.00

Implant FIBERTAPE END TAPER TO #2 FIBERWR 2M 36"

3899218

AR‐7237 1,575.00

Implant LINER 36M 65 DEG RET +6MM

3989739

00‐4349‐065‐06 15,647.50

Implant NEXEL ULNA CEMENT DIVERTE 47‐8401‐038‐00

3911722

47‐8401‐038‐00 900.00

Implant ARTICULATION KIT SIZE 5

3911723

00‐8400‐095‐00 22,275.00

Implant BASEPLATE THD POST 29X35MM

3993724

DWE835 16,500.00

Implant FEM STEM SZ14 CORAIL STND COLRD

3993731

3L92504 34,131.38

Implant SCREW NCB UNICORTICAL 5.0X16MM

3900852

02.03151.016 2,088.00



Implant FISTULA PLUG SET C‐FPS‐0.4

3800891

C‐FPS‐0.4

G54613 14,368.75

Implant SCREW LG IM INTERLOCK 5.5X45MM

3211832‐C

00‐2253‐045‐55 2,520.00

Implant FEM STEM CORAIL REV HGH OFFSET 16

3900264

L98116 113,400.00

Implant ART SURFACE RT 10MM 42‐5220‐004‐10

3900265

42‐5220‐004‐10 20,625.00

Implant ZNAILCPM11.5MMX42CM130 RT 47‐2493‐422‐11

3900169

47‐2493‐422‐11 27,183.75

Implant QUARTET SMALL‐S 86CM LV LEAD

8600010

1456Q/86 56,441.88

Implant ISOFLEX OPTIM STRAIGHT LEAD 52CM

8600019

1948/52 8,980.44

Implant ISOFLEX OPTIM STRAIGHT LEAD 58CM

8600020

1948/58 8,980.44

Implant OPTISENSE OPTIM PACEMAKER LEAD 40CM

8600021

1999/40 8,980.44

Implant TENDRIL STS PACEMAKER LEAD 65CM

8600028

2088TC/65 8,980.44

Implant DURATA DF4‐ACTIVE TBP DUAL SHK 58CM LEAD

8600037

7120Q/58 58,699.50

Implant DURATA DF4‐ACTIVE TBP DUAL SHK 65CM 21CM

8600044

7121Q/65 58,699.50

Implant SCREW LG IM INTERLOCK 5.5X60MM

3211835‐C

00‐2253‐060‐55 2,520.00

Implant DURATA DF1‐ACTIVE TBP SINGLE SHK 60CM

8600045

7122/60 58,699.50

Implant DURATA DF4‐ACTIVE TBP SINGLE COIL 65CM

8600048

7122Q/65 58,699.50

Implant DURATA DF4‐PASSIV TBP DUAL SHK 65CM 21CM

8600056

7171Q/65 58,699.50

Implant FORTIFY ICD ‐ VR 40 SYSTEM DF4 CONNECTOR

8600062

CD1231‐40Q 

SYSTEM 172,048.80

Implant FORTIFY ICD ‐ DR 40Q DF4 CONNECTOR

8600082

CD2231‐40Q 180,651.24

Implant FORTIFY ASSURA NXTGEN DR 40Q DF4 CONNECT

8600089

CD2357‐40Q 169,867.50

Implant ELLIPSE NEXT GEN DR 36Q DF4 CONNECTOR

8600097

CD2411‐36Q 169,867.50

Implant UNIFY CRT‐D 40Q DF4 CONNECTOR

8600105

CD3231‐40Q 193,708.57

Implant UNIFY ASSURA NEXT GEN CRT‐D 40C SYS

8600112

CD3357‐40C 

SYSTEM 263,244.96



Implant QUADRA ASSURA NXTGEN CRT‐D 40Q DF4

8600121

CD3365‐40Q 198,675.40

Implant PLATE 135D X 16 HOLE VERSA‐FXII STD TUBE

3600281‐C

00‐1193‐135‐16 7,728.00

Implant ENDURITY PACEMAKER SR

8600150

PM1160 44,030.74

Implant QUADRA ALLURE MP RF CRT‐P

8600175

PM3262

PM3562 100,994.88

Implant CANCELLOUS BONE CHIPS 30CC

3993733

1405 8,260.00

Implant SCREW SET 63020

3901442

63020 1,500.00

Implant ART SURFACE RT 14MM CR

3901468

42‐5221‐007‐14 20,625.00

Implant PUMP SYNCHROMED II 8637‐40

3804080

8637‐40 128,800.00

Implant HIP STEM WAGNER SL REV 15X15MM

3901478

01.00102.615 78,811.20

Implant LINER 32MM SZ HH LONGEVITY ELEVATED

3901480

00‐8752‐009‐32 12,600.00

Implant PLATE 150D X 4 HOLE VERSA‐FXII STD TUBE

3600283‐C

00‐1193‐150‐04 4,655.48

Implant HUMERAL STEM 42 DEG 14X130MM TRABECULAR

3901501

4342‐114‐13 37,800.00

Implant SCREW LO‐PRO TITANIUM 4.5X36MM

3901518

AR‐8545‐36 1,125.00

Implant SCREW LO‐PRO LOCK 4.5X38MM

3901519

AR‐8545L‐38 2,925.00

Implant SCREW CORTEX ST 3.5 X 36MM

3901552

204.836 750.00

Implant DOME OVAL PATELLA 3‐PEG 38MM

3901555

96‐0102 9,170.00

Implant PLATE TIBIAL 3.5MM 8H RT LOCKING

3901560

00‐2357‐003‐08 16,302.00

Implant STEM TM REVERSE 10 X 170MM

3901561

00‐4349‐010‐17 51,625.00

Implant ART SURFACE RT 10MM CR SZ G‐H

3901574

42‐5220‐006‐10 20,625.00

Implant STEINMAN PIN INBONE 2.4MM

3901579

200072 285.00

Implant MESH SYMBOTEX (SYM1510) 15X10

3901593

SYM1510 5,348.17

Implant PLATE L 2.7 X 32MM LEFT

3600322‐C

00‐4927‐003‐07 756.00

Implant PLATE 45 X 37MM TITANIUM CS LOCK

3901101

487.228 28,012.50



Implant TIBIAL TRAY FIX BEARING MOD COCR SZ2

3901107

1581‐20‐000 20,284.69

Implant TIBIAL INSERT FIX BEARING 2 12.5MM

3901104

1581‐21‐112 15,309.94

Implant GLENOID SPHERE CENTERED 36MM

3993734

DWD180 26,125.00

Implant SUTURE STEEL MONO 5 4X18 CV320/SCC

3001163

8886222489

358386222489 203.55

Implant SCREW CORTICAL LO PRO 3X14MM

3901623

AR‐8933‐14 1,650.00

Implant SCREW QWIKFIX PT CANNULATED 2.0X18MM

3901632

AR‐8720‐18PT 2,100.00

Implant STENT 26CM 192133 POLARIS ULTRA 6FR

3801294

M0061921330 2,152.50

Implant STENT 26CM 6FR 175263 PERCUFLEX PLUS

3801295

M0061752630 1,710.00

Implant SCREW 65MM LENGTH LOCK 3.5X2.7MM

3901647

00‐2359‐065‐38 1,377.00

Implant PLATE T 3.5 X 56MM 4H HEAD 4H SHAFT

3600434‐C

00‐4935‐044‐04 1,485.00

Implant TIBIAL INSERT FIX BEARING SZ6 7MM AOX

3901652

1516‐40‐607 14,705.63

Implant TISSUE FEMUR SHAFT FZ IRR

3901666

92‐27B006 23,168.75

Implant FEMUR PLATE NCB RT 5 H 167MM DISTAL

3901683

02.03260.005 17,762.25

Implant FEMUR P/S CEMNT SZ 4N RT SIGMA

3901690

1960‐50‐450 37,222.47

Implant FEMUR PS RIGHT SZ 9 CMNTD

3901704

1504‐10‐209 31,505.63

Implant BONE VOID FILL 3CC CALLOS INJECT STRL

3901707

65‐0003‐S 15,028.75

Implant PLATE 3.5 X163MM PL 6H LT SYNTHESIS

3901712

02.123.025 35,154.00

Implant STEM POROCOAT SZ 8 STANDARD 107MM

3901755

1100‐08‐100 28,471.50

Implant HUMERAL HD STANDARD SZ 44X16MM

3901756

1100‐44‐500 19,009.38

Implant MINI BONE SCREW 28MM ACUTRAK

3901760

AT2‐M28 6,569.25

Implant PLATE 4.5 X 199MM COMPRESSION BROAD 12H

3600452‐C

00‐4945‐012‐01 3,105.00

Implant STENT 6 X 26 MULTI‐FLEX

3801204

5476260 1,800.00

Implant STENT 7 X 30 DOUBLE J

3811413

5204400 3,285.00



Implant STENT 7 X 28 DOUBLE J

3811414

5204200 3,285.00

Implant STENT 7 X 26 DOUBLE J

3811415

5204100 3,633.75

Implant STENT 26CM 6FR 145362 PERCUFLEX

3900783

M0061453620 1,176.00

Implant PLATE 4.5 X 103MM COMPRESSION NRW 6 HOLE

3600458‐C

00‐4945‐006‐00 1,800.00

Implant TUBE 14FR REPL G‐TUBE STRAIGHT ENFIT

3800837

M00582050

M00509891 430.05

Implant STENT 10 X 5 ADVANIX BILLARY

3800748

3468

M00534680 2,616.30

Implant MESH 31626 7.5CM X 15CM C‐QUR

3801161

31626 6,270.00

Implant SCREW CORTEX ST 3.5 X 22MM 204.822

3200560‐C

204.822 585.00

Implant PLATE 4.5 X 135MM COMPRESSION NRW 8 HOLE

3600461‐C

00‐4945‐008‐00 1,800.00

Implant SCREW 4.5 X 40MM CANN PT 214.540

3200083‐C

214.540 2,235.00

Implant MESH 31610 11.4 CM X 11.4 CM

3801166

31610 7,588.00

Implant PLATE HOOK 3.5MM LCP 02.113.103S

3200006‐C

02.113.103S 9,905.28

Implant STENT 4.7FX26CM INLAY W / GUIDEWIRE

3893607

776426 1,470.00

Implant PLATE 4.5 X183MM COMPRESSION  NRW 11H

3600464‐C

00‐4945‐011‐00 2,340.00

Implant STENT 4.7FX28CM INLAY W /  GUIDEWIRE

3893608

776428 1,470.00

Implant MICROMATRIX POWDER 200MG MICRONIZED

3893615‐C

MM0200 8,243.20

Implant SHEET 7 X10CM THICK SURG MATRIX

3893627‐C

PSMT0710

PMST0710 29,767.50

Implant PUTTY 02‐6000‐050 EVO 3 C  5CC ACCELL

3200622‐C

02‐6000‐050 16,372.13

Implant PLATE SEMI TUBULAR 135MM 8 HOLE

3600473‐C

00‐4945‐008‐03 945.00

Implant STENT 18 X 12.3MM  WALLFLEX ESOPHAHEAL

3800851

M00516710 32,691.06

Implant PLATE 3.5X157MM LOK 12H 00‐4936‐012‐07

3200136‐C

00‐4936‐012‐07 4,833.60

Implant MESH PROGRIP PC LEFT

3801240

TEM1208GL 3,587.01



Implant STENT 6FX20CM INLAY W/O GUIDEWIRE

3987682

778620 1,768.05

Implant HUMERAL STEM MINI 9MM X 83MM

3787756

113629 37,800.00

Implant SHELL CONTINUM CLUSTER 54 JJ

3987806

00‐8757‐054‐01 25,437.50

Implant HIP STEM B  SZ 5 FITMORE OFFSET 39.00

3987808

01.00551.205 29,025.00

Implant Z NAIL CPM 13MM X 42CM 130 LEFT

3987810

47‐2493‐423‐13 27,183.75

Implant SCREW 3.5  4.0 CANCELLOUS SYNT

3987832

207.010 439.20

Implant PLATE T  4.5 X 100MM  5 HOLE

3600485‐C

00‐4945‐005‐04 2,700.00

Implant LINER 50 X 32MM

3987843

00‐8751‐009‐32 12,600.00

Implant WASHER FOR  4.5MM CANNULATED SCREW

3987867

00‐1147‐097‐00 522.00

Implant SCREW 6.5 X 30MM CANCELLOUS BONE

3988800

1217‐30‐500 1,178.55

Implant GRIPTION SHELL 54MM

3988802

1217‐32‐054 17,570.85

Implant FEM STEM SZ11 CORAIL COXA VARA

3988807

3L93711 36,250.88

Implant GUIDE WIRE.035 X 6" DBL TROCAR

3988821

80‐1525 255.00

Implant SCREW 6.0X90MM

3988836

47‐2484‐90‐60 2,664.00

Implant SCREW PEDICLE 6.0 X 45MM VIKING

3988859

PS92009‐60‐45 8,400.00

Implant SCREW LOCKING SET

3988860

PS92002‐20 8,120.00

Implant MEDTRONIC CHARGE SYS NEUROSTIM

3988890

97754 32,265.00

Implant PLATE 4945‐04‐06 LF BUTTRESS 4 HOLE

3600488‐C

4945‐04‐06 3,030.00

Implant IMPLANT HEMI TOE SIZE #2 17X15

3988895

CHI‐2C 24,062.50

Implant PSN FEMURAL HD  LT SZ 6

3988903

42‐5006‐060‐01 27,500.00

Implant TIBIAL INSERT  RP 17.5M CRV

3988926

96‐2054 17,111.88

Implant PSN FEM HEAD RT CR SZ 8

3988934

42‐5026‐064‐02 27,500.00

Implant SCREW CENTRAL 6.5X25MM

3988974

115381 19,635.00



Implant SCREW CORTICAL SHFT SH 10M TH 3.5X24MM

3988980

00‐4835‐024‐04 288.00

Implant SCREW 3.5 X14MM LOCK HEXALOBE

3989014

30‐0235 2,070.00

Implant PLATE 2ND 3RD METATARSAL 4 H 70‐0009

3989020

70‐0009 9,828.00

Implant BONE VOID FILL 10ML CERAMANT

3989027

800‐4001 41,730.00

Implant SCREW NCB 5.0X55MM

3989033

02.03150.055 2,286.00

Implant PLATE 4945‐06‐06 LF BUTTRESS 6 HOLE

3600492‐C

4945‐06‐06 3,390.00

Implant ART SURFACE RT CR 11MM

3989047

42‐5210‐006‐11 17,187.50

Implant PLATE NARROW LOCK RT 22 X 51MM

3989070

1318‐21‐050 11,774.00

Implant SCREW LOCK 2.7X16MM

3989075

1312‐27‐116 1,485.00

Implant PEG SMOOTH 2.7X 16MM

3989076

1312‐27‐016 1,485.00

Implant PEG SMOOTH  2.7X20MM

3989078

1312‐27‐020 1,485.00

Implant Z NAIL CPM 10MM X 36CM 130 RIGHT

3989084

47‐2493‐362‐10 27,183.75

Implant SPEED IMPLANT STAPLE 13X10X10MM

3989093

SE‐1310 17,875.00

Implant PSN FEMURAL HD RT SZ 6 NRW

3989100

42‐5020‐060‐02 27,500.00

Implant PSN TIBIA  LT 5DEG SZ H STEMMED

3989103

42‐5320‐083‐01 17,875.00

Implant SPEED IMPLANT STAPLE 11X10MM

3989120

SE‐1110 17,875.00

Implant PLATE 4945‐16 LF DCP NARROW 16 HOLE

3600495‐C

4945‐16 2,160.00

Implant PSN TIBIA RT 5DEG SZ E STEMMED

3989145

42‐5320‐071‐02 17,875.00

Implant PSN PATELLA 35MM VE

3989150

42‐5402‐000‐35 13,300.00

Implant GLENOID BASE MED  MODULAR HYBRID

3989186

113954 15,125.00

Implant SCREW CANCELLOUS 65MM

3989216

47‐2484‐065‐60 2,664.00

Implant Z NAIL CPM 130 LEFT 11.5MMX34CM

3989246

47‐2493‐343‐11 27,183.75

Implant FEM STEM SZ13  CORAIL COXA VARA

3989257

3L93713 34,317.00



Implant FEM STEM SZ11 CORAIL HIGH OFFSET

3989258

L20311 34,131.38

Implant FEM STEM SZ12 CORAIL HGH OST

3989259

L20312 34,131.38

Implant NAIL IM M/DN FEMORAL 10MM DIA X 40CM

3600662‐C

00‐2252‐400‐10 13,549.20

Implant SCREW PEEK  CF 7X35MM

3989277

10024 3,360.00

Implant SCREW PEEK CF 9MM X 20MM

3989283

10029 3,000.00

Implant TIBIAL BASE PLTFRM SZ 3

3989306

1506‐10‐003 21,831.56

Implant SCREW  INTERFERENCE 6 X15MM

3989314

909648 4,574.25

Implant GFS II LARGE 20MM LOOP 10704

3989343

10704 3,429.75

Implant Z NAIL CPM 10MM X 42CM 130 RIGHT

3989385

47‐2493‐422‐10 27,183.75

Implant FEMORAL HEAD +10.5X36MM DIA

3989391

8018‐036‐05 7,125.00

Implant FEMUR  LEFT PS SZ 6

3989397

1540‐10‐106 31,505.63

Implant PEG SMOOTH 2.7 X 28MM

3989415

1312‐27‐028 1,485.00

Implant NAIL IM M/DN FEMORAL 14MM DIA X 38CM

3600679‐C

00‐2252‐380‐14 13,549.20

Implant STAPLE 2.5MM  18 X14X14

3989464

ST181414 19,181.25

Implant SHELL CONTINUUM CLUSTER  60 MM

3989468

00‐8757‐060‐01 28,012.50

Implant FEM STEM SZ12 CORAIL STND

3989470

3L92512 33,645.38

Implant K‐WIRE 2.0MM

3989477

290.20.280

29.020.280 306.00

Implant SCREW CORTICAL 5.0 X  25MM

3989486

47‐2484‐025‐50 2,574.00

Implant SCREW CORTICAL SLF TAP 14MM

3989507

487.044 3,585.00

Implant FEM STEM VERSYS CRC REV 13X170 7871‐13‐60 67,197.00

Implant IMPLANT MED TESTICULAR  TOROSA

3989594

450‐1327 26,262.50

Implant ART SURFACE RT 10MM

3989618

42‐5214‐010‐10 17,187.50

Implant PIN 1/2 180X50MM

3600788

6006‐26 492.75



Implant SCREW CORTICAL LOCK 3.5X12MM

3989638

8161‐35‐012 1,725.00

Implant STEINMAN PIN STYLE 5  2.4X229M

3989642

00‐0187‐002‐59 118.50

Implant STEINMAN PIN STYLE 5  3.6X229MM

3989645

00‐0187‐005‐59 144.00

Implant K WIRE STYLE 1  1.1MM X 152MM

3989655

00‐0186‐060‐00 102.00

Implant K WIRE STYLE 1  1.6MM DIA X 152MM

3989656

00‐0186‐076‐00 102.00

Implant MINI BONE SCREW 22MM ACUTRAK

3989690

AT2‐M22 7,098.00

Implant Z NAIL TIBIA  9.3MM X 36CM UNIV

3989705

47‐2495‐360‐09 19,775.25

Implant FEM STEM SZ11 CORAIL STND COLRD

3989714

3L92501 34,944.75

Implant NAIL IM M/DN TIBIAL 12MM DIA X 30CM

3600954‐C

00‐2253‐300‐12 13,910.40

Implant PLATE CERVICAL SPINE 8 HOLE 450.234

3200132‐C

450.234 16,293.75

Implant SCREW NCB CORT 5.0X70MM

3989726

02.03150.070 2,286.00

Implant SCREW NCB 5.0X30MM

3989728

02.03150.030 2,286.00

Implant SCREW 4.5 X 30MM INV/REV

3989732

01.04223.030 1,965.00

Implant SCREW LOCKING CORTICAL 3.5X30MM

3989743

8161‐35‐030 1,725.00

Implant SCREW NCB 5.0X60MM

3989725

02.03150.060 2,286.00

Implant SCREW 2.3 X 22MM VAR ANGLE LOCK

3989762

30‐2322 1,950.00

Implant TAPERFILL HIP STEM STD  SZ 12

3981012

425‐97‐012 39,150.00

Implant SCREW 20MM  NON LOCK

3981067

PS30‐20T 3,375.00

Implant PSN FEMURAL HD LT SZ9 NRW

3981072

42‐5020‐066‐01 27,500.00

Implant NAIL IM M/DN TIBIAL 10MM DIA X 36CM

3600956‐C

00‐2253‐360‐10 13,910.40

Implant SUTURE LOOP 12MM

3981083

10713 3,429.75

Implant SHELL  36MM HEMISPHERICAL 3H CLUSTER

3981138

430‐98‐060 14,000.00

Implant MINI BONE SCREW 18MM ACUTRAK

3981141

AT2‐M18 7,098.00



Implant ART SURFACE SZ E/F 10MM

3981160

5994‐040‐10 34,380.45

Implant MINI BONE SCREW 26MM ACUTRAK

3981196

AT2‐M26 7,098.00

Implant AUGMENT BLOCK POST FEM

3981214

00‐5490‐036‐02 28,720.58

Implant SCREW LOCK SQUARE 20CMX2.7MM

3981222

1312‐27‐120 1,485.00

Implant SCREW LOCK SQUARE 18MM

3981223

1312‐27‐118 1,485.00

Implant POLY PATELLA SIZE 38 5972‐65‐38

3981228

00‐5972‐65‐38 9,100.00

Implant PLATE 3.5 X 81MM LOCK 1/3 TUB 6H

3601133‐C

00‐4936‐006‐03 2,133.00

Implant SCREW CANNULATED 16MM THREAD 5.5X55MM

3981278

00‐1147‐055‐55 2,709.00

Implant TIBIAL INSERT SZ 7 LT 14MM

3981309

341‐14‐707 12,600.00

Implant SCREW  NON‐LOCK 3.5 HEX 4.75 X 20

3981341

180558 1,965.00

Implant SCREW LOCK W/ 2.7 HEAD 3.5X18MM

3981345

00‐2359‐018‐38 1,377.00

Implant SCREW PERI 2.7 HEAD CORTICAL 3.5X18MM

3981346

00‐2348‐018‐35 486.00

Implant FEMUR  PS CMTD RT SZ 7

3981347

1504‐10‐207 31,191.75

Implant HUMERAL HD LOW OFSET 40 X 15MM

3993473

502340 27,500.00

Implant HUMERAL HD LOW OFSET 46X18MM

3993476

502346 27,500.00

Implant HUMERAL HD LOW OFSET 48X19MM

3993477

502348 27,500.00

Implant HUMERAL HD HGH OFSET 44X17MM

3993484

502444 27,500.00

Implant PLATE 3.5 X 107MM LOCK  8H 1/3 TUBULAR

3601135‐C

00‐4936‐008‐03 2,322.00

Implant HUMERAL HD HGH OFSET 52X20MM

3993488

502452 27,500.00

Implant HUMERAL HD HGH OFSET 54X2MM

3993489

502454

502454‐SPECIAL 

ORDER 32,616.00

Implant HUMERAL STEM 1A 66MM

3993490

503301A 40,500.00

Implant HUMERAL STEM 1B 66MM

3993491

503301B 40,500.00



Implant HUMERAL STEM 7A 90MM

3993508

503307A 40,500.00

Implant HUMERAL STEM 8C 94MM

3993513

503308C 40,500.00

Implant HUMERAL STEM 9C 98MM

3993516

503309C

503309C‐SPECIAL 

ORDER 39,923.00

Implant HUMERAL STEM 6A  ASCND PTC

3993532

7503306A 40,500.00

Implant HUMERAL STEM 8A  ASCND PTC

3993538

7503308A 40,500.00

Implant TIBIAL INSERT  SZ 7 6MM AOX

3981362

1516‐40‐706 14,702.19

Implant PLATE 3.5 X 81MM ULS 1/3 TUBULAR 6H STRL

3601140‐C

47‐4936‐006‐03 2,277.00

Implant HUMERAL HD 37X13.5 HGH OFSET AEQ

3993556

DWF137 39,312.00

Implant HUMERAL HD 48X18 HGH OFSET AEQ

3993561

DWF148 20,625.00

Implant HUMERAL HD 46X17 LOW OFSET AEQ

3993571

DWF246 42,536.00

Implant HUMERAL HD 48X18 HGH OFSET AEQ

3993581

DWF348 44,681.00

Implant INSERT FLEX REV DIA 33+6 ANGLE

3993586

DWF356B 7,125.00

Implant INSERT 36DIA RETNV REV(+)6/17.5A

3993596

DWF364A 23,478.13

Implant INSERT 42DIA REVIS REV(+)6/7.5C

3993607

DWF421C 17,799.38

Implant TRAY HIGH OFFSET REVERSED (+) 12

3993626

DWF522 12,600.00

Implant HUMERAL STEM 1A  ASCND FLX STND

3993627

DWF601A 40,500.00

Implant PLATE 2.7X70MM ULS 6H1/4T 00‐4928‐006‐03

3601149‐C

00‐4928‐006‐03 1,998.00

Implant HUMERAL STEM 1B ASCND FLX STND

3993628

DWF601B 40,500.00

Implant INSERT 42DIA REVIS REV(+)6/12.5B

3993606

DWF421B

DWF421B ( (+) 

6/12.5 B ) 7,125.00

Implant HUMERAL STEM 3C ASCND FLX STND

3993638

DWF603C 33,750.00

Implant HUMERAL STEM 4A  ASCND FLX STND DWF604A

3993639

DWF604A 33,750.00



Implant HUMERAL STEM 5A  ASCND FLX STND

3993643

DWF605A 40,500.00

Implant HUMERAL STEM 6B ASCND FLX STND

3993648

DWF606B 33,750.00

Implant HUMERAL STEM 3B ASCND FLEX LNG

3993661

DWF613B 51,181.25

Implant HUMERAL STEM 4B ASCEND FLX STD CMT

3993672

DWF704B 40,500.00

Implant HUMERAL STEM 2B ASCEND FLX LNG CMT

3993683

DWF712B 47,534.50

Implant HUMERAL HD 42 X 14 LOWOFST ASC FLX

3993689

DWG042 20,625.00

Implant PLATE 2.7X84MM ULS DC 7H 00‐4928‐007‐07

3601161‐C

00‐4928‐007‐07 3,779.10

Implant HUMERAL HD 42 X 16 LOWOFST ASC FLX

3993690

DWG043 27,500.00

Implant HUMERAL HD 42 X 15 LOWOFST ASC FLX

3993692

DWG045 27,500.00

Implant HUMERAL HD 42 X 16 LOWOFST ASC FLX

3993695

DWG048 27,500.00

Implant HUMERAL HD 51 X 20 LOWOFST ASC FLX

3993699

DWG052 27,500.00

Implant ZNAILCPM 13MM X 34CM130 RT47‐2493‐342‐13

3900139

47‐2493‐342‐13 27,183.75

Implant FEMUR CR CMTD RIGHT SZ 6

3981377

1504‐00‐206 31,222.13

Implant SCREW REGENESORB 9X25MM INTERF BIOSURE

3981381

72204404 4,702.50

Implant SCREW REGENESORB 8X20MM INTERF BIOSURE

3981382

72204398 4,702.50

Implant PEG SMOOTH LOCK 2.2X12MM

3211952

1312‐27‐012

131227012 1,485.00

Implant SCREW 6.5MM SZ 20MM LOW PROF

3989867

010‐55‐020

010‐55‐020‐NO CHG 17.00

Implant PLATE 2.7 X 95MM ULS DUAL COMP 8H STRL

3601172‐C

47‐4928‐008‐07 4,189.50

Implant NEXGEN KNEE SZ 3

3910980

00‐5880‐003‐02 67,104.00

Implant POLY INSERT  XT SZ C 96

3910984

00‐5850‐013‐96 4,873.50

Implant HUM STEM SIZE 5 100MM

3911724

00‐8400‐045‐10 84,960.00

Implant IMPLANT BREAST TISSUE EXPANDER TEXP110RU

3901014

TEXP110RUH 28,687.50



Implant ART SURFACE LT TB GH 13MM

3900841

42‐5114‐010‐13 17,187.50

Implant SCREW CORTICAL HEX 2.7X60MM

3900859

00‐4827‐060‐01 288.00

Implant TIBIAL INSERT SZ4 10MM

3901096

1516‐50‐410 7,206.50

Implant SCREW PSN 25MM

3981410

42‐5099‐025‐25 2,137.50

Implant PLATE 2.7 X 65MM ULS RECON STRT 8H STRL

3601184‐C

47‐4928‐008‐13 5,044.50

Implant WOUND MATRIX 10X15CM MULTILAYER

3801772

WSM1015 26,296.88

Implant SCREW 2.4 X 16MM VA LOCK

3900150

02.210.116 3,240.00

Implant SCREW PEDICLE 7 X 40MM

3900162

PS9‐5077‐15 24,475.00

Implant SCREW 2.4 X 18MM VA LOCK

3900164

02.210.118 3,240.00

Implant GRAFTBONE COTTON WDG 5MM

3900168

PC0T‐181405 31,725.00

Implant ZNAIL10.5 X115MM LAGSCREW 47‐2485‐115‐10

3900171

47‐2485‐115‐10 6,805.80

Implant TIBIAL INSERT  SZ5 5MM AOX

3901158

1516‐30‐505 17,022.50

Implant FOOT PLATE ANTERIOR TT RGHT ANKLE FUSION

3901404

AR‐8970AR 28,012.50

Implant SCREW LOPRO TITANIUM 4.5X26MM AR‐8545‐26

3901407

AR‐8545‐26 1,125.00

Implant PSN FEMURAL HD LT SZ10 NRW

3901414

42‐5020‐068‐01 27,500.00

Implant QUARTET WIDE SPACING 86CM LV LEAD

8600015

1458QL/86 56,441.88

Implant ISOFLEX OPTIM STRAIGHT LEAD 46CM

8600018

1948/46 8,980.44

Implant MICRONY II SR+ SINGLE CHAMBER SSIR PCMKR

8600030

2525T 41,089.75

Implant FORTIFY ICD ‐ VR 40 SINGLE CHAMBER ICD

8600057

CD1231‐40 136,400.81

Implant FORTIFY ASSURA NEXT GEN VR 40 SYSTEM

8600066

CD1357‐40C 

SYSTEM 174,097.00

Implant FORTIFY ASSURA NEXT GENERATION DR 40C

8600085

CD2357‐40C 169,867.50

Implant UNIFY ASSURA NXT GEN CRT‐D 40Q D4 CONNEC

8600113

CD3357‐40Q 198,675.40

Implant CONFIRM AF IC MONITOR

8600133

DM2102 40,219.20



Implant ALLURE QUADRA CRT‐P RF

8600171

PM3242 100,994.88

Implant SCREW 2.7 X 14MM CRUCIFORM

3901387

CO‐F2714 630.00

Implant STENT 8.5 FR X 12 CM ADVANIX

3800743

M00534650 2,616.30

Implant STEINMAN PIN XFIX 5.0 X 225MM

3610886

293‐58 345.00

Implant Z NAIL CPM 13MM X 36CM 130 RIGHT

3901427

47‐2493‐362‐13 27,183.75

Implant Z NAIL 5.0 X 47.5MM CORTICAL SCREW FA

3981422

47‐2484‐047‐50 2,574.00

Implant FOOT PLATE LO‐PRO MTP SHRT RIGHT CONTOUR

3901446

AR‐8944CR‐P 12,530.00

Implant FEMORAL TC3 CEMNT SZ 2.5 LEFT SIGMA

3901451

96‐0086 80,984.40

Implant FEMUR CEMNT LEFT SZ 6N MARROW ATTUNE

3901457

1504‐10‐126 31,198.50

Implant PSN FEMUR LT SZ 10 STANDARD

3901470

42‐5006‐068‐01 27,500.00

Implant FEM HD 12 / 14 28 X 0 METASUL

3901477

00‐8770‐028‐02 25,300.00

Implant TIBIAL INSERT 5MM SZ 4 AOX ATTUNE

3901484

1516‐50‐405 17,170.31

Implant MATRISTEM 5X5 MULTILAYER WND MATRIX

3800898

WSM0505 10,948.00

Implant SCREW 3.5 X 18MM LOCK

3901502

ASL35‐18T 3,375.00

Implant PLATE LAPIDUS LRG

3901505

ALD42‐7U 20,556.25

Implant PLATE CERVICAL SPINE

3901600

487.354 28,984.50

Implant ART SURFACE LT TB GH 12MM

3901528

42‐5114‐010‐12 17,187.50

Implant SHELL CLUSTER 48MM 2H

3901529

430‐98‐048 14,000.00

Implant JUGGERKNOT ANCH DBL LOAD 2 #2MAX BRD

3901535

912060 3,705.00

Implant Z NAIL TIBIA 10MM X 36CM UNIV

3901546

47‐2495‐360‐10 19,775.25

Implant TIBIAL TRAY MB1 REV SZ 5 CEMNTED

3901556

1294‐35‐150 67,048.80

Implant SCREW SHAFT 3.5 X 32MM

3901559

204.232 750.00

Implant SCREW 7.0 X 75MM CANNULATED 16MM THD

3901581

00‐1147‐075‐70 3,168.00



Implant TUBE 22 FR REPL G‐TUBE STRAIGHT

3800833

M00582860 409.50

Implant SCREW 7.0 X 85MM 16MM THD CANNULATED

3901583

00‐1147‐085‐70 3,168.00

Implant STENT 7FR 26CM 192143 POLARIS ULTRA

3800945

M0061921430 2,109.45

Implant PLATE RECON 3.5 X 94MM STRAIGHT 8 HOLE

3901601

00‐1179‐005‐08 4,488.75

Implant SCREW MATRIX MIDFACE 6 MM TITANIUM

3901604

04.503.226.01 1,905.00

Implant FOOT SYST CPR MINI SCORPION DX 2X13MM

3901610

AR‐8690DS 15,056.25

Implant FOOT PLATE PLANTAR LAPIDUS LEFT

3901616

AR‐8941PL 20,556.25

Implant SHELL 3H CLUSTER 50MM DIA

3901636

430‐98‐050 14,000.00

Implant LINER FMP ACETABULAR 34MM

3901637

931‐34‐750 15,812.50

Implant SCREW 6.5 X 75MM CANNULATED 32MM THD

3901643

00‐1147‐075‐66 3,078.00

Implant STENT 7F 24CM 175272 PERC PLUS

3801296

M0061752720 1,710.00

Implant SCREW LOCK 70MM LENGTH 3.5X2.7MM

3901661

00‐2359‐070‐38 1,377.00

Implant ILIAC CREST WEDGE LG FD IRR

3901664

92‐40A001 11,802.00

Implant SCREW  ARSENAL 6.5 X 45MM

3901669

47000‐065‐045 14,423.75

Implant MICRO BONE SCREW 8MM ACUTRAK 2

3901682

AT2‐C08 6,569.25

Implant STEINMAN PIN STYLE 5  3.2X229MM

3989644

00‐0187‐004‐59 135.00

Implant Z NAIL CPM 11.5MM X 36CM 130 LEFT

3989682

47‐2493‐363‐11 27,183.75

Implant FEM HEAD BIOLOX +4.0 36MM

3986986

400‐03‐363 12,600.00

Implant PLUG TIBIAL CANNULATED

3989696

234‐020‐175 1,293.30

Implant FEMUR LEFT SZ 6

3989703

1504‐10‐106 31,505.63

Implant SCREW 4.5 X 27MM INV/REV

3989719

01.04223.027 1,965.00

Implant CRX CALV NAIL COLLAR BONE

3989734

CU‐180416‐01 46,670.00

Implant KIRSCHNER WIRE 2.0MM

3989741

14179‐6 246.45



Implant SCREW LO‐PRO CORTICAL 3.5X34MM

3989742

1312‐18‐034

131218034 750.00

Implant FEMUR CR LEFT SZ 7

3989779

1504‐00‐107 31,222.13

Implant SHELL  52MM 3H CLUSTER

3989791

430‐98‐052 14,000.00

Implant LINER  MP7 ACETABULAR 36MM

3989792

931‐36‐752 14,368.75

Implant VANGUARD FEMUR RT 60MM CR

3981014

CP113614 76,588.20

Implant ACHILLES  BONE BLOCK ALLOGRAFT

3981034

P0009 37,732.50

Implant SCREW PERI W/2.7MM HEAD S/T 3.5X14MM

3981051

00‐2348‐014‐35 486.00

Implant STAPLE MONOCORTICAL 2.5MM 15X15X15

3981063

ST151515 15,468.75

Implant MENISCAL REPAIR DEVICE AIR ALL‐INSIDE

3981076

4720 5,913.75

Implant TIBIAL INSERT SZ 5 6MM FB CR 1516‐20‐506

3981105

1516‐20‐506 14,705.63

Implant SCREW NON LOCK 12MM

3981115

SP012000 1,110.00

Implant SCREW LO‐PRO SS CORTICAL 3.5X14MM

3981127

AR‐8835‐14 525.00

Implant PSN TIBIA RT 5DEG SZC STEMMED

3981136

42‐5320‐064‐02 17,875.00

Implant HIP STEM B EXT  SZ 9 FITMORE OFSET 48.50

3981145

01.00551.309 32,062.50

Implant IMPLANT PENILE PROSTHESIS SPECTRA 12MX20

3981148

720074‐03 103,752.00

Implant FEMUR SZ 9

3981162

241‐01‐109 34,425.00

Implant HUMERAL STEM MINI 19MM X 83MM

3981182

113639 37,800.00

Implant FEMORAL HEAD +0X32MM

3981189

8018‐032‐02 7,125.00

Implant SCREW CORTICAL SHFT SH 6MM THD 3.5X20MM

3981204

00‐4835‐020‐04 288.00

Implant ART SURFACE RT TB EF 11MM

3981276

42‐5214‐008‐11 17,187.50

Implant STEM UNIV

3981292

86‐7430 24,640.00

Implant PFC SIGMA TC3 96‐0083 CMTD 4 LEFT

3981294

96‐0083 91,963.20

Implant ADAPTER SIGMA FEMEROL

3981296

96‐0781 33,698.70



Implant SUTURE ANCHOR BIO CORKSCREW 6.5X17.9MM

3611734

AR1925BF 3,705.00

Implant TIBAL INSERT TC3 RP

3981298

96‐2351 41,314.00

Implant PATELLA DOMED TRI‐PEG 8X32MM

3981317

130‐03‐732 6,341.25

Implant ART SURFACE 10MM

3981319

42‐5120‐006‐10 20,625.00

Implant SPEEDCINCH CURVD NEEDLE W/2 PEEK IMPLANT

3981322

AR‐4502 7,910.00

Implant HUMERAL SPACER 12MM

3981333

00‐4349‐039‐12 10,192.00

Implant HUMERAL SPACER  9MM

3981334

00‐4349‐039‐09 10,192.00

Implant GLENOSPHERE  EI HUMRAL BEARING

3981338

EP‐115393 24,062.50

Implant HUMERAL HD LOW OFSET 42X16MM

3993474

502342 27,500.00

Implant HUMERAL HD LOW OFSET 44X17MM

3993475

502344 27,500.00

Implant HUMERAL HD HGH OFSET 38X15MM

3993481

502438 27,500.00

Implant SCREW WASHERLOC 4.5X44MM CORTICAL

3900981‐C

908644 1,890.00

Implant HUMERAL STEM 4C 78MM

3993501

503304C 40,500.00

Implant HUMERAL STEM 5C 82MM

3993504

503305C 40,500.00

Implant IMPLANT SPEED TITAN 20X20

3981354

SE‐2020TI 29,504.25

Implant HUMERAL STEM 3B ASCEND PTC

3993524

7503303B 40,500.00

Implant HUMERAL STEM 6B ASCND PTC

3993533

7503306B 40,500.00

Implant HUMERAL STEM 7A  ASCND PTC

3993535

7503307A 40,500.00

Implant HUMERAL HD 37X13.5MM LOW OFSET

3993544

DWF037

DWF037‐SPECIAL 

ORDER 37,226.25

Implant HUMERAL HD 43X16 HGH OFSET AEQ

3993559

DWF143 20,625.00

Implant HUMERAL HD 54X23 HGH OFSET AEQ

3993566

DWF154

DWF154‐SPECIAL 

ORDER 39,312.00



Implant HUMERAL HD 54X27 HGH OFSET AEQ

3993567

DWF155 39,312.00

Implant SCREW WASHERLOC 52MM

3900985‐C

908652 1,950.00

Implant HUMERAL HD 43X16 HGH OFSET AEQ

3993579

DWF343 44,681.00

Implant FLEX RVS INSRT 42MM (+)9 C 7.5*

3993611

DWF422C 17,799.38

Implant RETN  RVS INSRT42MM(+)6 B 12.5*

3993613

DWF424B 23,478.13

Implant HUMERAL STEM 3B ASCND FLX STND

3993636

DWF603B 33,750.00

Implant HUMERAL STEM 4B ASCND FLX STND

3993640

DWF604B 33,750.00

Implant HUMERAL STEM 4B ASCND FLEX LNG

3993662

DWF614B 47,905.65

Implant HUMERAL STEM 4A  ASCND FLX STD CMT

3993671

DWF704A 40,500.00

Implant HUMERAL STEM 8A  ASCEND FLX STD CMT

3993679

DWF708A 40,500.00

Implant HUMERAL STEM 4B ASCEND FLX LNG CMT

3993684

DWF714B 47,534.50

Implant SCREW 40 X 38MM TITANIUM LOCK

3900136

04.005.428 3,961.50

Implant CANCELLOUS 1‐4MM 15CC

3900965‐C

00500601 3,750.00

Implant PLATE 241.171 3.5MM LCP T 7HL/87MM RT AN

3800477‐C

241.171 6,227.25

Implant HUMERAL HD 54 X 18 LOWOFST ASC FLX

3993701

DWG054 27,500.00

Implant HUMERAL HD 48 X 18 HGH OFST ASC FLX

3993713

DWG149 27,500.00

Implant HUMERAL HD 48 X 20 HGH OFST ASC FLX

3993714

DWG150 20,625.00

Implant Z NAIL CPM 11.5MM X 40CM 130 LEFT

3989863

47‐2493‐403‐11 27,183.75

Implant SCREW LOCK 2.7M HEAD 3.5X12MM

3981209

00‐2359‐012‐38 1,377.00

Implant KNEE TIGHTROPE RT DBL LOAD PASS SUTURE

3899219

AR‐1588RT‐J 5,272.50

Implant SCREW CORTICAL LOCKING 3.5X26MM

3987662

8161‐35‐026 1,725.00

Implant PSN FEM HEAD RT CR SZ 9 STANDARD

3988823

42‐5026‐066‐02 27,500.00

Implant ELBOW HUMERAL SCREW KIT

3911721

00‐8400‐090‐00 5,814.00



Implant PUTTY 02‐5000‐025 EVO 3 2.5CC ACCELL

3200630‐C

02‐5000‐025 8,334.90

Implant ULNAR STEM SIZE 5 75MM LT

3911725

00‐8400‐015‐07 77,520.00

Implant FEMUR  CR CMTD LEFT SZ 5 NRW

3981392

1504‐00‐125 31,191.75

Implant SCREW 35 X 4.5MM SLF TAP LOCK

3993726

DWD035 750.00

Implant SCREW BONE ST 6.5X35MM

3900847

00‐6250‐065‐35 1,773.75

Implant SCREW CANNULATED 7.0X16MM

3900848

00‐1147‐095‐70 3,168.00

Implant TIBIAL INSERT SZ 8 5MM RP PS

3981398

1516‐50‐805 17,022.50

Implant SUTURE ANCHOR HEALICOIL 4.75 FT RG DISP

3900862

72203951 3,042.00

Implant SUTURE ANCHOR HEALICOIL 4.75 REGENESORB

3900863

72203704 4,987.50

Implant PSN FEMUR  STND LT SZ 9

3910988

42‐5006‐066‐01 27,500.00

Implant NAIL LONG 11 X 440MM X 125 RT

3600695‐C

3225‐0440S 30,618.00

Implant IMPLANT SUBTALAR TITANIUM 6MM

3910991

050106 39,798.00

Implant FEMUR POST CEMENT RIGHT  SZ4

3901097

1504‐10‐204 31,201.88

Implant PLATE LT 2.4MM NARROW VA LCP

3900149

02.111.531 21,628.75

Implant SCREW CORTICAL 2.7X12MM

3900151

202.872 915.00

Implant CLAMP NON SWIVEL

3900154

M203 2,235.00

Implant SCREW PEDICLE 6 X 45MM

3900161

PS9‐5077‐09 24,475.00

Implant SCREW LOCK SET

3900163

PS9‐5085 1,500.00

Implant ART SURFACE VE 10M LT

3901415

42‐5120‐005‐10 20,625.00

Implant ZEPHYR 5620 SNGL CHAMBER PCMKR

8600000

5620 41,089.75

Implant NAIL LONG 2.0 11 X 280MM X 13

3600696‐C

3230‐0280S 27,716.58

Implant QUICKFLEX MICRO 75 CM LV LEAD

8600006

1258T/75 46,959.64

Implant QUICKFLEX MICRO 92CM LV LEAD

8600008

1258T/92 56,441.88



Implant QUARTET 75CM LV LEAD

8600011

1458Q/75 56,441.88

Implant QUARTET 86CM LV LEAD

8600012

1458Q/86 56,441.88

Implant TENDRIL STS PACEMAKER LEAD 58CM

8600027

2088TC/58 8,980.44

Implant DURATA DF4‐ACTIVE TBP DUAL SHK 65CM LEAD

8600038

7120Q/65 58,699.50

Implant DURATA DF4‐PASSIV TBP DUAL SHK 58CM 21CM

8600055

7171Q/58 58,699.50

Implant LINER 36MM /KK LONGEVITY

3901418

00‐8751‐012‐36 12,600.00

Implant FORTIFY ASSURA NEXT GEN DR 40C SYSTEM

8600088

CD2357‐40C 

SYSTEM 193,708.57

Implant ELLIPSE NEXT GENERATION DR 36C

8600093

CD2411‐36C 169,867.50

Implant NAIL 011X X360MM X 130 RIGHT

3600700‐C

3230‐0360S 31,293.00

Implant ELLIPSE NEXTGEN DR 36Q DF4 CONNECTOR SYS

8600100

CD2411‐36Q 

SYSTEM 193,708.57

Implant OPTISURE DF4 ‐ ACT TBP SINGLE COIL, 65CM

8600137

LDA210/65 58,699.50

Implant OPTISURE DF4‐ACTIVE TBP SINGLE SHK 58CM

8600139

LDA21Q/58

LDA210Q/58 58,699.50

Implant TENDRIL MRI PACEMAKER LEAD 52CM

8600148

LPA1200M/52 8,980.44

Implant ASSURITY PACEMAKER DR ‐ RF

8600160

PM2240 58,141.00

Implant SCREW 2.7 X 10MM CRUCIFORM

3901389

CO‐F2710 630.00

Implant SCREW 2.7 X 16MM CRUCIFORM

3901391

CO‐F2716 630.00

Implant SCREW CVR HUB CAP WRIST INF PLT

3901394

PL‐WF60 1,740.00

Implant SCREW 3.5X14MM ALPHATEC SOLANAS

3901441

63035‐14 13,286.00

Implant SCREW QUICKFIX CANC PART THD 3.0X34MM

3901444

AR‐8730‐34PT 2,250.00

Implant NAIL LONG 2.0 11 X 440 X 125

3600713‐C

3325‐0440S 30,618.00

Implant TIBIAL INSERT TC3 SZ 2.5 SIGMA

3901452

96‐2333 41,314.00

Implant SCREW LO‐PRO LOCKING SS 3.5X14MM

3901463

AR‐8835L‐14 1,725.00



Implant SCREW LO‐PRO LOCKING SS 3.5X20MM

3901464

AR‐8835L‐20 1,725.00

Implant PLATE PROX ULNAR 3H LEFT LOCK

3901465

00‐2358‐012‐03 9,450.00

Implant SCREW SM HEX CORTICAL SELF TAP 2.7X50MM

3901469

00‐4827‐050‐01 288.00

Implant SCREW CORTICAL 1.8X12MM

3901507

00‐2329‐012‐25 855.00

Implant SCREW CORTICAL 1.8X20MM

3901510

00‐2329‐020‐25 1,260.00

Implant SCREW LO‐PRO LOCK 4.5X30MM

3901516

AR‐8545L‐30 2,925.00

Implant SCREW 3.5 X 22MM LOCK

3901521

ASL35‐22T 3,375.00

Implant NAIL LONG 2.0 11 X 300MM X 13

3600715‐C

3330‐0300S 30,618.00

Implant HEMI BTB PATELLA TENDON W/BONE BLOCK

3901524

0008 41,834.00

Implant ACHILLES TENDON W/ BONE BLOCK

3901525

0009 30,375.00

Implant SCREW 8 X 16MM QUATTRO BOLT TENODESIS

3901540

CM‐9508 6,091.88

Implant ANCHOR KNOTILUS 3.5MM

3901547

3910‐500‐100 4,631.25

Implant PIN LCS HGH PERFORMANCE  THD SIGMA

3901557

9505‐02‐302 3,397.50

Implant ART SURFACE LT TB EF 13MM

3901564

42‐5114‐008‐13 17,187.50

Implant TIBIAL TRAY INFINITY SZ3 LONG

3901577

33650013 72,000.00

Implant SCREW 4.0 X 18MM CANCELLOUS FULL THD

3901595

206.018 491.25

Implant FEMORAL PS CEMNT SZ3 LEFT SIGMA

3901102

1960‐40‐300 27,390.96

Implant SCREW 3.5 CANN PART THD 12MM 205‐012

3200002‐C

205‐012 2,220.00

Implant BASEPLATE THD POST 25X35MM

3993735

DWE735 16,500.00

Implant ART SURFACE CR LEFT 11MM SZ 7‐12

3901606

42‐5110‐006‐11 17,187.50

Implant SCREW CORTICAL LO PRO 3X12MM

3901625

AR‐8933‐12 1,650.00

Implant SCREW CORTICAL LO PRO 3X22MM

3901627

AR‐8933‐22 1,650.00

Implant SHOULDER PLATE DISTAL CLAVICLE 8H LEFT

3901657

AR‐2657DL 7,700.00



Implant ART SURFACE RT 10MM

3989252

42‐5214‐007‐10 17,187.50

Implant PSN FEMURAL HD RT SZ 7

3989253

42‐5006‐062‐02 27,500.00

Implant CANNULA SIDE DELIVERY

3989264

307.032 7,070.00

Implant SCP FOOT/ANKLE KIT (BSM FILLER)514.502

3989265

514.502 49,075.00

Implant SCREW 3.5 CANN PT 22MM 205‐022

3200010‐C

205‐022 1,920.00

Implant SCREW PEEK CF 7X25MM

3989275

10022 2,856.00

Implant SCREW PEEK CF 8MM X 20MM

3989278

10025 3,000.00

Implant SUTURE ANCHOR PUSH IN 35 W/BRAID

3989346

10323T 3,480.75

Implant STEM TM REVERSE 10 X 130M

3989351

00‐4349‐010‐13 51,625.00

Implant LINER DUAL TAPER INSERT

3989353

00‐4349‐037‐00 11,200.00

Implant FEM STEM SZ12 CORAIL COXA VARA

3989392

3L93712 35,437.50

Implant PLATE DISTL LCK 6 H 120MM LNG LEFT

3989396

00‐2357‐008‐06 17,605.50

Implant SCREW  3.5 CANN PT 34MM 205‐034

3200019‐C

205‐034 2,115.00

Implant FEM HD  36MM +1.5

3989405

1365‐36‐310 13,338.50

Implant SCREW CORTICAL NON‐LOCK 3.5X14MM

3989424

8150‐37‐014 645.00

Implant ART SURFACE TM GLENOID 46 X 52MM

3989444

00‐4326‐046‐52 23,375.00

Implant SCREW NCB 5.0X36MM

3989475

02.03150.036 2,286.00

Implant Z NAIL TIBIA  9.3MM X 32CM UNIV

3989485

47‐2495‐320‐09 19,775.25

Implant PLATE CSLP VRBL ANGL 34 MM

3989505

450.163 18,947.50

Implant SCREW CORTICAL 3.5X30MM

3989510

181935030 525.00

Implant TIBIAL INSERT CR SZ4 6MM AOX 1516‐20‐406

3989520

1516‐20‐406 14,578.44

Implant ART SURFACE RT 12MM

3989537

42‐5210‐006‐12 17,187.50

Implant SCREW 3.5 CANN PT 50MM 205‐050

3200027‐C

205‐050 3,499.20



Implant PLATE 241.421 LCP 1/3 TUB 12 HOLE/141MM

3800483‐C

241.421 2,340.00

Implant KIT PERC INSERT SUTURE TAK 3MM

3989545

AR‐1934PI‐30 2,925.00

Implant FEM STEM SZ9 CORAIL STND COLRD

3989582

3L92499 32,207.76

Implant PSN FEMURAL HD LT SZ 8

3989619

42‐5006‐064‐01 27,500.00

Implant ART SURFACE LT TB EF 11MM

3989620

62‐5114‐007‐11

42‐5114‐007‐11 17,187.50

Implant FAST FIX 360 REVERSE CURVED DELIVER SYST

3989623

72202469 5,685.75

Implant K WIRE STYLE 1  .9MM DIA X 152MM

3989654

00‐0186‐044‐00 102.00

Implant TAPERFILL HIP STEM LTRL SZ 13

3989687

425‐97‐013 39,150.00

Implant FEMUR PLATE NCB LFT  5 H 167MM DISTAL

3989724

02.03260.105 17,762.25

Implant SCREW LOCKING CORTICAL 3.5X40MM

3989744

8161‐35‐040 1,725.00

Implant SCREW 3.5 X 12MM NO LOCK HEXALOBE

3989756

30‐0257 1,320.00

Implant SCREW 3.5 CANN FT 14MM 205‐214

3200030‐C

205‐214 1,920.00

Implant SCREW 2.7 X 20MM NO LOCK HEXALOBE

3989758

30‐0349 1,200.00

Implant SCREW CANNULATED 7.0X 90MM

3989770

00‐1147‐090‐70 3,168.00

Implant Z NAIL CPM 11.5MM X 21.5CM 130 LEFT

3989772

47‐2493‐213‐11 18,092.25

Implant SCREW PERI CANULTD CONICAL 3.5X35MM

3989785

00‐2359‐035‐37 1,332.00

Implant HIP STEM B EXT SZ 6 FITMORE OFFSET 46.62

3989793

01.00551.306 32,062.50

Implant ART SURFACE STBLZD BRING 12X71MM

3981017

FP‐189062 52,150.00

Implant SCREW 2.7 X 22MM LOCK ST

3981041

202.222 2,820.00

Implant SCREW  3.5 X 20MM  CORTEX

3981042

02.200.020 603.75

Implant ART SURFACE LT TB CD 10MM

3981047

42‐5114‐005‐10 17,187.50

Implant WASHER 7MM FOR 3.5 CANNULATED SCREW

3200053‐C

219‐98 540.00

Implant PERSONA PATELLA 26MM

3981061

42‐5400‐000‐26 9,100.00



Implant SCREW 3.0 X 18MM LOCK

3981066

LS30‐18

LS30‐18T 3,375.00

Implant SCREW 4.5 X 38MM CORTICAL ST LARGE HEX

3981069

00‐4845‐038‐01 288.00

Implant PLATE DISTL TIBIAL LOCK 10H 168M  RIGHT

3981087

00‐2357‐007‐10 18,034.50

Implant HUMERAL HD 46X18X53MM VERSA‐DIAL

3981099

113042 19,250.00

Implant SUBCHONDROPLASTY KNEE KIT ACCUPORT SIDE

3981107

402.202 47,450.00

Implant TOGGLELOC 2.9MM W/ZIPLOOP

3981109

110010384 5,051.63

Implant PSN FEM HEAD RT CR SZ 5

3981133

42‐5026‐058‐02 27,500.00

Implant PSN FEM HEAD LT CR SZ 10 42‐5026‐068‐01

3981134

42‐5026‐068‐01 27,500.00

Implant Z NAIL CPM 11.5MM X 32CM 130 LEFT

3981146

47‐2493‐323‐11 27,183.75

Implant SCREW 4.5MM CANN PT 52MM 245‐552

3200067‐C

245‐552 2,070.00

Implant JUGGERKNOT 2.9MM SOFT ANCHOR

3981153

110005096 3,776.25

Implant QUATTRO X SUTURE ANCHOR 5.5MM SZ 2

3981156

CM‐9255 6,840.00

Implant SCREW 8 X 20MM IFIX INTERFERENCE

3981157

11004136 5,586.00

Implant TIBIAL INSERT  LT 10MM

3981161

341‐10‐709 12,600.00

Implant ART SURFACE RT 11MM

3981175

42‐5214‐009‐11 17,187.50

Implant JUGGERKNOT SOFT ANCH 1.5MM SINGLE

3981178

912031 3,510.00

Implant FEMUR CR RIGHT SZ 5

3981190

1504‐00‐205 31,215.38

Implant STEM MODULAR

3981291

86‐6401 15,640.63

Implant SCREW 4.5 X 60MM CANN PART THD 214.560

3200069‐C

214.560 2,820.00

Implant DOME PFC SIGMA OVAL 3‐PEG 35MM

3981295

96‐0101 9,170.00

Implant KNOTLESS CLAVICLE PLATE BUTTON

3981301

AR‐2658T 7,700.00

Implant SCREW LO‐PRO LOCK SS 2.7X10MM

3981303

AR‐8827L‐10 1,725.00

Implant SCREW LO‐PRO LOCK SS 2.7X20MM

3981305

AR‐8827L‐20 1,725.00



Implant SCREW LO‐PRO LOCK TITANIUM 3.0X20MM

3981328

AR‐8933L‐20 2,250.00

Implant HUMERAL STEM MINI

3981337

113630 37,800.00

Implant FEMUR CR CMTD LEFT SZ 8

3981348

1504‐00‐108 31,191.75

Implant HUMERAL STEM 2B 70MM

3993494

503302B 40,500.00

Implant HUMERAL STEM 2C 70MM

3993495

503302C 40,500.00

Implant HUMERAL STEM 5A 82MM

3993502

503305A 40,500.00

Implant SCREW 4.5MM CANN FT 38MM 214.738

3200082‐C

214‐738 2,070.00

Implant HUMERAL STEM 6C 86MM

3993507

503306C 40,500.00

Implant HUMERAL STEM 8B 94MM

3993512

503308B 40,500.00

Implant IMPLANT SPEED TITAN 18X18

3981355

SE‐1818TI 24,296.25

Implant HUMERAL STEM 1C ASCND PTC

3993519

7503301C 40,500.00

Implant HUMERAL STEM 4B ASCND PTC

3993527

7503304B 40,500.00

Implant HUMERAL STEM 5B ASCND PTC

3993530

7503305B 40,500.00

Implant HUMERAL HD 46X17 LOW OFSET AEQ

3993548

DWF046 20,625.00

Implant HUMERAL HD 50X16 LOW OFSET AEQ

3993550

DWF050 27,500.00

Implant HUMERAL HD 41X15 HGH OFSET AEQ

3993558

DWF141 27,500.00

Implant HUMERAL HD 52X19 HGH OFSET AEQ

3993564

DWF152 20,625.00

Implant SCREW 214.752 4.5MM CANN FT 52MM

3200086‐C

214‐752 2,070.00

Implant HUMERAL HD 41X15 LOW OFSET AEQ

3993569

DWF241 42,536.00

Implant HUMERAL HD 43X16 LOW OFSET AEQ

3993570

DWF243 42,536.00

Implant INSERT FLEX REV DIA 33+9 ANGLE

3993587

DWF357B 7,125.00

Implant INSERT 36DIA REVIS REV(+)6/7.5C

3993591

DWF361C 17,799.38

Implant INSERT 36DIA RETNV REV(+)9/17.5A

3993599

DWF365A 23,478.13



Implant INSERT 36DIA RETNV REV(+)9/7.5C

3993601

DWF365C 23,478.13

Implant RETN  RVS INSRT42MM(+)9 A 17.5*

3993615

DWF425A 23,478.13

Implant TRAY CENTERED REVERSED (+)0

3993618

DWF500 12,600.00

Implant SCREW 214.764 4.5MM CANN FT 64MM

3200089‐C

214‐764 2,070.00

Implant TRAY HIGH OFFSET REVERSED (+) 0

3993624

DWF520 12,600.00

Implant HUMERAL STEM 1C ASCND FLX STND

3993630

DWF601C 40,500.00

Implant HUMERAL STEM 3A  ASCND FLX STND

3993635

DWF603A 40,500.00

Implant HUMERAL STEM  6B ASCEND FLX LNG CMT

3993685

DWF716B 47,534.50

Implant HUMERAL HD 42 X 18 LOWOFST ASC FLX

3993691

DWG044 20,625.00

Implant HUMERAL HD 42 X 18 LOWOFST ASC FLX

3993696

DWG049 27,500.00

Implant HUMERAL HD 51 X 23 LOWOFST ASC FLX

3993700

DWG053 27,500.00

Implant SCREW 40 X 36MM TITANIUM LOCK

3900135

04.005.426 3,961.50

Implant HUMERAL HD 54 X 24 LOWOFST ASC FLX

3993703

DWG056 27,500.00

Implant HUMERAL HD 42 X 14 HGH OFST ASC FLX

3993706

DWG142 27,500.00

Implant SCREW 4.5 X 50MM CANN PT 214.550

3200264‐C

214.550 3,268.80

Implant INSERT HIP CERAMAX 56X36MM

3900140

1218‐87‐656 15,489.65

Implant SCREW MULTI DIRECT 2.7X13MM

3211949

1312‐27‐313

131227313 2,490.00

Implant TIBIAL BASE FB CMTD SZ 9

3989858

1506‐00‐009 19,607.50

Implant PLATE DISTL FIBULA  LOCK 4 H 80MM LEFT

3981343

00‐2357‐018‐04 8,341.20

Implant SCREW 3.0 X 24MM LOCKING

3989789

LS30‐24T 3,375.00

Implant ART SURFACE SZ C 17MM

3910982

00‐5850‐030‐17 36,255.60

Implant ANCHOR ZIP PEEK 5.5MM

3981073

3910‐200‐035 4,203.75

Implant PSN FEMURAL HD LT SZ 11

3900840

42‐5006‐070‐01 27,500.00



Implant SCREW MIS HEADED 48MM 00‐5983‐040‐48

3900148

00‐5983‐040‐48 1,026.00

Implant STEM VERSYS ADV CE 11X120MM

3900843

00‐7850‐011‐00 22,687.50

Implant PLATE 245.21 RECONST 2.7MM 8 HOLE

3600571

245‐21 3,135.00

Implant CENTRALIZER VERSYS DISTAL 9MM

3900846

00‐7859‐009‐00 1,509.75

Implant SCREW CANNULATED 80MM THREAD 6.5X32MM

3900853

00‐1147‐080‐66 3,078.00

Implant SCREW  6.5MM SZ25M LO PROFILE

3989104

010‐55‐025

010‐55‐025‐NO CHG 17.00

Implant KIT TITAN STANDARD ASSEMBLY

3901098

91‐9480SC 8,596.00

Implant FEMUR LEFT SZ 9 ATTUNE

3900266

1504‐10‐109 31,505.63

Implant SCREW CORTICAL 70/30 3.0MM

3900156

M316 2,235.00

Implant SCREW PEDICLE 6 X 40MM

3900160

PS9‐5077‐08 8,400.00

Implant FEMUR  CR CMTD RIGHT SZ 8

3900170

1504‐00‐208 31,201.88

Implant SCREW BIOSTEON 7MM X 23MM

3981415

234‐010‐161 4,203.75

Implant PLATE 245.22 RECONST 2.7MM 10 HOLE

3600572

245‐22 4,965.84

Implant PLATE 241.941 3.5MM LCP T 63MM OBLIQUE L

3800485‐C

241.941 3,648.00

Implant ZEPHYR XL 5826 DUALCHAMBER PCMKR

8600003

5826 50,797.75

Implant BIOMEC BE EPICARDIAL LEAD 54 CM

8600005

511212 8,980.44

Implant QUICKFLEX MICRO 86 CM LV LEAD

8600007

1258T/86 46,959.64

Implant QUARTET WIDE SPACING 75CM LV LEAD

8600014

1458QL/75 56,441.88

Implant DURATA DF1‐ACTIVE TBP DUAL SHK 65CM 21CM

8600040

7121/65 58,699.50

Implant DURATA DF4‐ACTIVE TBP DUAL SHK 52CM 21CM

8600041

7121Q/52 58,699.50

Implant DURATA DF4‐ACTIVE TBP DUAL SHK 58CM 21CM

8600043

7121Q/58 58,699.50

Implant FORTIFY ICD‐VR DF4 CONNECTOR

8600060

CD1231‐40Q 136,400.81



Implant FORTIFY ASSURA NEXT GENERATION VR40C

8600063

CD1357‐40C 139,184.50

Implant FORTIFY ICD ‐ DR 40

8600079

CD2231‐40 180,651.24

Implant PLATE 241.141 3.5MM LCP T 4HL/56MM RT AN

3800474‐C

241.141 3,591.00

Implant UNIFY CRT‐D 40

8600101

CD3231‐40 193,708.57

Implant IMPLANT UROLIFT SYSTEM

3801414

UL400‐4 13,650.00

Implant QUADRA ASSURA40Q CRT‐D DF4 CONNECTOR

8600129

CD3369‐40Q 198,675.40

Implant SJM MRI ACTIVATOR

8600136

EX4000 4,275.00

Implant OPTISURE DF4‐ACTIVE TBP DUAL COIL 65CM

8600141

LDA220/65 58,699.50

Implant FEMUR RIGHT SZ 4

3989518

1504‐00‐204 31,222.13

Implant FEMUR PSN CR STANDARD RIGHT SIZE 11

3989536

42‐5026‐070‐02 27,500.00

Implant TIBIAL BASE FXD BRING SZ 4

3989553

1506‐00‐004 19,607.50

Implant TIBIAL INSERT SZ4 5MM AOX 1516‐20‐405

3989554

1516‐20‐405 14,702.19

Implant PLATE 245.071 3.5MM LCP RECON 7 HOLE/98M

3800488‐C

245.071 7,168.00

Implant ALLOGRAFT ACL HAMMERTOE

3989557

P0008 39,994.50

Implant Z NAIL CPM 10MM X 21.5CM 130 LEFT

3989600

47‐2493‐213‐10 18,092.25

Implant FAST FIX  360 STRAIGHT NEEDLE DELIVERY

3989624

72202467 5,685.75

Implant K‐WIRE STYLE 1   .7MM DIA X 127MM

3989632

00‐0186‐004‐15 102.00

Implant STEINMAN PIN STYLE 5  2.8X229MM

3989643

00‐0187‐003‐59 118.50

Implant PLATE FEM NCB PP DIST R L 278MM

3989666

02.03264.012 17,597.25

Implant Z NAIL 10.5 X 130MM LAG SCREW

3989684

47‐2485‐130‐10 6,805.80

Implant SHELL 54MM 3 HOLE CLUSTER

3989685

430‐98‐054 14,000.00

Implant LINER 36MM +0MM STANDARD

3989718

00‐4349‐036‐00 15,647.50

Implant WASHER 13.0MM

3811649‐C

219‐99 165.00



Implant TIBIAL INSERT SZ5 5MM AOX

3989782

1516‐50‐505 17,019.06

Implant PLATE CSLP VAR ANGLE 3 LVL 63MM

3981004

450.174 28,984.50

Implant FEMUR RT  NONPOUROUS  SZ 7

3981009

241‐02‐107 34,425.00

Implant PATELLA DOMED TRI‐PEG 9X35MM

3981010

130‐03‐735 6,341.25

Implant PATELLA  STANDARD 31MM

3981018

184764 9,100.00

Implant PATELLA  32MM CEMENT AOX

3981023

1518‐20‐032 7,136.50

Implant PLATE LCP 118MM WRIST FUSION

3981038

02.110.150 35,653.50

Implant SCREW LOCKING 3.0X14MM

3981065

LS30‐14T 3,375.00

Implant GRAFT STIMUBLAST GEL BONE MATRIX 10CC

3981080

ABS‐2002‐10 16,500.00

Implant PLATE H MAXILLOFACIAL 3 HOLE

3900653‐C

420.84 2,100.00

Implant PLATE 2.5MM LOCKING

3981113

1312‐20‐251 5,472.00

Implant SCREW NON LOCK 11MM

3981116

SP011000 1,110.00

Implant SHOULDER PLATE DISTAL CLAV SHORT RGHT SS

3981123

AR‐2656DR 7,700.00

Implant SCREW LO‐PRO LOCK SS 2.7X14MM

3981125

AR‐8827L‐14 1,725.00

Implant TIBIAL INSERT SZ 4 1516‐20‐407

3981150

1516‐20‐407 14,702.19

Implant FEMORAL HEAD BIOLOX 0 32 MM 8775‐032‐02

3981152

00‐8775‐032‐02 17,875.00

Implant HUMERAL HD 19 X 52MM

3981165

4302‐52‐19 14,781.25

Implant PIVOT NANO SUTURE ANCHOR 1.4MM

3981171

CAT01858 6,189.49

Implant LINER ACETABULAR 50HH 32MM

3981187

00‐8752‐009‐32 12,600.00

Implant PLATE L MAXILLOFACIAL 4 X 5 HOLE‐

3900656‐C

420.55 2,220.00

Implant HIP STEM B SZ 1  FITMORE OFFSET 37.00

3981188

01.00551.201 29,025.00

Implant ART SURFACE 11MM

3981199

42‐5224‐010‐11 20,625.00

Implant FEMUR PLATE NCB RT 13 H 324MM DISTAL

3981200

02.03260.013 17,762.25



Implant TIBIAL INSERT SIZE 5 8MM AOX

3981205

1516‐50‐508 17,170.31

Implant FEM STEM SZ15 CORAIL REV

3981208

L98115 113,400.00

Implant GLENOID BASE

3981218

110310 15,125.00

Implant HUMERAL HD 50X27X50MM VERSA‐DIAL

3981220

113057 13,650.00

Implant SCREW  LOCK SQUARE 22CM

3981221

1312‐27‐122 1,485.00

Implant SCREW LOCK TAP 2.7MM

3981224

00‐2360‐153‐27 3,747.75

Implant SCREW LOCKING SET

3981241

PS9‐5074 8,120.00

Implant PLATE Y MAXILLOFACIAL 3 X 7 HOLE

3900660‐C

420.63 2,265.00

Implant SCREW 6.5 X 50MM CANULTD 16MM THD

3981279

00‐1147‐050‐65 3,078.00

Implant Z NAIL CPM  13MM X 40CM 130 LEFT

3981288

47‐2493‐403‐13 27,183.75

Implant SCREW LO‐PRO SS CORTICAL 3.5X12MM

3981307

AR‐8835‐12 525.00

Implant SCREW LO‐PRO TITANIUM 4.0X24MM

3981327

AR‐8940‐24 900.00

Implant SCREW LO‐PRO LOCK TITANIUM 4.0MMX22MM

3981330

AR‐8940‐22 900.00

Implant SCREW QWIKFIX ST CANNULATED 4.0X34MM

3981332

AR‐8740‐34

AR‐8740‐34PTS 2,475.00

Implant SCREW FIXED LOCK 3.5 HEX 4.75 X 15

3981342

180550 1,965.00

Implant TIBIAL INSERT SZ 8 7MM RP CR

3981349

1516‐30‐807 17,170.31

Implant HUMERAL STEM 2A 70MM

3993493

503302A 40,500.00

Implant HUMERAL STEM 6A 86MM

3993505

503306A 40,500.00

Implant PLATE L MAXILLOFACIAL 3 X 3 HOLE

3900680‐C

421.051 3,405.00

Implant HUMERAL STEM 2B ASCND PTC

3993521

7503302B 40,500.00

Implant HUMERAL STEM 9B ASCND PTC

3993542

7503309B

7503309B‐SPECIAL 

ORDER 47,118.50

Implant TIBIAL BASE FXD BRING SZ 6

3981361

1506‐00‐006 19,607.50



Implant HUMERAL HD 43X16 LOW OFSET AEQ

3993547

DWF043 20,625.00

Implant HUMERAL HD 52X23 LOW OFSET AEQ

3993553

DWF053 27,500.00

Implant MULTIFIX S PEEK 5.5MM

3981370

OM‐2300 6,412.50

Implant HUMERAL HD 50X16 LOW OFSET AEQ

3993573

DWF250 42,536.00

Implant HUMERAL HD 50X19 LOW OFSET AEQ

3993574

DWF251 42,536.00

Implant HUMERAL HD 39X14 HGH OFSET AEQ

3993577

DWF339 44,681.00

Implant HUMERAL HD 46X17 HGH OFSET AEQ

3993580

DWF346 44,681.00

Implant PLATE L MAXILLOFACIAL 3 X 3 HOLE

3900683‐C

421.050 2,775.00

Implant INSERT 36DIA REVIS REV(+)9/7.5C

3993595

DWF362C 17,799.38

Implant INSERT 36DIA RETNV REV(+)6/7.5C

3993598

DWF364C 23,478.13

Implant RETN  RVS INSRT42MM(+)6 A 17.5*

3993612

DWF424A 23,478.13

Implant HUMERAL STEM 2B ASCND FLX STND

3993632

DWF602B 33,750.00

Implant HUMERAL STEM 5C ASCND FLX STND

3993646

DWF605C 40,500.00

Implant HUMERAL STEM 6C ASCND FLX STND

3993650

DWF606C 33,750.00

Implant HUMERAL STEM 7A  ASCND FLX STND

3993651

DWF607A 40,500.00

Implant HUMERAL STEM 7B ASCND FLX STND

3993652

DWF607B 33,750.00

Implant HUMERAL STEM 7C ASCND FLX STND

3993654

DWF607C 40,500.00

Implant PLATE L MAXILLOFACIAL 2 X 3 HOLE

3900698‐C

447.50 2,295.00

Implant HUMERAL STEM 8A  ASCND FLX STND

3993655

DWF608A 40,500.00

Implant HUMERAL STEM 6B ASCEND FLX LNG

3993664

DWF616B 51,181.25

Implant HUMERAL STEM 7B ASCND FLEX LNG

3993665

DWF617B 51,181.25

Implant HUMERAL STEM 2A  ASCND FLX STD

3993667

DWF702A 40,500.00

Implant HUMERAL STEM 4C ASCEND FLX STD CMT

3993674

DWF704C 40,500.00



Implant HUMERAL STEM 6A  ASCEND FLX STD CMT

3993675

DWF706A 40,500.00

Implant HUMERAL STEM 6B ASCEND FLX STD CMT

3993676

DWF706B 40,500.00

Implant HUMERAL STEM  6C ASCEND FLX STD CMT

3993678

DWF706C 40,500.00

Implant HUMERAL HD 42 X 17 LOWOFST ASC FLX

3993693

DWG046 27,500.00

Implant HUMERAL HD 42 X 20 LOWOFST ASC FLX

3993697

DWG050 27,500.00

Implant K‐WIRE  THREADED 1.25MM

3200049

900722 586.80

Implant SCREW 3.5 X  60MM LOCKING

3800511‐C

212.124 3,000.00

Implant HUMERAL HD 51 X 17 LOWOFST ASC FLX

3993698

DWG051 27,500.00

Implant HUMERAL HD 39 X 13 HGH OFST ASC FLX

3993704

DWG139 27,500.00

Implant HUMERAL HD 45 X 17 HGH OFST ASC FLX

3993710

DWG146 27,500.00

Implant FEM HIP LAT OFFST  SZ 9

3900143

425‐97‐009 39,150.00

Implant LINER NEUTRAL 48 X 32MM

3900146

1221‐32‐048 10,241.00

Implant PEG SMOOTH LOCK 2.2X14MM

3211954

1312‐27‐014

131227014 1,485.00

Implant SCREW MULTI DIRECT 2.7X11MM

3211948

1312‐27‐311

131227311 2,490.00

Implant SCREW REGENESORB 7X20MM INTERF BIOSURE

3900130

72204394 4,702.50

Implant TIBIAL INSERT SZ6 7MM FB CR 1516‐20‐607

3989856

1516‐20‐607 14,705.63

Implant LINER ACETABULAR 36MM MP9

3989860

931‐36‐756 14,368.75

Implant SCREW 1.0MM MAXILLOFACIAL 6MM

3900664‐C

400.506 840.00

Implant FEM STEM SZ16 CORAIL STND

3981393

3L92516 34,762.50

Implant FEM HD 12/14 COCR 36MM

3900845

00‐8018‐036‐01 7,125.00

Implant PLATE PROX ULNAR 5 HOLE LT

3900856

00‐2358‐012‐05 9,979.20

Implant PLATE DISTL MEDIAL TIBIA LOCK 8H LEFT

3900866

00‐2357‐008‐08 17,869.50



Implant ART SURFACE  LT TB GH 10MM

3987834

42‐5114‐010‐10 17,187.50

Implant TIBAL INSERT SZ9 10MM ATTUNE

3900267

1516‐50‐910 17,170.31

Implant SCREW COVERS  35200

3900157

35200 49.50

Implant K‐WIRE PLAIN 1.25MM TROCAR POINT

3901005

292.12 217.50

Implant SCREW LO‐PRO LOCK 4.5X28MM AR‐8545L‐28

3901405

AR‐8545L‐28 2,925.00

Implant FEM STEM CORAIL LAT W/COLLAR

3981418

3L93715 34,131.38

Implant ISOFLEX OPTIM J‐SHAPED LEAD 52CM

8600017

1944/52 8,980.44

Implant TENDRIL STS PACEMAKER LEAD 100CM

8600024

2088TC/100 8,980.44

Implant DURATA DF1‐ACTIVE TBP DUAL SHK 65CM 17CM

8600035

7120/65 58,699.50

Implant DURATA DF4‐ACTIVE TBP SINGLE SHOCK 52CM

8600042

7122Q/52 58,699.50

Implant DURATA DF4‐ACTIVE TBP SINGLE COIL 58CM

8600047

7122Q/58 58,699.50

Implant DURATA DF1‐ACTIVE INGRTD BP DL SHK 65CM

8600050

7131/65 58,699.50

Implant DURATA DF1‐PASSIV TBP DUAL SHK 65CM 17CM

8600051

7170/65 58,699.50

Implant DURATA DF4‐PASSIV TBP DUAL SHK 58CM 17CM

8600052

7170Q/58 58,699.50

Implant SCREW CANNULATED 6.5X40MM TL20  602640S

3211846‐C

602640S 4,061.25

Implant FORTIFY ASSURA NXT GEN VR40 DF4 CONN SYS

8600070

CD1357‐40Q 

SYSTEM 174,097.00

Implant UNIFY ASSURA NEXT GEN CRT‐D 40C

8600109

CD3357‐40C 198,675.40

Implant QUADRA ASSURA NEXT GEN CRT‐D 40C

8600117

CD3365‐40C 198,675.40

Implant QUADRA ASSURA NEXT GEN CRTD 40C SYSTEM

8600120

CD3365‐40C 

SYSTEM 263,244.96

Implant QUADRA ASSURA NXT GEN CRT‐D40Q DF4 SYS

8600124

CD3365‐40Q 

SYSTEM 263,244.96

Implant ALLURE CRT‐P RF

8600167

PM3222 92,113.20

Implant ASSURITY MRI PACEMAKER U PR

8600179

PM1272 50,325.00



Implant PLATE HUB CAP WRIST INFUSION PL‐WF40

3901386

PL‐WF40 13,692.00

Implant PLATE POST HUB CAP WRIST INFUS PL‐WF50

3901395

PL‐WF50 645.00

Implant SCREW LO‐PRO LOCK SS 2.7X18MM

3901423

AR‐8827L‐18 1,725.00

Implant SCREW CANNULATED 6.5X50MM TL20 602650S

3211848‐C

602650S 4,179.95

Implant SCREW LO‐PRO SS LOCK 3.5X16MM

3901425

AR‐8835L‐16 1,725.00

Implant SCREW 3.5X24MM CORTICAL LOCK

3901429

40233524 5,229.75

Implant SCREW 4.5 X 36MM THD CANNULATED

3901422

00‐1147‐036‐45 2,619.00

Implant STENT 7FR 24CM 192142 POLARIS ULTRA

3801035

M0061921420 2,109.45

Implant SCREW QUICKFIX CANC PART THD 3.0X30MM

3901445

AR‐8730‐30PT 2,250.00

Implant SCREW LO‐PRO CORTICAL 3X24MM

3901449

AR‐8933‐24 1,650.00

Implant RELIATACK DEVICE W/ RELOAD 3 X 8

3893700

RELTACK4XDPT 7,429.80

Implant SHOULDER PLT CNTRAL 1/3 RGHT CLVICLE  SS

3901460

AR‐2652CR 7,700.00

Implant ART SURFACE RIGHT 12MM

3901500

42‐5224‐010‐12 20,625.00

Implant SCREW 602895S CANNULATED 6.5 X 95MM TL40

3211874‐C

602895S

602895 2,730.00

Implant SCREW 3.5 X 16MM LOCK

3901504

ASL35‐16T 3,375.00

Implant SCREW LOCK 1.8X18MM

3901511

00‐2329‐018‐24 1,260.00

Implant SCREW LO‐PRO LOCK 4.5X36MM

3901515

AR‐8545L‐36 2,925.00

Implant SUTURE ANCHOR V‐LOX PEEK CF 5.5MM

3989337

10253T 3,557.25

Implant SUTURE ANCHOR DRAW TIGHT  3.2MM DBL LOAD

3989345

10588 3,621.64

Implant FEM STEM SZ12 CORAIL STND COLRD

3989403

3L92502 34,330.50

Implant PLATE WIDE LOCK RT 28X56MM

3989413

1318‐13‐050 11,774.00

Implant PSN FEMURAL HD RT SZ 10

3989417

42‐5006‐068‐02 27,500.00

Implant SCREW LOCKING CORTICAL 3.5X20MM

3989428

8161‐35‐020 1,725.00



Implant SCREW 602905S CANNULATED 6.5 X 105MM TL4

3211876‐C

602905S 4,179.95

Implant SCREW 4.0X22MM LOCK CANCELLOUS

3989431

8161‐40‐022 1,725.00

Implant SCREW 4.0X10MM LOCK CANCELLOUS

3989434

8161‐40‐010 1,725.00

Implant LINER NEUT 36MMX52MM  II

3989441

00‐8751‐010‐36 12,600.00

Implant TIBIAL INSERT SZ 8 6MM AOX

3989460

1516‐50‐806 17,170.31

Implant FEMUR PLATE NCB LFT 13 H 324MM DISTAL

3989472

02.03260.113 17,762.25

Implant ART SURFACE RT 11MM

3989496

42‐5124‐010‐11 22,859.38

Implant TIBIAL BASE FXD BRING SIZE 5

3989519

1506‐00‐005 19,600.63

Implant SCREW 6.5 X 80MM 16MM THD CANNULATED

3989533

00‐1147‐080‐65 3,078.00

Implant Z NAIL CPM 10MM X 34CM 130 RIGHT

3989541

47‐2493‐342‐10 27,183.75

Implant SCREW 611055S CANNULATED 8.0 X 55MM TL25

3211885‐C

611055S 3,375.00

Implant TIBIAL PIN 3.0 MM

3989549

2545‐00‐119 1,350.00

Implant FEM STEM SZ15 CORAIL HGH OFST

3989583

L20315 34,131.38

Implant SCREW NCB 4.0X26MM

3989609

02.03155.026 1,530.00

Implant SCREW NCB 4.0X28MM

3989610

02.03155.028 1,530.00

Implant MICRO BONE SCREW 14MM STERILE

3989621

AT2‐C14‐S (STERILE)

AT2‐C14‐S 6,569.25

Implant IMPLANT MALLEABLE PENILE PROTHESIS

3989629

91‐9511SC 99,516.00

Implant ILIAC CREST TRICORTICAL FREEZE DRIED

3989634

123 11,802.00

Implant Z NAIL 5.0 X 35 CORT SCREW FA

3989683

47‐2484‐35‐50

47‐2484‐035‐50 2,574.00

Implant TM RV BASE PLATE 25MM +2

3989716

00‐4349‐025‐02 39,690.00

Implant SCREW 611085S CANNULATED 8.0 X 85MM TL25

3211891‐C

611085S 5,329.50

Implant SCREW NCB 5.0X26MM

3989727

02.03150.026 2,286.00



Implant SCREW LOCKING CORTICAL 3.5X34MM

3983503

8161‐35‐034 1,725.00

Implant CROSSFIX ALL/SUT MENISC STRAIGHT RPR KIT

3989749

CM‐8001 6,091.88

Implant SCREW 2.3 X 20MM VAR ANGLE LOCK

3989761

30‐2320 1,950.00

Implant TIBIAL INSERT SZ7 6MM  AOX 1516‐20‐706

3989780

1516‐20‐706 14,702.19

Implant TIBIAL STEM FINNED MOD 40MM

3981016

141314 20,625.00

Implant ALLOGRAFT SEMITENDINOSUS ASP

3981028

92‐1745 20,900.00

Implant SHOULDER KIT SYSTEM ACUTE AC REPAIR

3981049

AR‐2271 15,468.75

Implant SCREW PERI W/2.7MM HEAD S/T 3.5X12MM

3981089

00‐2348‐012‐35 486.00

Implant FEMUR RIGHT SZ 6N NARROW

3981095

1504‐00‐226 31,471.88

Implant SCREW 611100S CANNULATED 8.0 X 100MM TL2

3211894‐C

611100S 3,645.00

Implant HUMERAL STEM MINI 16MM X 83MM

3981098

113636 40,500.00

Implant SHOULDER PLATE BUTTON DISTAL CLAVICLE

3981124

AR‐2658 4,987.50

Implant LINER MP ACETABULAR 36MM

3981139

931‐36‐760 14,368.75

Implant BASE PLATE FINNED SZ 9

3981163

351‐01‐109 15,125.00

Implant TRABECULAR MTL GLENOID 52MM

3981164

4326‐052‐00 23,375.00

Implant HUMERAL STEM 15X130MM

3981166

4342‐115‐13 37,800.00

Implant PSN FEMURAL HD RT SZ 12

3981197

42‐5006‐074‐02 27,500.00

Implant SCREW NCB 5.0X48MM

3981201

02.03150.048 2,286.00

Implant GRIPTION SHELL 58MM

3981290

1217‐32‐058 18,074.38

Implant SCREW LO‐PRO SS CORTICAL 3.5X8MM

3981306

AR‐8835‐08 525.00

Implant SCREW 2.0MM DIA 16MM LENGTH

3200825‐C

F20‐16T‐09 2,730.00

Implant PLATE CERVICAL SPINE 5 HOLE

3900585‐C

487.29 15,730.00

Implant ART SURFACE RT CR 10MM

3981312

42‐5220‐005‐10 22,859.38



Implant FEMUR SZ 7

3981318

241‐01‐107 34,425.00

Implant SCREW LO‐PRO LOCK 3.0MMX22MM

3981329

AR‐8933L‐22 1,650.00

Implant SCREW NON LOCK 3.5 HEX 4.75 X 25MM

3981340

180559 1,965.00

Implant PLATE DISTL FIBULA LOCK 6H 106MM LEFT

3981344

00‐2357‐018‐06 8,912.40

Implant HUMERAL HD HGH OFSET 42X16MM

3993483

502442 27,500.00

Implant HUMERAL STEM 5B 82MM

3993503

503305B 40,500.00

Implant HUMERAL STEM 1A  ASCND PTC

3993517

7503301A 40,500.00

Implant HUMERAL STEM 1B ASCND PTC

3993518

7503301B 40,500.00

Implant HUMERAL STEM 2A  ASCND PTC

3993520

7503302A 40,500.00

Implant SCREW 2.0MM DIA. 19MM LENGTH

3200829‐C

F20‐19T‐09 2,280.00

Implant HUMERAL STEM 4A  ASCND PTC

3993526

7503304A 40,500.00

Implant HUMERAL STEM 5C ASCND PTC

3993531

7503305C 40,500.00

Implant HUMERAL STEM 7B ASCND PTC

3993536

7503307B 40,500.00

Implant HUMERAL HD 39X14 LOW OFSET AEQ

3993545

DWF039 27,500.00

Implant HUMERAL HD 54X27 LOW OFSET AEQ

3993555

DWF055

DWF055‐SPECIAL 

ORDER 37,226.25

Implant HUMERAL HD 46X17 HGH OFSET AEQ

3993560

DWF146 27,500.00

Implant HUMERAL HD 50X16 HGH OFSET AEQ

3993562

DWF150 27,500.00

Implant SCREW 45MM ACCUTRAK

3981366

30‐0645 6,654.75

Implant HUMERAL HD 41X15 HGH OFSET AEQ

3993578

DWF341 44,681.00

Implant HUMERAL HD 50X16 HGH OFSET AEQ

3993582

DWF350 44,681.00

Implant SCREW 3.0MM DIA. 14MM L

3200837‐C

F30‐14T‐11 2,280.00

Implant INSERT 36DIA REVIS REV(+)6/17.5A

3993588

DWF361A 17,799.38



Implant INSERT 36DIA REVIS REV(+)9/17.5A

3993592

DWF362A 17,799.38

Implant INSERT 36DIA STND REVERSE (+)9

3993593

DWF362B 7,125.00

Implant RETN  RVS INSRT42MM(+)9 C 7.5*

3993617

DWF425C 23,478.13

Implant HUMERAL STEM 2C ASCND FLX STND

3993634

DWF602C 40,500.00

Implant HUMERAL STEM 5B ASCND FLX STND

3993644

DWF605B 33,750.00

Implant HUMERAL STEM 6A  ASCND FLX STND

3993647

DWF606A 40,500.00

Implant HUMERAL STEM 8B ASCND FLX STND

3993656

DWF608B 33,750.00

Implant HUMERAL STEM 1B ASCND FLX LONG

3993659

DWF611B 51,181.25

Implant HUMERAL STEM 2B ASCND FLEX LNG

3993660

DWF612B 47,905.65

Implant SCREW 3.0MM DIA. 32MM L

3200846‐C

F30‐32T‐11 2,430.00

Implant HUMERAL STEM 5B ASCND FLEX LNG

3993663

DWF615B 51,181.25

Implant HUMERAL STEM  8C ASCEND FLX STD CMT

3993682

DWF708C 40,500.00

Implant SCREW 40 X 32MM TITANIUM LOCK

3900138

04.005.422 3,961.50

Implant HUMERAL HD 42 X 16 HGH OFST ASC FLX

3993707

DWG143 20,625.00

Implant HUMERAL HD 51 X 17 HGH OFST ASC FLX

3993715

DWG151 27,500.00

Implant HUMERAL HD 54 X 24 HGH OFST ASC FLX

3993720

DWG156 27,500.00

Implant MICRO BONE SCREW 14MM  NON‐STRL

3981376

AT2‐C14 (NON‐

STERILE)

AT2‐C14 6,569.25

Implant SCREW 6.5 X 25MM CANCEL BONE 1217‐25‐500

3900142

1217‐25‐500 1,141.35

Implant GUIDEWIRE 1.2MM X 18 BIOSURE

3981383

72201201 639.60

Implant FEMUR CR CMTD LEFT SZ 6 NRW

3989855

1504‐00‐126 31,201.88

Implant SCREW 4.0MM DIA 22MM LO

3200852‐C

F40‐22T‐11 2,580.00

Implant TIBIAL INSERT SZ9 5MM FB CR 1516‐20‐905

3989859

1516‐20‐905 14,578.44



Implant SCREW CORTICAL 3.5 X 37.5MM

3989862

47‐2484‐037‐50 2,574.00

Implant STAPLE 2.0 X 8MM BONE

3989802

ST080808 15,468.75

Implant FEMUR DISTAL XT LT  SZ C

3910983

00‐5850‐043‐01 139,380.00

Implant ANCHOR ICONIX 1.4MM

3981388

3910‐500‐512

3910‐500‐512 (MIN 

ORD 5 EA) 5,913.75

Implant CORTILOC PEG GLENOID L50

3993723

DWE422 20,625.00

Implant SCREW 26 X 4.5MM SLF TAP LOCK

3993727

DWD026 750.00

Implant ART SURFACE RT TB GH 11MM 42‐5214‐010‐11

3900842

42‐5214‐010‐11 17,187.50

Implant STEINMAN PIN THREAD STYLE 6  2.8X229MM

3600947

00‐0262‐005‐04 121.35

Implant SCREW 85MM THREAD CANNULATED 6.5X32MM

3900854

00‐1147‐085‐66 3,078.00

Implant TIBIAL INSERT SZ6 5MM FB CR 1516‐20‐605

3981399

1516‐20‐605 7,108.50

Implant HUM STEM 8 X 130MM REV

3900867

00‐4349‐008‐13 51,625.00

Implant FEM HD BIOLOX CER +1 32MM

3900263

1365‐32‐310 13,758.50

Implant SCREW 2.4 X 20MM VA LOCK

3900165

02.210.120 3,240.00

Implant SCREW 4.0 X15M CANC SM HEX 55MM PART THD

3981412

00‐4840‐055‐01 270.00

Implant TIBIAL BASE FXD BRING SZ 7

3981416

1506‐00‐007 19,607.50

Implant TIBIAL INSERT SZ8 10MM FBCR 1516‐20‐808

3981417

1516‐20‐808 14,705.63

Implant STEINMAN PIN THREAD STYLE 6  2.0X229MM

3900624

00‐0262‐007‐04 232.05

Implant FOOT LARGE BB‐TAK AR‐8970‐09

3901402

AR‐8970‐09 2,025.00

Implant SCREW LO‐PRO LOCK 4.5X26MM AR‐8545L‐26

3901410

AR‐8545L‐26 2,925.00

Implant ZEPHYR 5626 XL SNGL CHAMBER PCMKR

8600001

5626 41,089.75

Implant TENDRIL STS PACEMAKER LEAD 46CM

8600025

2088TC/46 8,980.44

Implant DURATA DF1‐ACTIVE INTGRTD BP DL SHK 60CM

8600049

7130/60 58,699.50



Implant SHELL CONTINUUM CLUSTER 56MM SZ KK

3901417

00‐8757‐056‐01 25,437.50

Implant ELLIPSE NEXT GEN VR 36 DF‐4 CONNECTOR

8600075

CD1411‐36Q 139,184.50

Implant FEMUR  LEFT SZ 4

3901421

1504‐10‐104 31,505.63

Implant OPTISURE DF4‐ACTIVE TBP DUAL SHOCK 52CM

8600142

LDA220Q/52 58,699.50

Implant OPTISURE DF4‐ACTIVE TBP DUAL SHCOK 58CM

8600143

LDA220Q/58 58,699.50

Implant SCREW CORTICAL ST SML HEX 3.5X65MM

3200107‐C

00‐4835‐065‐01 333.00

Implant ASSURITY PACEMAKER SR ‐ RF

8600154

PM1240 48,726.73

Implant ASSURITY MRI PACEMAKER DR ‐ RF

8600163

PM2272 58,141.00

Implant SCREW LO‐PRO SS CORTICAL 3.5X18MM

3901424

AR‐8835‐18 525.00

Implant PLATE CLAW II  2‐ HOLE 20MM

3901428

40240220 31,495.50

Implant IMPLANT TITAN TOUCH O DEG SCROTAL 16CM

3901439

ES2916 108,960.00

Implant TIBIAL INSERT  FIX BEARING SZ 6 5MM AOX

3901458

1516‐40‐605 14,705.63

Implant BB‐TAK THREADED 1.6MM

3901475

AR‐13226T 1,275.00

Implant INFINITY TALAR DOME SZ 2

3901492

33630022 78,048.00

Implant SCREW CORTICAL 2.4X18MM

3901508

00‐2329‐016‐25

00‐2329‐018‐25 855.00

Implant SCREW CANC LG HEX FULL THREAD 6.5X110MM

3200110‐C

00‐4865‐110‐00 486.00

Implant TIBIAL BASE FIX BEARING SZ 8

3901543

1506‐00‐008 19,607.50

Implant SCREW LO‐PRO SS LOCK 3.5X18MM

3901545

AR‐8835L‐18 1,725.00

Implant TIBIAL INSERT SZ 5 15MM SIGMA

3901554

96‐2363 41,314.00

Implant SCREW SHAFT 3.5 X 30MM

3901558

204.230 750.00

Implant POLY INSERT SZ2 + 6MM INFINITY

3901578

33653206 34,087.50

Implant STENT 6FR 24CM 192132 POLARIS ULTRA

3800879

M0061921320 2,109.45

Implant LINER 36 X 54 STD VITE

3901591

00‐8851‐011‐36 20,625.00



Implant LINER NEUTRAL 36MM SZ MM

3901109

00‐8851‐014‐36 20,625.00

Implant SCREW MATRIX MIDFACE 12 MM TITANIUM

3901605

04.503.212.01 1,845.00

Implant SCREW CORTICAL LO PRO 3X20MM

3901622

AR‐8933‐20 1,650.00

Implant SCREW 6.5 X 95MM CANC LG HEX FULL THD

3200113‐C

00‐4865‐095‐00 486.00

Implant SCREW QWIKFIX ST CANNULATED 4X36MM

3901630

AR‐8740‐36PTS 2,475.00

Implant SCREW QWIKFIX PT CANNULATED 2.0X16MM

3901631

AR‐8720‐16PT 2,100.00

Implant MODULAR HEAD VARI OFFSET 50X21MM

3901635

113053 13,650.00

Implant TIBIAL INSERT FB CR SZ 10 5MM AOX

3901640

1516‐21‐005 14,578.44

Implant SCREW PERI CANNULATED LOCK 3.5X70MM

3901646

00‐2359‐070‐36 1,422.00

Implant PSN CR FEM PROVISIONAL SZ 11 LEFT

3901655

42‐5027‐070‐01 4,859.25

Implant SUTURE ANCH BIOCMP CORKSCREW 4.5X14MM

3901675

AR‐8927BC 4,631.25

Implant SCREW 3.5 X 14MM LOCK

3901693

ASL35‐14T 3,375.00

Implant SCREW 3.5 X 26MM NON LOCK

3901694

ASL35‐26T 3,375.00

Implant SUTURE ANCHOR MINI BIOCOMP FIBERWIRE 2‐0

3989774

AR‐1322BCNF 4,631.25

Implant SCREW CORTICAL ST SML HEX 3.5X34MM

3200130‐C

00‐4835‐034‐01 333.00

Implant PLATE X MAXILLOFACIAL 5 HOLE

3900649‐C

420.81 2,010.00

Implant SCREW TENODESIS BIO COMP/INSERTER 3X8MM

3989778

AR‐1530BC 7,504.00

Implant FEMUR RT NRW SZ 5N

3989781

1504‐10‐125 31,505.63

Implant MICRO BONE SCREW  26MM ACUTRAK 2

3979789

AT2‐C26 (NON‐

STERILE)

AT2‐C26 7,098.00

Implant TAPERFILL HIP STEM STD SZ 9

3989790

425‐96‐009 39,150.00

Implant SUBCHONDROPLASTY (SCP) KNEE KIT

3989799

414.502 41,730.00

Implant PLATE CSLP VAR ANGLE 3 LVL 66MM

3981005

450.175 28,984.50



Implant FEM HEAD BIOLOX 36MM NEUTRAL

3981013

400‐03‐362 12,600.00

Implant GRAFT SEMI ‐TENDINOUS

3981035

P1745 40,432.50

Implant SCREW 2.7X18MM CORTEX ST

3981039

202.878 915.00

Implant SCREW LAG STANDARD THREAD 12.7DX70MM

3200259‐C

00‐1193‐010‐27 3,577.50

Implant SCREW 2.7 X 20MM CORTEX ST

3981040

202.880 915.00

Implant SCREW 3.5 X 24MM CORTEX

3981043

02.200.024 603.75

Implant SCREW LOCK W/2.7MM HEAD 3.5X16MM

3981053

00‐2359‐016‐38 1,377.00

Implant STAPLE MONOCORTICAL 2.0MM 8X10X10

3981062

ST081010 15,468.75

Implant ANCHOR ICONIX 2.3M 2 STRAND

3981070

3910‐500‐522

3910‐500‐522 (MIN 

ORD 5 EA) 5,642.29

Implant SCREW TENODESIS BIOCOMPOSITE 4X10MM

3981082

AR‐1540BC 7,025.25

Implant HEMITOE IMPLANT 3.30X13MM NARROW

3981093

CHI‐C1‐13 24,062.50

Implant SCREW  NON LOCK

3981114

SP010000 1,110.00

Implant Z NAIL CPM 11.5MM X 21.5CM 130 RIGHT

3981132

47‐2493‐212‐11 18,092.25

Implant ACHILLES BONE TENDON 1.5X20CM W/BONE STR

3981135

92‐009 27,877.50

Implant SCREW LAG STANDARD THREAD 12.7DX75MM

3200260‐C

00‐1193‐010‐30 3,687.19

Implant ART SURFACE RT 10MM VE

3981137

42‐5224‐004‐10 20,625.00

Implant ART SURFACE LT UC 12MM

3981143

42‐5112‐005‐12 17,187.50

Implant IMPLANT 700 MS PENILE I

3981149

72404155 35,505.00

Implant STEM EXTENSION OFFSET 155 X 13MM

3981158

5988‐21‐13 7,056.00

Implant AUGMENT BLOCK DISTAL FEM SZ F 5MM

3981213

00‐5490‐036‐10 28,720.58

Implant ALLOGRAFT BTB PATELLA

3981229

04001303 33,601.50

Implant ANCHOR ICONIX 2.3MM

3981240

3910‐500‐532 5,642.29



Implant BB‐TAK 1.6 MM

3981299

AR‐13226 750.00

Implant SUTURE ANCHOR SWIVELOCK  TENODESIS 7MM

3981321

AR‐1662BC‐7 6,198.75

Implant HUMERAL HD LOW OFSET 50X19MM

3993478

502350 27,500.00

Implant SCREW COMPRESSION 1‐1/4"

3200273‐C

47‐1162‐022‐00 918.00

Implant HUMERAL HD HGH OFSET 40X15MM

3993482

502440 27,500.00

Implant HUMERAL HD HGH OFSET 50X19MM

3993487

502450 27,500.00

Implant HUMERAL STEM 1C 66MM

3993492

503301C 40,500.00

Implant HUMERAL STEM 3A 74MM

3993496

503303A 40,500.00

Implant HUMERAL STEM 4A 78MM

3993499

503304A 40,500.00

Implant HUMERAL STEM 4B 78MM

3993500

503304B 40,500.00

Implant HUMERAL STEM 6B 86MM

3993506

503306B 40,500.00

Implant HUMERAL STEM 8A 94MM

3993511

503308A 40,500.00

Implant HUMERAL STEM 9A 98MM

3993514

503309A

503309A‐SPECIAL 

ORDER 39,923.00

Implant HUMERAL STEM 2C ASCND PTC

3993522

7503302C 40,500.00

Implant SCREW CORTICAL S/T SML HEX 2.7X28MM

3200302‐C

00‐4827‐028‐01 288.00

Implant HUMERAL STEM 3A  ASCND PTC

3993523

7503303A 40,500.00

Implant HUMERAL STEM 3C ASCEND PTC

3993525

7503303C 40,500.00

Implant HUMERAL HD 41X15 LOW OFSET AEQ

3993546

DWF041 20,625.00

Implant HUMERAL HD 48X18 LOW OFSET AEQ

3993549

DWF048 27,500.00

Implant HUMERAL HD 54X23 LOW OFSET AEQ

3993554

DWF054

DWF054‐SPECIAL 

ORDER 37,226.25

Implant HUMERAL HD 39X14 HGH OFSET AEQ

3993557

DWF139 27,500.00



Implant HUMERAL HD 39X14 LOW OFSET AEQ

3993568

DWF239 42,536.00

Implant HUMERAL HD 52X19 HGH OFSET AEQ

3993584

DWF352 44,681.00

Implant HUMERAL HD 52X23 HGH OFSET AEQ

3993585

DWF353 44,681.00

Implant INSERT 36DIA RETNV REV(+)6/12.5B

3993597

DWF364B 23,478.13

Implant SCREW CORTICAL SML HEX 2.7X14MM

3200308‐C

00‐4827‐014‐00 252.00

Implant INSERT 36DIA RETNV REV(+)9/12.5B

3993600

DWF365B 23,478.13

Implant INSERT 39DIA FLEX REV(+)6/12.5B

3993602

DWF391B 7,125.00

Implant FLEX RVS INSRT 42MM (+)9 B 12.5*

3993609

DWF422B 7,125.00

Implant HUMERAL HD 42 X 19 LOWOFST ASC FLX

3993694

DWG047 27,500.00

Implant HUMERAL HD 45 X 15 HGH OFST ASC FLX

3993709

DWG145 27,500.00

Implant HUMERAL HD 48 X 16 HGH OFST ASC FLX

3993712

DWG148 27,500.00

Implant HUMERAL HD  51 X 20 HGH OFST ASC FLX

3993716

DWG152 27,500.00

Implant HUMERAL HD 54 X 21 HGH OFST ASC FLX

3993719

DWG155 27,500.00

Implant FEM STEM SZ 9 CORAIL STND

3900141

3L92509 35,920.13

Implant ART SURFACE  RT TB CD 12MM

3981380

42‐5214‐005‐12 17,187.50

Implant PLATE COMPRESSION 2.7 X 76MM 9H 2.5M THK

3200315‐C

00‐4927‐009‐00 2,430.00

Implant SCREW MULTI DIRECT 2.7X10MM

3211947

1312‐27‐310

131227310 2,490.00

Implant PEG SMOOTH LOCK 2.2X13MM

3211953

1312‐27‐013

131227013 1,485.00

Implant HEMISPHERICAL SHELL 56MM 3HOLE

3989861

430‐98‐056 14,000.00

Implant FEM HIP LAT OFFSETN SZ 11

3989866

425‐97‐011 39,150.00

Implant PLATE OLECRANON 10 HOLE 79MM

3987663

1312‐18‐600 11,942.00

Implant SCREW 70 X 100MM  CANNULATED

3900849

00‐1147‐100‐70 3,168.00



Implant FEM SHAFT  NCB CRV PL10H128

3900850

02.03265.010 7,778.40

Implant HUMERAL STEM  MINI 12X83MM LNG

3910986

113632 40,500.00

Implant SCREW FXD LOCK 3.5 HEX  4.75 X 25MM

3910987

180552 1,965.00

Implant GUIDE PIN 2.0 X 0.78MM

3910992

050017 1,035.00

Implant SCREW CORTICAL MINI CRUCIFORM 1.5X9MM

3200330‐C

00‐4815‐009‐02 252.00

Implant ALLOGRAFT ACHILLES W/O BONE BLOCK

3981402

00201603 22,896.36

Implant SCREW 4.5 X 24MM INV/REV

3900868

01.04223.024 1,965.00

Implant IMPLANT TITAN SCROTAL 0 DEG 22CM

3901099

ES2922 108,960.00

Implant CL RESERVOIR  TITAN W/LOCK OUT VL

3901115

ER8125 28,809.00

Implant SCREW CORTICAL 5.0X57.5MM

3989681

47‐2484‐057‐50 2,574.00

Implant FEM STEM SZ 8 CORAIL KS  STND

3900262

3L92507 53,587.50

Implant MESH SYMBOTEX (SYM12)

3801771

SYM12 6,226.40

Implant SHORT MINI RAIL SML M103

3900153

M103 23,465.75

Implant SCREW LO‐PRO LOCK 4.5X24MM AR‐8545L‐24

3901406

AR‐8545L‐24 2,925.00

Implant SCREW CORTICAL MINI CRUCIFORM 1.5X16MM

3200336‐C

00‐4815‐016‐02 252.00

Implant SCREW LO‐PRO CANCELOUS NOLCK 5.5X50MM

3901408

AR‐8555‐50 1,125.00

Implant SCREW LO‐PRO CANCELOUS NOLCK 5.5X55MM

3901409

AR‐8555‐855

AR‐8555‐55 1,125.00

Implant ZEPHYR 5820 DUAL CHAMBER PCMKR

8600002

5820 50,797.75

Implant BIOMEC BI EPICARDIAL LEAD 35CM

8600004

511211 8,980.44

Implant QUARTET SMALL‐S 75CM LV LEAD

8600009

1456Q/75 56,441.88

Implant OPTISENSE OPTIM PACEMAKER LEAD 46CM

8600022

1999/46 8,980.44

Implant TENDRIL STS PACEMAKER LEAD 52CM

8600026

2088TC/52 8,980.44

Implant DURATA DF1 ‐ ACTIVE TBP DL SHK 60CM,17CM

8600034

7120/60 58,699.50



Implant DURATA DF1‐ACTIVE TBP DUAL SHK 60CM 21CM

8600039

7121/60 58,699.50

Implant DURATA DF1‐ACTIVE TBP SINGLE SHK 65CM

8600046

7122/65 58,699.50

Implant SCREW CORTICAL MINI CRUCIFORM 1.5X18MM

3200337‐C

00‐4815‐018‐02 252.00

Implant FORTIFY ASSURA NXT GEN DR 40 DF4 CON SYS

8600092

CD2357‐40Q 

SYSTEM 193,708.57

Implant KIT BIOCUE BONE GRAFT

3901419

800‐0536 36,450.00

Implant UNIFY ASSRA NXT GEN CRT‐D40Q SYSTM DF4

8600116

CD3357‐40Q 

SYSTEM 263,244.96

Implant QUADRA ASSURA MP CRT‐D 40C

8600125

CD3369‐40C 198,675.40

Implant OPTISURE DF4‐ACTIVE TBP SINGLE SHK 52CM

8600138

LDA210Q/52 58,699.50

Implant OPTISURE DF4‐ACTIVE TBP SINGLE SHK 65CM

8600140

LDA210Q/65 58,699.50

Implant OPTISURE DF4‐ACT TBP DUAL SHK 65CM 21CM

8600145

LDA230Q/65 58,699.50

Implant OPTISURE DF4‐PASSIVE TBP DUAL SHOCK 65CM

8600146

LDP220Q/65 58,699.50

Implant SCREW 2.7 X 8MM CRUCIFORM

3901388

CO‐F2708 630.00

Implant SCREW MUC 4.3MM X 36MM

3901432

44110025 7,140.00

Implant SCREW CORTICAL SM HEX 2.7X18MM

3200351‐C

00‐4827‐018‐01 288.00

Implant PLATE H MAXILLOFACIAL 5 HOLE

3900654‐C

420.85 2,340.00

Implant IMPLANT TITAN CL RESERVOIR 75CC

3901440

ER8075 28,809.00

Implant DBM 100 BONE GRAFT 10CC

3993732

DBM010 19,250.00

Implant ROD 120MM

3901443

63001‐120 2,625.00

Implant SCREW LO‐PRO LOCK 3.0X16MM

3901448

AR‐8933L‐16 1,650.00

Implant TIBIAL TRAY MBT REV SZ 2 CEMENTED

3901450

1294‐35‐120 67,048.80

Implant SUTURE ANCHOR PEEK PUSHLOCK  2.9X15.5MM

3901453

AR‐1923PS 1,080.00

Implant SCREW LO‐PRO LOCK SS 3.5X12MM

3901462

AR‐8835L‐12 1,725.00



Implant ART SURFACE RT 13MM CR

3901467

42‐5220‐005‐13 20,625.00

Implant FEM HD VERSYS 32MM 12/14 TAPER

3901481

8018‐32‐14 7,125.00

Implant JUGGERKNOT ANCH 1.0MM 3.0 NEEDLE

3901486

912082 3,277.50

Implant SCREW CORTICAL SML HEX 2.7X24MM

3200354‐C

00‐4827‐024‐00 252.00

Implant SCREW 3.5 X 20MM NON LOCK

3901503

ASN35‐20T 3,375.00

Implant SCREW LOCK 2.4X24MM

3901512

00‐2329‐024‐24 1,260.00

Implant SCREW LO‐PRO LOCK 4.5X32MM

3901517

AR‐8545L‐32 2,925.00

Implant GUIDE PIN 3.0 X 305MM THREADED

3981424

00‐2490‐012‐30 1,233.00

Implant PLATE TIBIAL LOCK 10H LEFT 3.5MM

3901562

00‐2357‐004‐10 16,475.25

Implant SUTURE ANCHOR BIOCOMP SUT‐TAK 3X14.5MM

3901587

AR‐1934BCFT 4,631.25

Implant PLATE 38 X 30MM TITANIUM CS LOCK SML

3901597

487.218 26,922.50

Implant PLATE ORBITAL RIM 0.4MM THK 12H CURVED

3901602

04.503.313 7,448.00

Implant SCREW MATRIX MIDFACE 5MM TITANIUM

3901603

04.503.225.01 1,905.00

Implant SCREW LO PRO LOCK TITANIUM 3.5X16MM

3901612

AR‐8935L‐16 2,250.00

Implant SCREW CORTICAL MINI CRUCIFORM 2.0X10MM

3200357‐C

00‐4820‐010‐02 270.00

Implant STENT 22CM 192131 POLARIS ULTRA

3801293

M0061921310 2,109.45

Implant STENT 7F 26CM 175273 PERC PLUS

3801297

M0061752730 1,710.00

Implant ROD CURVED 70MM

3901656

PS92006‐70 1,500.00

Implant TIBIAL INSERT PS FB  SZ 7 10MM ATTUNE

3981501

1516‐40‐710 18,263.44

Implant ROD 70MM TITANIUM

3901671

47003‐55‐070 2,625.00

Implant SCREW NCB CANCELLOUS 5.0X70MM

3901679

02.03152.070 1,944.00

Implant TIBIAL BASE RP SZ 9 CMNTD

3901705

1506‐10‐009 21,831.56

Implant TIBIAL INSERT FB PS SZ 6 10MM ATTUNE

3901719

1516‐40‐610 20,625.00



Implant STEM EXTENSION OFSET 17MM DIA X 100 MM L

3901727

5988‐20‐17 24,274.25

Implant SCREW 4.0X10M CANC SM HEX PART THD 4.5MM

3200411‐C

00‐4840‐010‐01 270.00

Implant BONE PLATE RAYHACK ULNAR

3901737

40100109 21,835.00

Implant SCREW 2.7 X 16MM LOCK RAYHACK

3901746

40100776 3,630.00

Implant EPIPHYSIS BODY POROCOAT SZ 10+5

3901754

1100‐30‐120 13,440.00

Implant SCREW 3.0 X 22MM LOCK HEXALOBE

3901759

30‐0285 1,875.00

Implant SCREW LO‐PRO CORTICAL SS 3.5X22MM

3901658

AR‐8835‐22 525.00

Implant SCREW LO‐PRO CANULATED L/T SS 4.0X40MM

3901659

AR‐8840CL‐40 2,475.00

Implant FEMUR PLATE NCB RT  9 H 246MM DISTAL

3901677

02.03260.009 17,762.39

Implant FEM HIP SZ 12 P2 POROUS COATED

3901699

425‐96‐012 39,150.00

Implant HUMERAL STEM MINI 13 X 83MM LONG

3901708

113633 37,800.00

Implant HEAD 7818‐43 43MM HIP 00‐7818‐043

3200438‐C

7818‐43

00‐7818‐043 7,125.00

Implant SCREW 2.7 X 18MM CORTICAL RAYHACK

3901752

40100958 1,890.00

Implant SUTURE COLLAR STND 44MM HUMERAL INSRT

3901753

1100‐20‐200 5,550.38

Implant JUGGERKNOT ANCHOR 1.4MM PERC KIT

3901697

912040P 3,195.00

Implant ZIPTIGHT ANKLE SYN FIX SYS‐TI

3901701

909853 8,428.00

Implant PSN FEM HEAD LT CR SZ6

3901702

42‐5026‐060‐01 27,500.00

Implant TIBIAL INSERT  SZ 8 5MM RP CR

3901703

1516‐30‐805 17,170.31

Implant TIBIAL INSERT RP  PS SZ 9 5MM AOX

3901706

1516‐50‐905 17,170.31

Implant SCREW ST COMPRESSION AQ/R 23X4.5MM

3901714

VDV223 750.00

Implant LINER NEUT 36MM SZ MM LONGEVITY

3901715

00‐8751‐014‐36 12,600.00

Implant HEAD 7818‐45 45MM HIP 00‐7818‐045

3200440‐C

7818‐45

00‐7818‐045 7,125.00



Implant FEMORAL COMPONENT SZ G LT

3901725

5994‐17‐91 87,859.20

Implant PATELLA  STND  SZ 35MM DIA 9.0MM THICK

3901729

00‐5972‐066‐35 9,100.00

Implant ART SURFACE LEGACY SZ BLU/G 10MM H

3901730

5994‐50‐10 34,380.45

Implant SCREW 3.5 X 18MM CORTICAL RAYHACK

3901749

40100918 1,890.00

Implant OPTISURE DF4‐ACTIVE TBP DUAL SHOCK 65CM

8600144

LDA220Q/65 58,699.50

Implant ENDURITY PACEMAKER DR

8600157

PM2160 53,625.63

Implant SCREW 2.7 X 6 MM CRUCIFORM

3901392

CO‐F2706 630.00

Implant SCREW 2.7 X 12MM CRUCIFORM

3901399

CO‐F2712 630.00

Implant SCREW 3.5X28MM CORTICAL LOCK  CLAW II

3901430

40233528 5,229.75

Implant HEAD 7818‐54 54MM HIP

3200447‐C

7818‐54

00‐7818‐054 7,125.00

Implant SCREW MUC 4.3MM X 28MM

3901431

44110021 7,140.00

Implant SCREW MUC 4.3MM X 50MM

3901438

44110032 7,140.00

Implant SCREW LO‐PRO LOCK 3.0X18MM

3901447

AR‐8933L‐18 1,650.00

Implant SHELL CONTINUUM CLUSTER 50 HH

3901479

00‐8757‐050‐01 25,437.50

Implant SCREW 6.5X 15MM CANCELLOUS BONE

3901483

1217‐15‐500 1,537.50

Implant FEM HIP SZ 17 P2 POROUS COATED

3901489

425‐97‐017 40,432.50

Implant Z NAIL CPM 11.5MM X 32CM 130 RIGHT

3901488

47‐2493‐322‐11 27,183.75

Implant INFINITY TIBIAL TRAY SZ 1 STD

3901493

33650001 73,560.00

Implant HEAD 7818‐39 39MM HIP

3200450‐C

7818‐39

00‐7818‐039 5,047.35

Implant SCREW CORTICAL 2.4X14MM

3901509

00‐2329‐014‐25 855.00

Implant SCREW LOCK 2.4X22MM

3901513

00‐2329‐022‐24 1,260.00

Implant FEM HIP SZ10 P2 STANDARD OFSET

3901531

425‐96‐010 39,150.00



Implant FEM HEAD 28MM

3901532

497‐28‐350 12,600.00

Implant FEMORAL TC3 CMTD SZ5 LEFT SIGMA

3901553

96‐0084 80,984.40

Implant SCREW 7 X 23MM TITAN INTERFERENCE

3901576

IS‐0723 3,000.00

Implant SCREW TENODESIS BIOCOMPOSITE 6.25X15MM

3901609

AR‐1562CDS 5,486.25

Implant SCREW LO PRO TITANIUM 4.0X18MM

3901614

AR‐8940‐18 900.00

Implant SCREW LF 4.5 MALLEOLAR 55MM

3200499‐C

4845‐55‐08 325.50

Implant SCREW CORTICAL LO PRO 3X18MM

3901633

AR‐8933‐18 1,650.00

Implant SCREW QWIKFIX PT CANNULATED 2X20MM

3901634

AR‐8720‐20PT 2,100.00

Implant FEMUR CR CMTD SZ 10 LEFT

3901641

1504‐00‐110 31,222.13

Implant SCREW LO‐PRO CORTICAL 3.5X20MM

3901649

AR‐8835‐20 525.00

Implant SET SCREW SPINAL

3901673

47127 1,500.00

Implant ART SURFACE LT TB GH 11MM

3901676

42‐5114‐009‐11 17,187.50

Implant SCREW NCB CANCELLOUS 5.0X65MM

3901678

02.03152.065 1,944.00

Implant DOME OVAL PATELLA 3‐PEG 32MM SIGMA

3901691

96‐0100 9,583.00

Implant BASE PLATE 25 X 15MM AEQUALIS REV II

3901713

DWD170 16,500.00

Implant SCREW 3.5 X 26MM NON LOCK

3901724

ASN35‐26T 3,375.00

Implant SCREW LF 4.5 MALLEOLAR 60MM

3200500‐C

4845‐60‐08 325.50

Implant ART SURFACE LEGACY SZ G H 10MM H

3901731

5962‐50‐10 17,187.50

Implant SCREW 2.7 X 14MM LOCK RAYHACK

3901745

40100774 3,630.00

Implant SCREW 3.5 X 20MM CORTICAL RAYHACK

3901750

40100920 1,890.00

Implant SCREW 2.7 X 16MM CORTICAL RAYHACK

3901751

40100956 1,890.00

Implant Z NAIL CPM 10MM X 38CM 130 LEFT

3901771

47‐2493‐383‐10 27,183.75

Implant LINER 28MM ID/HD SZ FMP ACETABULAR

3901530

931‐28‐748 15,812.50



Implant FF POSTERIOR TIBIALIS TENDON

3901537

0333 33,750.00

Implant QUATTRO LINK SP KNOTLESS ANCHOR 4.5MM

3901541

CM‐9145SP 7,053.75

Implant SCREW 6.5 X 65MM CANC LG HEX 16MM THD

3200511‐C

00‐4865‐065‐01 468.00

Implant PLATE L MAXILLOFACIAL 4 X 5 HOLE‐

3900655‐C

420.54 2,220.00

Implant PSN FEM HEAD RT CR SZ 6

3901569

42‐5026‐060‐02 27,500.00

Implant SCREW 9 X 23MM TITAN INTERFERENCE

3901575

IS‐0923 3,000.00

Implant SCREW 7.0 X 80MM CANNULATED 16MM THD

3901582

00‐1147‐080‐70 3,168.00

Implant HIP STEM WAGNER SL REV 18/225

3901585

01.00102.218 78,811.20

Implant HIP STEM B EXT SZ5 FITMORE OFSET T 12/14

3901586

01.00551.305 29,025.00

Implant PLATE 40 X 32MM TITANIUM CS LOCK

3901598

487.226 15,688.75

Implant PLATE 42 X 34MM TITANIUM CS LOCK

3901599

487.227 28,012.50

Implant SCREW LO PRO LOCK TITANIUM 3.5X18MM

3901611

AR‐8935L‐18 1,275.00

Implant SCREW QWIKFIX PT CANNULATED 2.0X14MM

3901621

AR‐8720‐14PT 2,100.00

Implant SCREW 6.5 X 75MM CANC LG HEX 16MM THD

3200513‐C

00‐4865‐075‐01 468.00

Implant FOOT PLATE T LO PRO 3H 3.0MM TITANIUM

3901626

AR‐8952TT‐03 11,200.00

Implant SCREW CANNULATED 32MM THREAD 6.5X100MM

3901642

00‐1147‐100‐66 3,078.00

Implant SHOULDER PLTE CNTRAL 1/3 LEFT 8H CLVICLE

3901648

AR‐2654CL 7,700.00

Implant SCREW LO‐PRO CANCELOUS SS 4.0X14MM

3901650

AR‐8840‐14 525.00

Implant ART SURFACE FIX BEARING CR 14MM RIGHT

3901662

42‐5220‐006‐14 20,625.00

Implant IMPLANT TOE FLEX HINGE SZ 4 W/GROMMET

3901667

G4260004 19,112.50

Implant ROD 60MM TITANIUM

3901672

47003‐55‐060 2,625.00

Implant SCREW NCB CANCELLOUS 5.0X75MM

3901680

02.03152.075 1,944.00

Implant SCREW 6.5 X 55MM CANC LG HEX 32MM THD

3200523‐C

00‐4865‐055‐02 468.00



Implant TIBIAL TRAY MBT REV SZ 3 CEMNTD

3901689

1294‐35‐130 67,048.80

Implant SCREW 20MM STANDARD ACUTRAK

3901696

AT2‐S20 6,569.25

Implant SUTURE SHARPSHOOTER SURGICAL

3901711

HS4704 1,299.00

Implant FEM HIP SZ 7 P2 POROUS COAT LAT OFSET

3901722

425‐97‐007 39,150.00

Implant SCREW 3.5 X 20MM LOCK

3901695

ASL35‐20T 3,375.00

Implant TIBIAL INSERT ROTATING PLATFORM 4 12‐5MM

3901692

96‐2142 19,313.80

Implant FEM HEAD BIOLOX +8.0MM 36MM

3901698

400‐03‐364 12,600.00

Implant FEM HEAD BIOLOX DELTA 28MM DIA CERAMIC

3901721

400‐03‐282 12,600.00

Implant SCREW 6.5 X 85MM CANC LG HEX 32MM THD

3200528‐C

00‐4865‐085‐02 486.00

Implant TIBIAL COMPONENT STEMMED SZ 7 A/P WEDGD

3901726

5988‐07 36,047.70

Implant SCREW 3.5 X 16MM CORTICAL RAYHACK

3901748

40100916 1,890.00

Implant ART SURFACE 11MM

3981550

42‐5114‐010‐11 17,187.50

Implant GFS II STANDARD 20MM LOOP 10693

3989340

10693 3,429.75

Implant GFS II LARGE 12MM  LOOP 10702

3989341

10702 3,429.75

Implant SUTURE ANCHOR DRAW TIGHT 1.8MM SNGL LOAD

3989344

10565 3,947.25

Implant GLENOID BASE LARGE MOD HYBRID 4MM

3989367

113956 15,125.00

Implant SCREW LO‐PRO CORTICAL 3.5X46MM

3989408

1312‐18‐046 750.00

Implant SCREW MULTI DIRECT 3.5X40MM

3989412

8163‐35‐040 2,505.00

Implant SCREW 6.5 X 90MM CANC LG HEX 32MM THD

3200529‐C

00‐4865‐090‐02 486.00

Implant SCREW 4.0X14MM LOCK CANCELLOUS

3989432

8161‐40‐014 1,725.00

Implant SCREW 4.0X32MM LOCK CANCELLOUS

3989435

8161‐40‐032 1,725.00

Implant SHELL CONTINUUM CLUSTER 52 II

3989442

00‐8757‐052‐01 25,437.50

Implant SCREW NCB CORT 5.0X80MM

3989476

02.03150.080 2,286.00



Implant SCREW 4.8 X 46MM CANCELLOUS

3989509

181948046 61,785.00

Implant BONE CEMENT PLUG 22MM MAX RING

3989592

130613 2,025.00

Implant PLATE NCB NARROW

3989607

02.03267.012 7,560.00

Implant SCREW NCB 4.0X22MM

3989608

02.03155.022 1,530.00

Implant FAST FIX 360 CURVED NEEDLE DELIVERY

3989622

72202468 5,685.75

Implant SCREW 4.0 X 16MM CORTEX S/T

3989657

487.046 3,585.00

Implant SCREW BASIC FRAG 4.5 CORTICAL

3200536‐C

4845‐18‐01 199.20

Implant SPACER 3MM NCB

3989668

02.03150.313 1,251.00

Implant LINER  ACETABULAR 36MM 54 DIA

3989688

931‐36‐754 14,368.75

Implant MINI BONE SCREW 24MM ACUTRAK

3989691

AT2‐M24 6,569.25

Implant TIBIAL INSERT SZ6 7MM AOX

3989704

1516‐50‐607 17,170.31

Implant Z NAIL TIBIAL NAIL CAP 0MM

3989706

47‐2487‐005‐00 2,754.00

Implant STEM TM REVERSE 14 X 130MM

3989717

00‐4349‐014‐13 51,625.00

Implant MIDFOOT FUSION PLATE 8240‐74‐001

3989740

8240‐74‐001 10,136.00

Implant SCREW 2.7 X 22MM NO LOCK HEXALOBE

3989759

30‐0350 1,200.00

Implant SCREW 2.3 X 18MM VAR ANGLE LOCK

3989760

30‐2318 1,950.00

Implant SCREW 7.0 X 32MM CANNULATED THREAD 90MM

3989771

00‐1147‐090‐71 3,168.00

Implant SCREW LF 4.5 CORTICAL 44MM

3200548‐C

4845‐44‐01 288.00

Implant SCREW CSLP CORTICAL  4.0MM 18MM

3981000

450.127 6,583.50

Implant FEMUR CR RIGHT SZ 4 NARROW

3981021

1504‐00‐224 31,471.88

Implant TIBIAL BASE FXD BRING SZ 3

3981022

1506‐00‐003 19,600.63

Implant PSN FEMURAL HD LT SZ 7

3981046

42‐5006‐062‐01 27,500.00

Implant SCREW TENODESIS PEEK 5.5X10MM

3981048

AR‐1655PS‐10 4,061.25



Implant SCREW PERI W/2.7MM HEAD S/T 3.5X20MM

3981052

00‐2348‐020‐35 486.00

Implant GRAFT FROZEN POSTERIORS TIBIALIS TENDON

3981055

FPOST.TIBIAL 30,294.00

Implant PROPEL MINI FUROATE IMPLANT 16MM

3981075

60011 11,900.00

Implant HIP STEM B SZ 4  FITMORE OFFSET 38.50

3981081

01.00551.204 29,025.00

Implant SCREW LF 4.5 CORTICAL 58MM

3200555‐C

4845‐58‐01 199.20

Implant FEM STEM LTRL SZ 10 HIP

3981140

425‐97‐010 39,150.00

Implant TIBIAL INSERT SZ 5.5MM 1516‐20‐505

3981191

1516‐20‐505 14,578.44

Implant FEMUR  LEFT SZ 5

3981203

1504‐10‐105 31,505.63

Implant AUGMENT BLOCK POST FEM SZ F 5MM

3981212

00‐5490‐036‐01 28,720.58

Implant ART SURFACE 17MM

3981215

5964‐40‐17 14,000.00

Implant LAPIDUS WEDGE 5MM

3981283

PLP‐3005 36,382.50

Implant FEM HEAD 36MM

3981285

497‐36‐00

497‐36‐000 12,600.00

Implant SHOULDER PLATE DISTAL CLAV SHORT LEFT SS

3981300

AR‐2656DL 7,700.00

Implant ANCHOR ICONIX 2 TT 2.3MM X 2.0MM

3981314

3910‐500‐322

3910‐500‐322(MIN 

5 EA) 6,528.50

Implant SCREW  BF 4.5 CORTICAL 72MM

3200692‐C

4845‐72‐01 199.20

Implant BASEPLATE SZ MINUS 7

3981316

351‐03‐107 15,125.00

Implant FOOT PLATE LO‐PRO LAPIDUS TITANIUM

3981325

AR‐8941 8,400.00

Implant BASEPLATE +HA GLENOSPHERE RVRS SHDR

3981336

115330 20,006.25

Implant SCREW CENTRAL 6.5X25MM

3981339

115395 19,656.00

Implant HUMERAL HD LOW OFSET 38 X 15MM

3993472

502338 27,500.00

Implant HUMERAL HD LOW OFSET 52X20MM

3993479

502352 27,500.00



Implant HUMERAL HD LOW OFSET 54X21MM

3993480

502354

502354‐SPECIAL 

ORDER 30,685.50

Implant HUMERAL HD HGH OFSET 48X19MM

3993486

502448 27,500.00

Implant HUMERAL STEM 3C 74MM

3993498

503303C 40,500.00

Implant HUMERAL STEM 9B 98MM

3993515

503309B

503309B‐SPECIAL 

ORDER 39,923.00

Implant SCREW LOCK LNG PERI 3.5X24MM

3201406‐C

00‐2359‐024‐35 1,422.00

Implant HUMERAL STEM 4C ASCND PTC

3993528

7503304C 40,500.00

Implant HUMERAL STEM 5A  ASCND PTC

3993529

7503305A 40,500.00

Implant HUMERAL STEM 6C ASCND PTC

3993534

7503306C 40,500.00

Implant HUMERAL STEM 9A  ASCND PTC

3993541

7503309A

7503309A‐SPECIAL 

ORDER 47,118.50

Implant ART SURFACE 14MM SZ F

3981360

5880‐60‐14 33,426.00

Implant HUMERAL HD 50X19 LOW OFSET AEQ DWF051

3993551

DWF051 20,625.00

Implant HUMERAL HD 52X23 HGH OFSET AEQ

3993565

DWF153 27,500.00

Implant HUMERAL HD 48X18 LOW OFSET AEQ

3993572

DWF248 42,536.00

Implant INSERT 39DIA FLEX REV(+)9/12.5B

3993603

DWF392B 11,972.80

Implant FLEX RVS INSERT 42MM (+)9 A 17.5*

3993608

DWF422A 17,799.38

Implant SCREW LOCK LNG PERI 3.5X30MM

3201409‐C

00‐2359‐030‐35 1,422.00

Implant PLATE Y MAXILLOFACIAL 1 X 3 HOLE

3900679‐C

421.061 2,415.00

Implant INSERT 36DIA REVIS REV(+)9/12.5B

3993594

DWF362B

DWF362B  (+) 

9/12.5B ) 7,125.00

Implant HUMERAL STEM 2A ASCND FLX STND

3993631

DWF602A 40,500.00



Implant HUMERAL STEM 8C ASCND FLX STND

3993658

DWF608C 40,500.00

Implant HUMERAL STEM 8B ASCND FLEX LNG

3993666

DWF618B 51,181.25

Implant HUMERAL STEM 8B ASCEND FLX STD CMT

3993680

DWF708B 40,500.00

Implant HUMERAL STEM 8B ASCEND FLX LNG CMT

3993686

DWF718B 47,534.50

Implant HUMERAL HD 39 X 13 LOWOFST ASC FLX

3993687

DWG039 20,625.00

Implant HUMERAL HD 39 X 15 LOWOFST ASC FLX

3993688

DWG041 27,500.00

Implant HUMERAL HD 54 X 21 LOWOFST ASC FLX

3993702

DWG055 27,500.00

Implant HUMERAL HD 39 X 15 HGH OFST ASC FLX

3993705

DWG141 27,500.00

Implant SCREW LOCK LNG PERI 3.5X75MM

3201427‐C

00‐2359‐075‐35 1,620.00

Implant HUMERAL HD 42 X 18 HGH OFST ASC FLX

3993708

DWG144 27,500.00

Implant TIBIAL INSERT SZ 6 7MM RP CR

3981378

1516‐30‐607 17,019.06

Implant GRIPTON SHELL 48MM

3900145

1217‐32‐048 17,868.13

Implant SCREW MULTI DIRECT 2.7X15MM

3211951

1312‐27‐315

131227315 2,490.00

Implant SCREW REGENESORB 8X25MM INTERF BIOSURE

3900131

72204399 4,702.50

Implant FEMUR  CR CMTD LEFT SZ 9

3989857

1504‐00‐109 31,201.88

Implant K‐WIRE

3200148

K60‐18C 153.75

Implant SCREW 3.5 X 22MM NON LOCK

3989801

PS35‐22T 3,375.00

Implant SCREW FULL THREAD CANNULATED 3.5X40MM

3201446‐C

00‐1147‐040‐36 2,484.00

Implant GUIDE PIN  2MM BAYONET PT SNGL

3987779

141796.1 375.00

Implant STEM SEG FLUT 10X130

3910981

00‐5852‐050‐10 64,022.40

Implant STEM COLLAR TRAB 30MM 30

3910985

00‐5852‐040‐30 41,995.20

Implant GLENOID SPHERE 2MM ECCENTRIC 36MM

3993725

DWD192 26,125.00

Implant SCREW 20 X 4.5MM SLF TAP LOCK

3993728

DWD020 750.00



Implant SCREW NCB 5.0X32MM

3900851

02.03150.032 2,286.00

Implant SCREW 2.7 HEAD ST CORTICAL 3.5X28MM

3900857

00‐2348‐028‐35 486.00

Implant K‐WIRE 1.6 X 150MM TROCAR POINT 1 END

3900860

00‐4901‐016‐15 114.30

Implant ART SURFACE  LT 18MM VE

3910989

42‐5124‐007‐18 20,625.00

Implant SCREW FULL THREAD CANNULATED 3.5X105MM

3201462‐C

00‐1147‐105‐36 2,484.00

Implant K‐WIRE 1.6MM W/ TROCAR POINT 150MM

3900152

292.16 217.50

Implant SCREW CORTICAL 60/28 3.0MM

3900155

M312 2,235.00

Implant SCREW LO‐PRO LOCK 4.5X34MM AR‐8545L‐34

3901411

AR‐8545L‐34 2,925.00

Implant SCREW LO‐PRO LOCK 4.5X40MM AR‐8545L‐40

3901412

AR‐8545L‐40 2,925.00

Implant QUARTET 92CM LV LEAD

8600013

1458Q/92 56,441.88

Implant ISOFLEX OPTIM J‐SHAPED LEAD 46 CM

8600016

1944/46 8,980.44

Implant OPTISENSE OPTIM PACEMAKER LEAD 52CM

8600023

1999/52 8,980.44

Implant VERITY ADX SR M/S SGL CHMBR SSIR PCMKR

8600031

5157M/S 41,089.75

Implant DURATA DF4‐ACTIVE TBP DUAL SHK 52CM LEAD

8600036

7120Q/52 58,699.50

Implant SCREW PART THREAD CANNULATED 3.5X26MM

3201476‐C

00‐1147‐026‐35 2,484.00

Implant DURATA DF4‐PASSIV TBP DUAL SHK 65CM 17CM

8600053

7170Q/65 58,699.50

Implant DURATA DF1‐PASSIV TBP DUAL SHK 65CM 21CM

8600054

7171/65 58,699.50

Implant FORTIFY ASSURA NXT GEN VR 40 DF4 CONNECT

8600067

CD1357‐40Q 139,184.50

Implant ELLIPSE NEXT GENERATION VR 36C

8600071

CD1411‐36C 139,184.50

Implant ELLIPSE NEXT GEN DR 36 SYSTEM

8600096

CD2411‐36C 

SYSTEM 193,708.57

Implant QUAD ASSURA NEXT GEN CRT‐D 40C  MER PKG

8600118

CD3365‐40C CELL 200,211.55

Implant BROADBAND INTERNET KIT US

8600135

EX1170 5,797.61

Implant TENDRIL MRI PACEMAKER LEAD 46CM

8600147

LPA1200M/46 8,980.44



Implant TENDRIL MRI PACING LEAD 58CM

8600149

LPA1200M/58 8,980.44

Implant PIN HEAD LCS HGH PERFORMANCE THD SIGMA

3901456

9505‐02‐303 3,683.63

Implant SCREW PART THREAD CANNULATED 3.5X38MM

3201482‐C

00‐1147‐038‐35 2,484.00

Implant SCREW PERI W/2.7HD SELF TAP 3.5X22MM

3901466

00‐2348‐022‐35 486.00

Implant BEARING ACTIVE ART EI HIP 28X44MM

3901476

EP‐200150 30,375.00

Implant TIBIAL INSERT 6MM SZ 4 AOX ATTUNE

3901485

1516‐50‐406 17,170.31

Implant SCREW CORTICAL ST SML HEX 3.5X18MM

3200149

00‐4835‐018‐01 333.00

Implant INFINITY POLY INSERT SZ 2 6MM

3901494

33652206 34,087.50

Implant PLATE DISTAL RADIUS LOCK 3 H

3901506

00‐2328‐052‐03 9,954.00

Implant KNEE ARTHREX QUICKSET 16CC KIT

3901520

ABS‐3016 40,398.75

Implant SCREW 3.5 X 18MM NON LOCK

3901527

ASN35‐18 3,375.00

Implant FEMUR CR CMTD RIGHT SZ 7

3901542

1504‐00‐207 31,212.00

Implant TIBIAL INSERT FB CR SZ 7 7MM 1516‐20‐707

3901544

1516‐20‐707 14,705.63

Implant SCREW PART THREAD CANNULATED 3.5X46MM

3201486

00‐1147‐046‐35 2,484.00

Implant IMPLANT LOOP KNOTILUS 25MM

3901548

3910‐500‐107 3,599.98

Implant Z NAIL 5.0 X 65MM CORTICAL SCREW FA

3901567

47‐2484‐065‐50 2,574.00

Implant Z NAIL TIBIA 9.3MM X 30CM UNIV

3901588

47‐2495‐300‐09 19,775.25

Implant SCREW CANNULATED 16MM THREAD 5.5X75MM

3901589

00‐1147‐075‐55 2,709.00

Implant SCREW 4.0 X 22MM CANCELLOUS FULL THD

3901594

206.022 491.25

Implant LINER CONTINUUM 36MM SZKK

3901607

00‐8752‐012‐36 12,600.00

Implant SCREW LO PRO TITANIUM CANC 4.0X30MM

3901613

AR‐8940‐30 900.00

Implant SCREW LO PRO TITANIUM 4.0X34MM

3901615

AR‐8940‐34 900.00

Implant SCREW PART THREAD CANNULATED 3.5X60MM

3201490

00‐1147‐060‐35 2,484.00



Implant MESH VENTRIO SML OVAL 8CM X 12CM

3800935

0010211 8,474.62

Implant SCREW QWIKFIX PT CANCELLOUS 3.0X18MM

3901619

AR‐8730‐18PT 2,250.00

Implant FEM HEAD 34MM DIA

3901639

497‐34‐000 12,600.00

Implant PLATE PROX ULNAR LOCK 3H RIGHT

3901645

00‐2358‐009‐03 9,450.00

Implant IMPLANT BASE CANULATED HEMI 15X17 #2

3901651

CHI‐2 24,062.50

Implant SCREW LO‐PRO CANULATED L/T SS 4.0X46MM

3901660

AR‐8840CL‐46 2,475.00

Implant ATUNE CRS FB TIB BASE SZ 5

3981500

1506‐40‐005 32,919.75

Implant SCREW PART THREAD CANNULATED 3.5X95MM

3201497‐C

00‐1147‐095‐35 2,484.00

Implant TISSUE ACHILLES W/STRUT FZ ASP

3901663

92‐0009 27,877.50

Implant TISSUE CANC GROUND 30CC FZ IRR

3901665

92‐05B006 8,176.00

Implant SCREW ARSENAL 6.5 X 40MM TITANIUM

3901670

47000‐065‐040 14,423.75

Implant Z NAIL 10.5 X 85 LAG SCREW

3901709

47‐2485‐085‐10 6,805.80

Implant ART SURFACE FB PS 10MM LT  VE

3901723

42‐5124‐007‐10 20,625.00

Implant STEM EXTENSION OFSET LNG 18MM DIA X 155

3901728

5988‐21‐18 24,274.25

Implant SCREW 3.5 X 14MM CORTICAL RAYHACK

3901747

40100914 1,890.00

Implant SCREW 3.0 X 14MM LOCK HEXALOBE

3901757

30‐0281 1,875.00

Implant SCREW PART THREAD CANNULATED 3.5X120MM

3201502‐C

00‐1147‐120‐35 2,484.00

Implant SCREW 3.0 X 18MM LOCK HEXALOBE

3901758

30‐0283 1,875.00

Implant SUTURE ANCHOR KNOTLESS PEEK CF 45

3989334

10314 3,621.64

Implant PDS FLEXIBLE PLATE 0.15X50X40MM

3989575

ZFP8 1,058.70

Implant SCREW 1/2 THREAD CANNULATED 4.0X48MM

3201524‐C

00‐1147‐048‐41 2,574.00

Implant PLATE L MAXILLOFACIAL 3 X 4 HOLE

3900702‐C

447.52 2,295.00

Implant FEMORAL TC3 CMTD SZ 2.5 RIGHT SIGMA

3901774

96‐0092 80,978.40



Implant SCREW 4.0 X 55MM 1/2 THD CANNULATED

3201526‐C

00‐1147‐055‐41 2,574.00

Implant LINER NEUT ACETABULAR 40MM NON HOODED

3901776

931‐40‐756 15,812.50

Implant FEM HEAD BIOLOX 40MM DIA CERAMIC

3901778

400‐03‐404 12,600.00

Implant FEMORAL HIP SZ 15 P2 P/C STANDARD OFSET

3901777

425‐96‐015 39,150.00

Implant SHELL 3H CLUSTER 58MM DIA HEMISPHERICAL

3901775

430‐98‐058 14,000.00

Implant PLATE TY‐SHAPE LOCK 2.5MM

3901779

1312‐20‐254 5,472.00

Implant SCREW 4.0 X 65MM 1/2 THD CANNULATED

3201528‐C

00‐1147‐065‐41 2,574.00

Implant TITAN TOUCH SCROTAL ZERO DEG 18CM

3901140

ES2918 117,323.00

Implant SCREW 2.7 X 24MM LOCK

3901784

202.224 2,820.00

Implant SCREW 2.7 X  16MM LOCK

3901783

202.216 2,622.60

Implant Z NAIL CPM 11.5MM X 34CM 130  RIGHT

3909662

47‐2493‐342‐11 27,183.75

Implant SCREW 2.7 X 14MM LOCK

3901782

202.214 2,622.60

Implant GRAFT ACHILLES W/BONE BLOCK

3902001

10017000 34,965.00

Implant SCREW 9 X 30MM TITAN INTERFERENCE

3901786

IS‐0930 3,000.00

Implant SCREW 8 X 23MM TITAN INTERFERENCE

3901787

IS‐0823 3,000.00

Implant SCREW 11 X 30MM TITAN INTERFERENCE

3901785

IS‐1130 3,000.00

Implant CLAVICLE HOOK 3.5MM LCP PL 6H

3901788

241.097S 18,301.25

Implant SCREW 1/2 THREAD CANNULATED 4.0X120MM

3201539‐C

00‐1147‐120‐41 2,574.00

Implant PLATE 3.5MM TIBIAL LOCK 16H RT

3902002

00‐2357‐003‐16 17,605.50

Implant HEMI GREAT TOE IMPLANT SMALL

3909661

375‐0002 25,300.00

Implant Z NAIL CPM 13MM X 44CM 130 DEG RT

3902004

47‐2493‐442‐13 27,183.75

Implant Z NAIL 5.0 X 70MM CORTICAL SCREW FA

3902005

47‐2484‐070‐50 2,574.00

Implant ALLOGRAFT FPSST

3902006

FPSST 19,387.50



Implant SCREW 1/2 THREAD CANNULATED 4.0X125MM

3201540‐C

00‐1147‐125‐41 2,574.00

Implant FEM HIP SZ 8 P2 STANDARD OFSET

3901791

425‐96‐008 39,150.00

Implant FEM HEAD BIOLOX DELTA 32MM DIA CERAMIC

3901789

400‐03‐321 12,600.00

Implant LINER FMP ACETABULAR 32MM SZ MP6

3901790

931‐32‐750 14,368.75

Implant TIBIAL INSERT ROTATING PLATFORM 5 10MM

3901798

96‐2151 18,913.13

Implant SCREW 3.5 X 18MM CORTEX

3901794

02.200.018 603.75

Implant SCREW 3.5 X 28MM CORTEX

3901796

02.200.028 603.75

Implant SCREW 3.5 X 22MM CORTEX

3901795

02.200.022 603.75

Implant SCREW 2.7 X 14MM CORTEX

3901793

202.874 915.00

Implant FEMUR PS CMTD RT SZ 5  SIGMA

3901797

1960‐50‐500 36,389.25

Implant PLATE WRIST FUSION LCP SHORT BEND

3981551

02.110.151 35,653.50

Implant SCREW 1/2 THREAD CANNULATED 4.0X130MM

3201541‐C

00‐1147‐130‐41 2,574.00

Implant PLATE FEM NCB PP DIST L L.355MM

3901800

02.03264.118 19,536.00

Implant SCREW NCB 5.0X95MM

3901801

02.02150.095 2,196.00

Implant STENT ADVANIX BILLARY 10F 3.3MMX15CM

3801342

M00534720 1,955.70

Implant PEEK ZIP ANCHOR 5.5MM W / NEEDLES

3901802

3910‐200‐030 3,848.93

Implant SCREW NCB 5.0X90MM

3901803

02.02150.090 2,196.00

Implant KIT SHAPE MEMORY FIX SYST 20X20MM

3901806

400‐3723 28,147.50

Implant KIT SHAPE MEMORY FIX SYST 15X15/17MM

3901807

400‐3721 22,618.75

Implant Z NAIL 5.0 X 60MM CORTICAL SCREW FA

3901811

47‐2484‐060‐50 2,574.00

Implant Z NAIL CPM 11.5MM X 38CM 130 RIGHT

3901812

47‐2493‐382‐11 27,183.75

Implant FOOT SYSTEM LAT ANKLE RECON

3901809

AR‐1675BC‐CP 24,062.50

Implant SCREW 1/3 THREAD CANNULATED 4.0X16MM

3201545‐C

00‐1147‐016‐40 2,574.00



Implant SCREW BIO‐COMP TENODESIS 5.5X15MM

3901810

AR‐1555CDS 5,486.25

Implant SCREW LF 4.5 CORTICAL 38MM

3200583‐C

4845‐38‐01 288.00

Implant STENT GPSOS‐5‐3 GEENEN 5F PANCREATIC

3800239

GPSOS‐5‐3

G21513 1,065.00

Implant SCREW 1/THREAD CANNULATED 4.0X30MM

3201553‐C

00‐1147‐032‐40 2,574.00

Implant DRAIN SEROMA #1035

3821130

1035 618.00

Implant SCREW 1/3 THREAD CANNULATED 4.0X38MM

3201556‐C

00‐1147‐038‐40 2,574.00

Implant SCREW 1/3 THREAD CANNULATED 4.0X40MM

3201557‐C

00‐1147‐040‐40 2,574.00

Implant CATHETER 8780 INTRATHECAL 114CM

3800932

8780 15,125.00

Implant MESH 31540 25CM X 36CM C‐QUR

3801162

31540 20,762.50

Implant SCREW UNIV LOCK 2.7X16MM

3201583‐C

00‐4828‐016‐02 1,476.00

Implant PLATE MAXILLOFACIAL ZYGOMATIC DCP

3900704‐C

443.44 3,510.00

Implant MESH PLUG PROLOOP MEDIUM 30901

3988891

30901 1,860.00

Implant TISSUE BIO‐A 7X10

3989214

HH0710 7,336.00

Implant PLATE CALCANEAL LT LG 8162‐08‐03

3989315

8162‐08‐003 10,136.00

Implant SCREW LOCKINGMULTDIR 3.5X34MM

3989319

8163‐35‐034 2,505.00

Implant DSTL TIBIAL LCKING PLATE RT  6 HOLE

3989421

8162‐10‐006 17,476.25

Implant TRANSVERSE PIN 5MMX275MM 5204‐090‐28

3989448

5204‐090‐28 2,457.00

Implant PIN 5204‐030‐15 3MM

3989798

5204‐030‐15 1,809.00

Implant MESH 30900 PROLOOP SMALL

3987724

30900 1,860.00

Implant PATELLO FEM TROCHLEA LT SZ3 5926‐013‐01

3989227

5926‐013‐01 5,225.00

Implant SCREW UNIV LOCK 2.7X20MM

3201585‐C

00‐4828‐020‐02 1,476.00

Implant SCREW LOCKINGMULTDIR 3.5X38MM

3989322

8163‐35‐038 2,505.00

Implant MESH 31526 7.5CM X 15CM C‐QUR

3801163

31526 3,890.25



Implant MESH 31528 10CM X 15CM C‐QUR

3801165

31528 4,417.50

Implant FEMORAL COMPONENT 5994‐16‐91

3981226

5994‐16‐91 87,859.20

Implant SCREW  LOCKING MULTDIR 3.5X32MM

3989321

8163‐35‐032 2,505.00

Implant SCREW LOCKINGMULTDIR 3.5X42MM

3989411

8163‐35‐042 2,505.00

Implant XTRAFIX LRG BLUE 45MM PIN CLAMP 2‐BAR

3989678

5200‐030‐04

00‐5200‐030‐04 15,675.00

Implant GLASS FIBER BAR 11MM X 150MM

3989796

5202‐011‐15

00‐5202‐011‐15 2,385.00

Implant XTRAFIX LRG 5X160X55MM PIN YELLOW

3989679

5204‐50‐55

5204‐050‐55

00‐5204‐050‐55 1,998.00

Implant SCREW UNIV LOCK 2.7X50MM

3201600‐C

00‐4828‐050‐02 1,476.00

Implant GLASS FIBER BAR 11MM X 200MM

3989795

5202‐011‐20

00‐5202‐011‐20 2,565.00

Implant LINER 60X36MM 8751‐014‐36

3989298

8751‐014‐36 12,600.00

Implant GLASS FIBER BAR 11MM X 350MM

3989447

5202‐011‐35

00‐5202‐011‐35 3,105.00

Implant NEXGEN TIBIAL PLATE SZ 6 5988‐003‐00

3989707

5988‐003‐00

00‐5988‐003‐00 36,047.70

Implant FEMORAL COMPONENT 5994‐16‐92

3981210

5994‐16‐92 87,859.20

Implant STEM EXTENSION 5988‐20‐14

3981211

5988‐20‐14 24,274.25

Implant PIN 5 X 200MM 5204‐050‐65

3989449

5204‐50‐65 1,998.00

Implant TRIDENT X3 LINER  623‐10‐32D

3981026

623‐10‐32D 38,956.50

Implant STEM EXTENSION 5988‐20‐11

3981217

5988‐20‐11 24,274.25

Implant XTRAFIX LARGE BLUE BAR TO BAR CLAMP

3989676

5200‐010‐01 7,098.00

Implant SCREW UNIV LOCK 2.7X60MM

3201602‐C

00‐4828‐060‐02 1,476.00



Implant STEM OFFSET 12MM

3989708

5988‐020‐12

00‐5988‐020‐12 24,274.25

Implant PRIMEADVANCED NEUROSTIMULATOR 97702

3981078

97702 167,640.00

Implant SCREW LOCKINGMULTDIR 3.5X48MM

3989410

8163‐35‐048 2,505.00

Implant KIT LAP INTRODUCER MIC‐KEY 10250

3989504

10250 3,224.25

Implant GLASS FIBER BAR 11MM X 400MM

3989677

5202‐011‐40

00‐5202‐011‐40 3,285.00

Implant SCREW CLAV 2.7

3989736

CU‐2724‐S 1,725.00

Implant ETEX GAMMA 5 CC BONE VOID FILLER

3989754

76‐6005 30,159.00

Implant STEMMED TIBIAL COMPONENT 5988‐05

3981216

5988‐05 36,047.70

Implant KIT  AMS 700 ACCESSORY

3988929

72401850 12,040.00

Implant FEM STEM 10MMX119MM 7711‐10‐20

3989134

7711‐10‐20 32,062.50

Implant SCREW LOCK STERILE 2.7X28MM

3201613‐C

47‐4828‐028‐02 1,476.00

Implant SCREW LOCKINGMULTDIR 3.5X36MM

3989323

8163‐35‐036 2,505.00

Implant DSTL FIBULA LCKING PLATE BIL 8H 103MM

3989420

8162‐04‐008 3,390.00

Implant ETEX GAMMA 10CC BONE VOID FILLER

3989478

76‐6010 42,601.00

Implant XTRAFIX LRG BLUE BAR TO PIN CLAMP 3‐D

3989680

5200‐010‐02

00‐5200‐010‐02 7,098.00

Implant PIN 5204‐040‐20 4MM

3989797

5204‐040‐20 1,809.00

Implant FEMORAL HEAD LFIT 32MM +8 6260‐9‐232

3981027

6260‐9‐232 17,572.50

Implant STEM EXTENSION 5988‐10‐16

3981227

5988‐10‐16 18,607.88

Implant SCREW INTERFERENCE 10X30

3909664

IS‐1030 3,000.00

Implant SCREW 602670S CANNULATED 6.5 X 70MM TL20

3211852‐C

602670S 4,179.95

Implant SCREW LOCK 3.5X24MM

3201629‐C

00‐2369‐024‐35 1,377.00

Implant PLATE 4920‐06‐02 MF 6 HOLE

3900746‐C

4920‐06‐02 572.70



Implant PUTTY 02‐5000‐050 EVO3 5CC ACCELL

3987715

02‐5000‐050 13,440.00

Implant PLUG 10500 BONE TUNNEL

3989752

10500 1,275.00

Implant TOGGLELOC ELBOW KIT

3989054

909874 13,048.00

Implant SCREW LOCK 3.5X38MM

3201636‐C

00‐2369‐038‐35 1,296.00

Implant IMMOBILIZER / SLING W/WEB STRP MED SHLDR

3901764

502234 111.60

Implant CANCELLOUS CHIPS 90CC FF 05B007LL

3900100

05B007

05B007LL 16,500.00

Implant STEM EXTENSION 150MM 5988‐21‐17

3981357

5988‐21‐17 24,274.25

Implant STEM EXTENSION 100MM 5988‐10‐14

3981358

5988‐10‐14 18,607.88

Implant HINGE KNEE TIBIAL SZ 6 ROT 5880‐06

3981359

5880‐06 67,104.00

Implant XTRAFIX LARGE 5X160MM 5204‐050‐35

3981385

5204‐050‐35 1,998.00

Implant SCREW LOCK 3.5X44MM

3201639‐C

00‐2369‐044‐35 1,296.00

Implant PROPEL CONTOUR INTERSECT SINUS IMPLANT

3981411

50011 11,130.00

Implant KNEE FEMUR COMP ROT RT SZ F 5880‐16‐02

3981356

5880‐16‐02 129,637.20

Implant TIBIAL PLATE SIZE 5 5980‐47‐01

3981159

5980‐47‐01 17,875.00

Implant PIN HEADED THREADED 46MM

3901590

402395 712.50

Implant STEM CORAIL HIP SIZE 10

3909667

L20310 34,134.75

Implant TRINITY ELITE MEDIUM ALLOGRAFT

3909663

410002 47,515.00

Implant SCREW TI LOCK 3.5X26MM

3201645‐C

47‐2369‐026‐35 1,320.00

Implant STEM CORAIL HIP SIZE 14

3909665

L20314 34,134.75

Implant ALLOGRAFT SEMITENDINOSUS DBL STRAND

3902000

18717000 30,982.50

Implant PLUG 10512 BONE TUNNEL

3989753

10512 1,083.75

Implant DILATOR 10372 5MM PARCUS

3989751

10372 4,488.75

Implant SCREW TI LOCK 3.5X34MM

3201649‐C

47‐2369‐034‐35 1,320.00



Implant PROPEL 70011 FUROATE IMPLANT 23MM

3981074

70011 11,130.00

Implant ALLOGRAFT BTB HEMI

3902007

17817000 30,510.00

Implant MESH 31341 30.5CM X 30.5CM C‐QUR FX

3801159

31341 3,972.90

Implant SHOE 79‐81138 X LARGE MENS POST OP

0027046

79‐81138

52557981138 53.70

Implant PLATE PROX TIBIAL 3.5MM  16H LT LOCK

3901813

00‐2357‐004‐16 17,605.50

Implant SCREW TI LOCK 3.5X42MM

3201652‐C

47‐2369‐042‐35 1,422.00

Implant PLATE 223.551 3.5MM LCP 5 HOLE

3900732‐C

223.551 4,075.50

Implant ART SURFACE LT 10MM CR

3901814

42‐5120‐004‐10 22,859.38

Implant FEM HEAD OPT BIOLOX +7 36MM 8777‐036‐04

3989024

00‐8777‐036‐04 31,045.95

Implant CABLE GRIP SYST 1.8MM DIA 635MM

3901816

00‐2232‐005‐18 3,699.00

Implant HIP STEM WAGNER SL REV  17/225

3901815

01.00102.217 78,811.20

Implant HIP STEM WAGNER SL REV 16/225

3901817

01.00102.216 67,500.00

Implant SCREW LO‐PRO CANCELOUS 5.5X60MM

3901821

AR‐8555‐60 1,125.00

Implant SCREW LO‐PRO LOCK 4.5X44MM

3901823

AR‐8545L‐44 2,925.00

Implant NAIL I/M M/DN TIBIAL 12MM X 32CM

3211493‐C

00‐2253‐320‐12 13,910.40

Implant SCREW LO‐PRO LOCK 4.5X18MM

3901818

AR‐8545L‐18 2,925.00

Implant SCREW LO‐PRO LOCK 4.5X42MM

3901822

AR‐8545L‐42 2,925.00

Implant SCREW LO‐PRO TITANIUM 4.5X32MM

3901819

AR‐8545‐32 1,125.00

Implant GENERATOR ICD‐DR DDMB1D1 EVERA MRT XT US

8600191

DDMB1D1 284,801.22

Implant EPIDISC OTOLOGIC LAMINA 8MM

3801368

1417100 1,410.00

Implant SCREW LO‐PRO TITANIUM 4.5X28MM

3901825

AR‐8545‐28 1,125.00

Implant PSN TIBIA  LT SZ C 5 DEG  STEMMED

3901827

42‐5320‐064‐01 17,875.00

Implant SCREW CAP LOCKING / PEDICLE SCREWS

3901828

PS9‐5084 1,500.00



Implant SCREW PEDICLE 7.0 X 35MM

3901829

PS92009‐70‐35 8,400.00

Implant SCREW LG IM INTERLOCK 5.5X55MM

3211834‐C

00‐2253‐055‐55 2,520.00

Implant FEM HEAD CERAMIC 36

3900400

400‐03‐361 12,600.00

Implant MESH 31527 11CM X 14CM C‐QUR

3801164

31527 4,702.50

Implant MODULAR HEAD VARIABLE OFSET 42X18X48MM

3901835

113032 13,650.00

Implant SCREW W/2.7MM HD ST PERI 3.5X10MM

3901836

00‐2348‐010‐35 486.00

Implant ALLOMEND 4 X 8CM, 2‐3.3MM THICK

3901837

73183032 16,121.88

Implant PLATE NCB TROC LEFT NARROW

3901840

02.02263.301 12,549.60

Implant FEMORAL HEAD 12/14 UNIPOLAR 45MM

3901843

00‐7818‐045‐00 7,125.00

Implant HIP STEM B/2 FITMORE TAPER 12/14

3901838

01.00551.202 29,025.00

Implant STEM WAGNER SL REV 135NK ANG 19X265M

3901839

01.00102.619 78,811.20

Implant SCREW LG IM INTERLOCK 5.5X95MM

3211842‐C

00‐2253‐095‐55 2,520.00

Implant SCREW TI LOCK 3.5X18MM

3901842

00‐2369‐018‐35 1,377.00

Implant NCB CABLE BUTTON 2.5MM HEX

3901841

47‐2232‐060‐01 2,277.00

Implant ART SURFACE 13MM RT

3981552

42‐5214‐010‐13 17,187.50

Implant PLATE FEM NCB PP PROX L.L 285MM

3901844

02.03263.112 17,597.25

Implant PLATE 2.0/2.3 TRILOCK STT FUSION

3901846

A‐4660.15 13,975.50

Implant SCREW CORTEX 2.0 X 11MM GOLD

3901847

A‐5400.11/1 1,282.80

Implant SCREW CORTEX  2.0 X 17MM GOLD

3901848

A‐5400.17/1 1,222.20

Implant FEM STEM SZ9 STND OFSET

3901845

00‐7711‐009‐00 32,062.50

Implant SCREW CORTEX 2.0 X 18MM GOLD

3901849

A‐5400.18/1 1,222.20

Implant K‐WIRE 1.2 150MM TROCAR

3901851

A‐5040.21/1 463.20

Implant PLATE SEMI TUBULAR 11 HOLE 183MM

3600244‐C

00‐4945‐011‐03 1,080.00



Implant SCREW 2.0 X 12MM LOCK BLUE

3901853

A‐5450.12/1 2,077.20

Implant SCREW 2.0 X  13MM LOCK BLUE

3901854

A‐5450.13/1 2,077.20

Implant SCREW  LOCK BLUE 2.0X10MM

3901852

A‐5450.10/1 2,077.20

Implant TUBE 140244‐ENT ARMSTRONG BEVEL VENT

3804090

140244 219.00

Implant SCREW 7.0 X 80MM CANNULATED 32MM THD

3901857

00‐1147‐080‐71 3,168.00

Implant FEM STEM SZ 12.5 STND OFSET

3901856

00‐7711‐012‐00 32,062.50

Implant SCREW  LOCK BLUE 2.0X16MM

3901855

A‐5450.16/1 1,978.20

Implant SPEEDTRIAD IMPLT 18X15X8MM SE‐181508TRC

3989092

SE‐181508TRC 24,062.50

Implant SCREW 2.7 X 16MM CORTEX

3901861

202.876 915.00

Implant SCREW 2.7 X 18MM LOCK

3901860

02.211.018 3,375.00

Implant PLATE L 2.7 X 32MM RIGHT

3600323‐C

00‐4927‐003‐08 756.00

Implant PLATE T‐FUSION 3H X‐LNG 92MM

3901858

02.211.265 24,365.00

Implant SCREW 2.7 X 16MM LOCK

3901859

02.211.016 3,375.00

Implant SCREW 2.7 X 24MM CORTEX

3901862

202.884 915.00

Implant SLING OBTRYX MID‐URETHAL‐HALO

3800750

850‐500 17,531.25

Implant STENT GPSO‐5‐3 GEENEN 5F 3CM PANCREATIC

3800346

GPSO‐5‐3

G22107 1,065.00

Implant STENT METALLIC 6FR X 26CM

3989066

G34111 13,846.25

Implant ART SURFACE RT 11MM

3901871

42‐5212‐004‐11 17,187.50

Implant PLATE STRAIGHT 2.0 X 23MM 4 HOLE

3600363‐C

00‐4920‐004‐02 810.00

Implant PROTHESIS PENILE 700 LGX MS PUMP

3989087

72404252 111,984.00

Implant PLATE 1/4 TUBULAR W/COLLAR 5 H 39MM

3600370‐C

00‐4927‐005‐03 1,035.00

Implant PLATE MINI 2X2H 1.0MM T/B NARROW MATRIX

3901869

04.503.701 7,434.00

Implant SCREW 2.4 X 6MM MATRIX ST

3901865

04.503.436.01 2,115.00



Implant SCREW 2.0 X 18MM MATRIX LOCK

3901867

04.503.618.01 2,745.00

Implant SCREW MATRIX LOCK  2.0X12MM

3901866

04.503.612.01 2,745.00

Implant SCREW 2.0 X 6MM MATRIX ST

3901864

04.503.406.01 1,470.00

Implant PLATE CRESCENT  2X2H 1.25MM MATRIX

3901870

04.503.711 9,576.00

Implant SCREW NON LOCK 1.5X10MM

3901863

1312‐20‐510 1,005.00

Implant SCREW TENODESIS BIOCOMPOSITE 4.75X15MM

3901874

AR‐1547CDS 5,486.25

Implant SCREW QWIKFIX ST CANNULATED 4.0X32MM

3901876

AR‐8740‐32PTS 2,475.00

Implant PLATE 1/3 TUBULAR W/ COLLAR 3H 37MM

3600429‐C

00‐4935‐003‐03 792.00

Implant SCREW 6.5 X 32MM THD 50MM CANNULATED

3901879

00‐1147‐050‐66 3,078.00

Implant SCREW 6.5 X 32MM CANNULATED THD 55MM

3901880

00‐1147‐055‐66 3,078.00

Implant SCREW 6.5 X 32MM CANNULATED THD 60MM

3901881

00‐1147‐060‐66 3,078.00

Implant K‐WIRE .28 X 6 DBL TRO NON‐STRL

3901882

1642‐06‐028

00‐1642‐06‐028 152.55

Implant SCREW QWIKFIX ST CANNULATED 4.0X28MM

3901875

AR‐8740‐28PTS 2,475.00

Implant TRACTION SCREW MINI JOINT DISTRACTOR 16M

3901878

AR‐8950JD‐1 2,625.00

Implant FEMUR CR CMTD RIGHT SZ 9

3901884

1504‐00‐209 31,458.38

Implant ART SURFACE LEFT 13MM 7‐12GH

3901886

42‐5110‐006‐13 17,187.50

Implant FEMUR CR CMTD RIGHT SZ5N NARROW

3901885

1504‐00‐225 31,201.88

Implant PLATE T 3.5 X 50MM 3H HEAD 3H SHAFT

3600433‐C

00‐4935‐033‐04 1,395.00

Implant CANCELLOUS BONE CRUSHED 15CC

3901891

1842 4,987.50

Implant CANCELLOUS BONE CHIPS 5CC

3901887

3039 2,925.00

Implant PLATE 4.5X103MM COMPRESSION BROAD 6 HOLE

3600447‐C

00‐4945‐006‐01 2,385.00

Implant WIRE 291.06 COIL 1.25MM

3200581

291‐06 78.00

Implant STAPLE 2.5MM 18X12X12

3901892

ST181212 18,562.50



Implant STENT 6F 24CM 175262 PERC PLUS

3800784

M0061752620 1,710.00

Implant CPS STANDARD PACKAGE

8600189

CPS STD PKG 01 13,930.00

Implant WASHER FOR SCREW TITANIUM 3.75MM

3901896

AR‐7000‐15 750.00

Implant SCREW FT CANNULATED 3.75X30MM

3901897

AR‐7000‐30FT 3,000.00

Implant SCREW FT CANNULATED 3.75X34MM

3901898

AR‐7000‐34FT 2,625.00

Implant SHOULDER DEL SYS DISTAL BICEPS BC

3901901

AR‐2260BC 15,125.00

Implant LINER NEUTRAL KK 36 X 56 VITE

3901902

00‐8851‐012‐36 20,625.00

Implant HIP STEM C FITMORE SZ 8

3901903

01.00551.408 32,062.50

Implant PLATE 4.5 X 167MM COMPRESSION BROAD 10H

3600451‐C

00‐4945‐010‐01 2,925.00

Implant SCREW ST BONE 6.5X25MM 00‐6250‐065‐25

3901905

6250‐65‐25 1,773.75

Implant SCREW PEDICLE 6.0 X 35MM

3901904

PS92009‐60‐35 8,400.00

Implant DEVICE ESS305 ESSURE BIRTH CONTROL PERM

3800262

ESS305 21,312.50

Implant SCREW 6.5 X 16MM CANNULATED THD 45MM

3901906

00‐1147‐045‐65 3,078.00

Implant TIBIAL INSERT SZ 8 5MM 1516‐20‐805

3901907

1516‐20‐805 14,578.44

Implant SCREW LOCK 1.5X14MM

3901913

1312‐20‐414 1,005.00

Implant SCREW NON LOCK 1.3X12MM

3901909

1312‐20‐312 825.00

Implant SCREW LOCK 1.5X8MM

3901912

1312‐20‐408 1,005.00

Implant SCREW LOCK 1.5X12MM

3901914

1312‐20‐412 1,005.00

Implant PLATE SEMI TUBULAR 103MM 6 HOLE

3600471‐C

00‐4945‐006‐03 846.00

Implant SCREW LOCK 1.5X10MM

3901915

1312‐20‐410 1,005.00

Implant PLATE 1.5MM LOCK T‐SHAPE

3901910

1312‐20‐152 5,258.25

Implant SCREW LOCK 1.5X18MM

3901911

1312‐20‐418 1,005.00

Implant SCREW NON LOCK 1.3X20MM

3901908

1312‐20‐320 825.00



Implant MINI HUMERAL STEM 14MM

3909338

113634 37,800.00

Implant FOOT INTERNAL BRACE LIGAMENT

3909339

AR‐1688‐CP 14,781.25

Implant MESH SYMBOTEX COMP 25 X 20CM

3901920

SYM2520 13,982.51

Implant FEMORAL TC3 CMNTD SZ 4 RIGHT SIGMA

3901918

96‐0089 80,984.40

Implant MESH SYMBOTEX COMP 15CM RND

3901919

SYM15 8,006.74

Implant PLATE 4.5 X 100MM SPOON 5 HOLE

3600481‐C

00‐4945‐005‐13 2,835.00

Implant MESH RELTACK8RDPT

3904077

RELTACK8RDPT 2,223.00

Implant FEM STEM TAPERLOC 12 X 109MM

3901926

51‐106120 32,062.50

Implant SHELL G7 OSSEO TI  4 HOLE 56MM SZ F

3901924

110010246 38,909.16

Implant HIP SYS BIOLOX DELTA M/C HEAD

3901927

12‐115121 15,125.83

Implant LINER G7 NEUTRAL 36MM SZ F

3901925

010000858 20,625.00

Implant FEMUR CR CMTD LEFT SZ 6

3901922

1504‐00‐106 30,249.45

Implant TIBIAL INSERT 8MM SIZE 6

3982205

1516‐40‐608 14,705.63

Implant TIBIAL INSERT CR SZ 6 8MM AOX

3901923

1516‐30‐608 7,198.38

Implant HIP SYS BIOLOX DELTA M/C 36 HEAD

3901930

12‐115120 15,125.83

Implant FEM STEM TAPERLOC 15 X 115MM

3901929

51‐106150 27,131.36

Implant PLATE 4945‐13 LF DCP NARROW 13 HOLE

3600497‐C

4945‐13 2,040.00

Implant LINER G7 NEUTRAL 36MM SZ G

3901932

010000859 17,452.88

Implant PLATE TI CSLP SM STATURE LVL 2 48MM

3901928

487.236 28,012.50

Implant SHELL G7 OSSEO TI 4 HOLE 60MM SZ G

3901931

110010248 38,909.16

Implant PSN FEMURAL HD RT SZ 8 NRW

3901933

42‐5020‐064‐02 27,500.00

Implant GRAFT 11MM CANNULATED REV DOWEL

3901937

PCDXL11 18,562.50

Implant GRAFT 12MM CANNULATED REV DOWEL

3901938

PCDXL12 18,562.50



Implant GRAFT 10MM CANNULATED REV DOWEL

3901936

PCDXL10 18,562.50

Implant FOOT SYS BIOC ACHILLES SPEEDB W/JUMP

3901939

AR‐8928BCJ‐CP 27,431.25

Implant SCREW 280.50 DHS LAG 50MM

3200255‐C

280‐50 1,125.00

Implant NAIL IM M/DN FEMORAL 13MM DIA X 46CM

3600661‐C

00‐2252‐460‐13 13,549.20

Implant TIGHTROPE ABS IMPLANT W/UHMWPE

3901941

AR‐1588TN 2,760.00

Implant TIGHTROPE ABS BUTTON RND CONCAVE 11MM

3901940

AR‐1588TB‐3 3,360.00

Implant CATHETER 136405 WHISTLE TIP 5FR

3400610

136405

0620136405 149.25

Implant SPHINCTERTOME BILLROTH PTG‐20‐6‐BII‐NG

3800916

PTG‐20‐6‐BII‐NG

G22143 3,060.00

Implant DEVICE 00711144 ADVANCE CAPSULE DELIVERY

3800311

00711144 2,475.00

Implant ROD CURVED 100MM

3901944

PS92006‐100 1,500.00

Implant ROD CURVED 90MM

3901943

PS92006‐90 1,500.00

Implant NAIL IM M/DN  FEMORAL  9MM DIA X 36CM

3600668‐C

00‐2252‐360‐09 13,549.20

Implant Z NAIL 4.0 X 35MM CORTICAL SCREW FA

3901947

47‐2484‐035‐40 2,574.00

Implant Z NAIL TIBIA 8.3MM X 36CM UNIV

3901945

47‐2495‐360‐08 19,775.25

Implant Z NAIL 4.0 X 30MM  CORTICAL SCREW FA

3901946

47‐2484‐030‐40 2,574.00

Implant Z NAIL PF 10MM X 40CM UNIV

3902009

47‐2491‐400‐10 20,790.00

Implant Z NAIL 130 DEG 10MM 40CM RIGHT

3902010

47‐2493‐402‐10 27,183.75

Implant PSN PARTIAL KNEE ART SFC SIZE H RIGHT

3902014

42‐5282‐008‐09 17,325.00

Implant PSN PARTIAL KNEE TIBIA SIZE H RIGHT

3902013

42‐5380‐008‐02 20,212.50

Implant PSN PARTIAL KNEE SIZE 6 RIGHT

3902012

42‐5580‐006‐02 29,767.50

Implant PSN PARTIAL KNEE INSERTER TIP

3902015

42‐5299‐003‐01 1,800.00

Implant NAIL IM M/DN FEMORAL 14MM DIA X 40CM

3600680‐C

00‐2252‐400‐14 13,549.20



Implant RESEVOIR CONCEAL 1Z

3988931

720185‐01 31,536.00

Implant SCREW PEDICLE 7.0X40MM

3902017

PS92009‐70‐40 8,400.00

Implant STENT 22CM 6FR 145360 PERCUFLEX

3900745

M0061453600 1,176.00

Implant SCREW PEDICLE 7.0X45MM

3902016

PS92009‐70‐45 8,400.00

Implant HIP FEMORAL SZ 13

3902018

425‐96‐013 39,150.00

Implant FEMUR PSN CEMENTE STAND RIGHT

3902019

42‐5026‐068‐02 27,500.00

Implant PSN ART SURFACE 12MM RIGHT

3902020

42‐5220‐005‐12 20,625.00

Implant PLATE 3.5 X 68MM ULS 1/3 TUBULAR 5H STRL

3601139‐C

47‐4936‐005‐03 2,187.00

Implant PLATE SPIDER LIMITED FUSION

3901948

070005 36,477.00

Implant SCREW SPIDER 2.4 X 8MM L (HEX)

3901949

072408 2,010.00

Implant SCREW  SPIDER 2.4 X 10MM L HEX

3901950

072410 2,010.00

Implant HEMI GREAT TOE XS

3982202

375‐0001 25,300.00

Implant SCREW SPIDER 2.4 X 12MM L HEX

3901951

072412 2,010.00

Implant SCREW SPIDER 2.8 X 10MM L

3901952

072810 2,295.00

Implant K‐WIRE .189 X 9

3901958

320‐0408 1,275.00

Implant FEMUR PLATE NCB LT 9H 246MM DISTAL

3901955

02.03260.109 17,762.25

Implant K‐WIRE .062 X 7.25

3901960

321‐0122 525.00

Implant CAP NCB LOCK STERILE

3901957

02.02150.300 2,088.00

Implant PLATE 2.7 X 82MM ULS 1/4 TUBULAR 7H STRL

3601156‐C

47‐4928‐007‐03 2,367.00

Implant PLATE 3.5‐4.0MM‐15MM H

3901961

336‐3500 26,950.00

Implant SCREW NON LOCK 1.3X16MM

3901966

1312‐20‐316 825.00

Implant SCREW NCB CORTICAL 4.0X42MM

3901964

02.03155.042 1,530.00

Implant GENESIS AMNIOTIC MEMBRANE 4CM X 4CM

3801415

GAM‐4X4 24,062.50



Implant SCREW NCB CORT 4.0X40MM

3901963

02.03155.040 1,530.00

Implant ART SURFACE  NEXGEN CR FLEX C‐H/5,6 GRN

3901970

00‐5952‐040‐10 17,187.50

Implant PSN FEM CR CCR STD SZ 6 L

3901968

42‐5028‐060‐01 30,375.00

Implant TIBIA PLATE  MIS TRAB METAL MOD SZ 5

3901969

00‐5954‐047‐01 23,375.00

Implant PLATE NCB PP 12 H RIGHT

3901971

02.02264.012 17,597.25

Implant PLATE 2.7X72MM ULS DC 6H 00‐4928‐006‐07

3601160‐C

00‐4928‐006‐07 3,650.85

Implant SCREW 2.4MM MAXILLOFACIAL 14MM

3900724‐C

401.314 633.75

Implant ULNAR STEM  SZ 5 75MM RT

3901974

00‐8400‐025‐07 77,520.00

Implant HUM STEM SIZE 5 150MM

3901973

00‐8400‐045‐15 84,960.00

Implant ART SURFACE LT PS 6‐9GH 12MM

3901976

42‐5114‐009‐12 17,187.50

Implant PLATE DISTAL FIBULA 6H 106MM RT

3901977

00‐2357‐017‐06 8,912.40

Implant CORTILOC PEG GLENOID S30

3901978

DWE401 20,625.00

Implant CORTILOC PEG GLENOID S35

3901979

DWE402 20,625.00

Implant PLATE 2.7X141MM ULSDC 12H 00‐4928‐012‐07

3601165‐C

00‐4928‐012‐07 4,634.10

Implant LINER NEUTRAL LL 36 X 58 VITE

3901980

00‐8851‐013‐36 20,625.00

Implant HIP STEM B EXT SZ 10 FITMORE

3901981

01.00551.310 29,025.00

Implant TRICORTICAL WEDGE 10MM

3902023

03404618 9,800.00

Implant TRICORTICAL WEDGE 12MM

3903024

03402818 9,800.00

Implant HEMI GREAT TOE IMPLANT MED 375‐0003

3902024

375‐0003 25,300.00

Implant FLEXIBLE HINGE TOE IMPLANT

3902025

G4260005 19,112.50

Implant ART SURFACE LFT 14MM

3902126

42‐5114‐009‐14 17,187.50

Implant GRAFT SEMI T AESEPTIC

3902127

0783 29,700.00

Implant TUBE BAKER JEJUNOSTOMY ADLT 5.3MM

3801178

655300160 2,722.50



Implant PLATE  ULS DUAL COMP 7H STRL 2.7X84MM

3601171‐C

47‐4928‐007‐07 4,001.40

Implant TIBIAL INSERT 6MM

3902128

1516‐30‐606 17,019.06

Implant ALLOMEND EXTRA THICK NON MESHED 4X4CM

3901984

73183016 5,700.00

Implant FEMUR CEMENTED STD SIZE 7 LEFT

3982200

42‐5026‐062‐01 27,500.00

Implant ROD CURVED 120MM

3901985

PS92006‐120 1,500.00

Implant PIN SMALL CLAMP W/ROD

3600808

6011‐07 5,643.00

Implant TIBIAL BASE SIZE 6 CEMENTED

3902140

1506‐70‐006 20,064.69

Implant GLENOID BASE ARCOM SML 4MM

3901990

113952 15,125.00

Implant PLATE 2.7X161MM ULS RECON STRT 20H STRL

3601190‐C

47‐4928‐020‐13 6,711.75

Implant SCREW HEADLESS 2.5X30MM

3902141

AR‐8725‐30H 4,987.50

Implant SCREW HEADLESS 2.5X26MM

3902144

AR‐8725‐26H 4,987.50

Implant PIN LG 35MM YELLOW 00‐5204‐050‐35

3902146

00‐5204‐050‐35 1,998.00

Implant PIN TRANSFIXING

3902145

00‐5204‐090‐28 2,457.00

Implant CLIP APPL 5MM AE05ML

3985400

AEO5ML 5,557.50

Implant TIBIAL TRAY MBT KEEL SZ 5 CEMNT

3901991

1294‐33‐150 25,061.58

Implant PLATE 2.7 X 65MM ULS 5H OBLQ

3601200‐C

00‐4928‐019‐02 4,189.50

Implant ANCHOR ICONIX SPEED 1.2MM

3902147

3910‐500‐921 6,412.50

Implant FEM HD 12/14 COCR 36MM +0

3901992

00‐8018‐036‐02 7,125.00

Implant Z NAIL RF 13MM X 38CM UNIV

3901994

47‐2494‐380‐13 25,665.75

Implant Z NAIL 5.0 X 32.5 CORT SCREW FA

3901995

47‐2484‐032‐50 2,574.00

Implant ART SURFACE PS 10MM VE LT 6‐9 CD

3901993

42‐5124‐005‐10 20,625.00

Implant STENT 22CM 6FR 175261 PERUFLEX PLUS

3804091

M0061752610 1,275.00

Implant PLATE L 2.7X62MM ULS 5H SHAFT RIGHT STRL

3601209‐C

47‐4928‐018‐02 4,591.35



Implant FEM STEM SIZE 7.5 PRESSFIT

3902149

00‐7711‐007‐00 32,062.50

Implant FEM STEM SIZE 6 PRESSFIT

3902148

00‐7711‐006‐00 32,062.50

Implant FEMUR CR SIZE 3 RIGHT CEMENTED

3902132

1504‐00‐203 31,191.75

Implant TIBIAL INSERT CR SIZE 3

3902133

1516‐30‐305 17,170.31

Implant LINER CONT ELEVATED 36X52

3902134

00‐8752‐010‐36 12,600.00

Implant HEMI TOE SIZE 1

3902150

CHI‐1CH 23,718.75

Implant SCREW LOCKING 3.5X24MM

3902152

AR‐8935L‐24 1,275.00

Implant FOOT PLATE WEDGE 4MM

3902151

AR‐8953‐04 12,530.00

Implant PLATE 3.5 X 105MM UNIV LOCK  8H REC STR

3601226‐C

00‐4936‐008‐13 6,523.65

Implant PSN ASF CR 11MM VE

3901390

42‐5120‐005‐11 20,625.00

Implant ROD STRAIGHT 150MM

3902157

PS92007‐150 1,500.00

Implant ROD STRAIGHT 120MM

3902156

PS92007‐120 1,500.00

Implant CROSSLINK 45‐60MM

3902158

PSX070‐0011 8,400.00

Implant FEMORAL HEAD 14/16 TAPER

3902159

1018‐12‐000 13,869.63

Implant ACTABULAR LINER DURALOC 28MM

3902161

1220‐28‐050 25,525.50

Implant LOCKING RING DURALOC

3902160

1249‐50‐000 5,196.98

Implant CONFIRM RX ICM UMRI US DM3500 DEVICE

8600192

DM3500 62,500.00

Implant SCREW CORTICAL 3.0

3902164

M315 2,369.10

Implant PLATE NCB PP FEM 278MM

3902167

02.03264.112 17,597.25

Implant PLATE 3.5 X 131MM UNIV LOCK 10H REC STR

3601228‐C

00‐4936‐010‐13 6,589.20

Implant TIBIAL NAIL 10MM 34CM

3902170

47‐2495‐340‐10 19,775.25

Implant SCREW CORTICAL 3.0

3902163

M311 2,369.10

Implant MIRENA IUD

3902171

50419‐0423‐01 12,725.58



Implant FEMUR PSN CR LEFT SIZE 4

3902172

42‐5026‐056‐01 27,500.00

Implant PSN FEM CR CMT CCR STD

3902166

42‐5026‐058‐01 27,500.00

Implant ART SURFACE 11MM CR

3902174

42‐5120‐004‐11 22,859.38

Implant SCREW MATRIX MID FACE 4MM

3902175

04.503.224.01 1,905.00

Implant SCREW MICRO 12MM ACUTRAK

3902176

AT2‐C12 6,569.25

Implant ANCHOR ICONIX SPEED XBRAID 2.3MM

3902177

3910‐500‐920 7,700.00

Implant ART SURFACE  13MM PSN

3902178

42‐5214‐007‐13 17,187.50

Implant PLATE 3.5 X 40MM ULS RECON STRT 3H STRL

3601231‐C

47‐4936‐003‐13 5,001.75

Implant LINER CONTINUUM 36MM

3902180

00‐8852‐010‐36 20,625.00

Implant SCREW NON LOCKING 11MM

3902184

1312‐20‐511 1,005.00

Implant SCREW NON‐LOCKING 16MM

3902185

1312‐20‐516 1,005.00

Implant SHELL CONTINUUM 52MM

3902179

00‐8757‐052‐02 39,715.65

Implant STEM REVISION WAGNER 12/14

3902181

01.00102.215 78,811.20

Implant PLATE LOCKING 1.5MM

3902182

1312‐20‐151 5,258.25

Implant SCREW NON LOCKING 15MM

3903183

1312‐20‐515 1,005.00

Implant FEMORAL HIP SZ 7 STANDARD OFFSET

3902183

425‐96‐007 39,150.00

Implant FEMORAL HEAD BIOLOX DELTA 28MM

3902186

400‐03‐281 12,600.00

Implant BONE CHIPS CANCELLOUS CRUSHED 30CC

3982011

1844 7,980.00

Implant PLATE 135D X 5 HOLE VERSA‐FXII SHT TUBE

3610544‐C

00‐1193‐135‐95 4,446.00

Implant SCREW LOCKING 26MM

3902193

AR‐8935L‐26 1,275.00

Implant SCREW CORTICAL 3.5MM 00‐4835‐030‐04

3902194

00‐4835‐030‐04 288.00

Implant SCREW LOCKING 30MM

3902188

AR‐8935L‐30 1,275.00

Implant SCREW LOCKING 38MM

3902190

AR‐8940‐38 900.00



Implant BONE CANCELLOUS CRUSHED 60CC

3982012

1873 13,930.00

Implant SCREW LOCKING 32MM

3902189

AR‐8940‐32 900.00

Implant FOOT PLATE STIP CALCANEAL 7.5MM

3902192

AR‐8949‐075 13,720.00

Implant SCREW 8X30 TITAN INTERFERENCE

3902200

IS‐0830 3,000.00

Implant FEM HEAD 12/14 36MM

3902102

00‐8018‐036‐04 7,125.00

Implant Z NAIL RF 10MM X 40CM

3902201

47‐2494‐400‐10 25,665.75

Implant NAIL IM M/DN FEMORAL 12MM DIA X 38CM

3611389‐C

00‐2252‐380‐12 13,549.20

Implant SCREW 602660S CANNULATED 6.5 X 60MM TL20

3211850‐C

602660S

602660 4,179.95

Implant CUP WASHER

3902204

14461 1,560.00

Implant SCREW CORTICAL LOCK 3.5X70MM

3902215

8161‐35‐070 1,725.00

Implant SCREW LO PRO CORT 80MM

3902209

1312‐18‐080 750.00

Implant SCREW LAG 4.0 CANN

3902203

1437644 2,220.00

Implant SCREW CORTICAL LOCKING 3.5X16MM NS

3902217

8161‐35‐016 1,725.00

Implant SCREW CORTICAL LOCK 3.5X85MM

3902213

8161‐35‐085 1,725.00

Implant SCREW 3.5X75MM LO PRO

3902210

1312‐18‐075 750.00

Implant SCREW CORTICAL LOCKING 3.5X80MM

3902212

8161‐35‐080 1,725.00

Implant PROC TIB LOCK PLATE RT

3902202

8162‐35‐603 15,551.25

Implant FIBULA ANATOMIC LOCK LEFT 3H

3902216

8162‐06‐003 8,582.00

Implant NAIL IM M/DN FEMORAL 12MM DIA X 44CM

3611393‐C

00‐2252‐440‐12 13,549.20

Implant SCREW CORTICAL 3.5X16MM

3902218

8150‐37‐016 645.00

Implant SCREW CORTICAL 3.5X34MM

3902211

8150‐37‐034 645.00

Implant FEM HEAD CERAMIC BILOX 32MM

3902219

400‐03‐323 12,600.00

Implant PEGGED GLENOID CORTILOC

3902220

DWE403 20,625.00



Implant FEM STEM TAPER 12/14 SIZE 11

3902221

00‐7711‐011‐00 32,062.50

Implant TIBIAL BASE CEMENTED SIZE 4

3902222

1506‐70‐004 20,057.81

Implant PLATE CERVICAL SPINE

3902223

487.345 30,726.00

Implant FEMORAL NAIL 10X 32CM

3902225

47‐2491‐320‐10 20,790.00

Implant NAIL IM M/DN FEMORAL 11MM DIA X 36CM

3611397‐C

00‐2252‐360‐11 13,549.20

Implant TIBIAL BASE SIZE 5

3982204

1506‐70‐005 20,057.81

Implant VIVIGEN F CELLULAR BONE MATRIX 1CC

3902230

BL‐1600‐001 9,788.10

Implant ARTICULAR SURFACE RT 11MM

3902231

42‐5224‐007‐11 20,625.00

Implant TIBIAL INSERT SIZE 7 5MM

3902234

1516‐30‐705 17,170.31

Implant FEMORAL HIP SZ 14

3902235

425‐97‐014 39,150.00

Implant SCREW LOCKING 29MM

3902236

DWD029 750.00

Implant THREADED POST BASEPLATE DWE725

3992236

DWE725 22,844.25

Implant SCREW CANNULATED 1/2 THREAD 4.0MM

3902237

1147‐050‐41 2,574.00

Implant FEM HEAD 8775‐028‐03

3902240

00‐8775‐028‐03 17,875.00

Implant NAIL IM M/DN TIBIAL 11MM DIA X 32CM

3800531‐C

00‐2253‐320‐11 13,910.40

Implant ACETABULAR SHELL 3 HOLE G7

3902238

010000665 25,093.75

Implant BONE SCREW 6.5X35MM

3902239

6250‐65‐35 1,773.75

Implant ACETABULAR LINER

3902241

110024464 31,502.25

Implant GRAFT TENDON TIBIALIS DOUBLE STRAND

3902243

DPT‐001 26,812.50

Implant STEM WAGNER REV 135NK 14X265MM

3902245

01.00102.614 78,811.20

Implant TIBIAL INSERT SIZE 4

3902246

96‐2353 47,820.50

Implant NANOTAK FLEX ANCHOR

3902247

CAT1858 6,255.75

Implant SCREW LAG LARGE THREAD 15.8DX60MM

3800535‐C

00‐1193‐015‐22 4,061.25



Implant BONE CANCELLOUS CRUSHED 5CC

3981553

1612 2,625.00

Implant ARTICULAR SURFACE 42‐5224‐007‐13

3902248

42‐5224‐007‐13 20,625.00

Implant STENT COLONIC WALLFLEX 22MM 120CM

3805566

M00565120 33,210.95

Implant FEM STEM SIZE 15 CORAIL STRD

3902249

3L92515 34,330.50

Implant SCREW LO PRO LOCKING 4.5X48MM

3902251

AR‐8545L‐48 2,925.00

Implant SCREW LO PRO 4.5X50MM

3902153

AR‐8545L‐50 2,925.00

Implant SCREW LO PRO TI 4.5X34MM

3902254

AR‐8545‐34 1,125.00

Implant GRAFT FGRACILIS

3801416

FGRACILIS 22,632.50

Implant TISSUE EXPANDER 9200

3902253

3549213 23,306.25

Implant SCREW CORTICAL 70MM SELF TAP

3902252

00‐4827‐070‐00 288.00

Implant SCREW LAG LARGE THREAD 15.8DX70MM

3800537‐C

00‐1193‐015‐27 3,315.00

Implant TITAN TOUCH ZERO DEGREE CYLINDER PUMP

3902256

ES2920 116,592.00

Implant GRAFT SEMI TENDONOSIS

3902257

1745S 29,700.00

Implant GRAFT SPEEDGRAFT SPD‐001

3902258

SPD‐001 31,387.50

Implant GRAFT FRESH OSTEOCHONDRAL CORE 10MM

3902259

45647010 33,682.50

Implant SCREW HEADLESS 4.0X38MM

3902262

AR‐8740‐38H 4,203.75

Implant ANCHOR QUATTRO LINK KNOTLESS

3902263

CM‐9129 5,450.63

Implant

ARTHROFLEX AFLEX101 40MMX70MM 

1.5MMTHICK

3902265

AFLEX101 37,395.00

Implant ART SURFACE CR 12MM

3902269

42‐5120‐005‐12 20,625.00

Implant NAIL IM M/DN FEMORAL 9MM DIA X 42CM

3900706‐C

00‐2252‐420‐09 13,549.20

Implant SCREW PEDICLE 50X45

3902267

PS92009‐50‐45 8,400.00

Implant ART SURFACE CR 12MM VE

3902270

42‐5120‐004‐12 15,984.38

Implant SMALL JOINT OATS SET

3906266

AR‐8981‐105

AR‐8981‐10S 9,912.00



Implant PSN ART SURFACE 11MM

3902272

42‐5220‐005‐11 20,625.00

Implant PSN ASF CR 13MMVE L7

3902271

42‐5120‐006‐13 20,625.00

Implant ANCHOR PIVOT NANOTACK 1.4MM

3902273

CAT02969 6,768.75

Implant SCREW BIOSTEON 8X28MM

3902276

234‐010‐165 4,275.00

Implant TIGHTROPE IMP SYSTEM 9MM

3902280

AR‐1288‐90 9,730.00

Implant SCREW INTERFERENCE 11X28MM

3902281

AR‐1403TC 3,525.00

Implant SHOULDER PLATE CLAV THIRD LFT SS

3902274

AR‐2652CL 7,700.00

Implant SCREW RECON LG  5.5MM DIAX60MM

3900909‐C

00‐2252‐060‐55 3,744.00

Implant SUTURE ANCHOR BIOCOMP 3X14.5MM

3902279

AR‐8934BCNF 4,631.25

Implant SCREW LO PRO LOCK SS 22MM

3902278

AR‐8835L‐22 1,725.00

Implant CABLE INTEGRAL LONG 23X121MM

3902285

00‐2232‐002‐05 30,115.80

Implant VERSYS CEM/REV BLOCK 20MM

3902284

00‐7871‐002‐20 6,706.05

Implant VERSYS CEM/REV/CAL/CAR 17X190MM

3902283

00‐7871‐017‐60 67,197.00

Implant SCREW LOCKING 2.4MM X 20MM

3902286

00‐2329‐020‐24 1,260.00

Implant K‐WIRE 1.25MM DIAMETER PK/3

3902287

00‐2366‐080‐00 504.00

Implant STAPLE DYNANITE 18WX15L

3902293

AR‐8719DS‐1815 30,982.50

Implant SCREW RECON LG 5.5MM DIA X 70MM

3900911‐C

00‐2252‐070‐55 3,744.00

Implant FOOT PLATE COTTON 6MM

3902294

AR‐8948‐06 11,130.00

Implant SCREW CANNULATED 4.0X42MM

3902291

AR‐8740‐42PTS 2,475.00

Implant STAPLE DYNANITE NITINOL 20WX15L

3902292

AR‐8719DS‐2015 30,982.50

Implant SCREW CORTICAL 2.4X26MM

3902295

AR‐8724‐26 1,650.00

Implant SCREW CORTICAL 2.4X20MM

3902296

AR‐8724‐20 1,650.00

Implant SCREW CORTICAL 2.4X24MM

3902297

AR‐8724‐24 1,650.00



Implant SCREW ACUTRAK 2 4.7 X 35MM

3902298

30‐0635 6,654.75

Implant GRAFT FF PERONEUS LONGUS TENDON

3902299

0336 33,750.00

Implant LINER ACETABULAR 32MM

3902300

931‐32‐748 33,793.20

Implant SCREW CORTICAL 2.7X70MM

3902302

00‐4827‐070‐01 288.00

Implant SCREW  RECON LG 5.5MM DIA X 120MM

3900921‐C

00‐2252‐120‐55 3,744.00

Implant FEMORAL NAIL SHORT 130 DEG 13MM

3902304

47‐2493‐213‐13 18,092.25

Implant PLATE MID FACE 851.690.01S

3805569

851.691.01S 16,170.00

Implant SCREW CANNULATED 3.0X28MM

3902305

AR‐8730‐28PT 2,250.00

Implant SCREW CORTICAL 2.4X18MM

3902307

AR‐8724‐18 1,650.00

Implant FOOT PLATE WEDGE PROC OPENING 4MM

3902306

AR‐13200M‐04R 11,130.00

Implant SCREW CORTICAL 2.4X16MM

3902308

AR‐8724‐16 1,650.00

Implant GENOID SPHERE CENTERED

3902310

DWD193 26,125.00

Implant SCREW LOCKING DWD032

3902312

DWD032 750.00

Implant GLENOID BASE PLATE REVERSED

3902309

DWD003 16,500.00

Implant SCREW COMPRESSION VDV218

3902311

VDV218 750.00

Implant SCREW IM MED 4.2 X 20MM  INTERLOCK

3900925‐C

00‐2253‐020‐42 2,520.00

Implant SCREW 602715S CANNULATED 6.5 X 115MM TL2

3211861‐C

602715S 4,179.95

Implant PSN ASF CR 14MM

3902314

42‐5220‐005‐14 20,625.00

Implant GRAFT ACHILLES TENDON

3902313

FAT 33,439.50

Implant FEM HIP SZ 11 ST OFFSET

3902315

425‐96‐011 39,150.00

Implant SHELL 3 HOLE CLUSTER 64MM

3902317

430‐98‐064 14,000.00

Implant FEMORAL HIP SZ 15 LAT OFFSET

3902316

425‐97‐015 39,150.00

Implant LINER FMP ACETABULAR 36MM

3902318

631‐36‐764 19,937.50



Implant STEM FITMORE SIZE 2

3902319

01.00551.302 32,062.50

Implant SCREW BIOSTEAN 9X26MM

3902323

234‐010‐166 4,275.00

Implant SCREW MIDFACE 4MM

3902322

04.503.223.228 2,250.00

Implant SUTURE ANCHOR SWIVELOCK 5.5X19.1

3902321

AR‐2323BCC 5,700.00

Implant SCREW IM SML INTERLOCK 3.7MMX80MM

3900955‐C

00‐2253‐080‐37 2,520.00

Implant ART SURFACE RIGHT 10MM

3902320

42‐5214‐008‐10 17,187.50

Implant PSN ASF PS 11MM PLY

3902328

42‐5114‐005‐11 17,187.50

Implant ATTUNE CR FB SZ 7 5MM 1516‐20‐705

3902329

1516‐20‐705 14,581.88

Implant GRAFT REVITA 4X4CM RV‐4040

3902331

RV‐4040 30,375.00

Implant SCREW PERI SELF TAP 3.5X56MM

3902333

00‐2348‐056‐35 486.00

Implant LINER ACETABULAR 36MM

3902335

931‐36‐750 14,368.75

Implant NAIL Z CPM 13MMX21.5CM

3902336

47‐2493‐212‐13 18,092.25

Implant SCREW IM SML INTERLOCK 3.7MMX85MM

3900956‐C

00‐2253‐085‐37 2,520.00

Implant SCREW LOCKING 3.0X28MM

3902342

AR‐8933L‐28 1,650.00

Implant FOOT PLATE ANTERIOR LEFT FUSION

3902340

AR‐8970AL 28,012.50

Implant SCREW LOCKING 4.5X46MM

3902341

AR‐8545L‐46 2,925.00

Implant FOOT PLATE 2 HOLE

3902343

AR‐8952TS‐02 11,200.00

Implant GRAFT AMNION THIN 4X8

3902346

ABS‐4100‐048 48,425.00

Implant PLATE ADAPTION MIDFACE MATRIX

3902347

04.503.376 13,524.00

Implant SCREW 6.7X60MM

3902344

AR‐8967‐1860 3,750.00

Implant SCREW SHORT 6.7X55MM

3902345

AR‐8967‐1855 3,750.00

Implant TIBIAL INSERT 4.5MM

3902349

1516‐30‐405 17,019.06

Implant PLATE

3902348

04.503.395 6,583.50



Implant NAIL IM M/DN TIBIAL 10MM DIA X 30CM

3900962‐C

00‐2253‐300‐10 13,910.40

Implant PLATE DISTAL TIBIAL LOCKING 6H LFT

3902356

2357‐010‐06

00‐2357‐010‐06 17,869.50

Implant ART SURFACE LEFT 10MM

3902355

42‐5124‐006‐10 20,625.00

Implant FEMUR CEMENTED LEFT SIZE 5

3902354

42‐5000‐058‐01 27,500.00

Implant STEM FITMORE TAPER 12/14

3902358

01.00551.304 29,025.00

Implant PROPHECY INFINITY

3902363

PROPINF 14,000.00

Implant INFINITY TIBIAL TRAY SZ 2

3902361

33650002 73,560.00

Implant INFINITY TALAR DOME SZ 1

3902360

33630021 78,048.00

Implant FEMORAL STEM 12/14 TAPER SZ 6

3902365

1010‐11‐060 35,488.13

Implant INFINITY POLY SZ1 /1+ 6MM

3902362

33651106 34,087.50

Implant ROD CURVED 150MM CURVED

3902368

PS92006‐150 1,500.00

Implant SCREW CANNULATED 6.7X80MM

3902371

AR‐8967‐1880 3,750.00

Implant SCREW PT 4.0X56MM

3902379

AR‐8740‐56PTS 2,475.00

Implant GUIDEWIRE THREADED 2.4MM

3902370

AR‐8967KT 450.00

Implant PLATE FLAT POW AR‐8953‐00

3902375

AR‐8953‐00 12,530.00

Implant SCREW CANNULATED 6.7X80MM

3902372

AR‐8967‐1875 3,750.00

Implant STAPLE DYNANITE NITINOL 18WX18L

3902373

AR‐8719DS‐1818 30,982.50

Implant SCREW PT 4.0X56MM

3902374

AR‐8740‐48PTS 2,475.00

Implant ART SURFACE 10MM RIGHT PS

3902380

42‐5224‐008‐10 20,625.00

Implant SCREW LOCKING 3X26MM

3902376

AR‐8933L‐26 1,650.00

Implant PLATE DISTAL LATERAL FIB LOCK 4 HOLE

3902369

47‐2357‐018‐04 8,341.20

Implant FEMORAL HEAD M‐SPEC 36MM +12

3902364

1365‐54‐000 7,402.50

Implant SCREW CORTICAL 2.4X14MM

3902383

AR‐8724‐14 1,650.00



Implant PLATE VOLAR STND 3 HOLE RIGHT

3902381

00‐2328‐053‐03 9,954.00

Implant PLATE WEDGE PROX  3.5MMAR‐13200M‐035R

3902382

AR‐13200M‐035R 11,130.00

Implant SCREW NON LOCKING 14MM

3902385

1312‐20‐514 1,005.00

Implant TIBIAL INSERT POSTERIOR STABILIZED

3902387

1516‐40‐708 12,274.50

Implant PLATE ALPS T

3902384

1312‐20‐157 4,716.75

Implant TIBIAL BASE FIXED BEARING REVISION

3902386

1506‐40‐006 44,831.28

Implant SCREW NON LOCKING 15MM

3902388

1312‐20‐415 1,005.00

Implant SCREW NON LOCKING 20MM

3902389

1312‐20‐520 1,005.00

Implant SCREW NON LOCKING 18MM

3902390

1312‐20‐518 1,005.00

Implant MESH BIO‐A 9X15

3902396

FS0915 10,668.00

Implant SCREW VARIABLE ANGLE 2.4X16MM

3993748

AR‐8724V‐16 2,100.00

Implant SCREW COMPRESSION 20MM

3993754

VDV220 750.00

Implant SCREW LOCKING 23MM

3993755

DWD023 750.00

Implant SCREW CORTICAL 3.5X16MM

3993750

AR‐8935‐16 900.00

Implant SCREW COMPRESSION 26MM

3993753

VDV226 750.00

Implant SCREW VARIABLE ANGLE 2.4X24MM

3993749

AR‐8724V‐24 2,100.00

Implant SCREW VARIABLE ANGLE 2.4X26MM

3993752

AR‐8724V‐26 2,100.00

Implant PLATE DORS DISTRAD STL 4‐H AR‐8916DSL‐04

3993751

AR‐8916DSL‐04 17,806.25

Implant SCREW PARTIALLY THREADED 6.7X85

3993757

AR‐8967‐1885 3,750.00

Implant STAPLE DYNANITE W/INSTRUMENT 20WX20L

3993758

AR‐8719DS‐2020 30,982.50

Implant SCREW PARTIALLY THREADED 6.7X90

3993756

AR‐8967‐1890 3,750.00

Implant SCREW PT 4.0X54MM

3902401

AR‐8740‐54PTS 2,475.00

Implant KNEE FEM HEAD UNIPOLAR 49MM

3902402

00‐7818‐049‐00 7,125.00



Implant SCREW NON‐LOCKING HEXALOBE 3.0MMX26MM

3993762

30‐0310 1,200.00

Implant PLATE LOW PROF 8‐HOLE LG LEFT 70‐0288

3993763

70‐0288 13,874.00

Implant SCREW NON‐LOCKING HEXALOBE 3.5MMX14MM

3993759

30‐0258 1,320.00

Implant SCREW NON‐LOCKING HEXALOBE 3.5MMX16MM

3993760

30‐0259 1,320.00

Implant STENT 175252 4.8FR 24CM

3801036

M0061752520 1,675.80

Implant SCREW CORTICAL 3.0X16MM

3993769

AR‐8933‐16 1,650.00

Implant ART SURFACE PS LEFT 13MM HEIGHT

3993770

42‐5124‐007‐13 20,625.00

Implant SCREW FT 4.5X50MM

3902405

AR‐8945‐50FT 2,625.00

Implant PLATE MTP STRAIGHT MEDIUM AR‐8944‐S

3902404

AR‐8944‐S 11,200.00

Implant TUBE BUTTON ENFIT 18FR 3.0CM

3902408

8140‐18‐3.0 1,536.60

Implant SCREW NON LOCKING 12MM

3902406

1312‐20‐512 1,005.00

Implant TUBE BUTTON ENFIT 18FR 2.7CM

3902407

8140‐18‐2.7 1,536.60

Implant TUBE BUTTON ENFIT 18FR 3.5CM

3902409

8140‐18‐3.5 1,536.60

Implant SLINGSHOT 70 DEGREE UP

3902412

CAT02590 4,631.25

Implant SCREW CANNULATED THREADED 16MM

3902337

1147‐055‐65 3,078.00

Implant STEM PRESS FIT SIZE 16

3902415

00‐7834‐016 14,000.00

Implant Z NAIL END CAP 5MM

3902440

47‐2487‐005‐05 2,754.00

Implant NEUROSTIMULATOR MEDTRONIC PAIN PUMP

3899294

97715 252,450.00

Implant SCREW 602855S CANNULATED 6.5 X 55MM TL40

3211866‐C

602855S 2,475.00

Implant SCREW MIS HEADED 27MM

3993775

00‐5983‐040‐27 2,250.00

Implant PLATE CLAVICLE SUP ANTERIOR

3902441

02.112.031 19,181.25

Implant SCREW CORTICAL NON‐TOG 2.3X20MM

3993779

CO‐N2320 1,380.00

Implant SLINGSHOT 45 DEGREE UP

3993776

CAT02589 4,631.25



Implant ANCHOR APOLLO KNOTLESS

3993783

31‐15520 4,987.50

Implant SCREW CANCELLOUS BONE 6.5X35MM

3981554

1217‐35‐500 1,130.40

Implant SCREW LO PRO T1 14MM

3902448

AR‐8933L‐14 2,250.00

Implant SCREW TI CANN 46MM

3902446

AR‐8740‐46PTS 2,475.00

Implant PSN PK VE PLY, RM, SZ G

3993790

42‐5282‐007‐08 17,325.00

Implant PSN PK CMT FEMER RM SZ 3

3993788

42‐5580‐003‐02 29,767.50

Implant STENT 10 X 60MM WALLFLEX BILIARY F/C

3800348

M00570530

M00570370 38,263.46

Implant SCREW MIS HEADED 33MM

3993791

00‐5983‐040‐33 1,026.00

Implant PSN PK CMT TIBIA RM SZ G

3993789

42‐5380‐007‐02 20,212.50

Implant LINER ACETABULAR PINNACLE 38MM

3902458

1221‐36‐452 11,844.00

Implant HEAD FEM PINN SECTOR W/GRIPTION 52MM

3993794

121732052

1217‐32‐052 17,545.00

Implant PLATE ACU‐LOC DORSAL NARROW RT 70‐0058

3993778

70‐0058 12,208.00

Implant SCREW CORTICAL LOCK 2.3X16MM

3993780

CO‐T2316 1,380.00

Implant HEAD FEM ARTICULEZE M 36MM‐2

3993797

136550000

1365‐50‐000 5,268.94

Implant SCREW CORTICAL LOCK 2.3X18MM

3993781

CO‐T2318 1,380.00

Implant ALTRX +4 NEUT 36IDX52OD

3993795

122136452

1121‐36‐452

1221‐36‐452 12,317.76

Implant SCREW PINN CAN BONE 6.5X25MM 1217‐25‐500

3993792

1217‐25‐500 1,097.70

Implant TUBE 20 FR REPL G‐TUBE STRAIGHT

3800834

M00582080 409.50

Implant APEX HOLE ELIMINATOR 1246‐03‐000

3993796

124603000

1246‐03‐000 1,440.00

Implant SCREW LOCK HEXALOBE 3.5X12MM

3993777

30‐0234 2,070.00



Implant ALTRX NEUT 36IDX52OD

3993799

122136052

1221‐36‐052 19,731.25

Implant KIT INTRATHECAL CATH PUMP SEGMENT REV

3902459

8596SC 5,700.00

Implant SYSTEM CARDIOMEMS PA SENSOR‐DELIVERY‐

8600193

CM2000 241,450.00

Implant SCREW COMPRESSION FIT 2.5 MICRO 18MM

3993802

AR‐8725‐18H 4,203.75

Implant KNEE SINGLE SHOT FLAP REPAIR

3993801

AR‐4009S 3,075.00

Implant KNEE DART CHONDRAL 18MM

3993800

AR‐4005B‐18 1,815.00

Implant SCREW COMPRESSION FIT 2.5 MICRO 20MM

3993803

AR‐8725‐20H 4,203.75

Implant CENTRALIZER VERSYS DISTAL 9MM

3993806

00‐7818‐041‐00 7,125.00

Implant PSN ASF PS VE R 6‐9 CD 11MM

3993805

42‐5224‐005‐11 20,625.00

Implant VERSYS CEM LD/BX SZ 11X120MM

3993807

00‐7833‐011‐00 14,000.00

Implant CENTRALIZER VERSYS DISTAL 10MM

3993808

00‐7859‐010‐00 1,509.75

Implant FEMORAL HEAD 12/14 UNIPOLAR 48MM

3993809

00‐7818‐048‐00 7,125.00

Implant MARKER FEMUR REG 3.5 HEX HEAD

3993813

403402 562.50

Implant PIN THREAD FIX 3.2 PROX END 4.0X110MM

3993811

403324 2,062.50

Implant PIN THREAD HEADLESS 65MM

3993810

402394 712.50

Implant SCREW PERI LOCKING 45MM

3902471

00‐2359‐045‐37 1,332.00

Implant GRAFT REVITA 2X2CM

3902472

RV‐2020 19,250.00

Implant STYLET LEAD MOND RVOT 4141 MED SS 52CM

8600190

4141/52 1,425.00

Implant CPS DRCT UNIV FNAL PACK 47CM 115

8600195

DS2C019 10,710.00

Implant ROD SCOLIOSIS 500MM

3993817

PS92007‐500 7,350.00

Implant SCREW CONNECTORS TO AXIAL ROD

3993815

PSX067‐0025 8,400.00

Implant SCREW PEDICLE 5.0X40MM

3993816

PS92009‐50‐40‐

5077‐02 8,400.00



Implant SCREW PEDICLE 6.0X40MM

3993818

PS92009‐60‐40‐

5077‐08 8,400.00

Implant ROD CONNECTORS TO AXIAL ROD

3993814

PSX067‐0275 24,750.00

Implant PSN ART SURFACE FIXED BEAR PS RGT 11MM

3993819

42‐5224‐006‐11 20,625.00

Implant ART SURFACE RIGHT 13MM

3993820

42‐5224‐010‐13 20,625.00

Implant SCREW WASHERLOC 4.5X30MM CORTICAL

3900974‐C

908630 1,890.00

Implant IMPLANT SYS MPFL HIP BIOCOMPOSITE

3899303

AR‐1360C‐CP 20,446.25

Implant GRAFT ANTERIOR TIBIALIS TENDON

3902475

0332 33,750.00

Implant STEM SEGMENTAL STR FLUTE 14X130MM

3211959

00‐5852‐050‐14 61,737.60

Implant SCREW LOCK CORT 3.5X20MM

3211968

816135020 1,725.00

Implant SCREW LOCK CORT 3.5X32MM

3211965

816135032 1,725.00

Implant SCREW WASHERLOC 4.5X36MM CORTICAL

3900977‐C

908636 1,890.00

Implant SCREW CORT 38MM AR‐13380‐38

3211977

AR‐13380‐38 1,275.00

Implant SCREW CORT 42MM AR‐13380‐42

3211979

AR‐13380‐42 1,275.00

Implant ART SURF SEG SIZE C 12MM

3211962

00‐5850‐030‐12 36,255.60

Implant SCREW LOW PROF CORT 24MM

3211963

131218024 750.00

Implant PSN ASF PS 11MM

3211970

42‐5124‐007‐11 20,625.00

Implant REAMER CORING W/COLLARED PIN 10MM

3211971

AR‐1224S 3,075.00

Implant SCREW CANCELLOUS 60MM AR‐13280‐60

3211974

AR‐13280‐60 1,275.00

Implant WEDGE CONTOURLK HTO PLT, STR RIGHT 5MM

3211980

AR‐13715‐05.0 14,000.00

Implant LINER CONTINUUM LONG ELEV JJ 36X54

3211956

00‐8752‐011‐36 12,600.00

Implant SCREW LOCK CORT 3.5X24MM

3211966

186135024

816135024 1,725.00

Implant SCREW WASHERLOC 4.5X38MM CORTICAL

3900978‐C

908638 1,890.00



Implant SCREW LOCK CORT 3.5X30MM

3211967

816135030 1,725.00

Implant SCREW CANCELLOUS 55MM AR‐13280‐55

3211973

AR‐13280‐55 1,275.00

Implant WIRE OLIVE 1.25MM DIAMETER

3211958

00‐2366‐085‐00 2,304.00

Implant SCREW LOW PROF CORT 30MM

3211964

131218030 750.00

Implant MESH ALPS LOCK CALC PLT SM LT

3211969

110018292 11,718.00

Implant SCREW CORT 40MM AR‐13380‐40

3211978

AR‐13380‐40 1,275.00

Implant SCREW LOCK 1.8X16MM

3211957

00‐2329‐016‐24 1,260.00

Implant GUIDE PIN OSTEOTOMY 2.4MM AR‐13303‐2.4

3211975

AR‐13303‐2.4 555.00

Implant COLLAR SEGMENTAL TM FOR 9‐16MM, 35MM

3211960

00‐5850‐030‐12 41,995.20

Implant ART SURF DISTAL FEM XT SZ C, RIGHT

3211961

00‐5850‐043‐02 103,626.00

Implant SCREW WASHERLOC 56MM

3900987‐C

908656 1,950.00

Implant SCREW CANCELLOUS 45MM AR‐13280‐45

3211972

AR‐13280‐45 1,275.00

Implant PLATE PROX LAT TIB LOCK 3.5MM

3211981

00‐2357‐004‐08 16,302.00

Implant KNEE TIBIAL BASE SIZE 7

3902476

1506‐70‐007 20,057.81

Implant STEM COLLAR 35MM

3902477

00‐5852‐040‐35 41,995.20

Implant BIOCOMP CORKSCREW FT VENTED 6.5X14.7MM

3902478

AR‐1927BCF‐65 4,631.25

Implant STAPLER LOAD TA30‐4.8

3088242

TA3048L

3583TA3048L 3,710.84

Implant STAPLER LOAD VASCULAR TA30‐V3

3088244

TA30V3L

3583TA30V3L 4,142.19

Implant STAPLER LOAD SINGLE USE TA30 3.5

3088241

TA3035L

3583TA3035L 3,776.25

Implant SCREW BONE MULCH 5MM TIP 25MM

3900993‐C

CP254677 6,084.75

Implant STAPLER LOAD TA30

3088243

3583TA30V3S 4,708.06

Implant BONE VOID FILLER CALLOS 10CC

3902481

65‐0010‐S 40,243.50



Implant SCREW NON LOCK 60MM

3902479

00‐2348‐060‐35 486.00

Implant SCREW NON LOCK 24MM

3902480

00‐2348‐024‐35 486.00

Implant SCREW ACUTRAK 45MM

3902483

30‐0029 6,740.25

Implant SCREW ACCUTRAK 60MM

3902482

30‐0085 6,740.25

Implant SCREW LO‐PRO CORTICAL 32MM

3211982

131218032 750.00

Implant SCREW LO‐PRO CORTICAL 3.5X34MM

3211984

131218034 750.00

Implant SCREW LO‐PRO CORTICAL 3.5X40MM

3211983

131218040 750.00

Implant SCREW BONE MULCH 5MM TIP 30MM

3900994‐C

CP254676 6,084.75

Implant SCREW 602910S CANNULATED 6.5 X 110MM TL4

3211877‐C

602910S

602910 2,475.00

Implant HIP FEMORAL P2 POROUS COATED SZ 6

3902486

425‐96‐006 39,150.00

Implant PLATE MESH LOCKING

3902487

110008289 22,275.00

Implant SCREW LOCKING 3.5 32MM

3902488

8161‐35‐032 1,725.00

Implant SCREW BONE 3.5MM HEX HEAD 4.5X20MM

3993812

403181 712.50

Implant SCREW HEXALOBE NON‐LOCK 3.5X24MM

3993824

30‐0263 1,200.00

Implant SCREW HEXALOBE NON‐LOCK 3.5X18MM

3993822

30‐0260 1,200.00

Implant SCREW HEXALOBE NON‐LOCK 3.5X26MM

3993825

30‐0264 1,200.00

Implant SCREW HEXALOBE NON‐LOCK 3.0X14MM

3993826

30‐0304 1,320.00

Implant PLATE LO‐PROF CLAV 8‐HOLE MD RT 70‐0291

3993827

70‐0291 14,176.25

Implant SCREW HEXALOBE NON‐LOCK 3.5X20MM

3993823

30‐0261 1,200.00

Implant STAPLE 128694 RICHARDS MED REG

3500934‐C

12‐8694 1,224.75

Implant KIT 9.5 FR DUAL LUMEN CV CATHETER

3431406

7742000 3,090.00

Implant GRAFT NEOX CORD 3X2

3802001

NX‐10‐3020 17,806.25

Implant STIMULAN RAPID CURE BONE FILLER 620‐010

3902499

620‐010 20,556.25



Implant MESH PHASIX ST 1201015 10CMX15CM

3899308

1201015 37,530.00

Implant MESH ELLIPSE END ITEM 6X8

3899314

5955680 17,806.25

Implant CAGE MIDLINE II‐TI

3902489

M331108C 97,200.00

Implant MESH 3D XL LEFT 0115312

3899306

0115312 2,917.50

Implant MESH ECHO PS INFLATION ASSY

3899310

5955000 399.00

Implant MESH 3DMAX RIGHT X‐LARGE

3899307

0115322 2,917.50

Implant MESH ELLIPSE END ITEM 7X9

3899315

5955790 21,656.25

Implant NAIL LONG 2.0 11 X 280MM X 12

3600687‐C

3225‐0280S 27,716.58

Implant SCREW STALIF MIDLINE ABO

3902490

STM6025 8,400.00

Implant TIBIAL INSERT AOX SZ 5X6MM 1516‐30‐506

3993828

1516‐30‐506 17,022.50

Implant MESH PHASIX ST 1200710 7CM X 10CM

3805571

1200710 19,525.00

Implant MESH PHASIX ST 1201520 15CMX20CM

3899309

1201520 65,280.00

Implant GRAFT VIA FORM STEM CELL 10CC

3805572

VCAFX‐100000 57,500.00

Implant ART SURFACE LEFT 12MM

3942491

42‐5124‐007‐12 20,625.00

Implant SCREW LO PRO CORTICAL 30MM

3902501

1312‐030‐040 750.00

Implant SCREW LO PRO CORTICAL 24MM

3902500

1312‐024‐040 750.00

Implant SCREW NO LOCK 3.5X8MM

3993832

30‐0232 1,875.00

Implant PLATE MTP FUSION

3993833

8240 71 002 11,326.00

Implant NAIL LONG 2.0 11 X 400MM X 13

3600702‐C

3230‐0400S 35,518.50

Implant PINS OLIVE

3993835

8242‐99‐104 435.00

Implant PLATE ACROMION LEFT 6‐HOLE PL‐SA06L

3993830

PL‐SA06L 18,658.75

Implant SCREW NO LOCK 3.5X28MM

3993831

30‐0265 1,200.00

Implant SCREW 3.5 CORTICAL 36MM

3993834

1312‐18‐036 750.00



Implant STAGRAFT FIBER

3993836

48‐2010 34,992.00

Implant BAR 11MMX500MM

3993840

5202‐011‐050

5202‐011‐50 7,125.00

Implant SCREW CORTICAL 3.5X32MM

3993842

2348‐032‐35 486.00

Implant CLAMP PIN 2‐BAR 45MM

3993839

5200‐030‐04 7,125.00

Implant NAIL LONG 2.0 11 X 300MM X 12

3600706‐C

3325‐0300S 30,618.00

Implant PERCUFLEX PLUS 1.6X26MM

3993841

M0061752530

M006175253 1,675.80

Implant SCREW LOCKING 2.7X14MM

3993846

4828‐014‐02 486.00

Implant SCREW NON‐LOCKING 2.7X60MM

3993848

4827‐060‐01 288.00

Implant SCREW 3‐HOLE PERILOCKING

3993844

2358‐009‐03 486.00

Implant SCREW LOCKING 2.7X20MM

3993847

4828‐020‐02 486.00

Implant SCREW CORTICAL 3.5X32MM

3993845

2348‐020‐35 486.00

Implant ROD BAR 11MMX500MM

3993843

00‐5202‐011‐50 3,555.00

Implant MESH 3D MAX LARGE RIGHT

3805574

115321 2,325.00

Implant MESH 3D XL LEFT

3805575

115312 2,917.50

Implant MESH 3D MAX LARGE LEFT

3805573

115311 2,325.00

Implant NAIL LONG 2.0 11 X 280MM X 13

3600714‐C

3330‐0280S 27,716.58

Implant MESH 3D XL RIGHT

3805576

115322 2,917.50

Implant TUBE G ENFIT 24FR

3902557

8100‐24 461.70

Implant SCREW CANN 6.5 NS

3805578

602710 5,720.66

Implant TUBE G ENFIT 22FR

3902503

8100‐22 553.80

Implant SCREW CANN 6.5 NS

3805579

602715 4,305.35

Implant GRAFT TIBIALIS TENDON ANTERIOR

3902504

41617000

41517000 23,196.25



Implant ANCHOR APOLLO MEDIAL SUTURE

3902505

MSA‐4515 4,631.25

Implant PLATE 1/3 TUBULAR W/COLLAR

3902559

00‐4935‐009‐03 945.00

Implant PSN ASF PS 10MM VE R 6‐9 CD

3902560

42‐5224‐005‐10 20,625.00

Implant GRAFT FF ACHILLES TENDON W/O BONE BLOCK

3902561

1288 25,932.50

Implant NAIL LONG 2.0 11 X 380MM X 13

3600719‐C

3330‐0380S 35,518.50

Implant STEM SIZE 4 STD

3902563

1010‐11‐040 34,934.63

Implant SCREW CANC SM HEX 60MM

3902565

00‐4840‐060‐01 270.00

Implant DIGIT WIDGET

3902569

DWD‐232 21,656.25

Implant GRAFT FCON

3902568

FCON 19,772.50

Implant KIT LIPOGEM ADIPOSE TISSUE HARVESTING

3993747

LG MK 240 22,687.50

Implant PLATE STD LEFT 5 HOLE VOLAR

3902567

00‐2328‐052‐05 10,819.20

Implant SCREW CORT NCB SELF‐TAP 4.0X44MM

3211993

02.03155.044 1,530.00

Implant NAIL LONG 2.0 11 X 440MM X 13

3600722‐C

3330‐0440S 30,618.00

Implant PLATE NCB‐PT LAT 3H TIBIA,5H, RIGHT

3211986

02.02261.205 17,325.00

Implant SCREW CORT NCB SELF‐TAP 4.0X85MM

3211989

02.03155.085 1,530.00

Implant SCREW CORT NCB SELF‐TAP 4.0X75MM

3211990

02.03155.075 1,530.00

Implant SCREW CORT NCB SELF‐TAP 4.0X50MM

3211992

02.03155.050 1,530.00

Implant SCREW CORT NCB SELF‐TAP 4.0X80MM

3211987

02.03155.080 1,530.00

Implant SCREW CORT NCB SELF‐TAP 4.0X30MM

3211988

02.03155.030 1,530.00

Implant SCREW CORT NCB SELF‐TAP 4.0X70MM

3211991

02.03155.070 1,530.00

Implant ART SFC PS 11MM VE L3‐5

3902574

42‐5124‐004‐11 20,625.00

Implant FEMUR PS CMT CCR STD SZ 5

3902573

42‐5006‐058‐01 27,500.00

Implant SCREW PEG FULL THRD 2.5X11MM

3902575

FP11 1,110.00



Implant SCREW 3060‐0085S LAG 10.5 X 85MM

3600736‐C

3060‐0085S 9,632.00

Implant SCREW PEG 2.5X11MM

3902576

SP1100

SP11000 1,110.00

Implant K‐WIRE .62X6 DBL

3902578

164206062 915.00

Implant SCREW STND 2.5X13MM

3902577

SP13000 1,110.00

Implant BUTTON DOG BONE

3902580

AR‐2270 4,987.50

Implant SCREW NCBCORT 18MM

3902582

02‐0315‐001‐8 2,286.00

Implant PLATE 285MM

3902581

02‐0326‐301‐2 17,597.25

Implant SCREW NCB CORT 04MM

3902583

02‐0315‐002‐4 2,286.00

Implant SCREW NCB CORT 28MM

3902584

02‐0315‐002‐8 2,286.00

Implant ART SURF PSN 14MM 10‐12GH

3902585

42‐5124‐010‐14 20,625.00

Implant PEGS 3.2X46MM

3902593

110025346 3,000.00

Implant SCREW 05 X 75MM FULLY THREADED LOCKING

3600756‐C

1896‐5075S 3,207.60

Implant PEGS 3.2X65MM

3902597

110025365 3,000.00

Implant PEGS 3.2X70MM

3902591

110025370 3,000.00

Implant PEGS 3.2X38MM

3902592

110025338 1,650.00

Implant SCREW N‐FORCE PC 4.0X45MM

3902604

IN00145FS 13,720.00

Implant PEGS 3.2X58MM

3902595

110025358 3,000.00

Implant N‐FORCE BLUE 10CC

3902603

IN0501 50,875.00

Implant PLATE PRX HUM HI PLT LT 4H 90MM

3802587

110030301 19,511.25

Implant SCREW T15 LP CORT 32MM

3902589

110017732 1,500.00

Implant SCREW CORT 3.5MMX36MM  816135036

3902590

816135036 1,725.00

Implant PEGS 3.2X60MM

3902596

110025360 3,000.00

Implant SCREW 3.5 CANN PARTTHD 10MM 205.010

3200001‐C

205.010 1,920.00



Implant SCREW 611090S CANNULATED 8.0 X 90MM TL25

3211892‐C

611090S 4,488.75

Implant PEGS 3.2X50MM

3902594

110025350 3,000.00

Implant PEGS 3.2X52MM

3902598

110025352 3,000.00

Implant SCREW UNI NCB 18MM

3902606

02.03151.018 2,088.00

Implant ART SURF PSN 12MM

3903607

42‐5124‐005‐12 20,625.00

Implant PLATE NCB PP PROX FEM

3902605

02.03263.012 17,597.25

Implant SCREW NCB CORT 24MM

3902607

02.03150.024 2,286.00

Implant SCREW NCB CORT 28MM

3902608

02.03150.028 2,286.00

Implant FEM STEM ACTIS STD SZ 8

3902609

1010‐11‐080 34,988.63

Implant STENT PERCUFLEX 8FR 24CM

3802800

M0061752820 1,530.00

Implant JUGGERKNOT SINGLE 1.4MM

3902615

912030 3,277.50

Implant SCREW 3.5 CANN PT 30MM 205‐030

3200014‐C

205‐030 2,685.00

Implant SHELL G7 OSSEOTI 3‐HOLE 52MM

3993906

110010244 44,278.00

Implant STEM M/L TAPER KINECTIV SIZE 5

3993910

00‐7713‐005‐00 46,930.00

Implant NECK TAPER KINECTIV MODULAR G

3993911

00‐7848‐023‐00 9,310.00

Implant STEM VERSYS ADVOCATE CEMENT 12X125 EXT

3993912

00‐7850‐012‐20 22,687.50

Implant HIP SYSTEM ACTIVE ACTICULATION DUAL MOB

3993908

EP‐200148 30,375.00

Implant FEMORAL HEAD BILOX DELTA OPTION 28MM

3993909

00‐8777‐028‐02 27,211.29

Implant LINER G7 DUAL MOBILITY 42MM

3993907

110024463 31,502.25

Implant FEMUR PSN RT SZ 8

3902703

42‐5000‐064‐02 27,500.00

Implant ANCHOR ICONIX 2.3MM W/XBRAID

3902731

3910‐500‐931 6,412.50

Implant FEM STEM 12/14 ACTIS

3902900

1010‐12‐050 35,496.23

Implant SCREW 3.5 CANN PT 46MM 205‐046

3200025‐C

205‐046 3,124.80



Implant SCREW COMP AEQ REVERSED

3993915

VDV232 750.00

Implant SCREW COMP AEQ REVERSED

3993914

VDV235 750.00

Implant GLENOID AEQ REVERSED II CENTERED

3993916

DWD190 7,125.00

Implant PSN PK VE PLY RM SZ F 9MM

3902704

42‐5282‐006‐09 17,325.00

Implant TIBIAL INSERT SIZE 7

3902706

1516‐40‐707 14,000.00

Implant SCREW 32MM STANDARD ACUTRAK 2

3902707

AT2‐S32

ATS‐S32 6,569.25

Implant PSN PK CMT TIB RM SZ F

3902705

42‐5380‐006‐02 20,212.50

Implant SCREW CORT 2.7X30MM

3902712

00‐4828‐030‐01 288.00

Implant HIP STEM CORAIL SZ 15

3902715

3L92505 35,437.50

Implant PLATE PROX ULNAR 7H RT

3902714

00‐2358‐009‐07 10,424.40

Implant SCREW 3.5 CANN FT 12MM 205‐212

3200029‐C

205‐212 1,920.00

Implant ART SURFACE 10MM FB

3902710

42‐5224‐007‐10

42‐5224‐010‐10 22,859.38

Implant SCREW LOCKING 3.5X55MM

3902711

00‐2359‐055‐38 1,377.00

Implant SCREW CORT 2.7X32MM

3902713

00‐4827‐032‐01 288.00

Implant FEM HEAD 12/14 32MM

3902716

00‐8018‐032‐01 7,125.00

Implant GRAFT TENDON FSTP

3902720

FSTP 16,170.00

Implant STAGRAFT DBM PUTTY 5CC

3902722

48‐2005 25,162.50

Implant STAGRAFT FIBER DBM PUTTY 2CC

3902721

48‐2002 10,920.00

Implant LINER ELEVATED RIM 36MM SIZEMM

3902723

00‐8752‐014‐36 12,600.00

Implant STEM ACTIS SIZE 5 STD

3902724

1010‐11‐050 35,147.52

Implant PLATE CSLP 24MM

3902727

487.214 14,932.50

Implant SCREW  3.5 CANN FT 26MM 205.226

3200036‐C

205.226 1,920.00



Implant PLATE CSLP 20MM 1 LEVEL

3902725

487.212 14,932.50

Implant PLATE CSLP 22MM 1 LEVEL

3902726

487.213 14,932.50

Implant PLATE CSLP 26MM 1 LEVEL

3902728

487.215 14,932.50

Implant TRAY TIBIAL INFINITY SZ 4 LONG

3993918

33650014 73,560.00

Implant INFINITY TALAR DOME SZ 3

3993917

33630023 78,048.00

Implant INFINITY POLY SZ 3+ 7MM

3993919

33654307 37,584.00

Implant ALLOGRAFT ACHILLES TENDON ASEPTIC

3902735

10022000 26,180.00

Implant CTP EPIFIX 12 SQCM MESH

3899194

ES‐4400 17,792.50

Implant CTP HUMAN PLACENTAL ALLOGRAFT 500MG

3899244

AF‐0500 15,812.50

Implant SCREW 3.5 CANN FT 30MM 205.230

3200038‐C

205.230 1,920.00

Implant STEM VERSYS ADVOCATE CEMENT EXT 16X145

3993920

00‐7850‐016‐20 22,687.50

Implant CENTRALIZER DISTAL VERSYS 14MM

3993921

00‐7859‐014‐00 1,509.75

Implant SCREW INTERFERENCE IS‐1230

3902738

IS‐1230 3,000.00

Implant SCREW LOCKING 2.4X26MM

3902737

00‐2329‐026‐24 1,260.00

Implant PLATE 5 HOLE VOLAR

3902736

00‐2328‐054‐05 10,819.20

Implant TIBIAL INSERT  SIZE 6 10MM

3902339

1516‐50‐610 17,170.31

Implant MESH VENTRALIGHT S/T 12X14" RECTANGLE

3801784

5954124 25,953.13

Implant MESH 3DMAX LIGHT LEFT XL

3801790

0117312 3,300.00

Implant ART SURFACE 12MM PSN

3902739

42‐5224‐004‐12 20,625.00

Implant MESH VENTRALIGHT ST 5954460 10CM X 15CM

3801783

5954460 5,308.13

Implant SCREW 4.5MM CANN FT 28MM 214.728

3200077‐C

214‐728 2,385.00

Implant MESH VENTRALEX ST MED CIRCLE 2.5"

3801787

5950008 6,519.38

Implant MESH VENTRALEX ST CIRCLE 1.7"

3801786

5950007 54,540.63



Implant MESH VENTRALEX ST LRG CIRCLE 3.2"

3801788

5950009 8,337.00

Implant MESH 3D MAX LIGHT LEFT LARGE 10X15CM

3801789

0117311 2,970.00

Implant MESH VENTRALIGHT S/T 6" CIRCLE

3801785

5954600 8,225.00

Implant MESH 3DMAX LIGHT RIGHT 4X6"

3801791

0117321 2,970.00

Implant MESH 3DMAX LIGHT RIGHT XL

3801792

0117322 3,300.00

Implant MESH VENTRALIGHT ST ECHO 2 5991520

3801793

5991520 17,806.25

Implant MESH VENTRALIGHT ST ECHO 2

3801796

5990020 21,312.50

Implant SUTURE TAK DISP 3X14.5

3902744

AR‐8934DSC 2,175.00

Implant SCREW 214.768 4.5MM CANN FT 68MM

3200090‐C

214‐768 2,070.00

Implant AEQUALIS PRFORM+ CORTILOC

3902743

DWK40SLA15S 27,500.00

Implant TIBIAL BASE FIXED BEARING SIZE 8

3902742

1506‐70‐008 22,333.44

Implant TIBIAL INSERT SIZE 8 6MM 1516‐20‐806

3902741

1516‐20‐806 14,581.88

Implant PIN KIT 2.0MM ORTHOSORB LS

3902785

110010744 6,740.25

Implant TUBE JEJUNOSOMY 14FR 3.0

3802801

8230‐14‐3.0 2,655.90

Implant TUBE JEJUNOSTOMY 14FR. 3.5

3802802

8230‐14‐3.5 2,655.90

Implant PLATE CLAV 1/3 LFT SS AR‐2653CL

3902491

AR‐2653CL 7,700.00

Implant FEM STEM 12/14 SIZE 10

3902793

00‐7711‐010‐00 32,062.50

Implant TIBIAL BASE FB

3902795

1506‐70‐003 19,607.50

Implant PATELLA DOME 29MM

3902794

1518‐20‐029 7,136.50

Implant PLATE CERVICAL SPINE 5 HOLE 450.116

3200131‐C

450.116 23,168.75

Implant WASHER STRYKER 390016 STAINLESS

3902799

390016 750.00

Implant MODULAR BUILD UP BLOCK SZ 13 15X10MM

3902800

00‐7871‐001‐10 6,706.05

Implant PLATE PROX LAT TIBIAL 12H

3902400

00‐2357‐003‐12 30,645.00



Implant FEM HEAD UNIPOLAR 43MM

3902622

00‐7818‐043‐00 7,125.00

Implant VERSYS CEM/REV/CALCAR 13X170MM

3902621

00‐7871‐013‐60 67,197.00

Implant HYMERAL HEAD SIDUS STEM FREE 48‐20

3902630

01.04555.485 24,543.75

Implant HUMERAL ANCHOR SIDUS STEM FREE

3902632

01.04555.130 94,500.00

Implant PLATE 245.17 RECONST 3.5MM 7 HOLE

3600565

245‐17 5,400.75

Implant SCREW M/G UNI HEADED 48MM

3902633

00‐5791‐041‐00 983.25

Implant GLENOID TM 46MM

3902631

00‐4326‐046‐00 23,375.00

Implant HMERAL HEAD BF 21X46MM

3902634

00‐4300‐046‐21 14,781.25

Implant SCREW 5.5X45MM CANCELLOUS

3902751

AR‐8555‐45 1,125.00

Implant SCREW 4.5X22MM LOCKING

3902752

AR‐8545L‐22 2,925.00

Implant MULTIHOLE CUP 58MM

3902801

110010267 51,431.25

Implant NAIL CPM 13MMX34CM 130L

3902805

47‐2493‐343‐13 27,183.75

Implant NEXGEN LOCK FEMORAL SZ F‐LT

3902809

00‐5994‐016‐91 87,859.20

Implant NEXGEN OFFSET STEM EXT 11MMX145

3902810

00‐5988‐020‐11 24,274.25

Implant NEXGEN OFFSET STEM EXT 14MMX200MM

3902812

00‐5988‐021‐14 24,274.25

Implant STEINMAN PIN XFIX 4.5 X 225MM

3610893

293‐49 405.00

Implant SCREW 611105S CANNULATED 8.0 X 105MM TL2

3211895‐C

611105S 3,120.00

Implant CERAMIC FEMORAL HEAD +6.5 36MM

3902814

1365‐36‐330 13,531.00

Implant HIP BRG 28X46MM

3902803

EP‐200152 30,375.00

Implant NEXGEN LPS‐FLEX‐FIXED PROLONG 5,610MM

3902811

00‐5962‐040‐10 17,187.50

Implant DUAL MOBILITY LINER 46MM

3902802

110024465 31,502.25

Implant 2.4MM CORT SCREW‐15MM

3902806

00‐2329‐015‐25 855.00

Implant NEXGEN A/P WEDGED TIBIAL PLATE SZ 6

3902808

00‐5988‐006‐00 36,047.70



Implant GLENOID PEGGE CORTILOC

3902851

DWE423 20,625.00

Implant SCREW CORTICAL 46MM

3902905

AR‐8545‐46 1,125.00

Implant FEMORAL STEM VERSYS SIZE 14

3902906

00‐7843‐014‐26 53,437.50

Implant SCREW CORTEX 4.0 X 14MM 487.04

3800158‐C

487.04 5,985.00

Implant CAGE MIDLINE II TI 33X11MM 8 DEG

3902815

M331512C 97,200.00

Implant MIDLINE II‐TI 33X15 16 DEG

3902816

M331516C 97,200.00

Implant SHELL 3 HOLE CLUSTER

3902908

430‐96‐050 14,000.00

Implant N‐FORCE FC SCREW

3902911

IN00635FS 13,720.00

Implant N‐FORCE 4.0 1.4MM K‐WIRE

3902913

IN0211 1,200.00

Implant N‐FORCE 4.0 2.7MM CANN

3902912

IN0171 3,450.00

Implant SORBAFIX 30 MESH TACKER 0113116 ABSORB

3902635

0113116 6,412.50

Implant PLATE 241.041 3.5MM LCP T 63MM OBLIQUE R

3800470‐C

241.041 4,446.00

Implant SCREW CANN 48MM

3902638

00‐1147‐048‐45 2,619.00

Implant SCREW CANN 44MM

3902637

00‐1147‐044‐45 2,619.00

Implant FEMORAL HIP SZ 5

3902636

425‐96‐005 39,150.00

Implant SCREW CANN 56MM

3902639

00‐1147‐056‐46 2,619.00

Implant AR SURF LFT SZ 18

3902640

42‐5124‐005‐18 22,859.38

Implant FEM HEAD CERAMIC 32

3900401

400‐03‐322 12,600.00

Implant TIBIAL INSERT SIZE 6 1516‐20‐606

3902901

1516‐20‐606 14,141.88

Implant SCREW CANN 4.5X64MM

3902650

00‐1147‐064‐46 2,619.00

Implant SCREW 4.5X46MM CANNULATED

3902651

00‐1147‐046‐45 2,619.00

Implant SCREW 4.5X50MM CANNULATED

3902652

00‐1147‐050‐45 2,619.00

Implant PLATE 241.131 3.5MM LCP T 3HL/50MM RT AN

3800473‐C

241.131 3,630.00



Implant PROCINCH RT 234‐102‐080

3902655

234‐102‐080

234‐102‐060 6,412.50

Implant SCREW BIOOSTEON 10X28MM

3902656

234‐010‐167 4,088.04

Implant INFINITY TIBIAL TRAY SZ 4

3902653

33650004 73,560.00

Implant SCREW LOCKING 3.5X34MM

3902663

AR‐8935L‐34 2,250.00

Implant SCREW LO PRO 3.5X40MM

3902661

AR‐8935‐40 900.00

Implant SCREW LOCKING 305X36MM

3902664

AR‐8935L‐36 2,250.00

Implant SCREW LO PRO 3.5X32MM

3902658

AR‐8935‐32 900.00

Implant SCREW LO PRO 3.5X42MM

3902662

AR‐8935‐42 900.00

Implant PLATE CALCANEAL FRAC LFT AR‐8954PL‐M

3902667

AR‐8954PL‐M 15,056.25

Implant PLATE 245.101 3.5MM LCP RECON 10 HOLE/14

3800490‐C

245.101 6,768.75

Implant SCREW 3.5X38MM

3902660

AR‐8935‐38 900.00

Implant MESH PHASIX ST 20X25CM

3902657

1202025 98,880.00

Implant SCREW LO PRO 3.5X34MM

3902659

AR‐8935‐34 900.00

Implant SCREW LOCKING 305X38MM

3902665

AR‐8935L‐38 2,250.00

Implant PIN SCHANZ 5.0MM

3902666

AR‐8954‐01 4,275.00

Implant FEM HEAD BIOLOX DELTA 36MM

3902668

00‐8777‐036‐03 31,045.95

Implant TUBE GASTROSTOMY 8110‐20 ENFIT

3805580

8110‐20 553.80

Implant TIBIAL INSERT HINGE

3902674

1987‐27‐012 52,890.00

Implant TIBIAL TRAY REVISION MNT

3902669

1294‐35‐115 67,048.80

Implant STEM UNIV FLUTED 75X10MM

3902673

86‐7410 24,640.00

Implant SCREW 3.5 X 30MM  LOCKING 212.111

3800502‐C

212.111 3,000.00

Implant LPS DISTAL FEM COMP XXSM RT

3902670

1987‐14‐111 141,698.40

Implant LPS CEMENTED STEM 9X100MM

3902671

1987‐25‐109 64,627.20



Implant LPS CEMENTED STEM 12X12MM STR

3902672

1987‐25‐412 64,627.20

Implant BTB TIGHTROPE W/DEPLOYING SUTURE

3902683

AR‐1588BTB‐J 6,341.25

Implant SCREW 8X20MM BC VENTED

3902684

AR‐4020C‐08 4,203.75

Implant N‐FORCE PC SCREW 4X65MM

3902687

IN00165FS 13,720.00

Implant ZNAIL CPM NEU NAIL CAP

3902688

47‐2487‐002‐15 2,664.00

Implant ART SURFACE 11MM VE PSN

3902694

42‐5224‐008‐11 22,859.38

Implant SCREW 3.5 X 32MM LOCKING 212.112

3800503‐C

212.112 2,491.20

Implant CAP Z NAIL CPM NEU 5MM

3902695

47‐2487‐002‐05 2,664.00

Implant PLATE DISTAL TIBIAL LOCKING 6 HOLE

3902692

00‐2357‐007‐06 17,605.50

Implant PLATE DISTAL MEDIAL LOCKING 14H

3902693

00‐2357‐008‐14 18,554.25

Implant SIMPLICITI NUCLEUS SIZE 2

3902697

DWG402 45,500.00

Implant AEQ REV FX ADAPTER

3902699

DWD861 17,411.63

Implant GLENIOD CORTILOC PEGGE

3902696

DWE421 20,625.00

Implant AEQ REVSD FRACTURE HMRL STEM D

3902700

DWD901 33,750.00

Implant SCREW 3.5 X 36MM LOCKING 212.115

3800505‐C

212.115 2,318.40

Implant HUMERAL HEAD SIMPLICITI

3902698

7122875 20,625.00

Implant STEM FEM 12/14 TAPER SIZE 2

3902762

1010‐11‐020 34,934.63

Implant PATELLA POLY VE 41MM

3902765

42‐5402‐000‐41 13,300.00

Implant TIBIAL INSERT SIZE 5 6MM

3902764

1516‐40‐506 20,064.69

Implant FEM HIP SZ 8

3902767

425‐97‐008 39,150.00

Implant Z NAIL CPM 13MMX32CM

3902766

47‐2493‐322‐13 27,183.75

Implant HEAD VARIABLE OFFSET 42MM

3902786

113034 13,650.00

Implant FEM HEAD SZ 5 RT

3902763

1504‐10‐225 31,222.13



Implant ART SURFACE LFT SZ 11

3902861

42‐5110‐004‐11 17,187.50

Implant PLATE 245.16 RECONST 3.5MM 6 HOLE

3900643

245.16 4,032.75

Implant SCREW CORTICAL 2.3X12MM NON‐TOGGLING

3902819

CO‐N2312 1,380.00

Implant SCREW CORTICAL 2.3X26MM NON‐TOGGLING

3902820

CO‐N2326 1,380.00

Implant PLATE CLAVICLE 8 HOLE 70‐0299

3902818

70‐0299 13,874.00

Implant TISSEEL 2ML

3902825

1501261 348.45

Implant PSN PK CMT FEM RM SZ 2

3902770

42‐5580‐002‐02 29,767.50

Implant PERSONA KNEE SYSTEM SZ E 8MM

3902769

42‐5282‐005‐08 17,325.00

Implant PERSONA PERSONAL KNEE SYSTEM FEMUR SZ 6

3902768

42‐5000‐060‐01 27,500.00

Implant PSN PK CMT TIB RM SZ E

3902771

42‐5380‐005‐02 20,112.50

Implant SCREW QCKFIX 30MM

3902873

AR‐8740‐30PTS 2,475.00

Implant PLATE ORBITAL RIM MAXILLOFACIAL 1

3900651‐C

420.21 3,420.00

Implant STAPLE DYNANITE 15WX15L

3902872

AR‐8719DS‐1515 30,982.50

Implant CTP EPIFIX 14MM DISK (1.5 SQCM)

3893659

855310003087

GS‐5140 4,260.75

Implant ART SURFACE RT 10MM

3902823

42‐5214‐009‐10 17,187.50

Implant ART SURFACE 10MM 8‐11

3902755

42‐5121‐009‐10 20,625.00

Implant SCREW BIOCOMP INT FULL THREAD

3902757

AR‐1400TC 3,525.00

Implant NEXGEN RH KNEE TM 10MM FULL BLK TIB SZ 3

3902880

00‐5880‐023‐10 66,364.80

Implant NEXGEN ROTATING HINGE C 12MM

3902881

00‐5880‐030‐12 33,426.00

Implant FIXED BEARING POST STABILIZER SZ 8MM

3902874

1516‐40‐808 14,581.88

Implant NEXGEN ST STEM EXT 10MM DIA X 145MM

3902878

00‐5988‐010‐10 18,607.88

Implant TIBIAL BASE FIXED BEARING

3902875

1506‐70‐009 20,057.81

Implant PLATE MAXILLOFACIAL ZYGOMATIC DCP

3900710‐C

443.45 3,645.00



Implant SCREW 611120S CANNULATED 8.0 X 120MM TL2

3211898‐C

611120S 3,705.00

Implant NEXGEN ROTATING HINGE STEM TIBIAL SZ4

3902876

00‐5880‐004‐00 67,104.00

Implant SEGMENTAL STR FLUTED STEM 11MMX 130MM

3902877

00‐5852‐050‐11 64,022.40

Implant SEGMENTAL TM COLLAR 17‐19MM 30MM

3902879

00‐5852‐041‐30 41,995.20

Implant MESH BARD VENTRALIGHT ST ECHO 2 5990011

3801423

5990011 9,100.00

Implant ATRICULEZE BALL 32 +5

3902885

1365‐22‐000 5,268.94

Implant LINER ACETABULAR 32MM

3902844

431‐32‐707 14,368.75

Implant MESH BARD VENTRALIGHT ST ECHO 2 5990015

3801424

5990015 12,425.00

Implant SCREW 1.7MM MAXILLOFACIAL 3MM

3900689‐C

400.653 1,230.00

Implant ACTIS COLLARED HIGH SZ 3

3902884

1010‐12‐030 36,248.85

Implant TIBIAL BASE ATTUNE SZ 3 CEM

3902845

1506‐80‐003 22,333.44

Implant MESH BARD VENTRALIGHT ST ECHO 2 5991015

3801458

5991015 8,015.00

Implant FEMUR CEMENTED NARROW LEFT SZ 4

3902835

42‐5020‐056‐01 27,500.00

Implant BREAST IMPLANT SMOOTH CLASSIC 235CC

3902848

350‐7235MC 13,020.00

Implant BREAST IMPLANT SMOOTH 700CC

3902849

350‐5700BC 13,818.75

Implant SCREW REVERESED LOCKING D4

3902852

DWD041 750.00

Implant TUBE G ENFIT FEEDING 20FR.

3902509

8100‐20

0294810020 473.25

Implant SCREW 1.7MM MAXILLOFACIAL 5MM

3900691‐C

400.655 1,230.00

Implant TUBE G FEEDING MIC 14FR. ENFIT

3902506

810014LV

8100‐14LV 553.80

Implant TUBE G ENFIT FEEDING 18FR.

3902508

8100‐18 461.70

Implant BI‐CORTICAL POST 4.5X 35MM

3902890

AR‐1365NS‐35 1,500.00

Implant WASHER, SPIKED

3902887

AR‐1349 1,500.00



Implant WASHER, SPIKED

3902888

AR‐1349L 1,500.00

Implant 2CRW, CANCLUS, LO‐PRO, 6.5X40MM

3902889

AR‐1358NS 1,335.00

Implant NON STERILE 28MM ACUTRAK 2

3902892

AT2‐S28 6,569.25

Implant BI‐CORTICAL POST 4.5X 47.5MM

3902891

AR‐1365NS‐475 1,500.00

Implant NON STERILE 34MM ACUTRAK 2

3902893

AT2‐S34 6,569.25

Implant 42.5 CORTICAL SCREW ARTHREX

3902886

AR‐1365NS‐425 1,500.00

Implant SCREW 2.0MM MAXILLOFACIAL 14MM

3900719‐C

401.164 705.00

Implant INFINITY TALAR DOME SZ 4

3902894

33630024 78,048.00

Implant PSN ASF PS 10MM VE R 6‐9 GH

3902616

42‐5224‐009‐10 22,859.38

Implant G7 OSSEO TI ACETABULAR SHELL 52MM

3902898

110010264 51,431.25

Implant INFINITY TIBIAL TRAY SZ 5

3902895

33650005 73,560.00

Implant G7 ACETABULAR LINER 36MM

3902899

010000857 20,625.00

Implant 32MM FEM HEAD CERAMIC

3902897

400‐03‐324 12,600.00

Implant PSN ASF PS 10MM VE R 6‐9 EF

3902617

42‐5224‐007‐10 20,625.00

Implant INFINITY POLY SZ 4 7MM

3902896

33655407 37,584.00

Implant BONE CANCELLOUS CRUSHED 1‐4MM

3902777

27715005 2,100.00

Implant INFINITY POLY SZ 4 6MM

3902778

33654406 37,584.00

Implant SCREW 2.4MM MAXILLOFACIAL 12MM

3900723‐C

401.312 633.75

Implant MESH BARD SOFT 0117011 15CM X 15CM

3902784

0117011 964.50

Implant SIGMA TC3 FEM RT SZ 5

3902772

96‐0090 80,984.40

Implant TIBIAL INSERT SZ 4 CR

3902774

1516‐30‐406 17,019.06

Implant TIBIAL INSERT TC3 RP SZ 5

3902773

96‐2361 41,314.00

Implant SCREW CORTICAL 4.0

3902788

47‐2484‐032‐40 2,574.00



Implant GLENOID ART SURFACE 46MM

3902780

00‐4326‐040‐46 23,375.00

Implant HUMERAL HEAD OFFSET 21MM

3902781

00‐4302‐046‐21 14,781.25

Implant HUMERAL STEM 14MM

3902782

00‐4348‐114‐13 37,800.00

Implant SCREW CORTICAL 4.0

3902787

47‐2484‐040‐40 2,574.00

Implant CONTINUUM LONGEVITY NEUT LINER KK 40X 56

3904081

00‐8751‐012‐40 12,600.00

Implant SCREW 602655S CANNULATED 6.5 X 55MM TL20

3211849‐C

602655S 4,179.95

Implant LEFT KNEE SYSTEM 14MM SZ E‐F/CR

3904078

42‐5121‐008‐14 20,212.50

Implant PSN KNEE SYSTEM 12MM E‐F/CR

3904079

42‐5221‐008‐12 20,212.50

Implant BIOLOX DELTA FEM HEAD 40MM+3.5MM

3904082

00‐8775‐040‐03 17,875.00

Implant 2.7 LOCKING SCREW

3904080

2359‐020‐03 2,370.00

Implant PLATE DISTAL FIBULA LOCKING

3902862

00‐2357‐017‐10 10,256.40

Implant ART SURFACE 10MM LFT

3902860

42‐5124‐008‐10 22,859.38

Implant PLATE DISTAL TIBIAL LOCKING

3902859

00‐2357‐009‐14 18,818.53

Implant SCREW UNI NCB 10MM

3902866

02.03151.010 2,088.00

Implant MESH VENTRALIGHT ST 5954810 20CM X 25CM

3902920

5954810 17,634.38

Implant TIBIAL BASE SZ 5 CEMENTED

3902870

1506‐80‐005 22,333.44

Implant SCREW 602665S CANNULATED 6.5 X 65MM TL20

3211851‐C

602665S

602665 5,030.25

Implant ARTICULAR SURFACE RT 11MM

3902966

42‐5224‐004‐11 22,859.38

Implant LINER ACETABULAR 36MM

3902642

931‐36‐764 14,368.75

Implant TIBIAL INSERT SZ6 1516‐20‐608

3902644

1516‐20‐608 14,575.00

Implant PSN FEM CR CMT CCR SZ 4

3902645

42‐5020‐056‐02 27,500.00

Implant FEMORAL NARROW SIZE 6N

3982203

1504‐10‐226 31,502.25

Implant 12/14 COCR FEMORAL HEAD 36MM+ 10.5

3902921

00‐8018‐036‐05 7,125.00



Implant CEPHALOMEDULLARY FEM NAIL LONG BLUE

3902922

47‐2493‐343‐10 27,183.75

Implant SCREW CORT NCB 5.0X14MM

3902421

02.01350.014

02.03150.014 2,286.00

Implant SCREW CORT NCB 5X20MM

3902422

02.01350.020 2,286.00

Implant SCREW VAL 2.4X14MM

3902930

AR‐8724V‐14 2,100.00

Implant SCREW 602690S CANNULATED 6.5 X 90MM TL20

3211856‐C

602690S 4,179.95

Implant SCREW VAL 2.4X20MM

3902932

AR‐8724V‐20 2,100.00

Implant PLATE DORS DIST RAD NAR 4H AR‐8916DNR‐04

3902935

AR‐8916DNR‐04 17,806.25

Implant SCREW VAL 2.4X18MM

3902931

AR‐8724V‐18 2,100.00

Implant SCREW VAL 2.4X22MM

3902933

AR‐8724V‐22 2,100.00

Implant SCREW LO PRO 3.5X14MM

3902936

AR‐8935‐14 900.00

Implant ANCHOR QFIX 1.8 MINI

3902937

72290123 6,412.50

Implant ANCHOR QFIX 1.8 MINI DISP KIT

3902938

72290125 3,750.00

Implant Z NAIL 10MM 36CM PURPLE

3902939

47‐2494‐360‐10 25,657.50

Implant PLATE DVR LOCK NARROW MINI R 1318‐110‐40

3902940

1318‐110‐40 20,487.50

Implant GRAFT STEM CELL VIVEX 10CC

3902941

VCAF‐100000 57,500.00

Implant SCREW 602700S CANNULATED 6.5 X 100MM TL2

3211858‐C

602700S 4,305.35

Implant GRAFT JRF VERSAGRAFT

3909668

VRG‐001

184306‐050 17,737.50

Implant TIBIAL INSERT SZ5 8MM

3902059

1518‐20‐508 22,763.13

Implant TIBIAL INSERT SZ 8 10MM 1516‐20‐810

3902060

1516‐20‐810 14,581.88

Implant BIOMET ILOK PRI TIB TRAY 67MM

3902924

141212 17,875.00

Implant E1 VNGD AS TIB BRG 10X67

3902925

EP‐189040 20,625.00

Implant VNGD TI FEM CR 65MM RT

3902923

CP113618 60,000.00



Implant SCREW 602900S CANNULATED 6.5 X 100MM TL4

3211875‐C

602900S

602900 5,030.25

Implant DVR LOCK WIDE L

3902746

1318‐23‐050 11,774.00

Implant STALIF M FLX 36MMX15MMX16DEGREE

3903025

SMF361516 81,600.00

Implant 2.7 LOCKING SCREW SZ 24

3902929

1312‐27‐124 1,485.00

Implant BIOMET TIBIAL LOCKING PLATE

3902749

141205 2,190.00

Implant 2.7 NON‐LOCKING SCREW SZ24

3902927

1312‐27‐224 750.00

Implant DCM TIBIAL PLATES

3902748

11‐146552 18,012.50

Implant CYTAL WND MTRX  6 LAYER 10X15CM

3805489

WSX1015 59,800.00

Implant 2.7 NON‐LOCKING SCREW SZ22

3902926

1312‐27‐222 750.00

Implant STALIF M FLX 36MMX15MMX8DEGREE

3903026

SMF361508 81,600.00

Implant CABLE READY 1.8MMX635MM

3903028

00‐2232‐004‐18 4,907.70

Implant SCREW 611040S CANNULATED 8.0 X 40MM TL25

3211882‐C

611040S 2,475.00

Implant SCREW 2.0MM DIA 12MM LENGTH

3200821‐C

F20‐12T‐09 2,722.50

Implant 2.7 NON‐ LOCKING SCREW SZ 26

3902928

1312‐27‐226 750.00

Implant WRANGER SL REVISION STEM 135NK ANGLE 17

3903027

01.00101.917 78,811.20

Implant INTERFERENCE SCREW 9X30MM

3903031

AR‐4030C‐09 4,203.75

Implant SCREW 6.0X45MM PS92009‐60‐45‐5077‐09

3903029

PS92009‐60‐45‐

5077‐09 8,400.00

Implant 2.7 LOCKING X10 SCREW

3903034

202.210 2,622.60

Implant SCREW 2.7 LOCKING X8  202.208

3903033

202.208 2,622.60

Implant 6 HOLE PLATE

3903032

02.112.009 18,222.19

Implant FEM HEAD 12/14 36MM +3.5  00‐8018‐036‐03

3903037

00‐8018‐036‐03 7,125.00

Implant SCREW 2.4 CORTEX X20  201.770

3903036

201.770 1,241.55



Implant 2.7 LOCKING X18 SCREW

3903035

202.218 2,622.60

Implant SCREW 611060S CANNULATED 8.0 X 60MM TL25

3211886‐C

611060S 4,973.25

Implant HEMISPHERICAL 3 HOLE 62MM

3903038

430‐98‐062 14,000.00

Implant HUM HEAD VERSA‐DIAL 38X19X39

3903039

113022 13,650.00

Implant SCREW ASNIS 6.5X90MM PARTIAL THREAD

3903040

602690 5,720.66

Implant LO‐PRO LOCK SCRW TI 3.0MMX12MM

3903053

AR‐8933L‐12 2,250.00

Implant DRV SFT,T10 HEXALOBE,CANN,STR

3903044

AR‐8737‐26 1,650.00

Implant T25 HEXALOBE, ISO, CANN

3903050

AR‐8770‐01 2,925.00

Implant COMPR FT SCRW 7.0 XL 85MM

3903051

AR‐8770‐85H 9,730.00

Implant LO‐PRO MTP PLT CONTRD STD L T

3903054

AR‐8944CL‐S 12,530.00

Implant SCREW 611065S CANNULATED 8.0 X 65MM TL25

3211887‐C

611065S 4,973.25

Implant SUTURE ANCHOR 3.5X15.8MM

3903043

AR‐2325BCC 5,700.00

Implant COMPRFT SCRW 5.0LG 34MMLGTH

3903047

AR‐8750‐34H 6,768.75

Implant G‐WIRE W/TRCR TIP 2.4MMX 9.25

3903052

AR‐8770K 225.00

Implant IMPLANT SYSTEM MENISCAL ROOT REPAIR

3903041

AR‐4550 13,930.00

Implant COMPR FT SCRW 5.0 LG 60MM LGTH

3909048

AR‐8750‐60H 6,768.75

Implant INTERSPACE FOR KNEE

3903048

SPK0222 54,937.50

Implant TENODESIS SCREW

3903042

AR‐1655PS 4,061.25

Implant T15 HEXALOBE, ISO, CANN

3903045

AR‐8750‐03 2,925.00

Implant G‐WIRE W/TRCP TIP .062X9.25

3903049

AR‐8750K 225.00

Implant SCREW PERIPH 5.0X 14MM

3903057

DWJ314 750.00

Implant SCREW 611130S CANNULATED 8.0 X 130MM TL2

3211900‐C

611130S 2,475.00

Implant SCREW PERFORM REVERSED 5.0MM

3903058

DWJ318 750.00



Implant BASEPLATE HALF WEDGE 35DEG 25MM

3903060

DWJ504 33,075.00

Implant GLENOSPHERE PERFORM 36MM

3903061

DWJ012 26,125.00

Implant SCREW PERFORM 5X26MM

3903059

DWJ326 750.00

Implant SCREW REVERSE 6.5MMX40MM NON‐STERILE

3903056

DWJ140 8,400.00

Implant DBM GEL ALLOSYNC 1CC

3905478

ABS‐2013‐01 3,000.00

Implant 45 KNOLLESS 4.5MM SUTURE ANCHOR

3903063

11175 4,631.25

Implant PEEK KNOTLESS ANCHOR SYSTEM DOUBLE DOUBL

3903064

3910‐500‐472 13,930.00

Implant 7.0MM THREAD CANN SCRW 100MMX32MM

3903068

1147‐100‐71 3,168.00

Implant COMP NLK SCR 3.5HEX 4.75X30ST

3903065

180560 1,965.00

Implant WASHER FOR 6.5/8.0 CANNULATED SCREW

3211901‐C

619904 795.00

Implant SCREW 7 THREAD CANN 95X32MM 1147‐095‐71

3903066

1147‐095‐71 3,168.00

Implant SCREW 7 THREAD CANN 105X32MM 1147‐105‐71

3903067

1147‐105‐71 3,168.00

Implant 7.0 THREAD CANN SCREW 35MMX16MM

3903071

1147‐035‐70 5,016.00

Implant 7.0MM THREAD CANN SCREW 40MMX16MM

3903072

1147‐040‐70 5,016.00

Implant 7.0MM THREAD CANN SCREW 60MMX16MM

3903076

1147‐060‐70 5,016.00

Implant 7.0MM THREAD CANN SCREW 80MMX16MM

3903080

1147‐080‐70 3,168.00

Implant 7.0MM THREAD CANN SCREW 85MMX16MM

3903081

1147‐085‐70 3,168.00

Implant 7.0MM THREAD CANN SCREW 75MMX16MM

3903079

1147‐075‐70 3,168.00

Implant 7.0MM THREAD CANN SCREW 100MMX16MM

3903084

1147‐100‐70 3,168.00

Implant 7.0MM THREAD CANN SCREW45MMX32MM

3903095

1147‐045‐71 3,168.00

Implant FIXATOR MONOTUBE TRIAX WRIST

3800461

5150‐9‐960 29,902.50

Implant 7.0MM THREAD CANN SCREW 50MMX16MM

3903074

1147‐050‐70 5,016.00

Implant 7.0MM THREAD CANN SCREW 120MMX16MM

3903088

1147‐120‐70 5,016.00



Implant 7.0MM THREAD CANN SCREW 125MMX16MM

3903089

1147‐125‐70 5,016.00

Implant 7.0MM THREAD CANN SCREW 45MMX16MM

3903073

1147‐045‐70 3,168.00

Implant 7.0MM THREAC CANN SCREW 105MMX16MM

3903085

1147‐105‐70 3,168.00

Implant 7.0MM THREAD CANN SCREW 110MMX16MM

3903086

1147‐110‐70 3,168.00

Implant 7.0MM THREAD CANN SCREW 30MMX16MM

3903070

1147‐030‐70 5,016.00

Implant 7.0MM THREAD CANN SCREW 95MMX16MM

3903083

1147‐095‐70 3,168.00

Implant 7.0MM THREAD CANN SCREW 115MMX16MM

3903087

1147‐115‐70 5,016.00

Implant 7.0MM THREAD CANN SCREW 55MMX16MM

3903075

1147‐055‐70 5,016.00

Implant SCREW 2.0MM DIA 11MM LENGTH

3200820‐C

F20‐11T‐09 2,280.00

Implant 7.0MM THREAD CANN SCREW 90MMX16MM

3903082

1147‐090‐70 3,168.00

Implant 7.0MM THREAD CANN SCREW 65MMX16MM

3903077

1147‐065‐70 5,016.00

Implant 7.0MM THREAD CANN SCREW 70MMX16MM

3903078

1147‐070‐70 5,016.00

Implant ART SURFACE PARTIAL SIZE F

3903120

42‐5282‐006‐08 17,325.00

Implant ART SURFACE LFT 10MM

3903122

42‐5124‐010‐10 22,859.38

Implant SCREW COMP FT 7.0 XL

3903126

AR‐8770‐50H 9,730.00

Implant SCREW COMP 7.0X55MM

3903127

AR‐8770‐55H 9,730.00

Implant 7.0MM FULL THREAD CANN SCREW 50MM

3903128

1147‐050‐72 5,016.00

Implant 7.0MM FULL THREAD CANN SCREW 65MM

3903131

1147‐065‐72 5,016.00

Implant 7.0MM FULL THREAD CANN SCREW 130MM

3903144

1147‐130‐72 5,016.00

Implant SCREW 2.0MM DIA. 17MM LENGTH

3200826‐C

F20‐17T‐09 2,280.00

Implant 7.0MM FULL THREAD CANN SCREW 60MM

3903130

1147‐060‐72 5,016.00

Implant 7.0MM FULL THREAD CANN SCREW 70MM

3903132

1147‐070‐72 5,016.00

Implant 7.0MM FULL THREAD CANN SCREW 80MM

3903134

1147‐080‐72 3,168.00



Implant 7.0MM FULL THREAD CANN SCREW 100MM

3903138

1147‐100‐72 5,016.00

Implant 7.0MM FULL THREAD CANN SCREW 110MM

3903140

1147‐110‐72 5,016.00

Implant 7.0MM FULL THREAD CANN SCREW 115MM

3903141

1147‐115‐72 5,016.00

Implant 7.0MM FULL THREAD CANN SCREW 120MM

3903142

1147‐120‐72 5,016.00

Implant 7.0MM FULL THREAD CANN SCREW 95MM

3903137

1147‐095‐72 5,016.00

Implant 7.0MM FULL THREAD CANN SCREW 105MM

3903139

1147‐105‐72 5,016.00

Implant SCREW 2.0MM DIA. 18MM LENGTH

3200827‐C

F20‐18T‐09 2,730.00

Implant 7.0MM FULL THREAD CANN SCREW 125MM

3903143

1147‐125‐72 5,016.00

Implant 7.0MM FULL THREAD CANN SCREW 75MM

3903133

1147‐075‐72 5,016.00

Implant 7.0MM FULL THREAD CANN SCREW 90MM

3903136

1147‐090‐72 5,016.00

Implant 5.0MM THRU 7.0MM WASHERS

3903148

1147‐098‐00 870.00

Implant ANGEL SYSTEM WITH ASPIRATION KIT ACSA

3903151

ABS‐10062T 13,720.00

Implant IOBP CORE DECOMPRESSION/ DELIVERY FIT 3903152 8,050.00

Implant 7.0MM FULL THREAD CANN SCREW 85MM

3903135

1147‐085‐72 3,168.00

Implant ATTUNE KNEE SYSTEM TIBAL BASE ROTATE PLA

3903154

1506‐80‐004 22,336.88

Implant ATTUNE TIBIAL INSERT SZ 4 ROTATING PLAT

3903155

1516‐30‐408 17,019.06

Implant GRAFT PROCHONDRIX 20MM

3903184

735472010 76,200.00

Implant SCREW 2.0MM DIA 24MM LENGTH

3200834‐C

F20‐24T‐09 2,730.00

Implant 3.0MMX355MM THREADED PIN

3903160

00‐2490‐014‐30 1,512.00

Implant 42MM CORTICAL BONE SCREW

3903170

14022‐24 525.00

Implant EXCHANGE TUBE HUMERAL NAIL

3903174

1127 2,535.00

Implant 42MM BONE CORTICAL SCREW

3903167

14022‐42 525.00

Implant EXPLOR 8X28MM RADIAL STEM

3903164

11‐210063 28,890.00

Implant 3.5X22 NON‐LOCKING SCREW

3903157

30‐0262 1,200.00



Implant 1.7MM SQUARE DRIVER

3903162

2312‐00‐101 1,170.00

Implant 38MM CORTICAL BONE SCREW

3903168

14022‐38 525.00

Implant RIGHT MTP PLATE 9

3903156

70‐0037 9,828.00

Implant SCREW 3.0MM DIA. 18MM L

3200839‐C

F30‐18T‐11 2,280.00

Implant SCREW 3.0MM DIA. 26MM L

3200843‐C

F30‐26T‐11 2,700.00

Implant EXPLOR 14X24MM RADIAL HEAD

3903163

11‐210043 28,890.00

Implant 9MMX220MM UNIVERSSAL HUMERAL NAIL

3903166

1817‐09‐221 19,167.50

Implant NATURAL NAIL LAG SCREW 10.5MMX 80MM

3903165

47‐2485‐080‐10 6,805.80

Implant 22MM CORTICAL BONE SCREW

3903169

14022‐22 525.00

Implant FLUSH IMPING 1ST SCREW

3903171

1817‐01‐001 2,280.00

Implant 7.0MM CANN SCREW 32MMTHD 105MM

3903181

00‐1147‐105‐71 3,168.00

Implant 12/14 COCR FEMORAL HEAD 32MM +0

3903178

00‐8018‐032‐02 7,125.00

Implant 7.0 CANN SCREW 32MMTHD 95MM

3903180

00‐1147‐095‐71 3,168.00

Implant 7.0MM CANN SCREW 32MMTHD 100MM

3903182

00‐1147‐100‐71 3,168.00

Implant MICRO MATRIX MM1000

3903177

M1000

MM1000 33,534.00

Implant SCREW 3.0MM DIA. 38MM L

3200849‐C

F30‐38T‐11 2,430.00

Implant SZ 6 TAPERED STEM LATERAL OFF SET

3903179

425‐97‐006 39,150.00

Implant GRAFT OSTEOCHONDRAL FRESH HEMI CONDYLE

3903185

2685 149,442.50

Implant MINI TIGHTROPE REPAIR IMPLANT

3903889

AR‐8911DS 7,350.00

Implant PLATE DVR LOCK NARROW MINI RT 1318‐11‐04

3903859

1318‐11‐040 11,774.00

Implant BONE STAPLE CROSSROADS 7118‐1818KT

3903589

7118‐1818KT 18,562.50

Implant PSN MC VE ASF L 10MM 6‐7/EF

3903186

42‐5121‐007‐10 20,625.00

Implant PSN FEM PS CMT CCR NRW SZ 6 R

3903187

42‐5000‐060‐02 27,500.00



Implant VERSYS CEM LD/FX SZ 14X135MM

3903188

00‐7833‐014‐00 14,000.00

Implant LINER ACETABULAR 36MM

3903189

1221‐36‐456 12,404.00

Implant SCREW 3.0MM DIA 40MM LO

3200850‐C

F30‐40T‐11 2,430.00

Implant FEMORAL STEM ACTIS SZ 8

3903190

1010‐12‐080 34,313.63

Implant GRAFT ALLOFUSE PLUS DBM 8CC

3903191

90238008 12,397.00

Implant SCREW COMP FT 5.0 LG 36MM

3903192

AR‐8750‐36H 6,768.75

Implant SCREW COMP FT 5.0 LG 50MM

3903193

AR‐8750‐50H 6,768.75

Implant SCREW COMP FT 7.0 XL 75MM

3903194

AR‐8770‐75H 9,730.00

Implant PLATE DIST LAT POST HUM 5H LT

3903195

00‐2358‐006‐05 10,861.20

Implant SCREW COMP 30MM

3903198

47‐1162‐030‐00 918.00

Implant PLATE DIST MED HUM 3H LT

3903196

00‐2358‐008‐03 10,424.40

Implant SCREW 4.0MM DIA 30MM LO

3200856‐C

F40‐30T‐11 2,580.00

Implant NAIL Z 5.0X80 CORT SCREW FA

3903201

47‐2484‐080‐50 2,574.00

Implant NAIL Z RF 13MM X 36CM UNIV

3903200

47‐2494‐360‐13 25,665.75

Implant ANCHOR KNOTLESS 2.8MM PEEK

3903204

10312 4,631.25

Implant SCREW CORTICAL 3.5X16MM 00‐4835‐016‐04

3903206

00‐4835‐016‐04 288.00

Implant STEM FEM ACTIS SZ 7 STD

3903205

1010‐11‐070 35,437.50

Implant NAIL Z 5.0X85 CORT SCREW FA

3903202

47‐2484‐085‐50 2,574.00

Implant PLATE COMPRESSION 25MM 2HOLE

3903203

00‐4935‐002‐00 1,395.00

Implant TIBIAL INSERT SZ 6

3903534

1516‐30‐605 17,019.06

Implant TIBIAL BASE ROTATING SZ6

3903533

1506‐80‐006 22,333.44

Implant SCREW 4.0MM DIA. 45MM L

3200862‐C

F40‐45T‐11 3,727.50

Implant Z NAIL TIBIA 9.3MM X 38CM

3903207

47‐2495‐380‐09 19,775.25



Implant PSN ART SURF LEFT 10MM 8‐11

3903208

42‐5121‐008‐10 20,625.00

Implant PSN ART SURF RIGHT 10MM 6‐7

3903209

42‐5221‐007‐10 20,625.00

Implant Z NAIL CPM 10MMX38CM 130 R

3903210

47‐2493‐382‐10 27,183.75

Implant BIOLOX DELTA OPTION FEM HEAD 36MM

3903211

00‐8777‐036‐01 31,045.95

Implant SCREW LP PRO TI 4.5X30MM

3903213

AR‐8545‐30 1,125.00

Implant ALLOGRAFT DENOVO NT

3903835

DENOVO‐NT

00‐5606‐000‐10 58,375.00

Implant PSN ASF CPS 14MM VE R 6‐9EF

3903883

42‐5226‐007‐14 35,589.38

Implant SCREW 4.0MM DIA. 50MM L

3200863‐C

F40‐50T‐11 3,600.00

Implant CP TUBE #8 TRACH LOW PRESSURE CUFF

0017831LUM

8LPC

3583008LPC 907.80

Implant CP TUBE #8 TRACH FENESTRATED LO

0017832LUM

8FEN

3583008FEN 898.35

Implant K‐WIRE 0.8 X 70MM TROCAR POINT 1 END

3200290

4901‐08‐07

00‐4901‐008‐07 114.30

Implant K‐WIRE STYLE 7  .045 (0186‐002‐79)

3200811

186‐02‐79

00‐0186‐002‐79 102.00

Implant CP TUBE #6 TRACH LOW PRESSURE CUFF

0017822LUM

6LPC

3583006LPC 907.80

Implant K‐WIRE STYLE 7  .062 (0186‐003‐79)

3200812

186‐03‐79

00‐0186‐003‐79 102.00

Implant PSN PARTIAL TIBIA SZ H LFT MEDIAL

3903869

42‐5380‐008‐01 20,212.50

Implant SCREW NON LOCKING 3.5X12MM

3903861

30‐0256 1,200.00

Implant FEM HIP P2 SZ5

3903867

425‐97‐005 39,150.00

Implant ART SURFACE LFT 16MM

3903868

42‐5121‐008‐16 20,625.00

Implant SCREW LOCKING SQUARE 10MM

3903864

1312‐27‐110 1,485.00



Implant PSN PARTIAL FEMUR SZ 7 LEFT MEDIAL

3903870

42‐5380‐007‐01

42‐5580‐007‐01 29,767.50

Implant STEINMAN PIN STYLE 6  2.8X229MM 7/64

3600938

00‐0187‐003‐69 118.50

Implant SCREW LOCKING HEXALOBE 3.5X10MM

3903860

30‐0233 1,875.00

Implant PSN MC VE ASF R 10MM8‐11

3903866

42‐5221‐008‐10 20,625.00

Implant SCREW LOCKING SQAURE 12MM

3903865

1312‐27‐112 1,485.00

Implant PLATE CLAV 8 HOLE STR LEFT 70‐0298

3903862

70‐0298 14,176.25

Implant PLATE DVR LOCK MINI R 1318‐12‐040

3903863

1318‐12‐040 1,174.00

Implant PSN PARTIAL ART SURF SZ H LFT MEDIAL

3903871

42‐5182‐008‐10 17,325.00

Implant TIBIAL NAIL 8.3MM 34CM

3903216

47‐2495‐340‐08 19,775.25

Implant SCREW CORTICAL 4X 3.5MM

3903217

47‐2484‐045‐40 2,574.00

Implant PSN ART SURF 12MM VE

3903950

42‐5124‐008‐12 20,625.00

Implant PSN ART SURF 11MM VE

3903951

42‐5124‐008‐11 20,625.00

Implant STEINMAN PIN THREAD STYLE 6  3.6X229MM

3600945

00‐0262‐003‐04 121.35

Implant K‐WIRE STYLE 1  .7MM DIA X 102MM

3200295

186‐04‐14

00‐0186‐004‐14 102.00

Implant SCREW COMP FT 5.0X55MM

3903220

AR‐8750‐55H 6,768.75

Implant SCREW COMP FT 7.0X95MM

3903219

AR‐8770‐95H 9,730.00

Implant AMS 700 LGX PUMP 15CM

3903021

72404251 120,750.00

Implant TIBIAL BASE SZ 7 CEMENTED

3904001

1506‐80‐007 22,336.88

Implant MENISCAL ROOT REPAIR W/SWIVEL LOCK

3904003

AR‐4550P 19,181.25

Implant TIBIAL INSERT SZ 7 CR

3904002

1516‐30‐707 17,170.31

Implant INSERT TIBIAL ROT SZ 7 6MM

3901996

1516‐30‐706 17,019.06

Implant LINER G7 DUAL MOBILITY 40MM D 110024462

3900008

110024462 31,502.25



Implant SCREW CANC LG HEX FULL THREAD 6.5X100MM

3200112‐C

00‐4865‐100‐00 486.00

Implant BEARING DUAL MOBILITY EP‐200146

3900009

EP‐200146 30,375.00

Implant SHELL G7 OSSEO 3 HOLE 50MM D

3901997

110010243 44,278.00

Implant FEMORAL STEM 12/14 TAPER

3904006

1010‐11‐030 35,437.50

Implant BONE CANCELLOUS CRUSHED 15CC

3904007

27715015 3,840.38

Implant DYNACLIP 20MM

3904009

3000‐00‐201818 32,744.25

Implant DYNACLIP 18MM

3904008

3000‐00‐181818 30,314.25

Implant ARTHROFLEX AFLEX401  40X70MM 1.0MM THCK

3904011

AFLEX401 35,815.50

Implant SCREW ACUTRAK 7.5 80MM

3904013

30‐0780 7,336.00

Implant SCREW ACUTRAK 4.7 50MM

3904012

30‐0650 6,654.75

Implant FEMORAL STEM ACTIS SZ 1

3904017

1010‐11‐010 34,330.50

Implant SCREW 6.5 X 55MM CANC LG HEX FULL THD

3200115‐C

00‐4865‐055‐00 468.00

Implant HUMERAL ASSY 4IN SMALL

3904018

32‐8105‐025‐04 64,800.00

Implant ULNA ASSY 3IN XZML LT

3904019

32‐8105‐043‐01 61,250.00

Implant FEMORAL HEAD ATICULEZE 32MM

3904020

1365‐23‐000 7,626.50

Implant FEMORAL HIP SZ 10 P2 POROUS COATED

3901162

425‐31‐010 39,150.00

Implant STEM SZ 10 LATERAL OFFSET TAPERFILL

3901111

425‐41‐010 39,150.00

Implant ZNAIL CM NAIL CAP 10MM

3911254

47‐2487‐002‐10 2,664.00

Implant SCREW CANNULATED 105MM

3904021

6027‐105 4,346.25

Implant ANCHOR PEEK KNOTLESS, SINGLE

3905421

3910‐500‐391 6,412.50

Implant SCREW 6.5 X 85MM CANC LG HEX FULL THD

3200220‐C

00‐4865‐085‐00 486.00

Implant PLATE CSLP 3 LEVEL 59MM

3904029

487.351 16,252.50

Implant SCREW CORTEX 4.35MM

3904028

487.056 4,770.19



Implant KIT ITOTAL CR‐IPOLY XE KNEE

3904030

TCR1211111 62,400.00

Implant GLENOID CORTILOC PEGGED M35

3904032

DWE412 20,625.00

Implant NUCLEUS SIMPLICITI SZ 3

3904033

DWG403 45,500.00

Implant PSN ART SURF VE 12MM

3904035

42‐5121‐008‐12 20,625.00

Implant HUMERAL HEAD

3904034

7122874 20,625.00

Implant MESH BARD SOFT 0117016 30.5CM X 30.5CM

3904036

0117016 1,965.00

Implant OSTEOSET RESORBABLE MINI BEAD

3904039

84000611 14,643.75

Implant PLATE COMPRESSION 2.7 X 68MM 8H 2.5M THK

3200314‐C

00‐4927‐008‐00 2,295.00

Implant FEMUR PARTIAL LFT SZ 6

3904037

42‐5580‐006‐01 29,767.50

Implant PARTIAL ART SURF 8MM SZ H

3904038

42‐5182‐008‐08 17,325.00

Implant STENT ULTRA URETERAL 4.7FR 22CM

3904045

192121 2,109.45

Implant FEM STEM SZ 10 12/14 TAPER

3904047

65‐7711‐010‐00 32,062.50

Implant SCREW LP NON LOCK 2.7MM X20MM

3906049

131227220 750.00

Implant PLATE DVR LOCK STANDARD L 131822050

3906048

131822050 11,774.00

Implant ENCORE SUSPENSION KIT

3987738

FG0002 31,387.50

Implant SCREW ACUTRAK 4.7 X 4.0

3990012

30‐0640 6,654.75

Implant ACETABULAR LINER 32MM SZJJ

3904050

00‐8752‐011‐32 12,600.00

Implant SCREW LOCKING 27X22MM

3904051

00‐1312‐27‐220 750.00

Implant PLATE COMPRESSION 2.7 X84MM 10H 2.5M THK

3200316‐C

00‐4927‐010‐00 2,655.00

Implant INSERT CERAMAX 64MM

3900453

1218‐87‐664 21,415.21

Implant SHELL GRIPTION 64MM

3900454

1217‐32‐064 23,412.40

Implant ART SURFACE 12MM PSN

3904053

42‐5124‐010‐12 20,625.00

Implant TUBE GASTRO 18FR 8140‐18‐2.0

3904054

8140‐18‐2.0 1,536.60



Implant SCREW AEQ REVERSED LOCKING D4

3904607

DWD047 750.00

Implant TPRLC 133 MP TYPE 1 PPS 14.0

3904615

51‐107140 32,062.50

Implant COCR MOD HD 36MM

3904616

11‐363661 7,125.00

Implant MEDIAL INSERT 6MM ITOTAL

3904061

TCR1211111‐6MI 20,790.00

Implant PATELLA 35MM X 7MM ITOTAL

3904062

PAT0213507 20,790.00

Implant LATERAL INSERT‐A ITOTAL

3904060

TCR1211111‐ALI 20,790.00

Implant PLATE COMPRESSION 2.7X100MM 12H 2.5M THK

3200317‐C

00‐4927‐012‐00 3,015.00

Implant LINER 10DEG 60 X 36MM 3.5MM OFFSET

3940234

6310‐60‐36 12,600.00

Implant SCREW PEDICLE 5.0X35MM

3904023

PS92009‐50‐35‐

5077‐02 8,400.00

Implant ROD STRAIGHT 300MM

3904048

PSN60000309 6,412.50

Implant SCREW PEDICLE 5.0X40MM

3904042

PS92009‐50‐40‐

5077‐03 8,400.00

Implant G7 OSSEOTI MULTIHOLE 54MM SHELL

3904057

110010265 51,431.25

Implant ARCOS CON SZ B STD 60MM

3904066

11‐301302 87,852.00

Implant CER OPTION TYPE 1 TPR SLEVE‐3

3904059

650‐1065

650‐1068 2,250.00

Implant ARCOS 14X190MM SPL TPR DIST

3904067

11‐300914 49,049.00

Implant G7 OSSEOTI MULTIHOLE 56MM SHELL

3904056

110010266 51,431.25

Implant MOD FEMORAL PROX LOCKING SCREW

3904065

11‐301000 12,446.00

Implant SCREW CORTICAL MINI CRUCIFORM 2.0X8MM

3200356‐C

00‐4820‐008‐02 270.00

Implant CER BIOLOX HD 28MM

3904058

650‐1055

DWD171 20,926.13

Implant CERAMIC HEAD 650‐1057

3904073

2951989

650‐1057 32,292.00

Implant G7 4 HOLE ACETABULAR SHELL 110010245

3904071

110010245 44,278.00



Implant POROUS COATED STEM 12X109MM 51‐107120

3904074

51‐107120 32,062.50

Implant BIOLOX DELTA INSRT STD 650‐1066

3904072

650‐1066 2,250.00

Implant TISSEEL 4ML FREEZE DRIED

3903322

1504515 3,397.65

Implant TISSEEL 2ML FREEZE DRIED

3902826

1504514 2,264.55

Implant ROD CURVED 80MM

3903321

PS92006‐80 1,500.00

Implant KIT INTRODCER LAPAROSCOPIC 24FR  MIC‐KEY

3987716

10226‐03

10226 3,467.85

Implant TORNIER GLENOID CORTLOC PEGGE DWE431

3904049

DWE431 20,625.00

Implant SHELL MULTI POLAR 53MM 5001‐53

3200371‐C

5001‐53 4,987.50

Implant 5.5MM V‐LOX ANCHOR 11026

3904075

11026 4,631.25

Implant AEQ REV LOCKING SCREW DWD044

3904084

DWD044 750.00

Implant AEQ REV 2 GLENOID BASE DWD171

3904085

DWD171 20,926.13

Implant AEQ REV 2 ECTRC GLNOD SPHER DWD182

3904086

DWD182 26,125.00

Implant DYNACLIP BONE FIX SYSTEM 3000‐00‐101010

3904089

3000‐00‐101010 25,925.63

Implant 30M STANDARD SCREW ACUMED AT2‐530

3904090

AT2‐530 6,569.25

Implant PSN MCVE ASF L 11MM 6‐7EF 42‐5121‐007‐11

3904091

42‐5121‐007‐11 20,625.00

Implant 3.2MM PEG 40MM 110025340

3904093

110025340 1,650.00

Implant 3.5X26MM T 15 LP CORT 110017726

3904095

110017726 825.00

Implant INTEGRA BILAYER WOUND MATRIX MWM4051

3904102

MWM4051 97,644.00

Implant SHELL MULTI POLAR 54MM 5001‐54

3200372‐C

5001‐54 6,734.55

Implant 3.5MMX28MM T15 LP CORT 110017728

3904096

110017728 825.00

Implant 3.5MM CORT LOCK 42MM 816135042

3904097

816135042 1,725.00

Implant 3.2MM PEG 36MM 110025336

3904094

110025336 1,650.00

Implant SCREW 3.5MM CORT LOCK 50MM 816135050

3904100

816135050 1,725.00



Implant SCREW 35.MM CORT LOCK 60MM 816135060

3904101

816135060 1,725.00

Implant PRX HUM HI PLT 14H 234MM 110030304

3904092

110030304 27,073.75

Implant CER BIOLOXD 28MM 650‐1055

3904103

650‐1055 32,143.50

Implant INFINITY POLY 2+8MM 33653208

3904104

33653208 20,625.00

Implant STEM INBONE 10MM LG 200347901

3904105

200347901 17,187.50

Implant POLY INSERT INFINITY SZ 210MM 33653210

3904107

33653210 20,625.00

Implant SCREW CORTICAL ST SML HEX 3.5X10MM

3200374‐C

00‐4835‐010‐01 333.00

Implant STEINMAN PIN STYLE 6  2.4X229MM 3/32

3600937

00‐0187‐002‐69 118.50

Implant SCREW 3.0X18MM NON‐LOK HEX 30‐0306

3904112

30‐0306 1,320.00

Implant DOME INBONE TALAR SZ 2  220220902

3904106

220220902 56,250.00

Implant SCREW 3.5X22MM LOC HEX 30‐0239

3904110

30‐0239 1,875.00

Implant SCREW 3.5X8MM NON‐LOC HEX 30‐0255

3904111

30‐0255 1,200.00

Implant SCREW 3.5X16MM LOCK HEX 30‐0236

3904109

30‐0236 2,070.00

Implant SCREW 2.7X18MM LOCK SCREW 131227118

3904116

131227118 1,485.00

Implant PLATE DVR LOCK MINI R 131812040

3904120

131812040 11,774.00

Implant SCREW 2.7X14MM LOCK SCREW 131227114

3904114

131227114 1,485.00

Implant SCREW 2.7X 14MM LP NON LOCK 131227214

3904118

131227214 750.00

Implant SCREW 2.7X20MM LOCK SCREW 131227120

3904117

131227120 1,485.00

Implant SCREW CORTICAL ST SML HEX 3.5X16MM

3200377‐C

00‐4835‐016‐01 333.00

Implant SCREW 2.7X22MM LOCK SCREW 131227122

3904115

131227122 1,485.00

Implant TPRLC 133 MP TYPE 1 PPS SO 11.0

3904127

51‐106110 32,062.50

Implant SCREW 1.5X14MM NON LOCKING 1312‐20‐54

3904128

1312‐20‐54 1,005.00

Implant ANCHOR 6.5MM V‐LOX 11027

3904131

11027 4,275.00



Implant SCREW 1.5X14MM LOCKING 1312‐20‐413

3904123

1312‐20‐413 1,005.00

Implant SCREW 1.5X20MM LOCKING 1312‐20‐420

3904122

1312‐20‐420 1,005.00

Implant ACEATAB SHELL 52MM 1217‐30‐052

3904129

1217‐30‐052 27,180.31

Implant SCREW 7X80MM AR‐8770‐80H

3904121

AR‐8770‐80H 9,730.00

Implant ARTICULAR SURF 10MM 42‐5114‐006‐10

3904124

42‐5114‐006‐10 17,187.50

Implant VERSYS DISTAL 12MM CENT 00‐7859‐012‐00

3904132

00‐7859‐012‐00 1,509.75

Implant SCREW CANC SM HEX FULL THREAD 4.0X50MM

3200403‐C

00‐4840‐050‐00 270.00

Implant HUMERAL STEM 15MM 48 DEG 4348‐115‐13

3904134

4348‐115‐13 40,500.00

Implant GLENOID COMP 52MM  00‐4326‐052‐00

3904135

00‐4326‐052‐00 23,375.00

Implant CYTAL WOUND MATRIX 5X5CM  WSX0505

3904138

WSX0505 17,077.50

Implant WOUND MATRIX 7X10CM 3 LAYER  WSR0710

3904139

WSR0710 28,255.50

Implant HUMERAL HEAD 23MM OFF SET 4302‐52‐23

3904133

4302‐52‐23 19,250.00

Implant CYTAL WOUND MATRIX 7X10CM  WSX0710

3904137

WSX0710 37,632.60

Implant ARTHORFLEX  AFLEX400 40X40MM(16SQCM)

3904158

AFLEX400 29,376.00

Implant SCREW INT 7X20MM VENTED

3904141

AR‐4020C‐07 4,203.75

Implant BUTTON TIGHTROPE ABS 14MM

3904140

AR‐1588TB‐4 3,360.00

Implant SCREW 4.0 X 60MM CANC SM HEX FULL THD

3200405‐C

00‐4840‐060‐00 270.00

Implant 10MM CARTIVA INSTRUMENT MTK‐10

3904147

MTK‐10 5,486.25

Implant 10MM CARTIVA CAR‐10‐US

3904146

CAR‐10‐US 41,600.00

Implant PSN ASF PS 11MM L 42‐5114‐004‐11

3904144

42‐5114‐004‐11 17,187.50

Implant 11MM FIXATION KIT TIB AR‐1588TN‐2

3904149

AR‐1588TN‐2 5,814.00

Implant 9MM PARTALLEL GRAFT KNIFE AR‐2285‐09

3904150

AR‐2285‐09 705.00

Implant 10MM TENDON STRIPPER BLADE AR‐2385‐10

3904151

AR‐2385‐10 2,625.00



Implant 9.0MM FLEX REAMER AR‐1400F‐90

3904148

AR‐1400F‐90 4,987.50

Implant FIBERLOOP W/TAG AR‐7266

3904152

AR‐7266 1,875.00

Implant SCREW 6.5X75X16MM CANN THRED 1147‐075‐65

3904161

1147‐075‐65 4,873.50

Implant SCREW 6.5X95X16MM CANN THRED 1147‐095‐65

3904165

1147‐095‐65 3,078.00

Implant SCREW CANC SM HEX PART TREAD 5M 4.0X14MM

3200413‐C

00‐4840‐014‐01 270.00

Implant SCREW6.5X100X16MM CANN THRED 1147‐100‐65

3904166

1147‐100‐65 4,873.50

Implant SCREW6.5X150X16MM CANN THRED 1147‐150‐65

3904176

1147‐150‐65 4,873.50

Implant SCREW6.5X50X32MM CANN THRED 1147‐050‐66

3904178

1147‐050‐66 4,873.50

Implant SCREW 6.5X60X32MM CANN THRED 1147‐060‐66

3904180

1147‐060‐66 4,873.50

Implant SCREW 6.5X35X19MM CANN THRED 1147‐035‐65

3904154

1147‐035‐65 4,873.50

Implant SCREW 6.5X70X16MM CANN THRED 1147‐070‐65

3904160

1147‐070‐65 3,078.00

Implant SCREW 6.5X85X16MM CANN THRED 1147‐085‐65

3904163

1147‐085‐65 3,078.00

Implant SCREW 6.5X75X32MM CANN THRED 1147‐075‐66

3904183

1147‐075‐66 4,873.50

Implant SCREW 6.5X80X32MM CANN THRED 1147‐080‐66

3904184

1147‐080‐66 4,873.50

Implant SCREW 6.5X30X16MM CANN THRED 1147‐030‐65

3904153

1147‐030‐65 4,873.50

Implant SCREW 4.0X16MM CANC SM HEX PART THD 6MM

3200414‐C

00‐4840‐016‐01 270.00

Implant SCREW 6.5X45X16MM CANN THRED 1147‐045‐65

3904156

1147‐045‐65 4,873.50

Implant SCREW6.5X125X16MM CANN THRED 1147‐125‐65

3904171

1147‐125‐65 4,873.50

Implant SCREW6.5X145X16MM CANN THRED 1147‐145‐65

3904175

1147‐145‐65 4,873.50

Implant SCREW 6.5X80X16MM CANN THRED 1147‐080‐65

3904162

1147‐080‐65 4,873.50

Implant SCREW6.5X110X16MM CANN THRED 1147‐110‐65

3904168

1147‐110‐65 4,873.50

Implant SCREW6.5X115X16MM CANN THRED 1147‐115‐65

3904169

1147‐115‐65 4,873.50

Implant SCREW6.5X130X16MM CANN THRED 1147‐130‐65

3904172

1147‐130‐65 4,873.50



Implant SCREW6.5X140X16MM CANN THRED 1147‐140‐65

3904174

1147‐140‐65 4,873.50

Implant SCREW 6.5X50X16MM CANN THRED 1147‐050‐65

3904157

1147‐050‐65 4,873.50

Implant SCREW 6.5X65X32MM CANN THRED 1147‐065‐66

3904181

1147‐065‐66 4,873.50

Implant SCREW 4.0X30MM CANC SM HEX PART THD 14M

3200422‐C

00‐4840‐030‐01 270.00

Implant SCREW 6.5X90X16MM CANN THRED 1147‐090‐65

3904164

1147‐090‐65 3,078.00

Implant SCREW6.5X135X16MM CANN THRED 1147‐135‐65

3904173

1147‐135‐65 4,873.50

Implant SCREW 6.5X40X16MM CANN THRED 1147‐040‐65

3904155

1147‐040‐65 4,873.50

Implant SCREW 6.5X65X16MM CANN THRED 1147‐065‐65

3904159

1147‐065‐65 3,078.00

Implant SCREW6.5X105X16MM CANN THRED 1147‐105‐65

3904167

1147‐105‐65 3,078.00

Implant SCREW6.5X120X16MM CANN THRED 1147‐120‐65

3904170

1147‐120‐65 4,873.50

Implant SCREW6.5X45X32MM CANN THRED 1147‐045‐66

3904177

1147‐045‐66 4,873.50

Implant SCREW 6.5X55X32MM CANN THRED 1147‐055‐66

3904179

1147‐055‐66 4,873.50

Implant SCREW 6.5X70X32MM CAN THRED 1147‐070‐66

3904182

1147‐070‐66 4,873.50

Implant SCREW6.5X125X32MM CANN THRED 1147‐125‐66

3904193

1147‐125‐66 4,873.50

Implant HEAD 7818‐60 60MM HIP

3200452‐C

7818‐60

00‐7818‐060 4,346.25

Implant SCREW 6.5X50MM FULL THRED 1147‐050‐67

3904205

1147‐050‐67 4,873.50

Implant SCREW 6.5X90MM FULL THRED 1147‐090‐67

3904213

1147‐90‐67 4,873.50

Implant SCREW 6.5X115MM FULL THRED 1147‐115‐67

3904218

1147‐115‐67 4,873.50

Implant SCREW6.5X100X32MM CANN THRED 1147‐100‐66

3904188

1147‐100‐66 4,873.50

Implant SCREW 6.5X110MM FULL THRED 1147‐110‐67

3904217

1147‐110‐67 4,873.50

Implant SCREW6.5X120X32MM CANN THRED 1147‐120‐66

3904192

1147‐120‐66 4,873.50

Implant SCREW6.5X130X32MM CANN THRED 1147‐130‐66

3904194

1147‐130‐66 4,873.50

Implant SCREW6.5X135X32MM CANN THRED 1147‐135‐66

3904195

1147‐135‐66 4,873.50



Implant SCREW 6.5X60MM FULL THRED 1147‐060‐67

3904207

1147‐060‐67 4,873.50

Implant SCREW 6.5X85X32MM CANN THRED 1147‐085‐66

3904185

1147‐085‐66 4,873.50

Implant SCREW 6.5 X 85MM CANC LG HEX 16MM THD

3200515‐C

00‐4865‐085‐01 486.00

Implant SCREW 6.5X95X32MM CANN THRED 1147‐095‐66

3904187

1147‐095‐66 3,078.00

Implant SCREW6.5X110X32MM CANN THRED 1147‐110‐66

3904190

1147‐110‐66 4,873.50

Implant SCREW6.5X145X32MM CANN THRED 1147‐145‐66

3904197

1147‐145‐66 4,873.50

Implant SCREW 6.5X30MM FULL THRED 1147‐030‐67

3904201

1147‐030‐67 4,873.50

Implant SCREW 6.5X40MM FULL THRED 1147‐040‐67

3904203

1147‐040‐67 4,873.50

Implant SCREW 6.5X55MM FULL THRED 1147‐055‐67

3904206

1147‐055‐67 4,873.50

Implant SCREW 6.5X100MM FULL THRED 1147‐100‐67

3904215

1147‐100‐67 4,873.50

Implant SCREW 6.5X90X32MM CAMM THRED 1147‐090‐66

3904186

1147‐090‐66 4,873.50

Implant SCREW 6.5X20MM FULL THRED 1147‐020‐67

3904199

1147‐020‐67 4,873.50

Implant SCREW 6.5X25MM FULL THRED 1147‐025‐67

3904200

1147‐025‐67 4,873.50

Implant SCREW 6.5 X 90MM CANC LG HEX 16MM THD

3200516‐C

00‐4865‐090‐01 486.00

Implant SCREW 6.5X45MM FULL THRED 1147‐045‐67

3904204

1147‐045‐67 4,873.50

Implant SCREW 6.5X65MM FULL THRED 1147‐065‐37

3904208

1147‐065‐37 4,873.50

Implant SCREW 6.5X80MM FULL THRED 1147‐080‐67

3904211

1147‐080‐67 4,873.50

Implant SCREW 6.5X85MM FULL THRED 1147‐085‐67

3904212

1147‐085‐67 4,873.50

Implant SCREW 6.5X95MM FULL THRED 1147‐095‐97

3904214

1147‐095‐97 4,873.50

Implant SCREW 6.5X105MM FULL THRED 1147‐105‐67

3904216

1147‐105‐67 4,873.50

Implant SCREW 6.5X130MM FULL THRED 1147‐130‐67

3904221

1147‐130‐67 4,873.50

Implant SCREW 6.5X135MM FULL THRED 1147‐135‐67

3904222

1147‐135‐67 4,873.50

Implant SCREW 6.5X145MM FULL THRED 1147‐145‐67

3904224

1147‐145‐67 4,873.50



Implant SCREW6.5X140X32MM CANN THRED 1147‐140‐66

3904196

1147‐140‐66 4,873.50

Implant SCREW CANC LG HEX 16MM THREAD 6.5X100MM

3200518‐C

00‐4865‐100‐01 486.00

Implant STEINMAN PIN STYLE 6  3.6X229MM 9/64

3600940

00‐0187‐005‐69 144.00

Implant SCREW 6.5X35MM FULL THRED 1147‐035‐67

3904202

1147‐035‐67 4,873.50

Implant SCREW 6.5X70MM FULL THRED 1147‐070‐67

3904209

1147‐070‐67 4,873.50

Implant SCREW 6.5X75MM FULL THRED 1147‐075‐67

3904210

1147‐075‐67 4,873.50

Implant SCREW 6.5X120MM FULL THRED 1147‐120‐67

3904219

1147‐120‐67 4,873.50

Implant SCREW6.5X105X32MM CANN THRED 1147‐105‐66

3904189

1147‐105‐66 4,873.50

Implant SCREW6.5X115X32MM CANN THRED 1147‐115‐66

3904191

1147‐115‐66 4,873.50

Implant SCREW6.5X150X32MM CANN THRED 1147‐150‐66

3904198

1147‐150‐66 4,873.50

Implant SCREW 6.5X140MM FULL THRED 1147‐140‐67

3904223

1147‐140‐67 4,873.50

Implant SCREW 6.5X150MM FULL THRED 1147‐150‐67

3904225

1147‐150‐67 4,873.50

Implant TIBIAL BASE SZ 10 1506‐70‐010

3904235

1506‐70‐010 20,057.81

Implant SCREW 6.5 X 80MM CANC LG HEX 32MM THD

3200527‐C

00‐4865‐080‐02 468.00

Implant PNS KNEE SYSTEM 10MM 42‐5121‐004‐10

3904236

42‐5121‐004‐10 20,625.00

Implant DUAL MOBILITY LINER 50MM 11002446

3904241

11002446 31,502.25

Implant NITINOL COMP STAPLE 15WX12L AR‐8718‐1512

3904247

AR‐8718‐1512 20,556.25

Implant SHELL MULTI HOLE 1100102701

3904239

1100102701 51,431.25

Implant EVOLVE PROLINE HEAD 20MM 496H020

3904242

496H020 39,663.00

Implant EVOLVE PROLINE STEM 6.5MM 496S065

3904243

496S065 45,383.00

Implant DYNAN NITI STAPLE W/INST AR‐8718DS‐1512

3904248

AR‐8718DS‐1512 26,056.25

Implant PSN KNEE SYSTEM 20MM 42‐5124‐007‐20

3904237

42‐5124‐007‐20 20,625.00

Implant PSN KNEE SYSTEM 11MM 42‐5121‐009‐11

3904238

42‐5121‐009‐11 20,625.00



Implant ACT ARTIC HIP BRG 28X250MM EP‐2001256

3904240

EP‐2001256 30,375.00

Implant SCREW 4.5 X 16MM  CORTICAL ST LG HEX

3200535‐C

00‐4845‐016‐01 288.00

Implant BIOLOX FEM HEAD 28X3.5MM 00‐8777‐028‐03

3904244

00‐8777‐028‐03 27,211.28

Implant BIO‐COMPRESS SCREW AR‐5025B‐20

3904252

AR‐5025B‐20 5,628.75

Implant VERSYS CEMENT STEM 13X130 00‐7850‐013‐00

3904249

00‐7850‐013‐00 22,687.50

Implant VERSYS DIST CENTRAL 11MM 00‐7859‐011‐00

3904250

00‐7859‐011‐00 1,509.75

Implant VERSYS CEMENT STEM 13X30 00‐7850‐013‐20

3904251

00‐7850‐013‐20 22,687.50

Implant SCREW CANNCELLOUS AR‐13280‐40

3904257

AR‐13280‐40 1,275.00

Implant PLATE TIBIA 9MM  AR‐13200ST‐09.0

3904256

AR‐13200ST‐09.0 10,220.00

Implant SCREW CORTICAL AR‐13380‐36

3904259

AR‐13380‐36 1,275.00

Implant OSFERION OSTEO WEDGE AR‐13370‐1

3904258

AR‐13370‐1 7,053.75

Implant 6.5X60X16 THRED CANN SCREW 1147‐060‐65

3904260

1147‐060‐65 3,078.00

Implant SCREW BASIC FRAG 4.5 CORTICAL

3200537‐C

4845‐20‐01 288.00

Implant BIOLOX OPTION HEAD 36/0 TAPER 12/14

3904261

00‐8777‐036‐02 31,045.95

Implant PSN KNEE SYSTEM10MMSZ 6‐7 42‐5221‐004‐10

3904263

42‐5221‐004‐10 20,625.00

Implant PSN KNEE SYSTEM 11MSZ 6‐7 42‐5221‐004‐11

3904262

42‐5221‐004‐11 20,625.00

Implant BUTTON SOFT LINK 15‐11030 30MM

3904264

15‐11030 7,125.00

Implant UNICORTICAL DOWEL D02812 12MM

3904265

D02812 8,330.00

Implant UNICORTICAL DOWEL D02810 10MM

3904266

D02810 8,330.00

Implant UNICORTICAL DOWEL D02811 11MM

3904267

D02811 8,330.00

Implant PLATE DIST CLAV 22 DEG LFT AR‐2622DL

3904271

AR‐2622DL 7,700.00

Implant WAGNER SL REV STEM 18X190MM 01.00101.918

3904269

01.00101.918 78,811.20

Implant SCREW LF 4.5 CORTICAL 48MM

3200550‐C

4845‐48‐01 288.00



Implant COCR FEMOR HEAD 28MM+3.5 00‐8018‐028‐03

3904270

00‐8018‐028‐03 7,125.00

Implant TIBIAL INSERT LM/RL 5630‐G‐408

3904274

5630‐G‐408 23,402.50

Implant IUD T380A PARAGARD DISCOUNT 5 OR MORE

5200080

T380A

51802 3,653.99

Implant ATTUNE TIBIAL INSERT SZ4 8MM 1516‐40‐408

3904277

1516‐40‐408 16,970.94

Implant KNEE SYSTEM REV TIB BASE 1506‐40‐004

3904276

1506‐40‐004 31,019.63

Implant TISSUE EXPANDER ALLOX2

3904278

ALLOX2‐FH14SE 27,431.25

Implant SCREW LOCKING 3.5X32MM 30‐0244

3904282

30‐0244 1,875.00

Implant SCREW LOCKING 3.5X 38  30‐0247

3904283

30‐0247 1,875.00

Implant  PLATE 11 HOLE LATERAL FIBULA 70‐0171

3904279

70‐0171 12,824.00

Implant SCREW LF 4.5 CORTICAL 56MM

3200554‐C

4845‐56‐01 273.90

Implant SCREW NON‐LOCKING 3.5X32MM  30‐0267

3904281

30‐0267 1,200.00

Implant SCREW LOCKING 3.5X18MM  30‐0237

3904280

30‐0237 1,875.00

Implant SCREW  2.7MM MULTIDIRECT 16MM 131227316

3904286

131227316 2,490.00

Implant NAILZ TIBIA 8.3MMX30 UNIV 47‐2495‐300‐08

3904288

47‐2495‐300‐08 19,775.25

Implant SCREW  2.7MM MULTI DIREC 18MM 131227318

3904285

131227318 2,490.00

Implant CORT SCREW ZNAIL 4X27.5  47‐2484‐027‐40

3904287

47‐2484‐027‐40 2,574.00

Implant SCREW LOCKING 3.5X28MM  30‐0242

3904290

30‐0242 1,875.00

Implant PLATE LPL MEDIAL 7 HOLE 70‐0227

3904289

70‐0227 12,040.00

Implant BONE CEMENT SMARTSET HV  40G 3092040

3904291

3092040 1,684.35

Implant PLATE CLAVICLE LFT SS AR‐2655CL

3904292

AR‐2655CL 7,700.00

Implant SCREW CANC LG HEX 32MM THREAD 6.5X65MM

3200582‐C

00‐4865‐065‐02 468.00

Implant SCREW CORTICAL 2.3MMX16MM

3904662

CO‐N2316 1,380.00

Implant PLATE CLAV 8 HOLE LG LEFT 70‐0300

3904661

70‐0300 14,176.25



Implant STEM FEM TAPERLOC 9X102.5MM

3904663

51‐106090 32,062.50

Implant STEM FEM ACTIS SZ 9 12/14 TAPER

3904664

1010‐12‐090 34,988.63

Implant ART SURFACE LFT 14MM

3904665

42‐5114‐010‐14 17,187.50

Implant LINER POLY NEUTRAL 28MM

3904667

00‐8751‐007‐28 12,600.00

Implant SHELL ACETABULAR SYS 46MM

3904666

00‐8757‐046‐01 25,437.50

Implant CENTRAL OPTIROM COMPONENT 09575

3904298

09575 36,909.00

Implant DISTAL COMP OPTIROM LT  09605

3904299

09605 30,847.50

Implant HEAD EXPLOR 12X20MM IMPLANT 11‐210023

3904294

11‐210023 28,890.00

Implant SCREW LOCK LNG PERI 3.5X14MM

3201401‐C

00‐2359‐014‐35 1,422.00

Implant ARM ASSEMBLY OPTIROM PROXIMAL  09630

3904297

09630 28,350.00

Implant LOCKING SCREW EXPLOR 11‐210099

3904295

11‐210099 1,605.00

Implant STEM EXPLOR 6X24MM W/SCR 11‐210061

3904296

11‐210061 28,890.00

Implant CORT SCREW ZNAIL 5.0X52.5 47‐2484‐052‐50

3904293

47‐2484‐052‐50 2,574.00

Implant SCREW CLAMP SL RAPID 6MM  14040

3904300

14040 7,025.25

Implant ROD CARBON 9.5X150MM 14160

3904303

14160 2,490.00

Implant SCREW CORT 80/30 4.5/3.5 TAPER A45‐08030

3904309

A45‐08030 1,995.00

Implant SCREW CLAMP SLM RAP ROD  14605

3904301

14605 7,210.00

Implant SCREW CLAMP INDIVIDUAL BONE 01525

3904302

01525 3,120.00

Implant SCREW CORT 100/40MM  4.5X3.5MM A45‐10040

3904308

A45‐10040 1,995.00

Implant SCREW LOCK LNG PERI 3.5X48MM

3201418‐C

00‐2359‐048‐35 1,422.00

Implant SCREW CORTICAL TAPER 150/50  A60‐15050

3904310

A60‐15050 1,995.00

Implant PASSPORT BUTTON CANNULA AR‐6592‐10‐30

3904312

AR‐6592‐10‐30 480.00

Implant PASSPROT BUTTON CANNULA AR‐6592‐10‐40

3904313

AR‐6592‐10‐40 480.00



Implant SCREW CORTICAL ZNAIL 4MM 47‐2484‐022‐40

3904315

47‐2484‐022‐40 2,574.00

Implant SCREW CORT ZNAIL 5.0MM 47‐2484‐022‐50

3904316

47‐2484‐022‐50 2,574.00

Implant STEM ACTIS COLLARED HIGH SZ6 1010‐12‐060

3904314

1010‐12‐060 34,934.63

Implant PATELLA NEXTGEN POLY 32MM

3904668

00‐5972‐066‐32 9,100.00

Implant FEM AG LL/RM VG 360

3904673

185402 16,926.25

Implant STEM BMT SPLINED 14X120

3904671

141654 21,230.00

Implant SCREW LOCK LNG PERI 3.5X60MM

3201424‐C

00‐2359‐060‐35 1,422.00

Implant FEMORAL COMPONENT SSK 360 R

3904672

185262 88,116.00

Implant PLATE PROX LAT HUMERAL LOCKING 8H

3904669

00‐2358‐001‐08 18,554.25

Implant TIBIAL BEARING E1 VANGUARD 63/67X12MM

3904670

EP‐183722 20,625.00

Implant MESH PORCINE MATRIX WSM0710

3904676

WSM0710 15,812.50

Implant PIN CLAMP XFIXLG BLUE 75MM00‐5200‐030‐06

3904677

00‐5200‐030‐06 16,500.00

Implant SCREW AEQ REVERSED COMPRESSION VDV238

3904317

VDV238 750.00

Implant NAIL TIBIAL CAP 15MM 47‐2487‐005‐15

3904318

47‐2487‐005‐15 2,754.00

Implant IBAL PATLOFEM SZ 2 RT

3904684

AR‐502‐2R 59,500.00

Implant SCREW 3.5X26MM SELF TAP 00‐2348‐026‐35

3904320

00‐2348‐026‐35 486.00

Implant IBAL PATLOFEM IMPL SZ 1 LFT

3904683

AR‐502‐1L 59,500.00

Implant SCREW FULL THREAD CANNULATED 3.5X10MM

3201431‐C

00‐1147‐010‐36 2,484.00

Implant STEINMAN PIN THREAD STYLE 6  2.4X229MM

3600948

00‐0262‐006‐04 121.35

Implant FIBERTAK 10297703

3904681

AR‐3638 5,985.00

Implant PATELLA IBALANCE IMPLANT DOME 27X8

3904685

AR‐504‐PSA8 12,250.00

Implant MONTAGE BONE PUTTY OS‐MON‐1001

3904688

OS‐MON‐1001 30,361.50

Implant TIBIAL INSERT SZ 8 7MM 1516‐20‐807

3904321

1516‐20‐807 17,019.06



Implant PLATE CLAV FRAC CENTRAL AR‐2655CR

3904322

AR‐2655CR 7,700.00

Implant SCREW FULL THREAD CANNULATED 3.5X12MM

3201432‐C

00‐1147‐012‐36 2,484.00

Implant HUMERAL ASSEMBLY 4IN LT 32‐8105‐27‐04

3904323

32‐8105‐27‐04 64,800.00

Implant REAMER 5MM FLEX SOLID 00‐8401‐070‐05

3904324

00‐8401‐070‐05 4,417.50

Implant TIBIAL PLATE AP WEDG SZ 5 00‐5988‐005‐00

3904328

00‐5988‐005‐00 36,047.70

Implant FEM AGMT BLOCK SZF 5MM 00‐5990‐036‐01

3904326

00‐5990‐036‐01 16,579.06

Implant NAIL Z CPM 11.5X44CM 130R 47‐2493‐443‐11

3904325

47‐2493‐443‐11 27,183.75

Implant DISTAL AGMT BLOCK SZF10MM 00‐5990‐036‐20

3904329

00‐5990‐036‐20 16,579.06

Implant SCREW CORT LOCK 3.5X38MM 816135038

3904336

816135038 1,725.00

Implant SCREW LOWPROFILE CORT 3.5X10MM 131218010

3904341

131218010 750.00

Implant TIBIAL BLOCK AUGM SZ5 5MM 00‐5988‐005‐26

3904330

00‐5988‐005‐26 16,579.06

Implant SCREW MULTIDIRECT 3.5X26MM 816335026

3904340

816335026 2,505.00

Implant SCREW FULL THREAD CANNULATED 3.5X28MM

3201440‐C

00‐1147‐028‐36 2,484.00

Implant SCREW LOWPROFILE CORT 3.5X16MM 131218016

3904342

131218016 750.00

Implant CONE ST REVISION HIP SZ A 60MM 11‐301301

3904333

11‐301301 87,852.00

Implant PLATE 6HOLE FIB LT LOCK ANAT 816206006

3904334

816206006 10,136.00

Implant PLATE DIST TIB 6 HOLE LT 816201006

3904335

816201006 17,476.25

Implant HEAD COMPONENT ‐3MM HIP SYSTEM 163661

3904331

163661 7,125.00

Implant STEM DISTAL W/SCREW 14X150MM 11‐300814

3904332

11‐300814 49,049.00

Implant SCREW MULTIDIRECT 3.5X16MM 816335016

3904338

816335016 2,505.00

Implant SCREW LOW PROFILE CORT 3.5X26MM 13128026

3904343

13128026 750.00

Implant SCREW MULTIDIRECT 3.5X10MM 816335010

3904339

816335010 2,505.00

Implant SCREW CORT LOCK 3.5X28MM 816135028

3904337

816135028 1,725.00



Implant SCREW FULL THREAD CANNULATED 3.5X44MM

3201448‐C

00‐1147‐044‐36 2,484.00

Implant NAIL FEMORAL LONG BLUE 11.5

3981559

47‐2493‐442‐11 27,183.75

Implant PATELLA POLY PSN 41MM

3902967

42‐5400‐000‐41 9,100.00

Implant ART SURFACE PSN RIGHT 11MM

3902968

42‐5221‐009‐11 20,625.00

Implant PLATE 241.267 LATERAL DISTAL HUMERUS

3902969

241.267 22,697.81

Implant PLATE 6 HOLE ULNA SHORTENING PL‐UL06

3902970

PL‐UL06 11,578.00

Implant TAP CANNULATED 4.5MM

3902971

00‐1147‐039‐00 5,925.15

Implant LATERA ENT IMPLANT

3902972

LATSYS03 16,500.00

Implant LOCKING BOLT ULNAR SHORT 80‐0421

3904345

80‐0421 1,395.00

Implant PEG ULNAR REDUCTION SHORTEN 80‐0422

3904346

80‐0422 1,635.00

Implant SCREW FULL THREAD CANNULATED 3.5 X 55MM

3201452‐C

00‐1147‐055‐36 2,484.00

Implant PLATE LAPIDUS SM RT STRM‐LAP‐SMR

3904349

STRM‐LAP‐SMP

STRM‐LAP‐SMR 35,733.15

Implant HIP STEM SIZE 10 TAPERLOC SYS

3904372

51‐106100 32,062.50

Implant SCREW STRM LOCK 2.7X18MM STRM‐LK‐2718ST

3904351

STRM‐LK‐2718ST 2,352.00

Implant SCREW STRM LOCK 2.7X20MM STRM‐LK‐2720ST

3904352

STRM‐LK‐2720ST 2,352.00

Implant SCREW STRM LOCK 2.7X30MM STRM‐LK‐2730ST

3904359

STRM‐LK‐2730ST 2,352.00

Implant SLEEVE CER OPTION TYPE 1 +3 650‐1067

3904371

650‐1067 2,250.00

Implant SCREW STRM LOCK 2.7X18MM STRM‐NL‐2718ST

3904361

STRM‐NL‐2718ST 3,360.00

Implant SCREW STRM LOCK 2.7X14MM STRM‐LK‐2714ST

3904362

STRM‐LK‐2714ST 2,352.00

Implant SCREW LOCKING 3.5X14MM AR‐8935L‐14

3904367

AR‐8935L‐14 2,250.00

Implant SCREW STRM NL LP 3.5X14MM STRM‐NL‐3514ST

3904358

STRM‐NL‐3514ST 2,572.50

Implant SCREW FULL THREAD CANNULATED 3.5X65MM

3201454‐C

00‐1147‐065‐36 2,484.00

Implant SCREW 3.5X30MM AR‐8935‐30

3904365

AR‐8935‐30 900.00



Implant SCREW LOCKING 3.5X42MM AR‐8935L‐42

3904366

AR‐8935L‐42 2,250.00

Implant SCREW LOCKING 3.5X32MM AR‐8935L‐32

3904370

AR‐8935L‐32 2,250.00

Implant PLATE 2 HOLE SINGLE LISFRANC STRM‐1LF2

3904350

STRM‐1LF2 20,913.75

Implant SCREW STRM LOCK 2.7X16MM STRM‐LK‐2716ST

3904360

STRM‐LK‐2716ST 2,352.00

Implant SCREW LOCKING 3.5X28MM AR‐8935L‐28

3904368

AR‐8935L‐28 2,250.00

Implant SCREW 3.5X36MM AR‐8935‐36

3904369

AR‐8935‐36 900.00

Implant PLATE RT/MED PERIMETER CAL AR‐8954PR‐M

3904364

AR‐8954PR‐M 15,056.25

Implant HEAD COMPONENT STAND 36MM 11‐363662

3904382

11‐363662 7,125.00

Implant TRAY TIBIAL ROTATING 2.5CM 1294‐35‐125

3904383

1294‐35‐125 74,617.20

Implant SCREW FULL THREAD CANNULATED 3.5X120MM

3201465‐C

00‐1147‐120‐36 2,484.00

Implant SCREW CANC ZNAIL 6.0X60MM 47‐2484‐060‐60

3904385

47‐2484‐060‐60 2,664.00

Implant NAIL RETRO Z 11.5X40CM 47‐2494‐400‐11

3904384

47‐2494‐400‐11 25,665.75

Implant SCREW CANC ZNAIL 6.0X100 47‐2483‐100‐60

3904387

47‐2483‐100‐60 2,853.00

Implant SCREW CANC ZNAIL 6.0X90MM 47‐2484‐090‐60

3904386

47‐2484‐090‐60 2,664.00

Implant NEXGN FIXPROSURF 5,6,12MM 00‐5962‐040‐12

3904390

00‐5962‐040‐12 17,187.50

Implant SCREW VAL 30.X14MM AR‐8933V‐14

3904389

AR‐8933V‐14 2,625.00

Implant SCREW PEEK INTERFERENCE 11MM 10166

3902525

10166 3,000.00

Implant SCREW LOCK STRM 3.5X36MM STRM‐LK‐3536ST

3904401

STRM‐LK‐3536ST 2,385.00

Implant SCREW FULL THREAD CANNULATED 3.5X130MM

3201467‐C

00‐1147‐130‐36 2,484.00

Implant PLATE LG RT CC FUSION STRM‐CC‐LGR

3904396

STRM‐CC‐LGR 20,913.75

Implant SCREW LOCK 3.5X28MM STRM STRM‐LK‐3528ST

3904399

STRM‐LK‐3528ST 2,385.00

Implant SCREW NL LP STRM 3.5X34MM STRM‐NL‐3534ST

3904403

STRM‐NL‐3534ST 2,385.00

Implant SCREW LOCK STRM 3.5X10MM STRM‐LK‐3510ST

3904407

STRM‐LK‐3510ST 2,385.00



Implant SCREW LOCKI STRM 3.5X32MM STRM‐LK‐3532ST

3904397

STRM‐LK‐3532ST 2,385.00

Implant SCREW LOCK 3.5X30MM STRM STRM‐LK‐3530ST

3904398

STRM‐LK‐3530ST 2,385.00

Implant DELTOID LIGAMENT RECON SYSTEM AR‐8918CP

3904394

AR‐8918CP 26,881.25

Implant SCREW LOCK STRM 3.5X26MM STRM‐LK‐3526ST

3904402

STRM‐LK‐3526ST 2,385.00

Implant PLATE RT LG TN FUSION STRM‐TN‐LGR

3904395

STRM‐TN‐LGR 23,650.00

Implant SCREW 12X25 PEEK INERFERENCE 10038

3904408

10038 3,000.00

Implant SCREW PART THREAD CANNULATED 3.5X24MM

3201475‐C

00‐1147‐024‐35 2,484.00

Implant PLATE DVR LOCK NARROW 1318‐110‐50

3904409

1318‐110‐50

1318‐11‐050 20,487.50

Implant SCREW LOCK 2.7X14MM DVR 1312‐27‐114

3904410

1312‐27‐114 1,485.00

Implant SCREW 6.7X95MM 1147‐095‐67

3904411

1147‐095‐67 4,873.50

Implant PSN MCVE ASF L 12MM 42‐5121‐007‐12

3904412

42‐5121‐007‐12 20,625.00

Implant SCREW LOCK TI 3.5X12MM 00‐2369‐012‐35

3904418

00‐2369‐012‐35 1,377.00

Implant HEAD FEM COCR 32MM+3.5 00‐8018‐032‐03

3904415

00‐8018‐032‐03 7,125.00

Implant LINER MOD CUP 10 54X32 00‐6310‐050‐32

3904413

00‐6310‐050‐32 14,368.75

Implant SCREW CORT SELFTAP 3.5X18 00‐4935‐018‐01

3904416

00‐4935‐018‐01 405.00

Implant SCREW LOCKING TI 3.5X16MM 00‐2369‐016‐35

3904417

00‐2369‐016‐35 1,377.00

Implant SSCREW CORT SELF 3.5X16MM 00‐4935‐016‐01

3904419

00‐4935‐016‐01 405.00

Implant SCREW PART THREAD CANNULATED 3.5X55MM

3201489‐C

00‐1147‐055‐35 2,484.00

Implant NCB PLT TROC  RT NARROW 02.02263.201

3904414

02.02263.201 12,549.60

Implant TIBIAL INSERT 5MM SZ 4

3904691

1516‐40‐405 14,578.44

Implant ARISTA  SM0005‐USA 1GM  AH

3910023

SM0005‐USA 1,575.00

Implant ARISTA 3G SM0002‐USA

3910025

SM0002‐USA 2,437.50

Implant STEM FEMORAL 4X93MM STAND 51‐108040

3904422

51‐108040 32,062.50



Implant HEAD CERAMIC 32MM 650‐1056

3904420

650‐1056 32,143.50

Implant NECK TAPER ADAPTER ‐3MM 650‐1065

3904421

650‐1065 2,250.00

Implant PLATE 6 HOLE CLAVICLE 70‐0296

3904424

70‐0296 14,176.25

Implant TIBIAL INSERT SZ 4 6MM 1516‐40‐406

3904425

1516‐40‐406 16,726.88

Implant SCREW 2.3X14MM NON‐LOCK CO‐N2314

3904423

CO‐N2314 1,380.00

Implant SCREW PART THREAD CANNULATED 3.5X85MM

3201495‐C

00‐1147‐085‐35 2,484.00

Implant SCREW CORT SM HEX3.5X100M 00‐4835‐100‐01

3200000‐C

00‐4835‐100‐01 333.00

Implant PLATE 6 HOLE 2.4MM ST AR‐8952MS‐06

3904427

AR‐8952MS‐06 9,730.00

Implant SCREW LOCKING 2.4X20MM AR‐8724L‐20

3904429

AR‐8724L‐20 1,875.00

Implant SCREW CORTICAL 2.4X22MM AR‐8724‐22

3904428

AR‐8724‐22 1,650.00

Implant SCREW LOCKING 2.4X18MM AR‐8724L‐18

3904430

AR‐8724L‐18 1,875.00

Implant SCREW LOCKING 2.4MM AR‐8724L‐12

3904433

AR‐8724L‐12 1,875.00

Implant STEM MOLD HIP 15X155 431193

3904437

431193 31,860.00

Implant SCREWING LOCKING 2.4MM AR‐8724L‐22

3904432

AR‐8724L‐22 1,875.00

Implant MOD COCR +6MM 28MM NO SKIRT 163638

3904438

163638 7,125.00

Implant LINER REV SHELL CEMT52X28 00‐7115‐052‐28

3904435

00‐7115‐052‐28 50,294.40

Implant SCREW LOCK 2.4X16MM AR‐8724L‐16

3904439

AR‐8724L‐16 1,875.00

Implant SCREW PART THREAD CANNULATED 3.5X100MM

3201498‐C

00‐1147‐100‐35 2,484.00

Implant PLATE 6 HOLE 2.4MM T AR‐8952MT‐06

3904426

AR‐8952MT‐06 9,730.00

Implant SCREW INTERFERENCE CANN 11X35MM 10168

3904440

10168 3,000.00

Implant FEMORAL CRS REVISION SZ 6

3902978

1504‐40‐106 100,380.00

Implant STEM REVISION CEMENTED STEM

3902979

1512‐14‐030 18,239.38

Implant TIBIAL INSERT SZ6

3902980

1516‐40‐606 22,426.25



Implant TIBIAL INSERT SX8 5MM

3904500

1516‐40‐805 14,578.44

Implant BONE STAPLE HI MAX 18X18X18

3903535

7118‐1818 15,125.00

Implant DRILL PIN ACL TIGHTROPE CLOSED

3904692

AR‐1595TC 1,875.00

Implant SCREW PART THREAD CANNULATED 3.5X115MM

3201501‐C

00‐1147‐115‐35 2,484.00

Implant SCREW NON‐LOCK 3.0X22MM 30‐0308

3904443

30‐0308 1,200.00

Implant GLENOID REV AEQUALIS 10 DEG DWD194

3904441

DWD194 26,125.00

Implant HUMERAL ADAPTER REV AEQ 36X12MM DWD862

3904442

DWD862 17,411.63

Implant STENT SALMAN FES

3904693

SS2000 570.00

Implant SPHERE GLENOID AEQ REV DIA DWH909

3904444

DWH909 30,920.40

Implant PERSONAL KNEE SYS SZ4‐5 42‐5020‐058‐01

3904445

42‐5020‐058‐01 27,500.00

Implant FEMERAL CR RT SZ10 CM 1504‐00‐210

3904447

1504‐00‐210 31,201.88

Implant PSN TIBIAL 11MM SZ4/5 42‐5121‐003‐11

3904446

42‐5121‐003‐11 20,625.00

Implant STEM FEMORAL NARROW SZ 4N LEFT

3904878

1504‐10‐124 35,798.63

Implant SCREW MICRO BONE 16MM AT2‐C16‐S

3904450

AT2‐C16‐S 6,569.25

Implant SCREW 1/2 THREAD CANNULATED 4.0X16MM

3201508‐C

00‐1147‐016‐41 2,574.00

Implant SCREW NON‐LOCK 3X12MM 30‐0303

3904448

30‐0303 1,200.00

Implant SCREW MICRO BONE 12MM AT2‐C12‐S

3904449

AT2‐C12‐S 6,569.25

Implant PLATE PROX HUMERUS 16 HOLE  2358‐002‐16

3904452

2358‐002‐16 18,991.50

Implant HEAD FEM 12/14 36MM+1.5  1365‐36‐710

3904451

1365‐36‐710 42,870.10

Implant PSN TIBIAL PS FEM SZ 6‐9 42‐5224‐009‐12

3904455

42‐5224‐009‐12 20,625.00

Implant PSN 12MM C‐D/CR SZ 6‐7 42‐5221‐004‐12

3904454

42‐5221‐004‐12 20,625.00

Implant PLATE PROX HUM LOCK 16H 00‐2358‐002‐16

3904456

00‐2358‐002‐16 19,420.50

Implant BIOZORB LOCALIZER 2X2CM

3904696

F0202 13,650.00



Implant STENT AXIOS 10X10

3802805

M00553640 61,200.00

Implant GRAFT TENDESIS SZ KIT W/ FL ST AR‐1676ST

3904457

AR‐1676ST 4,203.75

Implant SCREW 1/2 THREAD CANNULATED 4.0X18MM

3201509‐C

00‐1147‐018‐41 2,574.00

Implant SCREW 3X20MM NON‐LOCK HEX 30‐0307

3904458

30‐0307 1,200.00

Implant TIBIAL INSERT FIX BEAR SZ 3 1516‐20‐305

3904461

1516‐20‐305 14,581.88

Implant FEMORAL CRUCIATE LT SZ 3 1504‐00‐103

3904459

1504‐00‐103 31,191.75

Implant BASE TIBIAL SZ 2 CEM 1506‐70‐002

3904460

1506‐70‐002 20,064.69

Implant STEM FEM HIP SYS CEM SZ12.5MM 14‐103206

3904463

14‐103206 32,062.50

Implant HEAD RADIAL 14MM 11‐210033

3904464

11‐210033 28,890.00

Implant WIRE K 0.9X55MM 231209095

3904465

231209095 330.00

Implant SCREW LOCKING 15X11MM 1312‐20‐411

3904468

1312‐20‐411 1,005.00

Implant SCREW VPC 2.5X18MM 233225018

3904466

233225018 4,702.50

Implant PSN CROSSLINK 10MMSZ 8‐11 42‐5221‐009‐10

3904462

42‐5221‐009‐10 20,625.00

Implant SCREW 1/2 THREAD CANNULATED 4.0X22MM

3201511‐C

00‐1147‐022‐41 2,574.00

Implant SCREW VPC 2.5X20MM 233225020

3904467

233225020 4,702.50

Implant SCREW PERI 2.7MM HEAD S/T 3.5MMX30MM

3903197

00‐2348‐030‐35 486.00

Implant SCREW LOCK 1.5X11MM 131220411

3904475

131220411 1,005.00

Implant SCREW NON LOCK 1.5X10MM 131220510

3904472

131220510 1,005.00

Implant PLATE T‐SHAPE LOCK 1.5MM 131220152

3904471

131220152 5,258.25

Implant SCREW NON LOCK 1.5X12MM 131220512

3904474

131220512 1,005.00

Implant SCREW NON LOCK 1.5X11MM 131220511

3904473

131220511 1,005.00

Implant NAIL Z TIBIA UNIV 12X34CM 47‐2495‐340‐12

3904479

47‐2495‐340‐12 19,775.25

Implant SCREW NON LOCK 1.3X20MM 131220320

3904478

131220320 825.00



Implant FEMUR CR NARROW SZ 9

3904880

42‐5020‐066‐02 27,500.00

Implant SCREW 1/2 THD CANNULATED 4.0X26MM

3201513‐C

00‐1147‐026‐41 2,574.00

Implant PLATE CSLP 3 LEVEL 54MM

3904879

450.171 20,405.00

Implant ART SURFACE MC RT 10MM

3904881

42‐5221‐005‐10 20,625.00

Implant SCREW INTERFERENCE PEEK CF 11X30MM

3904882

10167 3,000.00

Implant SCREW T15LP CORT 22MM

3804503

110017722 825.00

Implant SCREW T15 LP CORT 44MM

3804504

110017744 825.00

Implant SCREW LOCK CORT 3.5X34MM 816135034

3904480

816135034 1,725.00

Implant PLATE PROX HUM LO LEFT 4H

3804501

110030101 19,662.50

Implant SCREW T15LP CORT 24MM

3804502

110017724 825.00

Implant TIBIAL BASE SZ2 ATTUNE

3904644

1506‐80‐002 22,333.44

Implant SCREW 1/2 THREAD CANNULATED 4.0X46MM

3201523‐C

00‐1147‐046‐41 2,574.00

Implant CLIP 360 RES EGD M00521230

3904483

M00521230 3,285.00

Implant SCREW HEADED 33MM 1/PKG 00‐5791‐044‐00

3904482

00‐5791‐044‐00 1,026.00

Implant ACHILLES SPEEDBRG IMP AR‐8928BC‐CP

3904484

AR‐8928BC‐CP 23,925.00

Implant ITOTAL LATERAL INSERT SZ C

3904486

TCR1211111‐CLI 23,833.29

Implant ITOTAL MEDIAL INSERT 8MM

3904485

TCR1211111‐8MI 23,833.29

Implant EPIFIX PARTICULATE 160.0MG

3893701

EI‐2500

EI‐5200 37,125.00

Implant EPIFIX EPIXL 4.0X10CM

3893702

XL‐5410 45,435.00

Implant ART SURFACE RT 13MM PSN

3904883

42‐5214‐008‐13 17,187.50

Implant LINER ACETABULAR NEUTRAL 62MM

3904885

1221‐36‐062 12,404.00

Implant SHELL ACETABULAR GRIPTION 62MM

3904884

1217‐32‐062 17,321.56

Implant SCREW 4.0 X 85MM 1/2 THD CANNULATED

3201532‐C

00‐1147‐085‐41 2,574.00



Implant SCREW MICRO ACUTRAK 2 24MM AT2‐C24

3904487

AT2‐C24 6,569.25

Implant ART SURFACE PARTIAL LEFT MEDICAL SZ E

3904887

42‐5182‐005‐09 17,325.00

Implant TIBIA PARTIAL SZ E LEFT MEDIAL

3804888

42‐5380‐005‐01 20,212.50

Implant FEMUR PARTIAL CMTD  SZ 1 LEFT MEDIAL

3904886

42‐5580‐001‐01 29,767.50

Implant GRAFT PRE‐SUTURED TENDON VRG‐001

3904888

VRG‐001 17,737.50

Implant CENTRAL VENOUS CATHETER 5FX15CM SET

3411796

G01916 525.00

Implant FEMUR PARTIAL SZ 5 CMTD RT MEDIAL

3904889

42‐5580‐005‐02 29,767.50

Implant BASEPLATE STANDARD 25MM

3904890

DWJ401 16,500.00

Implant PRESS FIT LONG POST 15MM

3904891

DWJ002 8,400.00

Implant SCREW REV LOCK AEQ D 4 DWD038

3904488

DWD038 750.00

Implant SCREW 1/2 THREAD CANNULATED 4.0X110MM

3201537‐C

00‐1147‐110‐41 2,574.00

Implant SCREW 32MM STANDARD ACUTRAK 2 AT2‐S32

3904490

AT2‐S32 6,569.25

Implant SCREW REV PERFORM SC DWJ322

3904489

DWJ322 750.00

Implant PKS PAR ART SUR SZH 8MM 42‐5282‐008‐08

3904491

42‐5282‐008‐08 17,325.00

Implant JUGGERKNOT KIT STRL CRV 1.5MM 912041C

3904492

912041C 3,195.00

Implant HEAD EXPLOR 12X24MM 11‐210042

3904493

11‐210042 28,890.00

Implant SCREW 2.7X12MM STRM NL LP STRM‐NL‐2712ST

3904499

STRM‐NL‐2712ST 3,360.00

Implant SCREW 2.7X20MM STRM NL LP STRM‐NL‐2720ST

3904494

STRM‐NL‐2720ST 2,175.00

Implant PLATE SM TN FUSION STRM‐TN‐SMR

3904497

STRM‐TN‐SMR 22,742.50

Implant SCREW 1/2 THREAD CANNULATED  4.0X115MM

3201538‐C

00‐1147‐115‐41 2,574.00

Implant CABLE 1.8X610M BONE PLATE 00‐2232‐003‐18

3200041‐C

00‐2232‐003‐18 3,699.00

Implant SCREW 3.5X20MM CTRM NL LP STRM‐NL‐3520ST

3904496

STRM‐NL‐3520ST 2,385.00

Implant SCREW 2.7X14MM STRM NL LP STRM‐NL‐2714ST

3904894

STRM‐NL‐2714ST 3,360.00



Implant SCREW 3.5X16MM STRM NL LP STRM‐NL‐3516ST

3904495

STRM‐NL‐3516ST 3,675.00

Implant SCREW 3.5X30MM STRM NL LP STRM‐NL‐3530ST

3904893

STRM‐NL‐3530ST 3,675.00

Implant SCREW 3.5X24MM STRM NL LP STRM‐NL‐3524ST

3904498

STRM‐NL‐3524ST 3,675.00

Implant DYNACLIP 12X12X12

3904700

3000‐00‐121212 25,918.75

Implant STAPLE DYNANITE 15X15 SUPER MX

3904702

AR‐8719MXDS‐1515 33,682.50

Implant SCREW CANNULATED 40MM

3904701

AR‐8740‐40PTS 2,475.00

Implant SCREW HEXALOBE 3.5MM X 26MM

3904990

30‐0241 1,875.00

Implant SCREW 4.0 X12MM 1/3 THD CANNULATED

3201543‐C

00‐1147‐012‐40 2,574.00

Implant BIOZORB MARKER 2X3CM

3904697

F0203 13,650.00

Implant KIT FIBERTAK DX DISP AR‐8990DS

3904501

AR‐8990DS 3,918.75

Implant STEM PPS FRAC 10MM COMP 12‐113560

3904503

12‐113560 57,500.00

Implant GRAFT ACHILLES TENDON 10MM PRESHAPED

3904698

ATP‐101 40,300.00

Implant ANCHOR ST SUTURE FIBERTAK AR‐8990ST

3904502

AR‐8990ST 6,626.25

Implant BEARING HMRL STD PRLNG 36MM 110031418

3904505

110031418 15,647.50

Implant STD TRAY HMRL 110031399

3904504

110031399 26,675.00

Implant BIOZORB MARKER 3X3 F0303

3904699

F0303 13,650.00

Implant HUMERAL ASSEM C/M SM 6IN 32‐8105‐025‐06

3904506

32‐8105‐025‐06 64,800.00

Implant GRAFT ACHILLES W/BONE

3904710

ACT‐001 29,700.00

Implant SCREW 1/3 THD CANNULATED 4.0X24MM

3201549‐C

00‐1147‐024‐40 2,574.00

Implant DRIVE 5MM HOE ULTRA 423864

3904507

423864 13,090.00

Implant SCREW LP STRM NL 3.5X16MM

3904716

STRM‐NL‐3526ST 3,675.00

Implant SCREW PERFORM PERIPHERAL SC

3904712

DWJ334 750.00

Implant PERFORM REVERSED ECCENTRIC GLE

3904713

DWJ032 26,125.00



Implant ANCHOR PEEK KNOTLESS 4.75MM

3904715

3910‐500‐471 6,056.25

Implant SCREW PERFORM REVERSE CENTRAL

3904711

DWJ135 8,400.00

Implant STEM FEMORAL HIGH SZ 7

3904618

1010‐12‐070 35,440.88

Implant ANCHOR V‐LOX PEEK 5.5MM

3904714

10324T 4,275.00

Implant GRAFT AFLEX 200

3904620

AFLEX200 40,846.00

Implant STEM FITMORE HIP SZ 11B 01.00551.211

3904510

01.00551.211 29,025.00

Implant SCREW 1/3 THREAD CANNULATED 4.0X30MM

3201552‐C

00‐1147‐030‐40 2,574.00

Implant DURASEAL EXACT 3ML 206320

3904621

206320 17,547.75

Implant DURAGEN PLUS 1X1 DP5011

3904623

DP‐5011 6,110.40

Implant GRAFT OC FRESH LEFT MEDIAL FEMORAL

3903330

2683

002683 149,442.50

Implant SCREW CORTICAL 3.5 50MM

3903903

00‐2348‐050‐35 486.00

Implant SCREW VENTED 11X30MM BC IF

3903891

AR‐4030C‐11 4,203.75

Implant SCREW INTERFERENCE 8X30MM

3903892

AR‐4030C‐08 4,203.75

Implant SCREW CANN HEX 15 AR‐8737‐27

3904512

AR‐8737‐27 1,650.00

Implant VNGD TI FEM CR 67.5MM LT CP113621

3904513

CP113621 100,800.00

Implant SCREW 1/3 THREAD CANNULATED 4.0X34MM

3201554‐C

00‐1147‐034‐40 2,574.00

Implant CEN PIN STEM FREE 3.2MM 01.04555.660

3904516

01.04555.660 450.00

Implant HEAD HUMERAL STMFREE  52‐19 01.04555.520

3904515

01.04555.520 24,543.75

Implant GRAFT FIBULA SHAFT 15CM FREEZE DRIED

3904645

92‐0049 14,973.75

Implant SCREW N‐FORCE 4X55MM IN001‐55‐FS

3904517

IN001‐55‐FS 7,546.00

Implant ALLOSYNC DBM GEL

3904991

ABS‐2013‐05 11,200.00

Implant SCREW STRM LOCKING3.5X20MM ST

3904520

STRM‐LK‐3524ST 2,385.00

Implant SCREW STRM LOCKING 3.5X22MM ST

3904521

STRM‐LK‐3522ST 2,385.00



Implant TIBIAL INSERT SZ 5 7MM

3904518

1516‐20‐507 14,581.88

Implant PATELLA 32MM ATTUNE

3904519

1518‐10‐032 7,136.50

Implant BRACE INTERNAL LGMNT REPR KIT

3904522

AR‐8978‐CP 20,556.25

Implant SCREW 1/3 THREAD CANNULATED 4.0X44MM

3201559‐C

00‐1147‐044‐40 2,574.00

Implant FEMUR HEAD FD ASP GRAFT

3904555

92‐0039

0495 22,687.50

Implant NAIL Z 10MMX44CM 47‐2491‐440‐10

3904526

47‐2491‐440‐10 20,790.00

Implant PLATE 6H 3.5MM LOCK TIB 00‐2357‐003‐06

3904533

00‐2357‐003‐06 16,038.00

Implant PLATE 3HOLE PROX HUM LO 110030100

3904529

110030100 19,133.13

Implant SCREW STEM 2.7X22MM STRM‐NL‐2722ST

3904534

STRM‐NL‐2722ST 2,175.00

Implant SCREW STRM 2.7X12MM STRM‐LK‐2712ST

3904535

STRM‐LK‐2712ST 2,175.00

Implant PEG 3.2X42MM 110025342

3904530

110025342 1,650.00

Implant SCREW Z NAIL 6.0X75 CANN 47‐2484‐075‐60

3904528

47‐2484‐075‐60 2,664.00

Implant SCREW Z NAIL 6.0X80 CANN 47‐2484‐080‐60

3904527

47‐2484‐080‐60 2,664.00

Implant PEG 3.2X54MM 110025354

3904531

110025354 1,650.00

Implant SCREW 4.0 X 75MM 1/3 THD CANNULATED

3201567‐C

00‐1147‐075‐40 2,574.00

Implant SCREW 2.1X6MM CRUCIFORM CO‐F2106

3904548

CO‐F2106 630.00

Implant SCREW 2.1X12MM CRUCIFORM CO‐F2112

3904550

CO‐F2112 630.00

Implant SCREW 2.1X10MM CRUCIFORM CO‐F2110

3904549

CO‐F2110 630.00

Implant SCREW 3.5X50MM T15 NS 110018050

3904539

110018050 2,557.50

Implant SCREW 3.5X42MM T15 110018042

3904540

110018042 2,557.50

Implant SCREW 3.5X54MM CORT LOCK 816135054

3904542

816135054 1,725.00

Implant SCREW 3.5X46MM CORT LOCK 816135046

3904544

816135046 1,725.00

Implant SCREW NCB CORT 16MM SELF TAP02.03150.016

3904536

02.03150.016 2,286.00



Implant SCREW NCB 5X18MM SELF TAP 02.03150.018

3904537

02.03150.018 2,286.00

Implant SCREW 4.0 X 80MM 1/3 THD CANNULATED

3201568‐C

00‐1147‐080‐40 2,574.00

Implant SCREW 3.5X54MM CORT LOCK 816135052

3904541

816135052 1,725.00

Implant SCREW 3.5X26MM CORT LOCK 816135026

3904543

816135026 1,725.00

Implant SLEVE‐6 CER OPT TYP 1 TPR 650‐1064

3904545

650‐1064 2,250.00

Implant STEM CEMENTED 14X135 00‐7850‐014‐00

3904546

00‐7850‐014‐00 22,687.50

Implant SCREW NCB 5X20MM SELFTAP 02.03150.020

3904538

02.03150.020 2,286.00

Implant SCREW 2.1X14MM CRUCIFORM CO‐F2114

3904551

CO‐F2114 630.00

Implant FIBERTAPE CERCLAGE SUTURE

3904717

AR‐7267 6,412.50

Implant SUTURETAPE TIGERLINK 1.3MM

3904718

AR‐7535T 1,275.00

Implant SCREW LOCKING 3.5MM 00‐2359‐044‐38

3904553

00‐2359‐044‐38 1,377.00

Implant SCREW LOCKING 3.5MM 00‐2359‐060‐38

3904554

00‐2359‐060‐38 1,377.00

Implant SCREW 4.0 X 95MM 1/3 THD CANNULATED

3201571‐C

00‐1147‐095‐40 2,574.00

Implant PLATE 5 HOLE DISTAL HUM 00‐2358‐007‐05

3904556

00‐2358‐007‐05 11,037.60

Implant SCREW THREAD 32MM 1147‐090‐56

3904557

1147‐090‐56 5,016.00

Implant PLATE 2 ANGLE VARIABLE CSLP 450.162

3904552

450.162 18,947.50

Implant SCREW CORTICAL 2.7X12MM 00‐4827‐012‐01

3904558

00‐4827‐012‐01 288.00

Implant BIOZORB MARKER 2X3X1CM

3904719

FO231 13,650.00

Implant PKS R MEDIAL 9MM 42‐5282‐005‐09

3904559

42‐5282‐005‐09 17,325.00

Implant SCREW 2.3X20MM LOCKING

3993930

CO‐T2320 1,380.00

Implant PLATE LUNAR 70‐0334

3904798

70‐0334 14,176.25

Implant SUTURE TAPE BROADBAND CM‐0322

3904704

CM‐0322 1,530.00

Implant SCREW CORT 3.4X34MM

3904709

00‐4835‐034‐04 288.00



Implant SCREW UNIV LOCK 2.7X10MM

3201580‐C

00‐4828‐010‐02 1,476.00

Implant PATELLA MED CEM 35MM 1518‐10‐035

3904562

1518‐10‐035 7,136.50

Implant TIBIAL INSERT SZ 7 5MM 1516‐40‐705

3904563

1516‐40‐705 14,581.88

Implant ACTIS COLLARED HIGH SZ 4 1010‐12‐040

3904564

1010‐12‐040 34,988.63

Implant CR‐IPOLY XE‐9MM MED KIT RT RCR0200900

3904560

RCR0200900 62,400.00

Implant PSN MC VE ASF L 11MM 8‐11 42‐5121‐008‐11

3904561

42‐5121‐008‐11 20,625.00

Implant ART SURFACE PSN RT 13MM

3904720

42‐5221‐007‐13 20,625.00

Implant PSN STEM TAPER SM 14X75MM 42‐5600‐075‐14

3904565

42‐5600‐075‐14 31,515.75

Implant PLATE 2.0/2.3 TRILOCK A‐4660.11

3905001

A‐4660.11 18,342.50

Implant SCREW 12X2.0MM CORTEX A‐5400.12/1

3905007

A‐5400.12/1 1,282.80

Implant SCREW UNIV LOCK 2.7X12MM

3201581‐C

00‐4828‐012‐02 1,476.00

Implant CABLE PIN65MM IMPLANT SET 00‐2232‐050‐21

3200043‐C

00‐2232‐050‐21 7,087.95

Implant SCREW 09X2.0MM LOCKING BLUE A5450.09/1

3905020

A5450.09/1 2,596.50

Implant SCREW 14X2.0MM LOCKING BLUE A‐5450.14/1

3905022

A‐5450.14/1 2,077.20

Implant SCREW 09X2.0MM CORTEX A‐5400.09/1

3905005

A‐5400.09/1 1,282.80

Implant SCREW 11X2.0MM LOKING BLUE A‐5450.11/1

3905021

A‐5450.11/1 2,077.20

Implant PLATE 2.0/2.3 TRI LOCK 4CF A‐4660.10

3905000

A‐4660.10 14,674.00

Implant SCREW 20X2.0MM CORTEX A‐5400.20/1

3905013

A‐5400.20/1 1,603.50

Implant SCREW 07X2.0MM LOCKING BLUE A‐5450.07/1

3905018

A‐5450.07/1 2,077.20

Implant SCREW 08X2.3MM CORTEX GLOD A‐5500.08/1

3905025

A‐5500.08/1 1,603.50

Implant SCREW 10X2.0MM CORTEX A‐5400.10/1

3905006

A‐5400.10/1 1,282.80

Implant SCREW 20X2.0MM LOCKING BLUE A‐5450.20/1

3905024

A‐5450.20/1 2,596.50

Implant SCREW UNIV LOCK 2.7X30MM

3201590‐C

00‐4828‐030‐02 1,476.00



Implant SCREW 10X2.0MM CORTEX GOLD A‐5500.10/1

3905026

A‐5500.10/1 1,603.50

Implant SCREW 08X2.0MM CORTEX A‐5400.08/1

3905004

A‐5400.08/1 1,282.80

Implant SCREW 14X2.0MM CORTEX A‐5400.14/1

3905008

A‐5400.14/1 1,282.80

Implant SCREW 15X2.0MM CORTEX A‐5400.15/1

3905010

A‐5400.15/1 1,603.50

Implant SCREW 06X2.0 LOCKING BLUE A‐5450.06/1

3905017

A‐5450.06/1 2,596.50

Implant SCREW 06MM 2.0MM CORTEX A‐5400.06/1

3905002

A‐5400.06/1 1,603.50

Implant SCREW 07 2.0MM CORTEX A‐5400.07/1

3905003

A‐5400.07/1 1,282.80

Implant SCREW 13X2.0MM CORTEX A‐5400.13/1

3905009

A‐5400.13/1 1,282.80

Implant SCREW 16X2.0MM CORTEX A‐5400.16/1

3905011

A‐5400.16/1 1,603.50

Implant SCREW 08X2.0MM LOCKING BLUE A‐5450.08/1

3905019

A‐5450.08/1 2,596.50

Implant SCREW UNIV LOCK 2.7X34MM

3201592‐C

00‐4828‐034‐02 1,476.00

Implant SCREW 19X2.0MM CORTEX A‐5400.19/1

3905012

A‐5400.19/1 1,603.50

Implant SCREW 18X2.0MM LOCKING BLUE A‐5450.18/1

3905023

A‐5450.18/1 2,596.50

Implant SCREW 14X2.0MM CORTEX GLOD A‐5500.14/1

3905028

A‐5500.14/1 1,603.50

Implant SCREW 16X2.0MM CORTEX GOLD A‐5500.16/1

3905029

A‐5500.16/1 1,603.50

Implant SCREW 12X2.0MM CORTEX GLOD A‐5500.12/1

3905027

A‐5500.12/1 1,603.50

Implant SCREW 3.5X28MM CORT LOC 8161‐35‐028

3905034

8161‐35‐028 1,725.00

Implant SCREW  3.5X38MM CORTICAL 8150‐37‐038

3905031

8150‐37‐038 645.00

Implant SCREW 3.5X38MM CORT LOC 8161‐35‐038

3905033

8161‐35‐038 1,725.00

Implant PLATE LOCKING 6HOLE DIS TIB 8162‐11‐066

3905030

8162‐11‐066 17,476.25

Implant SCREW 3.5X24MM CORTICAL 8150‐37‐024

3905032

8150‐37‐024 645.00

Implant SCREW UNIV LOCK 2.7X36MM

3201593‐C

00‐4828‐036‐02 1,476.00

Implant SCREW 9X2.0MM LOCKING BLUE A‐5450.09/1

3905036

A‐5450.09/1 2,077.20



Implant SCREW LOCKING 2.4X14MM

3904727

00‐2329‐014‐24 1,260.00

Implant PLATE VOLAR 5 HOLE SNTD

3904726

00‐2328‐053‐05 10,819.20

Implant ALPS COMPRESSION WIRE

3904729

824299101 435.00

Implant SCREW LOCKING 2.4X12MM

3904728

00‐2329‐012‐24 1,260.00

Implant CLAVICLE PIN ASSEMBLY 2.5MM

3904724

1129‐10‐020 14,327.50

Implant TIBIAL INSERT FIXED BEARING CURVED 10MM

3904725

1581‐12‐110 22,268.13

Implant PATELLA IPOLY 32X6MM

3904733

PAT0213206 23,833.29

Implant SCREW LOCK STERILE 2.7X16MM

3201606‐C

47‐4828‐016‐02 1,476.00

Implant FEMUR POSTERIOR STABLIZED SZ 10

3904735

1504‐10‐110 31,495.50

Implant TIBIAL INSERT SZ 10

3904736

1516‐51‐005 26,159.38

Implant TIBIAL BASE CMTD SZ 9

3904734

1506‐80‐009 22,330.00

Implant LINER DEG OBLIQ 58X36 00‐7110‐058‐36

3905037

00‐7110‐058‐36 28,308.15

Implant STEM HUMER 48 DEG15X130MM 00‐4348‐115‐13

3905042

00‐4348‐115‐13 40,500.00

Implant HEAD HUM OFFSET 23X52MM 00‐4302‐052‐23

3905041

00‐4302‐052‐23 19,250.00

Implant GRAFT ALLOMEND 4X8CM  2MM

3904755

73083032 14,822.50

Implant PLATE LOCKING MTP/MPJ L 70‐0109

3905045

70‐0109 10,808.00

Implant INSERT REVERSED 42X6X12.5 DWF421B

3905047

DWF421B 7,125.00

Implant SCREW LOCK STERILE 2.7X34MM

3201616‐C

47‐4828‐034‐02 1,476.00

Implant PLATE Y‐SHAPE LOCK 2.5MM 131220253

3905048

131220253 5,472.00

Implant PEG FULL THREAD 2.5X08MM FP08

3905049

FP08 1,110.00

Implant SCREW CORTICAL 2.7X36MM 814027036

3905054

814027036 645.00

Implant PEG FULL THREAD 2.5X15MM FP15

3905050

FP15 1,110.00

Implant SCREW CANNULATED 4.5MMX54MM

3904740

00‐1147‐054‐45 2,619.00



Implant SCREW CANNULATED 4.5X42MM

3904738

00‐1147‐042‐45 2,619.00

Implant SCREW CANNULATED 4.5X 52MM

3904737

00‐1147‐052‐45 2,619.00

Implant SCREW CANNULATED 4.5X64MM

3904739

00‐1147‐064‐45 2,619.00

Implant SCREW LOCK STERILE 2.7X48MM

3201623‐C

47‐4828‐048‐02 1,476.00

Implant BASEPLATE STANDARD PERFORM REVERSED

3904743

DWJ411 16,500.00

Implant GLENOSPHERE STANDARD PERFORM+

3904742

DWJ013 26,125.00

Implant CORTILOC GLENOID AUGMENT PERFORM+

3904741

DWK405LA15S 27,500.00

Implant PRECISION CHARGING SYSTEM

3904746

SC‐6412‐3 33,750.00

Implant SPECTRA WAVEWRITER IPG KIT

3904744

SC‐1160 209,671.00

Implant FREELINK REMOTE CONTROL KIT

3904745

CS‐5562‐1 17,875.00

Implant STAPLE DYNANITE 11WX10L

3904751

AR‐8717DS‐1110 20,556.25

Implant SCREW TENODESIS 3X8MM

3904750

AR‐1530PS 5,771.25

Implant SCREW CORTICAL 4.5X45MM

3904760

AR‐1365‐45 1,500.00

Implant SCREW 6.5X30MM PERFORM

3904749

DWJ130 8,400.00

Implant SCREW TI LOCK 3.5X24MM

3201644‐C

47‐2369‐024‐35 1,320.00

Implant SCREW HEADLESS 2.5X24MM

3904754

AR‐8725‐24H 4,987.50

Implant PARTIAL ART SURFACE SZ C 9MM

3904757

42‐5282‐003‐09 17,325.00

Implant PARTIAL TIBIAL SZ C RIGHT MEDIAL

3904756

42‐5380‐003‐02 20,212.50

Implant PLATE 6H RT CLAVICLE 70‐0297

3904566

70‐0297 15,592.50

Implant SCREW Z NAIL 6.0X55MM CANN47‐2484‐055‐60

3904568

47‐2484‐055‐60 2,664.00

Implant SCREW 75.0MM ACUTRAK 7.5MM30‐0775

3905067

30‐0775 8,064.00

Implant ANCHOR TENDON 8

3904814

2504‐1 8,400.00

Implant BIOINDUCTIVE IMPLANT W/ARTH DEL LRG

3904813

4566 31,050.00



Implant SCREW CANN THRED 6.5X75X16MM 3005‐65075

3905068

3005‐65075 3,180.00

Implant ANCHOR BONE 3W ARTHRO DEL SYS ADVNCD

3904812

4403 11,900.00

Implant SCREW TI LOCK 3.5X40MM

3201651‐C

47‐2369‐040‐35 1,320.00

Implant SCREW MD 2.7X12MM 1312‐27‐312

3905063

1312‐27‐312 2,490.00

Implant MESH PHASIX ST 20CM

3904801

1210020 51,220.00

Implant SCREW LOCKING SQUARE HEAD 3.5X16MM

3904809

1318‐35‐116 1,455.00

Implant PLATE MINI DVR LFT

3904811

1318‐22‐040 11,774.00

Implant PEG FULL THREAD 2.5X13MM FP13

3905073

FP13 1,110.00

Implant SPEEDBRIDGE ACHILLES AR‐8929BC‐CP

3905076

AR‐8929BC‐CP 13,650.00

Implant ARTICULAR SURFACE 12MM PSN

3904758

42‐5214‐009‐12 17,187.50

Implant ITOTAL POLY XE PATELLA

3904807

PAT0213808 20,707.50

Implant SCREW LOCKING SQUARE HEAD 2.7X26MM

3904808

1312‐27‐126 1,485.00

Implant TRAY BLUE RHINO CIAGLIA W/SHILEY TRACH

3801804

G12565 6,797.25

Implant SCREW TI LOCK 3.5X48MM

3201654‐C

47‐2369‐048‐35 1,422.00

Implant FEMORAL IMPLANT ITOTAL

3904804

TCR121111‐FI 21,450.00

Implant PLATE DVR XLONG LOCK L ST 1318‐22‐126

3905061

1318‐22‐126 16,259.38

Implant SCREW PERICONICAL 2.7X14MM00‐2359‐014‐26

3905066

00‐2359‐014‐26 726.00

Implant SCREW LOCK SQUARE DRIVE 3.5X14MM

3904810

1318‐35‐114 1,455.00

Implant IMPLANT SYSTEM FHL 6.25MM AR‐1562BC‐CP

3905075

AR‐1562BC‐CP 20,556.25

Implant MESH PHASIX ST 11CM

3904802

1210011 30,375.00

Implant TIBIAL TRAY ITOTAL

3904803

TCR1211111‐TT 28,080.00

Implant WASHER THREADED 2.5MM 1312‐20‐025

3905074

1312‐20‐025 375.00

Implant SCREW MD 2.7X16MM 1312‐27‐316

3905064

1312‐27‐316 2,490.00



Implant MESH PHASIX ST 20X25CM

3904800

1222025 108,720.00

Implant SCREW TI LOCK 3.5X50MM

3201655‐C

47‐2369‐050‐35 1,422.00

Implant CABLE PIN35MM IMPLANT SET 00‐2232‐050‐18

3200045‐C

00‐2232‐050‐18 7,560.00

Implant SCREW MD 2.7X18MM 1312‐27‐318

3905065

1312‐27‐318 2,490.00

Implant SCREW PEG 2.5X15MM SP15000

3905072

SP15000 1,110.00

Implant PATELLA  ATTUNE 41MM 1518‐10‐041

3905077

1518‐10‐041 7,136.50

Implant SCREW LF 4.5 CORTICAL 68MM

3210671‐C

4845‐68‐01 199.20

Implant SHELL MULTIPOLAR 50MM

3210884‐C

5001‐50 5,714.25

Implant SCREW LG IM INTERLOCK 5.5X80MM

3211839‐C

00‐2253‐080‐55 2,520.00

Implant SCREW LG IM INTERLOCK 5.5X100MM

3211843‐C

00‐2253‐100‐55 2,520.00

Implant PLATE SEMI TUBULAR 12 HOLE 199MM

3600245‐C

00‐4945‐012‐03 1,125.00

Implant PLATE COMPRESSION 4.5X326M BROAD 20H

3600246‐C

00‐4945‐020‐01 4,788.00

Implant PLATE 150D X 5 HOLE VERSA‐FXII STD TUBE

3600284‐C

00‐1193‐150‐05 4,303.50

Implant PLATE L 2.7 X 35MM OBLIQUE RIGHT

3600325‐C

00‐4927‐003‐10 756.00

Implant PLATE 1/3 TUBULAR W/COLLAR 5H 61MM

3600431‐C

00‐4935‐005‐03 846.00

Implant PLATE T 3.5 X 68MM 3H HEAD 5H SHAFT

3600435‐C

00‐4935‐035‐04 1,620.00

Implant SCREW LAG STANDARD THREAD 12.7DX65MM

3200258‐C

00‐1193‐010‐25 3,060.00

Implant PLATE COMPRESSION 3.5 X 49MM 4 HOLE

3600440‐C

00‐4935‐004‐00 1,485.00

Implant PLATE COMPRESSION 3.5 X 109MM 9 HOLE

3600446‐C

00‐4935‐009‐00 1,845.00

Implant PLATE 4.5X55M COMPRESSION  NRW 3 HOLE

3600456‐C

00‐4945‐003‐00 1,620.00

Implant PLATE SEMI TUBULAR 151MM 9 HOLE

3600474‐C

00‐4945‐009‐03 1,035.00

Implant PLATE CLOVERLEAF 3.5 X 88MM 3 HOLE

3600479‐C

00‐4935‐003‐16 3,312.00

Implant PLATE 4945‐15 LF DCP NARROW 15 HOLE

3600494‐C

4945‐15 2,160.00



Implant NAIL IM M/DN FEMORAL 13MM DIA X 36CM

3600674‐C

00‐2252‐360‐13 13,549.20

Implant NAIL IM M/DN FEMORAL 13MM DIA X 44CM

3600678‐C

00‐2252‐440‐13 13,549.20

Implant NAIL IM M/DN FEMORAL 14MM DIA X 36CM

3600684‐C

00‐2252‐360‐14 13,549.20

Implant PLATE 3.5 X 92MM ULS DUAL COMP 7H STRL

3601112‐C

47‐4936‐007‐07 4,044.15

Implant SCREW CORTICAL MINI CRUCIFORM 2.0X22MM

3200340‐C

00‐4820‐022‐02 270.00

Implant PLATE 3.5 X 63MM UNIV LOCK 3H LT OBLQ

3601124‐C

00‐4936‐034‐05 4,366.20

Implant PLATE 2.7X47MM ULS 4H1/4T 00‐4928‐004‐03

3601147‐C

00‐4928‐004‐03 1,845.00

Implant PLATE 2.7X59MM ULS 5H1/4T 00‐4928‐005‐03

3601148‐C

00‐4928‐005‐03 1,899.00

Implant PLATE 2.7X93MM ULS 8H 1/4 00‐4928‐008‐03

3601151‐C

00‐4928‐008‐03 2,187.00

Implant PLATE 2.7 X 47MM ULS 1/4 TUBULAR 4H

3601153‐C

47‐4928‐004‐03 2,187.00

Implant PLATE 2.7 X 70MM ULS 1/4 TUBULAR 6H

3601155‐C

47‐4928‐006‐03 2,277.00

Implant PLATE 2.7X49MM ULS DC 4H 00‐4928‐004‐07

3601159‐C

00‐4928‐004‐07 3,600.00

Implant SCREW CORTICAL SML HEX 2.7X16MM

3200348‐C

00‐4827‐016‐00 252.00

Implant STENT 10 FR X 7 CM ADVANIX

3800742

M00534690 2,616.30

Implant STENT 8.5 FR X 9 CM ADVANIX

3800744

M00534640 2,616.30

Implant TUBE 24 FR REPL G‐TUBE STRAIGHT ENFIT

3800835

M00582090

M00509941 430.05

Implant SUTURE ANCHOR BIOCORKSCREW 5.0X17.9MM

3200409

AR‐1920BNF 3,847.50

Implant SUTURE ANCHOR CORKSCREW 3.5X12MM

3800150

AR‐1915S 12,600.00

Implant SCREW CORTICAL SML HEX 2.7X22MM

3200353‐C

00‐4827‐022‐00 252.00

Implant SCREW WASHERLOC 50MM

3900984‐C

908650 1,950.00

Implant SCREW BONE MULCH 10.5MM X 25MM

3900992‐C

907325 6,042.00

Implant CORTICAL STRUT LYO 15MMX100MM

3900964‐C

01301001 4,845.00

Implant STAPLE 128720 RICHARDS XSM SHORT

3500939‐C

12‐8720 891.15



Implant NAIL LONG 2.0 11 X 380MM X 13

3600701‐C

3230‐0380S 33,183.00

Implant NAIL LONG 2.0 11 X 420MM X 13

3600721‐C

3330‐0420S 33,183.00

Implant END ‐0‐ CAP STANDARD

3600733‐C

3005‐1100S 3,159.00

Implant SCREW 3060‐0105S LAG 10.5 X 105MM

3600740‐C

3060‐0105S 9,632.00

Implant SCREW 1896‐5030S 5 X 30MM FULLY THREADED

3600747‐C

1896‐5030S 3,180.00

Implant SCREW 3.5 CANN PART THD 14MM 205‐014

3200003‐C

205‐014 1,920.00

Implant SCREW CORTICAL ST SML HEX 3.5X26MM

3200382‐C

00‐4835‐026‐01 333.00

Implant SCREW  3.5 CANN PT 40MM 205‐040

3200022‐C

205‐040 3,953.52

Implant SCREW 3.5 CANN FT 16MM 205‐216

3200031‐C

205‐216 1,920.00

Implant SCREW 3.5 CANN FT 24MM 205‐224

3200035‐C

205‐224 1,920.00

Implant SCREW 3.5 CANN FT 32MM 205.232

3200039‐C

205.232 1,920.00

Implant SCREW 4.5MM CANN PT 20MM 215‐420

3200054‐C

215‐420 2,070.00

Implant SCREW 4.5MM CANN PT 24MM 215‐424

3200056‐C

215‐424 2,070.00

Implant SCREW  4.5MM CANN PT 36MM 215‐436

3200062‐C

215‐436 2,070.00

Implant SCREW 4.5 X 56MM CANN PT 214.556

3200068‐C

214.556 3,326.40

Implant SCREW 4.5 X 68MM CANN PT 214.568

3200071‐C

214.568 2,070.00

Implant SCREW 4.5MM CANN FT 26MM 214.726

3200076‐C

214‐726 2,385.00

Implant SCREW 4.0 X16MM CANC SM HEX FULL THD

3200392‐C

00‐4840‐016‐00 270.00

Implant SCREW 4.5MM CANN FT 34MM 214.734

3200080‐C

214‐734 2,070.00

Implant SCREW 4.5MM CANN FT 44MM 214.744

3200084‐C

214‐744 2,070.00

Implant SCREW 4.5 X 42MM CANN PT 214.542

3200261‐C

214.542 2,070.00

Implant PLATE 245.23 RECONST 2.7MM 12 HOLE

3600573

245‐23 5,937.12

Implant PLATE 223.591 3.5MM LCP 9 HOLE

3800468‐C

223.591 4,260.75



Implant PLATE 223.601 3.5MM LCP 10 HOLE

3800469‐C

223.601 5,526.72

Implant PLATE 241.161 3.5MM LCP T 6 HL/78MM RT A

3800476‐C

241.161 4,075.50

Implant SCREW 3.5 X 10MM LOCKING 212.101

3800492‐C

212.101 3,000.00

Implant SCREW 3.5 X 22MM LOCKING 212.107

3800498‐C

212.107 3,000.00

Implant SCREW 3.5 X 26MM LOCKING 212.109

3800500‐C

212.109 2,059.20

Implant SCREW 4.0X24MM CANCSML HEX FULL THD

3200396‐C

00‐4840‐024‐00 270.00

Implant PLATE L MAXILLOFACIAL 2 X 3 HOLE

3900699‐C

447.51 2,295.00

Implant PLATE L MAXILLOFACIAL 4 X 6 HOLE

3900701‐C

447.55 2,550.00

Implant PLATE X MAXILLOFACIAL 4 HOLE

3900705‐C

447.81 2,100.00

Implant PLATE 241.031 3.5MM LCP T 52MM OBLIQ RT

3900734‐C

241.031 3,648.00

Implant SCREW 1.3MM MAXILLOFACIAL 3MM

3900684‐C

400.623 1,042.50

Implant SCREW 2.0MM MAXILLOFACIAL 8MM

3900716‐C

401.158 802.50

Implant SCREW 2.0MM MAXILLOFACIAL 12MM

3900718‐C

401.162 596.25

Implant SCREW 602675S CANNULATED 6.5 X75MM TL20M

3211853‐C

602675S 4,179.95

Implant SCREW 602875S CANNULATED 6.5 X 75MM TL40

3211870‐C

602875S 4,061.25

Implant SCREW 602890S CANNULATED 6.5 X 90MM TL40

3211873‐C

602890S 4,061.25

Implant SCREW 4.0X24MM CANC SM HEX PART THD 10M

3200418‐C

00‐4840‐024‐01 270.00

Implant SCREW 611080S CANNULATED 8.0 X 80MM TL25

3211890‐C

611080S 3,990.00

Implant SCREW 611095S CANNULATED 8.0 X 95MM TL25

3211893‐C

611095S 4,488.75

Implant SCREW 611115S CANNULATED 8.0 X 115MM TL2

3211897‐C

611115S 2,475.00

Implant SCREW 2.0MM DIA. 09MM LENGTH

3200818‐C

F20‐09T‐09 2,280.00

Implant SCREW  2.0MM DIA 13MM LENGTH

3200822‐C

F20‐13T‐09 2,280.00

Implant SCREW 2.0MM DIA. 23MM LENGTH

3200833‐C

F20‐23T‐09 2,280.00



Implant SCREW 3.0MM DIA. 12MM L

3200836‐C

F30‐12T‐11 3,075.00

Implant SCREW 3.0MM DIA 28MM LO

3200844‐C

F30‐28T‐11 3,135.00

Implant SCREW 3.0MM DIA. 34MM L

3200847‐C

F30‐34T‐11 2,430.00

Implant SCREW 4.0MM DIA 28MM LO

3200855‐C

F40‐28T‐11 2,580.00

Implant SCREW LF 4.5 MALLEOLAR 25MM

3200493‐C

4845‐25‐08 325.50

Implant SCREW 4.0MM DIA. 38MM L

3200860‐C

F40‐38T‐11 3,450.00

Implant SCREW 4.0MM DIA. 55MM L

3200864‐C

F40‐55T‐11 2,730.00

Implant K‐WIRE 1.25 X 150MM TROCAR POINT 1 END

3200292

4901‐12‐15

00‐4901‐012‐15 114.30

Implant K‐WIRE 2.0 X 150MM TROCAR POINT 1 END

3200294

00‐4901‐020‐15 114.30

Implant STEINMAN PIN STYLE 6  4.0X229MM 5/32

3600941

00‐0187‐006‐69 144.00

Implant CEMENT BONE REFOBACIN 1X40 W/GENT

0034030

00‐1113‐140‐01

110034355 2,475.00

Implant SCREW CANC LG HEX FULL THREAD 6.5X105MM

3200111‐C

00‐4865‐105‐00 486.00

Implant SCREW 6.5 X 50MM CANC LG HEX FULL THD

3200114‐C

00‐4865‐050‐00 468.00

Implant SCREW 6.5 X 75MM CANC LG HEX FULL THD

3200119‐C

00‐4865‐075‐00 468.00

Implant HEXBUTTON SST SINGLE3.5MM 00‐2232‐001‐35

3200125‐C

00‐2232‐001‐35 1,143.00

Implant SCREW LF 4.5 MALLEOLAR 45MM

3200497‐C

4845‐45‐08 325.50

Implant SCREW CORTICAL ST SML HEX 3.5X105MM

3200226‐C

00‐4835‐105‐01 333.00

Implant SCREW LAG STANDARD THREAD 12.7DX55MM

3200256‐C

00‐1193‐010‐20 3,060.00

Implant SCREW LAG STANDARD THREAD 12.7DX100MM

3200265‐C

00‐1193‐010‐42 4,001.40

Implant SCREW LAG STANDARD THREAD 12.7DX110MM

3200267‐C

00‐1193‐010‐47 4,001.40

Implant SCREW LAG STANDARD THREAD 12.7DX145MM

3200272‐C

00‐1193‐010‐65 3,060.00

Implant SCREW CORTICAL MINI CRUCIFORM 1.5X6MM

3200327‐C

00‐4815‐006‐02 252.00



Implant SCREW CORTICAL SML HEX 2.7X6MM

3200342‐C

00‐4827‐006‐00 252.00

Implant SCREW CORTICAL MINI CRUCIFORM 2.0X12MM

3200358‐C

00‐4820‐012‐02 270.00

Implant SCREW CORTICAL MINI CRUCIFORM 2.0X16MM

3200360‐C

00‐4820‐016‐02 270.00

Implant SCREW CORTICAL ST SML HEX 3.5X50MM

3200387‐C

00‐4835‐050‐01 333.00

Implant SCREW 6.5 X 80MM CANC LG HEX 16MM THD

3200514‐C

00‐4865‐080‐01 468.00

Implant SCREW CORTICAL ST SML HEX 3.5X32MM

3200388‐C

00‐4835‐032‐01 333.00

Implant SCREW 4.0X18MM CANC SM HEX FULL THD

3200393‐C

00‐4840‐018‐00 270.00

Implant SCREW 4.0X28MM CANC SM HEX FULL THD

3200398‐C

00‐4840‐028‐00 270.00

Implant SCREW 4.0 X 55MM CANC SM HEX FULL THD

3200404‐C

00‐4840‐055‐00 270.00

Implant SCREW LAG STANDARD THREAD 12.7DX90MM

3200408‐C

00‐1193‐010‐37 4,001.40

Implant HEAD 7818‐40 40MM HIP 00‐7818‐040

3200436‐C

7818‐40

00‐7818‐040 7,125.00

Implant HEAD 7818‐46 46MM HIP 00‐7818‐046

3200441‐C

7818‐46

00‐7818‐046 7,125.00

Implant HEAD 7818‐51 51MM HIP

3200445‐C

7818‐51

00‐7818‐051 7,125.00

Implant HEAD 7818‐55 55MM HIP

3200449‐C

7818‐55

00‐7818‐055 7,125.00

Implant HEAD 7818‐63 63MM HIP

3200453‐C

7818‐63

00‐7818‐063 4,346.25

Implant SCREW 6.5 X 95MM CANC LG HEX 16MM THD

3200517‐C

00‐4865‐095‐01 486.00

Implant SCREW LF 4.5 MALLEOLAR 65MM

3200501‐C

4845‐65‐08 325.50

Implant SCREW LF 4.5 MALLEOLAR 70MM

3200502‐C

4845‐70‐08 325.50

Implant SCREW 6.5 X 40MM CANC LG HEX 16MM THD

3200506‐C

00‐4865‐040‐01 468.00

Implant SCREW 6.5 X 50MM CANC LG HEX 16MM THD

3200508‐C

00‐4865‐050‐01 468.00

Implant SCREW 6.5 X 55MM CANC LG HEX 16MM THD

3200509‐C

00‐4865‐055‐01 468.00



Implant SCREW CANC LG HEX 16MM THREAD 6.5X105MM

3200519‐C

00‐4865‐105‐01 486.00

Implant SCREW CANC LG HEX 16MM THREAD 6.5X110MM

3200520‐C

00‐4865‐110‐01 486.00

Implant SCREW CANC LG HEX 32MM THREAD 6.5X100MM

3200531‐C

00‐4865‐100‐02 486.00

Implant SCREW BASIC FRAG 4.5 CORTICAL

3200538‐C

4845‐22‐01 224.10

Implant SCREW LF 4.5 CORTICAL 36MM

3200545‐C

4845‐36‐01 288.00

Implant SCREW 6.5 X 70MM CANC LG HEX 32MM THD

3200525‐C

00‐4865‐070‐02 468.00

Implant SCREW LF 4.5 CORTICAL 46MM

3200549‐C

4845‐46‐01 288.00

Implant SCREW BASIC FRAG 4.5 CORTICAL 62 MM

3200963‐C

4845‐62‐01 199.20

Implant SCREW CORTICAL MINI CRUCIFORM 2.0X20MM

3200981‐C

00‐4820‐020‐02 270.00

Implant SCREW CANC LG HEX FULL THREAD 6.5X35MM

3201178‐C

00‐4865‐035‐00 468.00

Implant SCREW LOCK LNG PERI 3.5X26MM

3201407‐C

00‐2359‐026‐35 1,422.00

Implant SCREW LOCK LNG PERI 3.5X42MM

3201415‐C

00‐2359‐042‐35 1,422.00

Implant SCREW LOCK LNG PERI 3.5X65MM

3201425‐C

00‐2359‐065‐35 1,620.00

Implant SCREW LOCK LNG PERI 3.5X80MM

3201428‐C

00‐2359‐080‐35 1,620.00

Implant SCREW FULL THREAD CANNULATED 3.5X18MM

3201435‐C

00‐1147‐018‐36 2,484.00

Implant SCREW FULL THREAD CANNULATED 3.5X22MM

3201437‐C

00‐1147‐022‐36 2,484.00

Implant SCREW 6.5 X 95MM CANC LG HEX 32MM THD

3200530‐C

00‐4865‐095‐02 486.00

Implant SCREW FULL THREAD CANNULATED 3.5X24MM

3201438‐C

00‐1147‐024‐36 2,484.00

Implant SCREW FULL THREAD CANNULATED 3.5X34MM

3201443‐C

00‐1147‐034‐36 2,484.00

Implant SCREW FULL THREAD CANNULATED 3.5X48MM

3201450‐C

00‐1147‐048‐36 2,484.00

Implant SCREW FULL THREAD CANNULATED 3.5X50MM

3201451‐C

00‐1147‐050‐36 2,484.00

Implant SCREW FULL THREAD CANNULATED 3.5X60M

3201453‐C

00‐1147‐060‐36 2,484.00

Implant SCREW FULL THREAD CANNULATED 3.5X95MM

3201460‐C

00‐1147‐095‐36 2,484.00



Implant SCREW PART THREAD CANNULATED 3.5X14MM

3201470‐C

00‐1147‐014‐35 2,484.00

Implant SCREW PART THREAD CANNULATED 3.5X16MM

3201471‐C

00‐1147‐016‐35 2,484.00

Implant SCREW PART THREAD CANNULATED 3.5X22MM

3201474‐C

00‐1147‐022‐35 2,484.00

Implant SCREW PART THREAD CANNULATED 3.5X34MM

3201480‐C

00‐1147‐034‐35 2,484.00

Implant SCREW BASIC FRAG 4.5 CORTICAL

3200539‐C

4845‐24‐01 288.00

Implant SCREW PART THREAD CANNULATED 3.5X44MM

3201485‐C

00‐1147‐044‐35 2,484.00

Implant SCREW 1/2 THREAD CANNULATED 4.0X32MM

3201516‐C

00‐1147‐032‐41 2,574.00

Implant SCREW 1/3 THREAD CANNULATED 4.0X14MM

3201544‐C

00‐1147‐014‐40 2,574.00

Implant SCREW 1/3 THREAD CANNULATED 4.0X20MM

3201547‐C

00‐1147‐020‐40 2,574.00

Implant SCREW 1/3 THREAD CANNULATED 4.0X28MM

3201551‐C

00‐1147‐028‐40 2,574.00

Implant SCREW 1/3 THREAD CANNULATED 4.0X36MM

3201555‐C

00‐1147‐036‐40 2,574.00

Implant SCREW 1/3 THREAD CANNULATED 4.0X50MM

3201562‐C

00‐1147‐050‐40 2,574.00

Implant SCREW 4.0 X 55MM 1/3 THD CANNULATED

3201563‐C

00‐1147‐055‐40 2,574.00

Implant SCREW 4.0 X 60M 1/3 THD CANNULATED

3201564‐C

00‐1147‐060‐40 2,574.00

Implant SCREW 1/3 THREAD CANNULATED 4.0X125MM

3201577‐C

00‐1147‐125‐40 2,574.00

Implant SCREW 4.5 X 42MM CORTICAL S/T LRG HEX

3200547‐C

00‐4845‐042‐01 288.00

Implant SCREW UNIV LOCK 2.7X22MM

3201586‐C

00‐4828‐022‐02 1,476.00

Implant SCREW UNIV LOCK 2.7X24MM

3201587‐C

00‐4828‐024‐02 1,476.00

Implant SCREW UNIV LOCK 2.7X26MM

3201588‐C

00‐4828‐026‐02 1,476.00

Implant SCREW UNIV LOCK 2.7X42MM

3201596‐C

00‐4828‐042‐02 1,476.00

Implant SCREW LOCK STERILE 2.7X55MM

3201625‐C

47‐4828‐055‐02 1,476.00

Implant SCREW LOCK 3.5X26MM

3201630‐C

00‐2369‐026‐35 1,377.00

Implant SCREW LOCK 3.5X36MM

3201635‐C

00‐2369‐036‐35 1,296.00



Implant SCREW LOCK 3.5X50MM

3201642‐C

00‐2369‐050‐35 1,296.00

Implant SCREW TI  LOCK 3.5X30MM

3201647‐C

47‐2369‐030‐35 1,320.00

Implant SCREW LG IM INTERLOCK 5.5X20MM

3211797‐C

00‐2253‐020‐55 2,520.00

Implant SCREW LF 4.5 CORTICAL 64MM

3200557‐C

4845‐64‐01 199.20

Implant PLATE L 2.0 X 21MM OBLIQUE RIGHT

3600366‐C

00‐4920‐002‐10 756.00

Implant PLATE T 3.5 X 78MM 4H HEAD 6H SHAFT

3600436‐C

00‐4935‐046‐04 1,845.00

Implant PLATE COMPRESSION 3.5 X 85MM 7 HOLE

3600442‐C

00‐4935‐007‐00 1,710.00

Implant PLATE 4.5 X 231MM COMPRESSION  BROAD 14H

3600453‐C

00‐4945‐014‐01 3,105.00

Implant PLATE 4.5 X 263MM COMPRESSION BROAD 16 H

3600454‐C

00‐4945‐016‐01 3,375.00

Implant PLATE 4.5 X 167MM COMPRESSION NRW 10 H

3600463‐C

00‐4945‐010‐00 2,340.00

Implant PLATE SEMI TUBULAR 3 HOLE 55MM

3600468‐C

00‐4945‐003‐03 720.00

Implant PLATE SEMI TUBULAR  5 HOLE 87MM

3600470‐C

00‐4945‐005‐03 792.00

Implant PLATE 4.5 X 120MM SPOON  6 HOLE

3600482‐C

00‐4945‐006‐13 3,060.00

Implant PLATE 4945‐04‐12 LF BUTTRESS RT 4 HOLE

3600490‐C

4945‐04‐12 3,420.00

Implant WASHER SML 2.7,3.5,4.0MM SCREWS 7.0M O.D

3200576‐C

00‐4900‐040‐51 297.00

Implant PLATE 4945‐18 LF DCP NARROW 18 HOLE

3600496‐C

4945‐18 3,150.00

Implant NAIL IM M/DN FEMORAL 10MM DIA X 38CM

3600663‐C

00‐2252‐380‐10 13,549.20

Implant NAIL IM M/DN FEMORAL 9MM DIA X 38CM

3600667‐C

00‐2252‐380‐09 13,549.20

Implant NAIL IM M/DN FEMORAL  9MM DIA X 32CM

3600670‐C

00‐2252‐320‐09 13,549.20

Implant NAIL IM M/DN FEMORAL 13MM DIA X 34CM

3600686‐C

00‐2252‐340‐13 13,549.20

Implant PIN 1/2 150X35MM

3600797

4453‐40‐15 690.00

Implant PLATE 135D X 4 HOLE VERSA‐FXII STD PLATE

3600981‐C

00‐1193‐135‐04 6,061.95

Implant PLATE 3.5 X 53MM ULS DUAL COMP 4H STRL

3601109‐C

47‐4936‐004‐07 3,690.00



Implant PLATE 3.5 X 51MM UNIV LOCK 3H LT OBLQ

3601122‐C

00‐4936‐033‐05 4,161.00

Implant PLATE 3.5 X 68MM LOCK 1/3 TUB 5H

3601132‐C

00‐4936‐005‐03 1,980.00

Implant WASHER LRG 4.5,6.5MM SCREWS 13MM OD

3200577‐C

00‐4900‐065‐51 441.00

Implant TUBE 18 FR REPL G‐TUBE STRAIGHT ENFIT

3800831

M00582070

M00509911 430.05

Implant STENT SSR‐11.5 SOEHENDRA RETRIEVER

3810965

SSR‐11.5 1,305.00

Implant SCREW WASHERLOC 4.5X34MM CORTICAL

3200323‐C

908634 1,890.00

Implant SCREW WASHERLOC 4.5X28MM CORTICAL

3900973‐C

908628 1,890.00

Implant SCREW BONE MULCH 10.5MM X 35MM

3900976‐C

907335 5,785.50

Implant SCREW LOCK LNG PERI 3.5X12MM

3201400‐C

00‐2359‐012‐35 1,422.00

Implant SCREW 8970S CANN INTRF 7 X 20

3200424‐C

9870S 1,305.00

Implant SCREW 8960S CANN INTRF 9X20

3210387‐C

8960S 1,335.00

Implant STAPLE 128722 RICHARDS SML SHORT

3500938‐C

12‐8722 1,985.10

Implant NAIL LONG 2.0 11 X 300MM X 13

3600697‐C

3230‐0300S 28,350.00

Implant SCREW 3060‐0095S LAG 10.5 X 95MM

3600738‐C

3060‐0095S 10,178.00

Implant SCREW 1896‐5040S 5 X 40 MM FULLY THREADE

3600749‐C

1896‐5040S 3,585.00

Implant SCREW 3.5 CANN PT 24MM 205‐024

3200011‐C

205‐024 3,584.16

Implant SCREW  3.5 CANN PT 28MM 205‐028

3200013‐C

205‐028 1,920.00

Implant SCREW 3.5 CANN PT 38MM 205‐038

3200021‐C

205‐038 2,220.00

Implant SCREW 3.5 CANN FT 22MM 205‐222

3200034‐C

205‐222 1,920.00

Implant SCREW LOCK LNG PERI 3.5X20MM

3201404‐C

00‐2359‐020‐35 1,422.00

Implant SCREW 4.5MM CANN PT 22MM 215‐422

3200055‐C

215‐422 2,070.00

Implant SCREW 4.5 X 20MM CANN FT 214.720

3200073‐C

214.720 2,385.00

Implant SCREW 4.5MM CANN FT 24MM 214.724

3200075‐C

214‐724 2,385.00



Implant SCREW 4.5MM CANN FT 36MM 214.736

3200081‐C

214‐736 2,070.00

Implant SCREW 4.5MM CANN FT 48MM 214.748

3200085‐C

214‐748 2,070.00

Implant SCREW 214.756 4.5MM CANN FT 56MM

3200087‐C

214‐756 2,070.00

Implant SCREW 214.722 4.5MM CANN FT 72MM

3200091‐C

214‐772 2,070.00

Implant STEINMAN PIN XFIX 5.0 X 180MM

3610895

293‐51 345.00

Implant PLATE 241.62 CALCANEAL LARGE 70MM

3611724‐C

241.62 9,179.52

Implant SCREW 4.35MM TI CANCELLOUS 488.814

3800161‐C

488.814 3,918.75

Implant SCREW LOCK LNG PERI 3.5X28MM

3201408‐C

00‐2359‐028‐35 1,422.00

Implant PLATE 241.071 3.5MM LCP T 96MM OBLIQUE R

3800472‐C

241.071 4,132.50

Implant PLATE 241.151 3.5MM LCP T 5HL/67MM RT AN

3800475‐C

241.151 6,744.24

Implant PLATE 241.361 LCP 1/3 TUB 6 HOLE/69MM

3800479‐C

241.361 3,804.75

Implant PLATE 241.371 LCP 1/3 TUB 7 HOLE/81MM

3800480‐C

241.371 3,876.00

Implant PLATE 241.971 3.5MM LCP T 96MM OBLIQUE L

3800487‐C

241.971 4,132.50

Implant PLATE 245.121 3.5MM LCP RECON 12 HOLE/16

3800491‐C

245.121 6,056.25

Implant SCREW 3.5 X 20MM LOCKING 212.106

3800497‐C

212.106 3,000.00

Implant SCREW 3.5 X 34 MM LOCKING 212.113

3800504‐C

212.113 2,318.40

Implant PLATE 245.30 RECONST 3.5MM CURVED 6 HOLE

3900644

245.30 6,128.64

Implant PLATE Y MAXILLOFACIAL 2 X 4 HOLE

3900712‐C

447.62 2,325.00

Implant SCREW LOCK LNG PERI 3.5X34MM

3201411‐C

00‐2359‐034‐35 1,422.00

Implant PLATE 245.051 3.5MM LCP RECON 5HL/70MM

3900728‐C

245.051 9,534.00

Implant PLATE 223.641 3.5MM LCP 14 HOLE

3900733‐C

223.641 7,686.00

Implant PLATE CERVICAL SPINE 8 HOLE

3900790

487.33 15,730.00

Implant SCREW 1.0MM MAXILLOFACIAL 3MM

3900661‐C

400.503 840.00



Implant SCREW 1.3MM MAXILLOFACIAL 4MM

3900685‐C

400.624 915.00

Implant SCREW 1.3MM MAXILLOFACIAL 5MM

3900686‐C

400.625 1,372.50

Implant SCREW 1.3MM MAXILLOFACIAL 8MM

3900687‐C

400.628 915.00

Implant SCREW 2.0MM MAXILLOFACIAL 10MM

3900717‐C

401.160 627.00

Implant SCREW  2.4MM MAXILLOFACIAL 8MM

3900721‐C

401.308 666.00

Implant SCREW 602720S CANNULATED 6.5 X 120MM TL2

3211862‐C

602720S 5,030.25

Implant SCREW LOCK LNG PERI 3.5X50MM

3201419‐C

00‐2359‐050‐35 1,422.00

Implant SCREW 602920S CANNULATED 6.5 X 120MM TL4

3211879‐C

602920S 2,475.00

Implant SCREW 611050S CANNULATED 8.0 X 50MM TL25

3211884‐C

611050S 3,375.00

Implant SCREW 611125S CANNULATED 8.0 X 125MM TL2

3211899‐C

611125S 2,475.00

Implant SCREW 2.0MM DIA. 10MM LENGTH

3200819‐C

F20‐10T‐09 2,730.00

Implant SCREW 2.0MM DIA. 20MM LENGTH

3200830‐C

F20‐20T‐09 2,280.00

Implant SCREW 3.0MM DIA. 10MM L

3200835‐C

F30‐10T‐11 2,280.00

Implant SCREW 4.0MM DIA. 20MM L

3200851‐C

F40‐20T‐11 2,580.00

Implant SCREW 4.0MM DIA 26MM LO

3200854‐C

F40‐26T‐11 3,450.00

Implant K‐WIRE 1.0 X 150MM TROCAR POINT 1 END

3200291

4901‐10‐15

00‐4901‐010‐15 114.30

Implant CEMENT PALACOS R W/O GENTAMY

3211940

1112‐140‐01

00‐1112‐140‐01 1,513.05

Implant SCREW LOCK LNG PERI 3.5X56MM

3201422‐C

00‐2359‐056‐35 1,422.00

Implant SUTURE ANCHOR CORKSCREW 5X15.5MM

3200369

AR‐1920SF 2,925.00

Implant PLATE CABLE/READY BONE 8H‐8BND 246MM

3200047‐C

00‐2232‐003‐02 11,709.60

Implant CABLE ASSY CERCLAGE COCR 1.8 X 635MM

3200096‐C

00‐2232‐004‐18

2232‐04‐18 4,907.70

Implant NAIL CAP HUMERAL LOCK 00‐2252‐003‐00

3200097‐C

00‐2252‐003‐00 2,799.00



Implant SCREW CORTICAL ST SML HEX 3.5X85MM

3200103‐C

00‐4835‐085‐01 333.00

Implant SCREW CORTICAL ST SML HEX 3.5X55MM

3200109‐C

00‐4835‐055‐01 333.00

Implant SCREW 6.5 X 80MM CANC LG HEX FULL THD

3200221‐C

00‐4865‐080‐00 486.00

Implant SCREW CORTICAL ST SML HEX 3.5X110MM

3200227‐C

00‐4835‐110‐01 333.00

Implant SCREW LAG STANDARD THREAD 12.7DX140MM

3200254‐C

00‐1193‐010‐62 3,060.00

Implant SCREW LAG STANDARD THREAD 12.7DX60MM

3200257‐C

00‐1193‐010‐22 3,060.00

Implant SCREW CORTICAL SML HEX 2.7X20MM

3200304‐C

00‐4827‐020‐00 252.00

Implant SCREW LOCK LNG PERI 3.5X85MM

3201429‐C

00‐2359‐085‐35 1,620.00

Implant PLATE COMPRESSION 2.7 X 36MM 4H 2.0M THK

3200310‐C

00‐4927‐004‐00 1,530.00

Implant PLATE COMPRESSION 2.7 X 44MM 5H 2.0M THK

3200311‐C

00‐4927‐005‐00 1,755.00

Implant SCREW CORTICAL MINI CRUCIFORM 1.5X7MM

3200328‐C

00‐4815‐007‐02 252.00

Implant SCREW CORTICAL MINI CRUCIFORM 1.5X8MM

3200329‐C

00‐4815‐008‐02 252.00

Implant SCREW CORTICAL MINI CRUCIFORM 1.5X20MM

3200338‐C

00‐4815‐020‐02 252.00

Implant SCREW CORTICAL SM HEX 2.7X8MM

3200343‐C

00‐4827‐008‐00 252.00

Implant SCREW 3.5 X 24MM CORTICAL ST SML HEX

3200381‐C

00‐4835‐024‐01 333.00

Implant SCREW 4.0X12MM CANC SM HEX FULL THD

3200390‐C

00‐4840‐012‐00 270.00

Implant SCREW 4.0X32MM CANC SM HEX FULL THD

3200399‐C

00‐4840‐032‐00 270.00

Implant SHELL MULTI POLAR 57MM 5001‐57

3200410‐C

5001‐57 5,714.25

Implant SCREW LOCK LNG PERI 3.5X90MM

3201430‐C

00‐2359‐090‐35 1,620.00

Implant SCREW 4.0X12MM CANC SM HEX PART THD 5MM

3200412‐C

00‐4840‐012‐01 270.00

Implant SCREW 4.0X26MM CANC SM HEX PART THD 12MM

3200419‐C

00‐4840‐026‐01 270.00

Implant SCREW 4.0X28MM CANC SM HEX PART THD 14M

3200420‐C

00‐4840‐028‐01 270.00

Implant SCREW 4.0X35MM CANC SM HEX PART THD 14MM

3200423‐C

00‐4840‐035‐01 270.00



Implant SCREW 4.0X50MM CANC SM HEX PART THD 15M

3200427‐C

00‐4840‐050‐01 270.00

Implant SHELL MULTI POLAR 60MM 5001‐60

3200430‐C

5001‐60 5,714.25

Implant SCREW CANC LG HEX 32MM THREAD 6.5X110MM

3200533‐C

00‐4865‐110‐02 486.00

Implant SCREW LF 4.5 CORTICAL 52MM

3200552‐C

4845‐52‐01 199.20

Implant SCREW LF 4.5 CORTICAL 70MM

3200558‐C

4845‐70‐01 199.20

Implant SCREW CANC LG HEX FULL THREAD 6.5X20MM

3201309‐C

00‐4865‐020‐00 468.00

Implant SCREW FULL THREAD CANNULATED 3.5X26MM

3201439‐C

00‐1147‐026‐36 2,484.00

Implant SCREW LOCK LNG PERI 3.5X16MM

3201402‐C

00‐2359‐016‐35 1,422.00

Implant SCREW LOCK LNG PERI 3.5X40MM

3201414‐C

00‐2359‐040‐35 1,422.00

Implant SCREW LOCK LNG PERI 3.5X70MM

3201426‐C

00‐2359‐070‐35 1,620.00

Implant SCREW FULL THREAD CANNULATED 3.5X90MM

3201459‐C

00‐1147‐090‐36 2,484.00

Implant SCREW PART THREAD CANNULATED 3.5X10MM

3201468‐C

00‐1147‐010‐35 2,484.00

Implant SCREW PART THREAD CANNULATED 3.5X32MM

3201479‐C

00‐1147‐032‐35 2,484.00

Implant SCREW PART THREAD CANNULATED 3.5X65MM

3201491‐C

00‐1147‐065‐35 2,484.00

Implant SCREW PART THREAD CANNULATED 3.5X80MM

3201494‐C

00‐1147‐080‐35 2,484.00

Implant SCREW PART THREAD CANNULATED 3.5X130MM

3201504‐C

00‐1147‐130‐35 2,484.00

Implant SCREW 1/2 THREAD CANNULATED 4.0X14MM

3201507‐C

00‐1147‐014‐41 2,574.00

Implant SCREW FULL THREAD CANNULATED 3.5X42MM

3201447‐C

00‐1147‐042‐36 2,484.00

Implant SCREW 1/2 THD CANNULATED 4.0X20MM

3201510‐C

00‐1147‐020‐41 2,574.00

Implant SCREW 1/2 THREAD CANNULATED 4.0X24MM

3201512‐C

00‐1147‐024‐41 2,574.00

Implant SCREW 1/2 THREAD CANNULATED 4.0X38MM

3201519‐C

00‐1147‐038‐41 2,574.00

Implant SCREW 1/2 THREAD CANNULATED 4.0X40MM

3201520‐C

00‐1147‐040‐41 2,574.00

Implant SCREW 4.0 X 95MM 1/2 THD CANNULATED

3201534‐C

00‐1147‐095‐41 2,574.00



Implant SCREW 1/3 THREAD CANNULATED 4.0X46MM

3201560‐C

00‐1147‐046‐40 2,574.00

Implant SCREW 1/3 THREAD CANNULATED 4.0X110MM

3201574‐C

00‐1147‐110‐40 2,574.00

Implant SCREW UNIV LOCK 2.7X28MM

3201589‐C

00‐4828‐028‐02 1,476.00

Implant SCREW  LOCK STERILE 2.7X10MM

3201604‐C

47‐4828‐010‐02 1,476.00

Implant SCREW LOCK STERILE 2.7X24MM

3201611‐C

47‐4828‐024‐02 1,476.00

Implant SCREW FULL THREAD CANNULATED 3.5X46MM

3201449‐C

00‐1147‐046‐36 2,484.00

Implant SCREW LOCK STERILE 2.7X26MM

3201612‐C

47‐4828‐026‐02 1,476.00

Implant SCREW LOCK 3.5X42MM

3201638‐C

00‐2369‐042‐35 1,296.00

Implant SCREW TI LOCK 3.5X32MM

3201648‐C

47‐2369‐032‐35 1,320.00

Implant NAIL I/M M/DN TIBIAL 9MM X 34CM

3210394‐C

00‐2253‐340‐09 13,910.40

Implant SCREW CANC LG HEX FULL THREAD 6.5X25MM

3210403‐C

00‐4865‐025‐00 468.00

Implant SCREW LG IM INTERLOCK 5.5X65MM

3211836‐C

00‐2253‐065‐55 2,520.00

Implant SCREW LG IM INTERLOCK 5.5X70MM

3211837‐C

00‐2253‐070‐55 2,520.00

Implant SCREW LG IM INTERLOCK 5.5X90MM

3211841‐C

00‐2253‐090‐55 2,520.00

Implant PLATE 135D X 5 HOLE VERSA‐FXII STD TUBE

3600275‐C

00‐1193‐135‐05 5,664.38

Implant PLATE 135D X 6 HOLE VERSA‐FXII STD TUBE

3600276‐C

00‐1193‐135‐06 6,061.95

Implant SCREW PART THREAD CANNULATED 3.5X12MM

3201469‐C

00‐1147‐012‐35 2,484.00

Implant PLATE 135D X 8 HOLE VERSA‐FXII STD TUBE

3600277‐C

00‐1193‐135‐08 7,812.00

Implant PLATE 135D X 12 HOLE VERSA‐FXII STD TUBE

3600279‐C

00‐1193‐135‐12 4,360.50

Implant PLATE 150D X 4 HOLE VERSA‐FXII SHT TUBE

3600286‐C

00‐1193‐150‐94 5,664.38

Implant PLATE 150D X 6 HOLE VERSA‐FXII STD TUBE

3600288‐C

00‐1193‐150‐06 4,303.50

Implant PLATE 1/4 TUBULAR W/COLLAR 4H 31MM

3600319‐C

00‐4927‐004‐03 900.00

Implant PLATE 1/3 TUBULAR W/COLLAR 4H 49MM

3600430‐C

00‐4935‐004‐03 846.00



Implant PLATE COMPRESSION  3.5 X 61MM 5 HOLE

3600445‐C

00‐4935‐005‐00 1,140.00

Implant PLATE 4.5X119 COMPRESSION BROAD 7 HOLE

3600448‐C

00‐4945‐007‐01 2,385.00

Implant PLATE SEMI TUBULAR 119MM 7 HOLE

3600472‐C

00‐4945‐007‐03 864.00

Implant PLATE T 4.5 X 116MM 6 HOLE

3600486‐C

00‐4945‐006‐04 3,015.00

Implant SCREW PART THREAD CANNULATED 3.5X28MM

3201477‐C

00‐1147‐028‐35 2,484.00

Implant PLATE 4945‐05‐06 LF BUTTRESS 5 HOLE

3600489‐C

4945‐05‐06 3,030.00

Implant NAIL IM M/DN FEMORAL 9MM DIA X 34CM

3600669‐C

00‐2252‐340‐09 13,549.20

Implant PIN 1/2 120X35MM

3600789

6006‐22 873.00

Implant PLATE 3.5 X 66M ULS DUAL COMP 5H STRL

3601110‐C

47‐4936‐005‐07 3,693.60

Implant PLATE 2.7X36MM 3H ULS1/4 00‐4928‐003‐03

3601146‐C

00‐4928‐003‐03 1,755.00

Implant PLATE 2.7 X 59MM ULS 1/4 TUBULAR 5H

3601154‐C

47‐4928‐005‐03 2,232.00

Implant PLATE 2.7X95MM ULS DC 8H 00‐4928‐008‐07

3601162‐C

00‐4928‐008‐07 4,001.40

Implant PLATE 2.7X118MM ULSDC 10H 00‐4928‐010‐07

3601164‐C

00‐4928‐010‐07 4,275.00

Implant PLATE 2.7X187MM ULS DC16H 00‐4928‐016‐07

3601166

00‐4928‐016‐07 5,352.30

Implant PLATE 2.7 X 72MM ULS DUAL COMP 6H

3601170‐C

47‐4928‐006‐07 3,873.15

Implant SCREW PART THREAD CANNULATED 3.5X110MM

3201500‐C

00‐1147‐110‐35 2,484.00

Implant PLATE 2.7X187MM ULS DUAL COMP 16H STRL

3601176‐C

47‐4928‐016‐07 5,446.35

Implant PLATE 2.7 X 62MM ULS T 2H

3601193‐C

00‐4928‐005‐02 4,497.30

Implant PLATE T 2.7 X 62MM ULS 2H HEAD 5H SHAFT

3601203‐C

47‐4928‐005‐02 4,899.15

Implant PLATE 3.5 X 79MM UNIV LOCK R/STR 6H

3601224‐C

00‐4936‐006‐13

00‐4936‐006‐13A 5,871.00

Implant PLATE 3.5 X 144MM UNIV LOCK 11H REC STR

3601229‐C

00‐4936‐011‐13 7,062.30

Implant NAIL IM M/DN TIBIAL 8MM DIA X 38CM

3610392‐C

00‐2253‐380‐08 13,910.40

Implant NAIL IM M/DN TIBIAL 9MM DIA X 36CM

3610395‐C

00‐2253‐360‐09 13,910.40



Implant NAIL IM M/DN TIBIAL 12MM DIA X 34CM

3610401‐C

00‐2253‐340‐12 13,910.40

Implant NAIL IM M/DN FEMORAL 12MM DIA X 34CM

3611386‐C

00‐2252‐340‐12 13,549.20

Implant NAIL IM M/DN FEMORAL 12MM DIA X 36CM

3611388‐C

00‐2252‐360‐12 13,549.20

Implant SCREW PART THREAD CANNULATED 3.5X125MM

3201503‐C

00‐1147‐125‐35 2,484.00

Implant NAIL IM M/DN FEMORAL 12MM DIA X 42CM

3611391‐C

00‐2252‐420‐12 13,549.20

Implant NAIL IM M/DN FEMORAL 11MM DIA  X 42CM

3611400‐C

00‐2252‐420‐11 13,549.20

Implant PLATE 1/3 TUBULAR W/COLLAR 10H 121MM

3800199‐C

00‐4935‐010‐03 945.00

Implant SCREW LAG LARGE THREAD 15.8DX75MM

3800538‐C

00‐1193‐015‐30 3,307.50

Implant PLATE 140D X 4 HOLE VERSA‐FXII SHT TUBE

3900632‐C

00‐1193‐140‐94 5,664.38

Implant SCREW SELF TAPPING 6.5X20MM

3900900‐C

00‐6250‐065‐20 1,773.75

Implant SCREW RECON LG 5.5MM DIA X 75MM

3900912‐C

00‐2252‐075‐55 3,744.00

Implant SCREW IM MED INTERLOCK 4.2X30MM

3900927‐C

00‐2253‐030‐42 2,520.00

Implant NAIL CAP 10MM  M/DN EXTENDED

3900941‐C

00‐2252‐001‐10 3,132.00

Implant SCREW IM SML INTERLOCK 3.7X40MM

3900947‐C

00‐2253‐040‐37 2,520.00

Implant SCREW 1/2 THREAD CANNULATED 4.0X10MM

3201505‐C

00‐1147‐010‐41 2,574.00

Implant SUTURE ANCHOR BIO SUTURE TAK 3X14.5MM

3200429

AR‐1934BF 3,675.00

Misc‐Cardi TRANSVENOUS PACE ELECTRODE 5F

0021159

008566A

0422008566A 1,969.95

Misc‐Cardi WIRELESS CELL ADAPTER AND SERVICE

8600134

EX1151 5,797.61

Misc‐Cardi TRAY PC101 PERICARDIOCENTESIS 6FR

3800298

PC101B 1,424.25

Needle NEEDLE 20 X 3 1/2 SPINAL

0019205

405182

0723405182 33.75

Needle NEEDLE 22 X 3 1/2 SPINAL

0019223

405181

0723405181 33.75



Needle NEEDLE 27 X 3 1/2 WHITACRE SPINAL

0019283

405079

0723405079 127.50

Needle NEEDLE TUOHY EPIDURAL 22G X 3.15C

3901193

332171

3584332171 105.45

Needle GUIDE W/96" CVR SITE RITE 21 GA NEEDLE

0031413

9002196 270.00

Needle NEEDLE SPROT SPINAL 24G X 90MM

3311599

121151‐30A 142.50

Needle NEEDLE 22G X 3 1/2 WHITACRE

3901266

405010

0723405010 110.40

Needle NEEDLE 18G SPINAL TIP 15 DEGREE

3901167

890‐204 375.00

Needle NEEDLE 18G STANDARD TIP 15"

3901168

890‐203 330.00

Needle NEEDLE TN EPIDURAL TUOHY 20

3901224

332167/E2035‐TN 112.95

Needle KIT 20 GA NEEDLE GUIDE

0031412

9001C0214 255.00

Needle KIT STERILE NEEDLE GUIDE

3800157

9001C0212 171.00

Needle NEEDLE ULTRA FAST FIX AB CURVED

3901344

72201494 5,327.93

Needle NEEDLE TUOHY EPIDURAL 18GA X6"

3800384

6‐2150‐18 228.75

Needle NEEDLE SPINAL 22GX2" STIMUPLEX ECHOGENIC

3300582

333652 165.00

Needle NEEDLE 22 GA X 6" BLUNT SPROT

3300395

141151‐30C

INS22150 195.00

Needle CATHETER 20/22 TWIN LUMEN PERI

0619600

IVO1100

IV01100

IV‐01100 131.40

Needle NEEDLE 22 GA X 8"  SPINAL

5200149

8‐1149‐22 202.50

Needle NEEDLE 22 GA X 6" SPINAL

0019224

6P‐1149‐22 134.25

Needle NEEDLE  24GAX150M SPROT SPINAL

4510340

131151‐30A 187.50

Needle NEEDLE SPINAL 25 GA X 5" PEN PNT

3800224

405140

0723405140 134.85



Needle NEEDLE PERIFIX 17GA X 41/2" EPDUR

3300425

332181

3584332181 105.90

Needle NEEDLE 22 X 1 1/2 SPINAL

0019214

405161

0723405161 32.55

Needle NEEDLE 18 X 3/1/2 SPINAL

0019170

405184

0723405184 33.75

Needle NEEDLE CP 18 X 3/1/2 SPINAL

0019170LUM

405184

0723405184 33.75

Needle NEEDLE 25 X 3 1/2 SPINAL

0019232

405180

0723405180 25.95

Packing PACKING EPISTAXIS

3010582

460406 420.00

Packing RAPID RHINO RR‐600 SINU‐KNIT

3088170

RR‐600 597.45

Packing PACKING NASAL DOYLE

3010580

440411 457.50

Packing PACKING NASAL SLIM LINE DOYLE

3831445

440413 268.50

Packing PACKING NASAL COMPRESSED

3800435

440402 279.00

Packing PACKING NASAL 470405 W/AIRWAY MEROCEL

3010579

470405 450.00

Packing RAPID RHINO 7.5 CM ANTERIOR / POS

9000026

RR‐750 574.50

Packing RAPID RHINO 4.5 CM ANTERIOR / POS

9000028

RR‐450 556.50

Packing RAPID RHINO 5.5 CM ANTERIOR / POS

9000027

RR‐550 556.50

Pin GUIDE PIN 3.2 X 230MM CALIBRATED

3800560‐C

00‐1193‐015‐00 351.00

Pin GUIDE PIN 3.2X9" SMOOTH

3987829

00‐1147‐093‐00

1147‐093‐00 322.20

Pin GUIDE PIN 2.4MM X 9" PART THD TROCAR TIP

3987866

00‐1147‐087‐00

1147‐087‐00 237.60

Pin PIN NONTHREADED 3.0X355MM 00‐2490‐047‐30

3988844

00‐2490‐047‐30 1,512.00

Pin STEINMAN PIN  3.2 THD TIP REV SHLDR

3987774

405800 2,235.00



Pin GUIDE PIN 3.2MM X 9" PART THD TROCAR TIP

3988864

00‐1147‐088‐00

1147‐088‐00 237.60

Pin GUIDE PIN 3.2X9" SMOOTH SHAFT TROCAR TIP

3987830

00‐1147‐092‐00

1147‐092‐00 322.20

Pin PIN VERSATOMIC GUIDE ACL

3989697

234‐108‐200 3,918.75

Pin GUIDE PIN 3.2MM X12" PART THD TROCAR TIP

3900855

00‐1147‐099‐01

1147‐099‐01 237.60

Pin GUIDE PIN 2.4X9" SMOOTH SHAFT TROCAR TIP

3981277

00‐1147‐091‐00

1147‐091‐00 322.20

Pin PIN THREADED 3.2X508MM

3989865

00‐2490‐047‐32 1,701.00

Pin PIN TIBIAL 5977‐056‐03

3989773

5977‐056‐03 1,386.00

Pin PIN CLAVICLE 2.5MM TAP 2129‐58‐010

3905039

2129‐58‐010 1,545.00

Plate PLATE 1.5 LRG RAPIDSORB ORBITAL FLOOR

3989699

851.542.01S 14,657.50

Plate PLATE 1.5 SML RAPIDSORB ORBITAL FLOOR

3989701

851.540.01S 13,776.00

Plate PLATE 851.690.01S 30MM

3981084

851.690‐01S

851.690.01S 15,633.75

Plate PLATE 1.5 MED RAPIDSORB ORBITAL FLOOR

3989700

851.541.01S 14,093.75

Sponge SPONGE 1952 SURGICEL 4 X 8 ABSORBABLE HE

3801230

1952

3460001952 1,055.40

Sponge SPONGE  SURGIFOAM ABS GELATIN (2CM X

3801075

1972

2300001972 114.15

Solution SOL ADHESION REDUCTION (ADEPT)

3901346

0600041 3,381.45

Solution BACTISURE WOUND LAVAGE 1 LTR BAG IRR

3801324

00‐8887‐001‐00 2,238.75

Staple STAPLE EGIA 45 EGIA45AMT

3800356‐P

EGIA45AMT

3583GIA45AMT 3,246.15

Staple STAPLE VASCULAR LINEAR 30 RELOAD

3500210‐P

TLV30

22990TLV30 5,322.95



Staple STAPLE ENDO GIA RELOAD 30‐2.5

3611696‐P

030805L

3583030805L 1,720.20

Staple STAPLE PI90‐4.8 LG SNGL USE RELOAD

3501104‐P

3930A

358303930A 2,513.40

Staple STAPLE PI 55 LARGE STAINLESS DLU

3510719‐P

3927L

358303927L 908.55

Staple STAPLE VERSATACK RELOAD 4.0

3611598‐P

174015

3583174015 2,513.10

Staple STAPLE 86803712 APPOSE SKIN 35W

0030781

8886803712

358386803712 106.65

Staple STAPLE MD PI 90 CARTRIDGE

3501183‐P

3929L

358303929L 2,567.10

Staple STAPLE 3925L PI30‐V3 VASCULAR

3500209‐P

3925L

358303925L 825.90

Staple STAPLE MULTIFIRE GIA 80‐3.8

3810315‐P

GIA8038L

3583GIA8038L 1,263.60

Staple STAPLE RELOAD FOR TLV30 30MM

3500211‐P

TRV30

22990TRV30 2,684.85

Staple STAPLE ENDO GIA RELOAD 30‐3.5

3611698‐P

030807L

3583030807L 1,720.20

Staple STAPLE MULTIFIRE RELOAD 4.8

3500215‐P

174007

3583174007 604.05

Staple STAPLE PI30 LRG STAINLESS STL DLU

3510721‐P

3924L

358303924L 825.90

Staple STAPLE PI15 VASCULAR

3813922‐P

3922L

358303922L 2,283.00

Staple CARTRIDGE STAPLE LG PI 90

3501109‐P

3930A

358303930A 2,513.40

Staple STAPLE MULTIFIRE GIA 60‐3.8

3810319‐P

GIA6038L

3583GIA6038L 864.45



Staple STAPLE EGIA 60 UNIV EGIA60AMT

3800355‐P

EGIA60AMT

3583GIA60AMT 4,057.55

Staple STAPLER RELOADABLE SINGLE USE TA30 4.8

3088240

TA3048S

3583TA3048S 4,226.41

Stapler STAPLER PTACK30 PROTACK 5MM

3900574‐P

174006

3583174006 4,027.19

Stapler ENDO GIA UNIV 30X2.5MM 030451

3901351‐P

030451

3583030451 2,455.20

Stapler STAPLER MULTIFIRE ENDO GIA 30‐2.5

3611593‐P

030811

3583030811 3,677.21

Stapler STAPLER VERSATACK 4.0MM

3500218‐P

174021

3583174021 4,323.02

Stapler STAPLER HEMORRHOIDAL PROXIMATE PPH33M

3901052‐P

PPH03

22990PPH03 7,079.54

Stapler ENDO GIA UNIV 60X2.5MM 030457

3901339‐P

030457

3583030457 3,494.70

Stapler STAPLER MULTIFIRE GIA 80

3810314‐P

GIA8038S

3583GIA8038S 2,423.70

Stapler STAPLER MULTIFIRE GIA 60‐3.8 RELOADABLE

3810320‐P

GIA6038S

3583GIA6038S 1,644.75

Stapler DEVICE ENDOSCOPIC STITCH 10MM

3800221‐P

173016

3583173016 4,317.61

Stapler ENDO GIA UNIV 60X3.5 030458

3800185‐P

030458

3583030458 3,494.70

Stapler STAPLER PURSE‐STRINGER

3810970‐P

020242

3583020242 1,254.15

Stapler STAPLER ROTICULATOR 55‐4.8

3900224‐P

017614

3583017614 3,290.85

Stapler STAPLER PREMIUM CEEA 25

3011798‐P

111985

3583111985 4,582.66



Stapler STAPLER  ROTICULATOR 55‐3.5

3900223‐P

017612

3583017612 3,290.85

Stapler STAPLER  PREMIUM CEEA 28

3510737‐P

111987

3583111987 4,662.89

Stapler STAPLER MULTIFIRE ENDO GIA 30‐3.5

3611594‐P

030813

3583030813 3,668.09

Stapler LIGATOR 6 SHOOTER MULTIBAND COLON

3800151

MBL‐6‐XL‐C

G25221 3,662.25

Stapler STAPLER  PREMIUM CEEA 31 GREEN

3510735‐P

111989

3583111989 4,662.89

Stapler DEVICE EFX001 EFX  ENDO FASCL SUB‐EFX002

3800977

EFX001

EFX001*SUB EFX002 1,725.00

Stapler STAPLER  TA PREM 55‐3.5 TITAN DLU

3000229‐P

015451L

3583015451L 908.55

Stapler SECURE STRAP 5MM FIXATION DEVICE

3988898

STRAP25

2300STRAP25 8,327.20

Stapler NOVOSTITCH 2‐0 CTX‐R001 CARTRIDGE

3989023

CTX‐R001

CTXR001 5,685.75

Stapler NOVOSTITCH CTX‐A002 DEVICE

3989069

CTX‐A002

CTX‐A003 7,110.75

Stapler STAPLER UNIV ENDO HERNIA

3800066‐P

173052

3583173052 2,370.00

Stapler STAPLER  DLU TA PREM 55‐4.8 TIT

3000228‐P

015458L

3583015458L 908.55

Stapler STAPLER RELOADABLE TA30 3.5

3088239

TA3035S

3583TA3035S 4,226.41

Stapler HANDLE EGIA USTND 12MM

3800354‐P

EGIAUSTND

3583GIAUSTND 1,954.20

Suture SUTURELASSO CURVED LEFT CORKSCREW 45"

3800146

AR‐4065‐45L 1,950.00

Suture SUTURELASSO W/#2 MONOFILAMENT 45"

3811665

AR‐4065S 1,725.00



Suture SUTURE PDS II #0 TP‐1 LOOPED Z991G

3088178‐P

Z991G

23000Z991G 283.95

Suture SUTURE POLYSORB GS‐21 V‐LOCK 0

3088197‐P

VLOCL0326

3583LOCL0326 594.15

Suture SUTURE PLAIN GUT 6‐0 SE‐140‐8

3000140‐P

G1735K

3583G1735K 321.15

Suture SUTURE STEEL 3‐0 FS‐1 MONO

3000156

631G

230000631G 68.70

Suture SUTURE SURGIGUT 7‐0 SE‐175‐8

3001150‐P

G2745K

3583G2745K 158.70

Suture SUTURE PDS II ENDOLOOP #0

3810758‐P

EZ10G

22990EZ10G 560.70

Suture SUTURE SOFSILK 4‐0 CV‐25 BLACK

3000063‐P

GS34M

35830GS34M 68.10

Suture SUTURE POLYSORB 3‐0 C‐13 SL822

3000081‐P

SL822

35830SL822 41.10

Suture SUTURE MONOSOF 2‐0 C‐15

3000133‐P

SN764

35830SN764 23.40

Suture SUTURE CHROMIC GUT 4‐0 P‐2

3000137‐P

1659G

230001659G 264.15

Suture SUTURE SOFSILK #0 C‐16

3000163‐P

SS678

35830SS678 23.40

Suture SUTURE SOFSILK 3‐0 CV‐25

3000206‐P

GS33M

35830GS33M 68.10

Suture SUTURE SOFSILK 3‐0 12X24 S244

3000209‐P

S244

358300S244 25.95

Suture SUTURE POLYSORB 4‐0 SC‐2 UNDYED

3010481‐P

SL644

35830SL644 51.15

Suture SUTURE CHROMIC GUT 4‐0 TIE

3010561‐P

G211

358300G211 34.05



Suture SUTURE SURGIPROII 4‐0 18 BLUE

3010958‐P

SP5699

3583SP5699 72.75

Suture SUTURE VICRYL 5‐0 TIE UNDYED

3901174‐P

J283G

23000J283G 111.30

Suture SUTURE CHROMIC GUT 6‐0 HE‐6

3000178‐P

G1794

3583G1794K

G1794K 191.10

Suture SUTURE VICRYL #0 MO‐5 POP‐OFF

3901038‐P

J801D

23000J801D 653.10

Suture SUTURE STEEL #4 2X18 GS‐13

3901252‐P

8886242009 101.25

Suture SUTURE MAXON #1 1X40 T60 GS‐26 GRN

3011279‐P

8886632271

358386632271 83.40

Suture SUTURE POLYSORB #1 BGS‐21

3901247‐P

CL958

35830CL958 31.35

Suture SUTURE GORTEX CV‐0 TH‐50

3901254

0U01B 342.15

Suture SUTURE TICRON #0 GS‐21 BLUE BRD

3010323‐P

8886309061

358386309061 56.85

Suture SUTURE PDS II 2‐0 STP‐10

3010975

Z997G

23000Z997G 454.20

Suture SUTURE MAXON #0 T‐25/GS‐24 GREEN

3011628‐P

8886628761

358386628761 51.30

Suture SUTURE ENDO STITCH POLYSORB #0

3901011‐P

170052

3583170052 367.35

Suture SUTURE PDS II 2‐0 UCL

3901065‐P

Z114H

23000Z114H 92.55

Suture SUTURE PLAIN GUT 3‐0 KS 27"

3901133‐P

665H

230000665H 84.00

Suture SUTURE PLAIN GUT 3‐0 V‐20

3000069‐P

GG322

35830GG322 32.70

Suture SUTURE POLYSORB #1 GS‐21 CL813

3000080‐P

CL813

35830CL813 33.60



Suture SUTURE POLYSORB 5‐0 P‐13

3000089‐P

SL5687

3583SL5687 46.95

Suture SUTURE POLYSORB #1 60 VIOL STDLTH TIE

3000092‐P

L115

358300L115 49.65

Suture SUTURE CHROMIC GUT #1 GS‐22

3000095‐P

CG885

35830CG885 33.00

Suture SUTURE SOFSILK 4‐0 V‐20

3000101‐P

GS831

35830GS831 20.70

Suture SUTURE SOFSILK 2‐0 V‐20 GS833

3000103‐P

GS833

35830GS833 18.90

Suture SUTURE UMBILICAL TAPE

3000129‐P

U10T

230000U10T 61.50

Suture SUTURE CHROMIC 4‐0 P‐13 SG5644

3000132‐P

SG5644

3583SG5644 59.40

Suture SUTURE MONOSOF 4‐0 C‐13 SN662

3000136‐P

SN662

35830SN662 23.40

Suture SUTURE PROLENE 4‐0 PS‐2

3000191‐P

8682H

230008682H 279.75

Suture SUTURE CHROMIC #0 GS‐22 CG884

3000502‐P

CG884

35830CG884 33.15

Suture SUTURE PLAIN GUT 5‐0 PC‐1

3010545‐P

1916G

230001916G

1915G

230001915G 330.00

Suture SUTURE TICRON #2 KV‐37

3900762‐P

8886314783

358386314783 271.65

Suture SUTURE PDS II 3‐0 RB‐1

3901140‐P

Y377H

23000Y377H 108.45

Suture SUTURE POLYSORB 2‐0 GS‐22 CL883

3000198‐P

CL833

35830CL883

CL883 34.35

Suture SUTURE SURGIPRO 7‐0 CV‐1

3901173‐P

VP72X 126.00



Suture SUTURE MAXON 2‐0 GS‐21 GREEN

3901239‐P

8886626951

358386626951 39.30

Suture SUTURE GORTEX 2‐0 THX‐26

3000301

2N05A 124.95

Suture SUTURE TIGERSTICK #2 TIGERWIRE 50"

3901349

AR‐7209T 150.00

Suture ANCHOR ROC W/SUTURE 3.5

3800425

251401 7,098.00

Suture SUTURE ENDO STITCH  SOFSLK 0

3800619‐P

170003

3583170003 367.35

Suture SUTURE CAPIO VICRYL #0 TC

3901170

833‐213 487.50

Suture SUTURELASSO CURVED RIGHT CORKSCREW 45"

3800147

AR‐4065‐45R 1,950.00

Suture SUTURELASSO  BANANA  AR‐4065B

3900134

AR‐4065B 1,875.00

Suture SUTURE VICRYL 2‐0 SH POP‐OFF

3901031‐P

J775D

23000J775D 463.95

Suture SUTURE MAXON #0 GS‐22 GREEN

3000056‐P

8886624561

358386624561 37.80

Suture SUTURE POLYSORB #0 GS‐22 VIOLET

3000075‐P

CL884

35830CL884 35.25

Suture SUTURE MONOCRYL 4‐0 SH UNDYED

3010330‐P

Y415H

23000Y415H 67.95

Suture SUTURE CTD VICRYL #1 MO‐5 POP‐OFF

3901258‐P

JJ80G

23000JJ80G 554.25

Suture SUTURE POLYSORB #0 GU‐46 UL877

3000028‐P

UL877

35830UL877 36.90

Suture SUTURE POLYSORB 2‐0  C‐23 U/D

3000036‐P

SL612

35830SL612 38.55

Suture SUTURE POLYSORB 3‐0 SC‐2 UNDYED

3000093‐P

SL643

35830SL643 46.65

Suture SUTURE SURGIDAC 4‐0 SS‐2

3000124‐P

D1779K

3583D1779K 187.65



Suture SUTURE SURGILON #1 GS‐21

3000150‐P

8886197171

358386197171 24.15

Suture SUTURE SOFSILK 3‐0 C‐14 BLK

3000164‐P

SS684

35830SS684 23.40

Suture SUTURE SURGIPRO 2‐0 V‐20 VP523

3000185‐P

VP523

35830VP523 86.85

Suture SUTURE POLYSORB 2‐0 30 GS‐27

3000265‐P

CL53

358300CL53 51.60

Suture SUTURE POLYSORB 4‐0 U/D C‐13 SL691

3010366‐P

SL691

35830SL691 37.50

Suture SUTURE POLYSORB 2‐0 V‐20 GL123

3010367‐P

GL123

35830GL123 27.30

Suture SUTURE POLYSORB #1 GS‐25

3010548

CL905

35830CL905 48.45

Suture SUTURE CHROMIC GUT 2‐0 GU‐46

3011563‐P

UG778

35830UG778 38.85

Suture SUTURE VICRYL 3‐0 SH POP‐OFF

3901030‐P

J864D

23000J864D 484.35

Suture SUTURE POLYSORB #1 GS‐25

3900794‐P

CL64M

35830CL64M 178.50

Suture SUTURE MAXON 4‐0 C‐13 GREEN

3011626

8886663931

358386663931 42.15

Suture SUTURE PLAIN GUT 2‐0 GS‐24

3901064‐P

CG853

35830CG853 19.95

Suture SUTURELASSO SD TIGHT CURVED LEFT 25"

3901348

AR‐4068‐25TLF 2,670.00

Suture SUTURE SHUTTLE CONCEPT

3800465

C6004 510.00

Suture SUTURE BIOSYN 4‐0 P‐13

3010328‐P

SM5690

3583SM5690 54.90

Suture SUTURE TEVDEK #0 TIE GREEN BRAID

3000058

7925 84.30



Suture SUTURE TICRON #1 GS‐21

3000505‐P

8886309071

358386309071 33.30

Suture SUTURELASSO W/#2 MONOFILAMENT 90"

3010335

AR‐4065‐90S 1,725.00

Suture SUTURELASSO SD TIGHT CURVED RIGHT 25"

3901347

AR‐4068‐25TRF 2,670.00

Suture SUTURE PROLENE #0 36 V‐7 8978H

3901372‐P

8978H

230008978H 353.40

Suture SUTURE FIBERWIRE #2 T‐5 AR‐7200

3088162

AR‐7200 330.00

Suture SUTURE SURGIPRO 5‐0 PC‐13

3000029‐P

SP1618

3583SP1618 72.75

Suture SUTURE POLYSORB 3‐0 C‐14

3000083‐P

SL693

35830SL693 37.35

Suture SUTURE POLYSORB 4‐0 18" P‐13 U/D

3000087‐P

SL5690

3583SL5690 46.80

Suture SUTURE MONOSOF 6‐1 18 BLACK P‐10

3088185

SN3697

3583SN3697 53.70

Suture SUTURE POLYSORB O GS‐21 B=‐LOC

3088200‐P

LOCL0316

3583LOCL0316 365.10

Suture SUTURE POLYSORB O GS‐21 V‐LOC

3088201‐P

VLOCL0326

3583LOCL0326 437.40

Suture SUTURE POLYSORB 2‐0 27 CV‐23 VIOLT

3088205‐P

UL205

35830UL205 37.50

Suture SUTURE VLOC 180 0 GS‐21 12" GRN  (0316)

3088196‐P

VLOCL0316

3583LOCL0316 538.65

Suture SUTURE MONOSOF 8‐0 MV‐135‐5

3000086‐P

N2547

35830N2547 164.55

Suture SUTURE POLYSORB 5‐0 SS‐14

3000094‐P

L1792K

3583L1792K 156.30

Suture SUTURE POLYSORB 6‐0 SS‐14

3012222‐P

L1791K

3583L1791K 109.50



Suture SUTURE TICRON #0 30" GS‐22 BLU

3901058‐P

8886309361

358386309361 57.00

Suture SUTURE CHROMIC GUT 2‐0 TIE

3010560‐P

G213

358300G213 31.65

Suture SUTURE ETHILON 6‐0 P‐1 BLK MONO

3000031‐P

697G

230000697G 52.65

Suture SUTURE MONOSOF #2 GS‐18

3000039‐P

CN490

35830CN490 54.00

Suture SUTURE PLAIN GUT 5‐0 P‐3 18"

3000048‐P

686G

230000686G 255.30

Suture SUTURE POLYSORB 2‐0 GS‐21 CL811

3000078‐P

CL811

35830CL811 28.80

Suture SUTURE SOFSILK 4‐0 CV‐23

3000100‐P

VS871

35830VS871 21.75

Suture SUTURE MERSILENE #5 CTX

3000113‐P

RS22

230000RS22 1,300.35

Suture SUTURE CHROMIC 4‐0 CV‐23 UG203

3000130‐P

UG203

35830UG203 29.10

Suture SUTURE MONOSOF 3‐0 SC‐2

3000155‐P

SN627

35830SN627 22.50

Suture SUTURE CHROMIC GUT 4‐0 C‐13

3000157‐P

SG635

35830SG635 32.70

Suture SUTURE SOFSILK 5‐0 C‐13 SS682

3000165‐P

SS682

35830SS682 22.20

Suture SUTURE SURGIPRO 3‐0 C‐14 BLUE

3000192‐P

SP684

35830SP684 31.50

Suture SUTURE POLYSOB #0 GS‐21 (CL812)

3000264‐P

CL812

35830CL812 31.05

Suture SUTURE MONOSOF 3‐0 30 BLK C‐17

3000522‐P

SN673

35830SN673 23.85



Suture SUTURE SOFSILK #1 V‐20

3011419‐P

GS835

35830GS835 18.90

Suture SUTURE PDS 2‐0 SH VIL MONO 27"

3011634‐P

Z317H

23000Z317H 122.25

Suture SUTURE MONOCRYL 2‐0 UR‐6 VIL

3901022‐P

Y605H

23000Y605H 108.00

Suture SUTURE BIOSYN 2‐0  C‐14 SM823

3901121‐P

SM823

35830SM823 45.45

Suture SUTURE CHROMIC GUT #1 GS‐21

3901063‐P

CG813

35830CG813 21.90

Suture SUTURE POLYSORB 8‐0 SE‐160‐8

3901141‐P

L2574K

3583L2574K 313.80

Suture SUTURE POLYSORB 3‐0 (CL922) GS‐21 VIOLET

3000024‐P

CL922

35830CL922 29.10

Suture BASKET 1.9FR NITINOL STONE RETRV ESCAPE

3000331

M0063902010 5,543.25

Suture SUTURE V‐LOC 90 3‐0 V‐20 6" VLT (0604)

3000172‐P

VLOCM0604

3583LOCM0604 375.15

Suture SUTURE BONE WAX BW25G

3000220‐P

BW25G

35830BW25G 128.70

Suture SUTURE 0 CETERIX

3201032

CTX‐S002‐38 600.00

Suture CLOSURE DEVICE RSG‐14F‐WG

3988881

RSG‐14F‐4‐WG

RSG‐14F 478.50

Suture SUTURE #2 26MM 1/2 TAPER BRAID WHITE

3989348

20055 233.70

Suture SUTURE SOFSILK 2‐0 TIES 24" S185

3000020‐P

S185

358300S185 21.15

Suture BASKET 1.3FR OPTIFLEX STONE RETREVAL

3000332

390‐301 3,382.50

Suture SUTURE CHROMIC GUT 2/0 36 GS‐24

3000219‐P

CG913

35830CG913 36.00

Suture SUTURE V‐LOC 90 2‐0 GS‐21

3000121‐C

VLOCM0315

3583LOCM0315 391.65



Suture SUTURE  VLOC 90 2‐0 GS22 9" VLT (2145)

3000223‐P

VLOCM2145

3583LOCM2145 375.15

Suture EXPRESSBRAID  SINGLE WHITE

3989053

110003540 750.00

Suture SUTURE MONOSOF 4‐0 BLK 18" P‐12

3088228‐P

SN5667G

3583SN5667G 45.75

Suture SUTURE SURGIPRO 2‐0 C‐15 BLUE

3088233‐P

SP868

35830SP868 33.30

Suture SUTURE SURGIPRO 3‐0 P‐12 BLUE

3088234‐P

SP5687

3583SP5687 58.05

Suture SUTURE NON‐ ABS0 BL18GS‐22

3000272‐P

VLOCN1126

3583LOCN1126 594.15

Suture SUTURE NUROLON 1 CR/CT‐1 8‐18 BLK

3000274‐P

C520D

23000C520D 547.95

Suture SUTURE SURGIDAC ENDO STITCH 0

3000162‐P

173024

3583173024 367.35

Suture SUTURE POLYSORB 0 VIOLET 18"

3000035‐P

CL10MG

3583CL10MG 98.70

Suture SUTURE POLYSORB #1 VIOLET 30" GU‐46

3000214‐P

UL876

35830UL876 39.90

Suture SUTURE VLOC 90 2‐0  6" GS‐22 VLT (2105)

3000120‐P

VLOCM2105

3583LOCM2105 375.15

Suture SUTURE SURGIPRO 1 40 GS‐24 BLUE

3000115‐P

CP535

35830CP535 35.70

Suture SUTURE SOFSILK 5‐0 BLK 18" P‐13

3000226

SS5640

3583SS5640 45.75

Suture SUTURE POLYSORB 2‐0 GS‐22 CL833

3088227‐P

CL830

35830CL830 30.90

Suture SUTURE TICRON 5‐0 CV‐331

3010581‐P

8886327121

358386327121 66.15

Suture SUTURE PLAIN GUT 5/0 18" P‐13

3011566‐P

SG5686

3583SG5686 65.85



Suture SUTURE POLYSORB #1 GS‐22 CL885

3000076‐P

CL885

35830CL885 36.75

Suture SUTURE MONOSOF 7‐0 P‐16 BLK

3000033‐P

SN1647

3583SN1647 58.35

Suture SUTURE CHROMIC 3‐0 V‐20 GG122

3000066‐P

GG122

35830GG122 29.25

Suture SUTURE POLYSORB 4‐0 CVF‐23 UL203

3000073‐P

UL203

35830UL203 39.30

Suture SUTURE CTD VICRYL 3‐0 VIL BR SH 27

3000074‐P

J316H

23000J316H 73.95

Suture SUTURE POLYSORB 4‐0 C‐14 UNDYED

3000082‐P

SL692

35830SL692 40.95

Suture SUTURE CTD VICRYL 3‐0 SUTUPAK

3000097‐P

J910T

23000J910T 324.75

Suture SUTURE PLAIN GUT #1 TIE STDLTH

3000123‐P

G205

358300G205 31.65

Suture SUTURE MONOSOF 5‐0 C‐13 BLK

3000138‐P

SN661

35830SN661 23.40

Suture SUTURE CHROMIC GUT #0 BP‐27

3000148‐P

CG47

358300CG47 108.45

Suture SUTURE SURGIPRO 3‐0 V‐20

3000184‐P

VP522X

3583VP522X 75.30

Suture SUTURE POLYSORB 2‐0 30 VIOL PRECUT TIE

3000205‐P

L403

358300L403 63.90

Suture SUTURE SOFSILK 4‐0 24 BLK PRECUT TIE

3000208‐P

S243

358300S243 25.35

Suture SUTURE SOFSILK 2‐0 TIE 12X24 BLK PRECUT

3000210‐P

S‐245

358300S245

S245 25.50

Suture SUTURE SOFSILK #1 TIE BLK PRE‐CUT

3000212‐P

S317

358300S317 31.65



Suture SUTURE CHROMIC GUT #0 GS‐21

3000501‐P

CG812

35830CG812 32.25

Suture SUTURE VICRYL 3‐0 CT‐1 VIL BR

3000540‐P

J344H

23000J344H 69.00

Suture SUTURE POLYSORB 2‐0 TIE 24" L33

3001358‐P

L33

3583000L33 131.85

Suture SUTURE POLYSORB 4‐0 TIE

3011573‐P

L1

35830000L1 113.85

Suture SUTURE SOFSILK #0 24 BLK PRECUT

3000211‐P

S246

358300S246 17.55

Suture SUTURE TICRON ON V‐20 2‐0

3000225‐P

8886325151

358386325151 72.75

Suture SUTURE POLYSORB 3‐0 CV‐23 UL215

3000042‐P

UL215

35830UL215 36.30

Suture SUTURE MONOSOFT 10‐0 8 BK D/A

3000091‐P

N2721K

3583N2721K 397.95

Suture SUTURE #2 FIBERLOOP W/STRAIGHT 20" NDLE

3300406

AR‐7234 750.00

Suture SUTURE SOFSILK 2‐0 CV23 VS873

3000216‐P

VS873

35830VS873 21.75

Suture SUTURE POLYSORB 3‐0 V‐20 GL122 UNDYED

3000207‐P

GL122

35830GL122 27.30

Suture SUTURE SURGIPRO 6/0 2 18"  P‐13

3000336‐P

SP5695G

3583SP5695G 58.05

Suture SUTURE TIGERWIRE #2 WHITE/BLACK 38"

3989199

AR‐7203 345.00

Suture SUTURE MAX BRAID PE #2 C7 900335

3989354

900335 285.00

Suture SUTURE POLYSORB #0 60 STDLTH VIO

3000151‐P

L114

358300L114 34.66

Suture SUTURE SURGIPRO #0 GS‐24

3001060‐P

CP434

35830CP434 28.80



Suture SUTURE TICRON #2 GS‐21 BLUE BRD

3010382

8886314681

358386314681 54.60

Suture SUTURE PLAIN GUT 6‐0 HE‐1

3011564‐P

G1770K

3583G1770K 109.80

Suture SUTURE ETHIBOND 0 MH

3900791‐P

X844H

23000X844H 239.40

Suture SUTURE MONOSOF 4‐0 BLACK 18" P‐13

3000027‐P

SN5699

3583SN5699 45.90

Suture SUTURE ETHIBOND 4‐0 TF (X204)

3000059‐P

X204H

23000X204H 311.40

Suture SUTURE PLAIN GUT 4‐0 C‐13

3000071‐P

SG821

35830SG821 34.20

Suture SUTURE POLYSORB #0 18 VIOL PRECUT TIES

3000099‐P

L14

3583000L14 104.70

Suture SUTURE MONOSOF 4‐0 C‐16

3000139‐P

SN670

35830SN670 23.85

Suture SUTURE CHROMIC GUT 2‐0 GS‐21

3000166‐P

CG811

35830CG811 29.10

Suture SUTURE PROLENE #0 XLH

3000183‐P

3844G

230003844G 378.45

Suture SUTURE SURGIPRO 4‐0 CV‐23

3000186‐P

VP557X

3583VP557X 76.95

Suture SUTURE SURGIPRO #1 GS‐26

3000197‐P

CP824

35830CP824 108.00

Suture SUTURE POLYSORB 2‐0 GU‐46

3000204‐P

UL878

35830UL878 36.15

Suture SUTURE CHROMIC GUT 2‐0 V‐20

3000503‐P

GG123

35830GG123 29.10

Suture SUTURE MONOSOF 6‐0 P‐13 BLACK

3000532‐P

SN5696

3583SN5696 56.70



Suture SUTURE POLYSORB 6‐0 P‐13

3001115‐P

SL5688

3583SL5688 47.10

Suture SUTURE SILK 2‐0 RB‐1

3010364‐P

K873H

23000K873H 71.55

Suture SUTURE PDS #1 CT VIL MONO 36"

3010539‐P

Z359T

23000Z359T 144.00

Suture SUTURE CHROMIC GUT #0 TIE

3010556‐P

G214

358300G214 730.80

Suture SUTURE PLAIN GUT 3‐0 C‐13

3010574‐P

SG822

35830SG822 34.20

Suture SUTURE MONOSOF 6‐0 P‐10

3010611‐P

SN3697

3583SN3697 45.90

Suture SUTURE SURGIPRO 4‐0 SC‐2

3000189‐P

SP621

35830SP621 30.45

Suture SUTURE BIOSYN 3‐0  SM5638 P‐12 U/D

3901122‐P

SM5638

3583SM5638 54.90

Suture SUTURE ENDOSTITCH SOFSILK #0 ES‐9

3901009‐P

170003

3583170003 367.35

Suture SUTURE ENDO STITCH SOFSILK 2‐0

3901010‐P

170004

3583170004 367.35

Suture SUTURE STEEL #2 2X18 GS‐13 REV CUT

3901189

8886242083 106.95

Suture SUTURE SURGIDAC ENDO 7 SULU

3000167‐P

173026

3583173026 367.35

Suture SUTURE TICRON 2 BLUE 36T‐12

3000096‐P

8886314681

358386314681 54.60

Suture SUTURE TICRON 2‐0 BLUE 30

3000108‐P

8886294753

358386294753 217.80

Suture SUTURE MONOCRYL 2.0 PLUS CT‐1

3000112‐P

MCP945H

2300MCP945H 127.95

Suture SUTURE POLYSORB 3‐0 18 PRECUT U/D (L‐2)

3000506‐P

L2

35830000L2 111.30



Suture SUTURE MAXON #0 GREEN T‐12/ GS‐21

3088222‐P

8886626761

358386626761 39.30

Suture SUTURE POLYSORB 3‐0 30" P‐12 UND

3088224‐P

SL5638

3583SL5638 46.95

Suture SUTURE POLYSORB 2‐0 GS‐22`

3088230‐P

CL16MG

3583CL16MG 113.55

Suture SUTURE MONOSOF 4‐0 C‐14

3088232‐P

SN658

35830SN658 24.75

Suture SUTURE FIBERWIRE #2 DOUBLE STRAND

3000045

AR‐7201 525.00

Suture SUTURE CAPIO POLYESTER #0 TC43

3010576

833‐113 487.50

Suture SUTURE SURGILON 2‐0 GS‐23 NYL BR

3000064

8886199352

358386199352 79.50

Suture SUTURE SOFSILK 6‐0 P‐10

3010321‐P

SS1639G

3583SS1639G 141.60

Suture SUTURE ENDOSTITCH POLYSORB 4‐0 ES

3901013‐P

17096

0570170096 316.35

Suture SUTURE PDS II 4‐0 RB‐1 VIL MONCRYL

3901231‐P

Z304H

23000Z304H 77.55

Suture SUTURE ETHIBOND EXTRA 2‐0 27" STP‐10 NDL

3000077‐P

X997G

23000X997G 730.35

Suture SUTURE SOFSILK #0 V‐20 BLK

3000104‐P

GS834

35830GS834 18.90

Suture SUTURE TICRON #5 KV‐37

3000107‐P

8886314789

358386314789 270.90

Suture SUTURE MONOSF 5‐0 P‐13 SN5698G

3000169‐P

SN5698G

3583SN5698G 45.75

Suture SUTURE SURGIPRO 6‐0 CV‐22

3000195‐P

VP733X

3583VP733X 74.55

Suture SUTURE CHROMIC GUT #1 GS‐24

3000202‐P

CG915

35830CG915 36.60



Suture SUTURE SURGIPRO 2‐0 GS‐21

3010575‐P

VCP423H

2300VCP423H 121.35

Suture SUTURE TICRON  2‐0  GS‐22 886309351

3901076‐P

8886309351

358386309351 56.85

Suture SUTURE STEEL #5 BGS‐29

3901253

8886249589 415.05

Suture SUTURE POLYSORB 3‐0 30 GS‐21 UNDYD

3000024

CL842

35830CL842 27.90

Suture SUTURE V‐LOC 90 3‐0 VIOLET 9" V‐20 NDL

3000171‐P

VLOCM0644

3583LOCM0644 513.00

Suture HEMOSTAT SURGICEL NU‐KNIT 3"X4"

3000269

NDC63713‐0019‐43

2300001943 1,276.35

Suture SUTURE VLOC 90 2‐0 GS22 9" UNDYED (2245)

3000224‐P

VLOCM2245

3583LOCM2245 375.15

Suture SUTURE POLYSORB #0 GS‐22 CL831

3088223‐P

CL831

35830CL831 36.00

Suture SUTURE #5 FIBRWIRE BLU CUT NDLE 48MMX38"

3989198

AR‐7211 600.00

Suture SUTURE SURGIGUT 4‐0 V‐20

3000068‐P

GG321

35830GG321 32.25

Suture SUTURE SOFSILK 4‐0 HE‐3

3000175‐P

S1783K

3583S1783K 82.50

Suture SUTURE MONOSOF 9‐0 MV135‐5 BLACK

3010547‐P

N2548

35830N2548 163.80

Suture SUTURE MONOCRYL 4‐0 PS‐2 UND MONO

3901196‐P

Y426H

23000Y426H 249.60

Suture SUTURE CTD VICRYL 2‐0 VIL LIGAPAK

3901228‐P

J206G

23000J206G 71.40

Suture SUTURE ETHIBOND #2 OS‐4 30" EXTRA

3901242‐P

X519H

23000X519H 106.20

Suture SUTURE ENDOSTITCH POLYSORB 2‐0 ES

3901012‐P

170053

3583170053 367.35



Suture SUTURE BIOSYN 5‐0 P‐13

3000025‐P

SM5687

3583SM5687 54.90

Suture SUTURE NUROLON #0 MO‐7

3000040‐P

C541D

23000C541D 612.15

Suture SUTURE CHROMIC GUT 4‐0 V‐20 GG121

3000065‐P

GG121

35830GG121 34.35

Suture SUTURE POLYSORB #1 TIES18" L15

3000072‐P

L15

3583000L15 117.30

Suture SUTURE STEEL 2‐0 CTX 8‐24"

3000109‐P

M414G

23000M414G 503.40

Suture SUTURE MONOSOF 4‐0 SC‐2

3000154‐P

SN626

35830SN626 22.50

Suture SUTURE MONOSOF 3‐0 C‐14

3000161‐P

SN663

35830SN663 23.40

Suture SUTURE SOFSILK 2‐0 C‐15 SS685

3000168‐P

SS685

35830SS685 23.40

Suture SUTURE SOFSILK 4‐0 C‐13 SS683

3001064‐P

SS683

35830SS683 18.30

Suture SUTURE MERSILENE 4‐0 P‐3

3011572‐P

R691G

23000R691G 167.25

Suture SUTURE VICRYL #0 EN‐S

3011653‐P

D7857

22970D7857

23000D7857 703.50

Suture SUTURE SURGIPRO 5‐0 CV‐22

3000194‐P

VP710X

3583VP710X 74.70

Suture SUTURE TICRON 3‐0 CV‐331

3000267‐P

8886327141

358386327141 67.05

Suture SUTURE POLYSORB 2‐0 C‐23

3901138‐P

SL612

35830SL612 38.40

Suture SUTURE PROLENE 4‐0 PS‐2 MONO 18"

3000144

8682G

230008682G 279.90



Suture SUTURE BIOSYN 5/0 C‐13 UNDYED

3000038

SM690

35830SM690 42.30

Suture SUTURE SOFSILK 6‐0 BLK P‐10

3000057‐P

SS5639

3583SS5639 50.10

Suture SUTURE CHROMIC GUT 1 30 GS‐21

3000055‐P

CG813

35830CG813 33.30

Suture SUTURE POLYSORB 3‐0 V‐20 GL322

3000016‐P

GL322

35830GL322

35830GL122

GL122 27.30

Suture SUTURE SOFSILK 6‐0 18 BLK SS‐14

3000201‐P

S1780K

3583S1780K 280.80

Suture SUTURE BIOSYN 4‐0 P‐12 SM5637

3000203‐P

SM5637

3583SM5637 54.90

Suture SUTURE SURGIPRO 4‐0 P‐12 SP5682G

3000334‐P

SP5682G

3583SP5682G 58.05

Suture SUTURE POLYSORB 3‐0 POP OFF 18" VLT V20

3000534‐P

GL63MG

3583GL63MG 114.75

Suture SUTURE MAXON SZ 01 1X36" GRN T‐25 GS‐24

3000432‐P

8886628771

358386628771 41.25

Suture FIBERLINK #2 FIBERWIRE CLOSED LP 26" BLU

3989197

AR‐7235 68.70

Suture Q‐FIX ANCHOR 25‐1800 1.8MM

3981251

25‐1800 9,800.00

Suture SUTURE VLOC 180 0/0 GR 9 GS‐21

3000017‐P

VLOCLO346

3583LOCL346

VLOCL0346

3583LOCL0346 513.00

Suture SUTURE POLYSORB 2‐0 30 V‐20 U/D

3000018‐P

GL323

35830GL323 29.10

Suture SUTURE CHROMIC GUT 5/0 18" P‐13

3000213

SG5687

3583SG5687 59.25

Suture SUTURE POLYSORB 4‐0 30 P‐12 SL5637

3088225‐P

SL5637

3583SL5637 52.05



Suture SUTURE 2‐0 VIO ORTHOCORD D/ARM ND 228144

3989384

228144 2,025.00

Suture SUTURE SUPRAMID 4‐0

3989490

SN‐LCW‐40‐W 202.50

Suture SUTURE NEEDLE MAYO 1/2 CIRCLE CATGUT #6

3981032

216706

0506216706 70.95

Suture SUTURE ANCHOR 5.5MM W/ #2 FORCE FIBER

3901644

3910‐200‐082 4,275.00

Suture SUTURE #2 26MM 1/2 TAPER BRAID WHT BLK

3989347

20054 235.95

Suture SUTURE INFINITY LOOP BRAID #2 60MM NDL

3989349

20056 612.00

Suture SUTURE NON‐ABS DVC 1BL GS‐21

3000275‐P

VLOCN0327

3583LOCN0327 594.15

Suture SUTURE VICRYL 3‐0 UND BR SUTUPK

3000227‐P

J110T

23000J110T 355.65

Suture SUT SHUTL 7210423  ACCUPASS LT 45 DEG

3981176

7210423 1,965.60

Suture SUTURE ANCH 2.5X7MM MORPHIX FOOT/ANKLE

3981364

1000‐04‐125 9,450.00

Suture SUTURE VLOC 180 SZ 0 GRN GS21

3000231‐P

VLOCL0306

3583LOCL0306 513.00

Suture SUTURE FIBERWIRE 3‐0 BLU 26.2M 3/8CX18"

3989776

AR‐7225 330.00

Suture SUTURE NUROLON 1 BLK BR CT‐1 30"

3000273‐P

5425H

230005425H 76.95

Suture ABSORBATACK 5MM SHRT 20 TKS

3000509

ABSTACK20S 5,244.14

Suture SUTURE ANCHOR MULTIFIX 5.5M KNOTLESS

3900864

72290001 6,768.75

Suture SUTURE FORCE FIBER #2 WH/GRN

3981414

CAT01585 296.85

Suture SUTURE CHROMIC GUT 3‐0 18 PRE‐CUT

3000289‐P

G82

3583000G82 35.25

Suture SUTURE BIOSYN 4‐0 27 CV‐23 UNDYED

3000288‐P

UM214

35830UM214 39.30

Suture SUTURE SURGILON #0 BLK 5X18 T‐12/GS‐21

3011655‐P

8886196262

358386196262 104.55



Suture SUTURE SURGIPRO 2/0 BLU 30" GS‐21

3000290‐P

CP423

35830CP423 28.80

Suture SUTURE ANCH BIO‐COMP S‐TAK 3X12.7MM

3901733

AR‐1938BC 1,275.00

Suture SUTURE SURGILON #0 GS‐21 1971‐61

3011654‐P

8886197161

358386197161 21.30

Suture ANCHOR CINCHLOCK SS KNOTLESS

3901720

CAT02462 5,913.75

Suture SUTURE SHUTTLE  BRAID NITINOL

3981111

110007380 900.00

Suture SUTURE  ZIPLINE #2 WH/BLK

3981413

CAT01586 291.00

Suture SUTURE POLYSORB 0 POP OFF HGS‐21

3001164

CL200M

3583CL200M 127.20

Suture SUTURE POLYSORB 5‐0 C‐13 UNDYED

3010554‐P

SL690

35830SL690 41.55

Suture SUTURE SOFSILK 4‐0 BLK 18 C‐13

3000193

SS683G

3583SS683G 21.75

Suture SUTURE TICRON 3‐0 CV‐23 X1135

3000281‐P

X1135

35830X1135 463.20

Suture SUTURE POLYSORB 2/0 30 U/D PRECUT

3000287

L43

3583000L43 120.30

Suture SUTURE TICRON #0 18" GS‐22 BLUE

3000284‐P

8886337962

358386337962 151.95

Suture SUTURE SOFSILK 6‐0 BLK 18" P‐13

3000270

SS5649G

3583SS5649G 48.45

Suture SUTURE BIOSYN 3/0 UD 18" P‐12

3000278‐P

SM5628

3583SM5628 54.90

Suture SUTURE MONOSOF 4‐0 BLK C‐13

3000280‐P

SN644

35830SN644 22.35

Suture SUTURE ETHILON 7‐0 BLK MONO P‐1 18"

3000285‐P

1696G

230001696G 194.25

Suture SUTURE POLYSORB 4‐0 30 VIO C‐13

3000282‐P

SL635

35830SL635 40.20



Suture SUTURE SURGIPRO 4‐0 18" BLUE P‐13

3000279‐P

SP5699G

3583SP5699G 76.65

Suture SUTURE CHROMIC GUT 5‐0 PS‐3 18"

3000010

1636G

230001636G 269.40

Suture SUTURE PROLENE 5‐0/FS‐2 MONO 18"

3000016

8661G

230008661G 120.60

Suture SUTURE CTD VICRYL 5‐0 UND BR FS‐2

3000134

J421H

23000J421H 97.20

Suture SUTURE SURGIPRO 6‐0 18" P‐13

3000535

SP5695G

3583SP5695G 77.10

Suture SUTURE MONOSOF 2‐0 30 BLK C‐17

3000283‐P

SN674

35830SN674 23.40

Suture SUTURE TAPE XBRAID 2.0MM

3981206

3910‐900‐018 1,350.00

Suture SUTURE POLYSORB 2/0 36 GS‐25 U/D

3000009‐P

CL973

35830CL973 37.50

Suture SUTURE POLYSORB 4‐0 27 CVF‐23 UNDYED

3000012‐P

UL214

35830UL214 45.45

Suture SUTURE SOFSILK 4‐0 18 BLACK P‐13

3000023

SS5641

3583SS5641 50.55

Suture SUTURE CHROMIC GUT 0 18 PRECUT

3000023‐P

G14

3583000G14 68.10

Suture SUTURE SHUTTLE MONOFILAMENT

3902003

110007379 1,050.00

Suture SUTURE CHROMIC 3‐0 GS‐21

3000043‐P

CG922

35830CG922 35.85

Suture SUTURE POLYSORB 1 30 GS‐25 VIOLET

3000010‐P

CL865

35830CL865 38.40

Suture SUTURE POLYSORB 1 U/D GS‐21 18"

3000038‐P

CL15MG

3583CL15MG 98.70

Suture SUTURE POLYSORB 0 36 VIOLET GS‐25

3000218‐P

CL904

35830CL904 39.90



Suture SUTURE POLYSORB  #0 30" GS‐21 UNDYED

3000044‐P

CL844

35830CL844 31.50

Suture SUTURE POLYSORB #0 VIOLET GS‐22 18"

3000014‐P

CL17MG

3583CL17MG 97.95

Suture SUTURE SOFSILK 3‐0 BLK V‐20

3000045‐P

GS63M

35830GS63M 79.95

Suture SUTURE POLYSORB 1 18 VIOLET GS‐25

3000015‐P

CL31MG

3583CL31MG 98.70

Suture SUTURE PLAIN GUT 1 30 GS‐24

3000041‐P

CG855

35830CG855 39.75

Suture SUTURE MONOSOF 3/0 BLACK 18" P‐12 NDL

3088202‐P

SN5669

3583SN5669 45.90

Suture BB‐TAK THREADED LARGE

3901820

AR‐8970‐09T 2,250.00

Suture FIXATION SYSTEM FAST TOUCH 25 SUTURES

3088235

FTP25 4,574.25

Suture SUTURE FORCE FIBER #2 38" HC‐5 WH/BLU

3011656

3910‐900‐020 418.65

Suture SUTURETAPE W/TAILS WHT/BLUE 1.3MM

3901921

AR‐7500 525.00

Suture SUTURE #2 FIBERSTICK #2 FIBERWIRE

3901942

AR‐7209 150.00

Suture SUTURE STRATAFIX 2‐0 SH SXMP1B409

3001059

SXMP1B409

2300XMP1B409 515.40

Suture SUTURE ANCHOR 2.3MM W/#2 FORCE FIBER

3901982

3910‐500‐922 1,500.00

Suture SUTURE VICRYL 3‐0 27" PLUS SH

3000013‐P

VCP416H

2300VCP416H 84.60

Suture SUTURE POLYSORB 0 60 U/D STDLTH

3000222‐P

L104

358300L104 36.90

Suture SUTURE SOFSILK 2‐0 18 BLK

3000022‐P

GS62M

35830GS62M 79.95

Suture SUTURE CHROMIC GUT 2/0 18 PRECUT

3000030‐P

G13

3583000G13 141.60



Suture SUTURE SURGIPRO 5/0 18" P‐12 BLU

3000335‐P

SP5686G

3583SP5686G 58.05

Suture SPLIT STITCH #2

3902282

VAL0220SS 525.00

Suture FORCE BRAID SUTURE LOOP

3902392

VAL0236GL 525.00

Suture FIBERLINK #0 BLUE

3993773

AR‐7258 975.00

Suture SUTURE BUTTON

3993774

AR‐8922 1,500.00

Suture SUTURE PDS 0 CTX 36"

3001400

Z370T

23000Z370T 128.70

Suture SUTURE TICRON 1 KV‐30

3902904

88863117‐71

358386311771 59.40

Suture SUTURE VLOC 180 2‐0 V‐20 18" GRN (0625)

3902903

VLOCL0625

3583LOCL0625 375.15

Suture CHAMPION SLINGSHOT 45 DEG

3902907

CAT02855 4,275.00

Suture SUTURE MAXON 3‐0 V‐20

3001401

8886623341

358386623341 42.60

Suture SUTURE VLOC 0 GS‐22 12" GRN (2216)

3991000

VLOCL2216

LOCL2216

3583LOCL2216 411.30

Suture NICELOOP SZ 5 WHITE/GREEN

3902745

SMSL50301 1,425.00

Suture NICELOOP SZ 5 GREEN

3902701

SMSL50101 1,425.00

Suture NICELOOP SZ 5 WHITE

3902740

SMSL50201 1,425.00

Suture SUTURE VLOC 180 0 GS‐25 24" GRN (0436)

3904436

VLOCL0436

3583LOCL0436 391.65

Suture SUTURE 5‐0 SURGIPRO P‐13 SP5698G

3001403

SP5698G

3583SP5698G 58.05

Suture SUTURE V‐LOC 3‐0 V‐20 (9")

3088255

VLOCL0644

3583LOCL0644 375.15

Suture SUTURE V‐LOC 180ABS CLOS 3‐0 V‐20 (6")

3088256

VLOCL0604

3583LOCL0604 375.15



Suture SUTURE CAPROSYN 4‐0 P‐12 SC5637G

3904703

SC5637G

3583SC5637G 54.90

Tubing PEG 20FR PUSH W / XYLOCAINE

3901322

M00566471 1,326.60

Tubing TUBE BRONCHO LEFT CATH 37FR

3800210

125037

3583125037 1,086.45

Tubing TUBE BRONCHO LEFT CATH 39FR

3800006

125039

3583125039 1,086.45

Tubing TUBE 0046140 14 FR NASOGASTRIC SUMP W/ A

0021452

0046140

06200046140 53.85

Tubing TUBE 0046180 18 FR NASOGASTRIC SUMP W/AN

0021470

0046180

06200046180 53.85

Tubing CANNULA INNER SHILEY 8.0 XLT TUBE

3800195

80XLTIN

358380XLTIN 77.40

Tubing BUTTON 28FR 4.3 CM GASTRO TUBE

3810463

000263 4,446.00

Tubing TUBE #10 TRACH LOW PRESSURE

0017840

10LPC

3583010LPC 907.80

Tubing TUBE TRACH ARMOURED 8.5 CUFFED

3801039

43154‐085 199.50

Tubing SET MPIS‐501‐PED INTRODUCE MICROPUNCTR

3901003

MPIS‐501‐PED‐SST 555.75

Tubing TUBE BRONCHO LEFT CATH 41 FR

3800012

125041

3583125041 1,086.45

Tubing TUBE TRACH NCC MICRO MLT  6.0MM

3800430

86389

3583086389 142.65

Tubing TUBE BRONCHO LEFT CATH 35FR

3800011

125035

3583125035 953.55

Tubing TUBE 10‐26020 DONALDSON ACTIVENT

3800432

10‐26020 303.00

Tubing INLET CLOSURE KIT PORT CLOSURE SYSTEM

3000001

CTI‐1012P 1,890.00

Tubing TUBE MINNESOTA 4LUMN 18FR ESOPHAGEAL

3800392

0092220 6,765.90

Tubing TUBE 0046120 12 FR NASOGASTRIC SUMP W/ A

0021443

0046120

06200046120 54.15



Tubing SET LARGE BORE Y IRRIGATION LATEX F

0018091

6599‐0101

32180659901 146.25

Tubing TUBE 0046160 16 FR NASOGASTRIC SUMP W/AN

0021461

0046160

06200046160 53.85

Tubing TUBE FEEDING ENFIT 5 FR 40CM PURPLE

0092553

PFTS5.0S‐NC

4696PFTS50SN 227.55

Tubing TUBE FEEDING ENFIT 8 FR 40CM PURPLE

0092552

PFTS8.0S‐NC

4696FTS80SNC 227.55

Tubing CP TUBE 0046120 12 FR NASOGAST SUMP W/ A

0021443LUM

0046140

06200046120

0046120 53.85

Tubing CP TUBE 0046140 14 FR NASOGAST SUMP W/ A

0021452LUM

0046140

06200046140 53.85

Tubing TUBE TRACH 6DCT CUFFED

3903218

6DCT

3583006DCT 676.35

Tray TRAY PERCUTANEOUS SHEATH INTROD

0027850

I550BF85 879.15

Tray TRAY SPINAL ANESTHESIA PENCAN 25

0021032

333851

3584333851 181.80

Tray KIT PRESSURE 20CM INJECT MULTI‐LUMEN

0031440

CDC‐45703X‐P1A

CDC‐45703‐XP1A 1,827.75

Tray KIT 20FR ARTERIAL LINE

0027851

498106

0422498106 323.40

Tray TRAY 332079 CONT EPIDURAL ANESTHESIA

0024690

332079

3584332079 335.55

Tray TRAY 4 FR SINGLE LUMEN BASIC

0031414

9617405 1,750.95

Tray TRAY URINE METER DRAIN BAG W/O

0021124

153214A‐

UROLOGICAL

0620153214A 113.70

Tray TRAY URINE METER 16FR

0021119

A303416A‐

UROLOGICAL

0620A303416A

A303416A 318.30



Tray TRAY 333197 COMBIND SPINAL/EPIDURAL ANES

0024691

333197

3584333197 411.00

Tray TRAY 4 FR SL 3CG POWER PICC

0031449

CK000589A‐

CUSTOM

CK000589A 3,453.00

Tray TRAY ADD‐A‐FOLEY W/LATEX

0021149

899100‐

UROLOGICAL

0620899100 96.60

Tray TRAY URETHRAL W/14FR CATHETER LAT

0021158

771114‐

UROLOGICAL

0620771114 31.35

Tray TRAY CDC‐46702‐XP1A CVC 2 LUMEN 7FR

3989147

CDC‐46702‐XP1A 1,761.30

Tray TRAY 5FR TL HF 3CG POWER PICC

0031451

CK000591‐CUSTOM

CK000591

CK000591A‐

CUSTOM

CK000591A 3,964.35

Tray TRAY 5 FR DL 3CG POWER PICC

0031450

CK000590‐CUSTOM

CK000590A 3,643.50

Tray TRAY CENTERED REVERSED (+) 12

3993620

DWF502 12,600.00

Tray TRAY HEYMAN SYST UROLOGISTS 16FR CATH

3800655

123400 3,356.85

Tray TRAY MIDLINE 4FR SINGLE LM MAX

0031431

P4154108D 1,995.00

Tray TRAY LOW OFFSET REVERSED (+) 12

3993623

DWF512 12,600.00

Tray TRAY CENTERED REVERSED (+) 6

3993619

DWF501 12,600.00

Tray TRAY VANGUARD TIBIA  71MM

3981015

141213 17,875.00

Tray TRAY HIGH OFFSET REVERSED (+) 6

3993625

DWF521 18,903.50

Tray CP TRAY URINE METER 16FR

0021119LUM

A303416A

0620A303416A 318.30

Wire WIRE .035 J 260CM EXCHANGE HEART

3810063

404577 172.50



Wire WIRE .035 ST 260CM AMPLATZ SUPER

3900749

M001465261

46‐526 435.00

Wire WIRE 50110 .035 J 145CM WHOLEY

3900756

WWIJ35145 1,290.00

Wire WIRE .025 J 150CM SWAN

3810107

404568 112.50

Wire WIRE  .035 ST 260CM EXCHANGE GUIDE

3900755

404844 172.50

Wire WIRE .035 ST 150CM STRAIGHT

3900765

404840 105.00

Wire WIRE D97‐120‐F5 5FR ANTICUB PACING

0027859

D97‐120‐F5 2,400.00

Wire WIRE D97‐130‐F5 5FR FEMORAL PACNG

0027860

D97‐130‐F5 2,400.00

Wire GLIDEWIRE STRAIGHT .025

3801085

M00146126B1 936.60

Wire WIRE 35 X 145CM AMPLATZ XTRA STIF

3900004

G03095 387.45

Wire GUIDEWIRE .035 X 150CM FLOPY TIP QUATTRO

3800920

50BX 835.95

Wire WIRE GS3503 .035 180CM SUPER STIFF TERUM

4511501

GS3503 726.75

Wire GUIDEWIRE  XTRA STIFF

3989065

THSF‐35‐145‐AES 387.45

Wire WIRE GR3501 .035 ST 150CM TERUMO (GLIDEW

4511538

GR3501 636.00

Wire WIRE RH2715 ARCH BARS

3800984

RH2715 549.00

Wire WIRE GR3506 .035 J 150CM TERUMO (GLIDEWI

4511502

GR3506 2,298.75

Wire WIRE KIRSCHNER 1210‐6450S

3600725‐C

1210‐6450S 2,595.00

Wire GUIDEWIRE BABY‐J 1.5MM .035 X 180CM

3899722

GR3525 317.25

Wire KWIRE DIAM .062X3"

3904272

AR‐2663 300.00

Wire CLEANGUIDE SPRING TIP GUIDWIRE

3801803

DIS150 900.00

Wire SNARE CAPTIFLEX STANDARD OVAL

0030158

M00562402 313.65

Stent PACKING MEROCEL SINUSTENT

3800428

470530 247.50

Sheath SHEATH URETERAL ACCESS 11/13FR 28CM

3088192

M0062502011 1,513.95

Sheath INTRODUCER SET MPIS‐401‐PED MICROPUNCTUR

3901004

MPIS‐401‐PED 555.75



Sheath SET HLS1010 SAFETY SHEATH

3800630

HLS‐1010 825.00

Sheath GLIDESHEATH RADIAL 6 FR

3801119

RM*AF6D10HAU

30‐1060 1,191.00

Sheath SHEATH 12‐14FR URETERAL ACCESS

3000147

B7076 1,275.00

Sheath SHEATH 1912019 ENDO SCRUB 4MM 25 DEG ANG

3800614

1912019 825.00

Sheath INTRODUCER 4F ULTIMUM 12CM

3810101

407840 135.00

Sheath INTRODUCER  CHOLANGIOCATH

3900217

PI‐128 675.00

Sheath SHEATH INTRODUCER 504‐604P BRACHIAL 4FR

3810002

504‐604P

504604P 510.00

Sheath INTRODUCER  4FR ULTIMUM 23CM

3810074

407851 174.45

Sheath INTRODUCER 6FR ULTIMUM 12CM

3810076

407844 135.00

Sheath INTRODUCER  7FR ULTIMUM 12CM

3810091

407847 135.00

Sheath SHEATH URETERAL ACCESS 11/13FR 46CM

3088194

M0062502040 1,890.90

Sheath SHEATH ES0150A FOR AEM LAP INSTR

3830952

ES0150A 281.25

Sheath INTRODUCER  5FR ULTIMUM 12CM

3810075

407842 135.00

Sheath INTRODUCER  6FR ULTIMUM 23CM

3810103

407855 174.45

Sheath INTRODUCER 11CM 8FR PRELUD

3800187

PSI‐8F‐11‐038 124.65

Sheath GLIDESHEATH RADIAL 5 FR

3801120

RM*AF5D10HAU

30‐1050 1,191.00

Sheath INTRODUCER 4F REG. MICRO STICK

3890543

MR190421 270.00

Sheath INTRODUCER 54‐64501 6FR DESTINATION 45CM

3810851

54‐64501 1,290.00

Sheath SHEATH 30FRX17CM CLR  AMPLATZ RADIOPAQUE

3800766

CAS‐300017 758.85

Sheath INTRODUCER FEMORAL 6FR AVANTI+

0034982

504‐606X

504606X 119.25

Sheath INTRODUCER 4 FR 11 CM  AVANTI+

0034981

504‐604X

504604X 119.25



Sheath SHEATH URETERAL ACCESS 12/14F X 36CM

3801298

M0062502250 1,821.60

Sheath SHEATH URETERAL ACCESS 12/14FR X 28CM

3801299

M0062502240 1,821.60

Sheath CATHETER 7F 110CM SWAN‐GANZ THERMODILUTI

3800261

C146F7 6,412.50

Sheath SHEATH 1912008 END SCRUB 4MM 0 DEG ANGL

3800613

1912008 984.00

Sheath GLIDESHEATH RADIAL 6FR LNG 30‐2560

3801122

30‐2560 1,191.00

Sheath GLIDESHEATH RADIAL 5FR LNG 30‐2550

3801121

RM*AF5D25HAU

30‐2550 1,191.00

Sheath GLIDESHEATH 5FR SS ACCESS METHOD

3899248

20‐1050 870.00

Sheath SHEATH 4MM 0 DEG ENDO SCRUB STRYKER

3801227

1912040 984.00

Sheath CATHETER FAST HEMO INTRODUCER SET 12FR

3411788

406128 285.00

Sheath KIT MICROPUNCTURE ACCESS 5FR

3899734

G43869 600.00

Guidewire GUIDEWIRE ST JAGWIRE .025/450

3801041

M00556561 1,671.45

Guidewire GUIDEWIRE EMERALD 150CM X 3MM .0

3901118

502521 113.25

Guidewire GUIDEWIRE EXTENDER  JAGTAIL .035/200

3901146

M00556902 1,497.00

Guidewire GUIDEWIRE  PATHFINDER .018

3901215

5159 1,790.85

Guidewire GUIDEWIRE .035 J 150CM 3MM

3810083

404570 112.50

Guidewire GUIDEWIRE 3.0 X 800MM BALL TIP  STERILE

3600726‐C

1806‐0080S 3,600.00

Guidewire GUIDEWIRE PTFE COAT MOVEABLE CORE

3801086

29 507.00

Guidewire GUIDEWIRE 3.0 X 1000MM BALL TIP STERIL

3600727‐C

1806‐0085S 3,790.50

Guidewire GUIDEWIRE 3MM X 100CM  TEARDROP

3200128‐C

47‐2490‐097‐00

281001100

2810‐01‐100 1,905.00

Guidewire GUIDEWIRE ST JAGWIRE EXTENDABLE .035/260

3901137

M00556841 2,242.50

Guidewire GUIDEWIRE .025 X 260CM X SWAN EXCHANGE J

3800821

502452 566.25

Guidewire GUIDEWIRE HYDROPHILIC

3088172

46‐161B 302.40



Guidewire GUIDEWIRE ST JAGWIRE .035/450

3801044

M00556581 1,695.15

Guidewire GLIDEWIRE ANGLED .038

3801084

M00146161B1 645.60

Guidewire GUIDEWIRE ST DREAMWIRE .035/450

3800056

M00556141 3,205.35

Guidewire GUIDEWIRE MOVABLE CORE .035 STRA

3800656

M0066703051

620‐130 72.00

Guidewire GUIDEWIRE SENSOR .035 ANGLED

3811101

M0066703061 614.70

Guidewire GUIDEWIRE SENSOR .035 STRAIGHT

3811102

M0066703061

M006670305

M0066703051 614.70

Guidewire GUIDEWIRE GLIDER STRAIGHT TIP

3800921

35BX 622.80

Guidewire GUIDEWIRE .028X145CM

3801081

628403 78.75

Guidewire GUIDEWIRE ST DREAMWIRE .035/260

3800333

M00556101 3,205.35

Guidewire PINNING SYSTEM ATTUNE

3989170

2544‐00‐111 3,742.50

Guidewire GUIDEWIRE 0.035 X 150CM E‐Z GLIDER

3800922

36BX 622.80

Guidewire GUIDEWIRE .032 X 145CM

3801082

632413 87.75

Guidewire GUIDEWIRE 035 X 145CM

3801083

635413 121.80

Guidewire GUIDEWIRE 0.035"X150CM SUREGLIDE

3801067

36 1,350.00

Guidewire GUIDEWIRE MOVABLE CORE .035 "J" T

3800636

M0066201300

620121 435.00

Guidewire GUIDEWIRE JAGWIRE .025/260 STRAIGHT

3801012

M00556461 2,088.45

Guidewire GUIDEWIRE .035/0.89 STRAIGHT

3800990

M00556221 1,552.95

Guidewire GUIDEWIRE 18 X 260 CM ROADRUNNER

3801339

RR‐18‐260‐A

G23039 2,475.00

Guidewire GUIDEWIRE 35" X 260CM ACROBAT 2

3801340

AWG2‐35‐260‐A

G47615 337.50



Guidewire GUIDEWIRE SAVORY DISPOSABLE

3810713

SGW‐200‐SD

G22139

SGW‐200‐SD‐D

G57280 2,070.00

Guidewire GUIDEWIRE SMOOTH 2.4MM DIA X 100CM

3902022

47‐2237‐033‐00 1,323.00

Guidewire GUIDEWIRE BALL TIP 2.4MM X 70CM STERILE

3901972

47‐2255‐008‐00 1,611.00

Guidewire PLATE TACK PL‐PTACK

3993768

PL‐PTACK 705.00

Guidewire GUIDEWIRE CARDIOMEM

8600194

CM2010 5,343.75

Guidewire GUIDEWIRE MED CPS COURIER STRAIGHT

8600196

DS2G002 1,500.00

Guidewire GUIDEWIRE STEELCORE .018 5CM TIP HI‐TORQ

3993804

1003282

00131003282

00241003282 1,531.80

Guidewire 2.2MMX 28IN GUIDE WIRE

3903172

8092‐22‐028 1,905.00

Closure DeSHEET 2030040R SILASTIC REINFORCED

3010603

20‐30040R 4,275.00

Closure DeSHEET 2030005 SILASTIC NON/REINFRCD

3010604

20‐30005 2,400.00

Closure DeCLOSURE 1/4 X 4 STERI STRIP SKIN

0020658

5156

45090R1546

R1546 17.00

Closure DeCLOSURE  0.8G SKIN ADH LIQUIBAND

0020687

LBF001

1314LBF001MC

LBX001

1314LBX001MC

LBX001MC 234.45

Closure DeMESH PARIETEX 15CM X 15CM TET1515

3901374

TET1515 3,111.45

Closure DeCLOSURE 1/2 X 4 STERI STRIP SKIN

0020667

R1547

45090R1547 17.00

Closure DeCLOSURE STERI STRIP 1" X 5"

3800207

R1548

45090R1548 25.65

Closure DeCP CLOSURE  0.8G SKIN ADH LIQUIBAND

0020687LUM

LBX001MC

1314LBX001MC 234.45



Closure DeCP CLOSURE 1/2 X 4 STERI STRIP SKIN

0020667LUM

R1547

45090R1547 17.00

Closure DeCP CLOSURE 1/4 X 4 STERI STRIP SKIN

0020658LUM

R1546

45090R1546 17.00

Drain/WickVALVE CHEST DRAIN G36370

0020603

373460

0723373460

G36370 825.00

Drain/WickCONTAINER DRY SEAL CHEST DRAIN

0020846

4000‐100N 680.85

Other LIGATOR SUPERVIEW 7 BAND‐LATEX FREE

3800169

M00542251 4,469.51

Other GLIDEWIRE 5192 ANGLED .035 100CM

3811522

5192 1,350.00

Other AUTOTOME RX 39 / 20 MM

3800165

M00545190 3,209.40

Other DEVICE ROTH NET RETRIEVAL 2.5 X230CM

3800021

00711050 1,410.00

Other TISSEEL 10ML

3811494

1501238 7,637.00

Other BASKET 2.4FX120CM NITINOL RETRIEVAL ZERO

3800629

M0063901010 2,835.00

Other AVITENE 1010150 ENDO 10

3801103

1010150 1,471.50

Other POUCH 250‐30 ENDO BAG 3 X 6

3810927‐P

25030

3583025030 329.40

Other DERMACARRIER 16" 00‐7716‐000‐10

3211753

7716‐000‐10

00‐7716‐000‐10 796.50

Other BASKET SEGURA RETRIEVAL 3FX90CM

3001404

M0063801120 2,804.40

Other BASKET 1088 2.5 TRAPEZOID

3900772

M00510880 4,680.27

Other KIT 6300 LARYNG‐O‐JET LIDOCAINE HYDROCHL

0031316

6300

4594990 322.95

Other BAND CB‐8514B COMFORT BAND

3893459

CB‐8514B 270.00

Other BOOT 371XS TRACTION X‐SMALL

3200503

371XS 465.00

Other SUPPORTER 202460 SMALL ADULT 26" TO 32"

0025305

202460

4509202460 91.50



Other SHOE 79‐81137 LARGE MENS POST OP

0027045

79‐81137

52557981137 53.70

Other BULB FLAT DRAIN TRCAR FULL PERF 20CMX10M

3893448

072440

06200072440 261.60

Other BULB FLAT DRAIN TRCAR FULL PERF 20CMX7MM

3893450

0072430

06200072430 261.60

Other SHOE 79‐81145 MEDIUM WOMENS POST OP

0027018

79‐81145

52557981145 53.70

Other SLING ULTRA II MEDIUM 11‐0449‐3‐06000

3200628

11‐0449‐3‐06000 904.50

Other TISSEEL 4ML

3811493

1501237 3,304.50

Other CAPIO SUTURE CAPTURING DEVICE

3800024

831‐125 5,664.38

Other BOOT 371M TRACTION MEDIUM

3200504

371M 750.00

Other KIT CTI‐512N INLET CLOSURE

3900589

CTI‐512N 1,854.00

Other IMMOBILIZER 79‐80020 20" UNIVERSAL KNEE

0026073

79‐80020

52557980020 202.35

Other TORQUE DEVICE

3810066

405099 75.00

Other TUNNELER 9009.20 SHEATH AV LG/ORANGE

3800616

9009‐20 482.70

Other DERMACARRIER 8" 00‐7708‐000‐10

3211752

7708‐000‐10

00‐7708‐000‐10 541.50

Other SLING 79‐84005  MEDIUM ARM W/SHOULDER PD

0025813

79‐84005

52557984005 37.35

Other SPHINCTERTOME‐DREAMTOME 30

3800738

M00584050 7,071.71

Other GELPORT HAND ACCESS SYSTEM

3800054

C8XX2 8,050.00

Other CATHETER  AXXCESS 6F X 70CM URETERAL

3801292

M0064001161 207.00

Other BUTTON 18FR. 3.4CM GASTRO TUBE

3800299

000284 4,446.00

Other STIMULATOR  NERVE NEURO‐PULSE

3801180

0003 586.35

Other SHUNT 007714 CAROTID BYPASS

3801004

007714 1,380.90



Other KIT KYPAK EXP TRY 15/2 FF W/EOIS

3893454

KPE1003 53,975.00

Other BULB FLAT DRAIN TRCAR 3/4 PERF 20CMX10MM

3893453

0072370

06200072370 211.05

Other PORT FILSHIE 40811R LAP 8MM

3801024

40810

40811R 1,416.30

Other BOOT 371S TRACTION SMALL

3200579

371S 750.00

Other BRUSH 4MM CYTOLOGY

3811615

7550 141.00

Other PEG 24FR PUSH W / XYLOCAINE

3901321

M00566491 1,326.60

Other BASKET OPTIFLEX NITINOL RETR 1.3F X120CM

3088191

M0063903010 3,314.85

Other POST OP NATURA 2PC W/ACCUTAP 1  1/2 IN

3801019

416938

1638416938 60.15

Other CATHETER 8817748001 36CM PERMCATH DUAL L

0031404

8817748001

358317748001 3,284.70

Other SLING ULTRA II LARGE 11‐0449‐4‐06000

3200219

11‐0449‐4‐06000 904.50

Other SLING 11‐0449‐2‐06000 ULTRA II SMALL

3200629

11‐0449‐2‐06000 904.50

Other SUPPORTER 202636 LARGE ADULT 39" TO 44"

0025323

202636

4509202636 92.25

Other IMMOBILIZER 79‐80030 24" UNIVERSAL KNEE

0026082

79‐80030

52557980030 215.70

Other KNEE DISP TRNSTIBIAL ACL W/SAW BLADE KIT

3211932‐C

AR‐1897S 3,375.00

Other PTFE PEEL APART 8FR INTRDCR FOR GROSHONG

3901236

0607780 1,350.00

Other ULTRATOME TRIPLE LUMEN XL

3800610

3590 2,655.00

Other MORCELLATOR MX0100 HANDPIECE

3901025

MX0100

MX0200 10,037.44

Other KIT AVANTI + 6 FR TRANSRADIAL

3800236

504‐616Z

504616Z 375.00



Other SLEEVE MED VP501MG CALF  SCD COMPRESS

0025330

VP501MG

1586VP501MG

6996VP501MG 151.50

Other BASKET 1087 2.0 TRAPEZOID

3900774

M00510870 4,680.27

Other AVITENE 1010090 SHEET 70 X 35

3801104

1010090 2,101.50

Other SLEEVE LRG VP501LG CALF  SCD COMPRESS

0025331

VP501LG

1586VP501LG

6996VP501LG 166.80

Other CATHETER 8817749001 40CM PERMCATH

0031405

8817749001

358317749001 3,255.15

Other PORT THORACOPORT 10.5MM TROCAR

3800040‐P

179301

3583179301 1,119.60

Other PAIN PUMP MC0020MSK2‐CP ACCUFUSER

3893499

C0020MSK2‐CP

MC0020MSK2‐CP 1,500.00

Other KIT UROMAX 30FR X 4CM

3893613

M0062251050 3,435.45

Other FIBERTAPE END TAPER TO #2 FIBERWR 2MM 7"

3800764

AR‐7237‐7 750.00

Other STOCKING KNEE HI REG SMALL

3989521

453‐01

0153045301 34.80

Other SLEEVE XL CALF BARIATRIC SCD GREEN

3800312

VP501BG

1586VP501BG

6996VP501BG 283.65

Other DILATOR S CURVE URETERAL

3800663

G32789 2,921.25

Other BOOT LARGE TRACTION

3200480

00‐2753‐013‐00 294.15

Other PREVENA PEEL AND PLACE SYSTEM 13CM

3989111

PRE1101US 7,053.75

Other FEMORAL NAIL 36CM

3989215

47‐2491‐360‐09 20,790.00

Other BASKET MB5‐2X4‐8 MEMORY 8 WIRE 2 X 4

3801383

MB5‐2X4‐8

G21538 4,873.50

Other BASKET TWISTER 32 MM

3800176

6143 1,485.00

Other SNARE EXACTO COLD 2.4MM

3800627

00711115 375.00



Other GENESYS HTA PROCERVA

3987701

M006580230

M006580210 23,150.19

Other DEVICE FOL0100 FOLEY CATH SECUREMENT

0031433

FOL0100

0620FOL0100 45.15

Other BRUSH 3FR 115CM CYTOLOGY

3801066

CYB‐3 2,288.55

Other EZ‐IO 9079 45ML BARIATRIC VASCU ACCESS

3300399

9079

9079‐VC‐005 2,049.00

Other BASKET  25 MM TWISTER

3800175

6142 1,125.60

Other SNARE TRAXTION HEXAGONAL

3800366

00711113 525.00

Other BOOT SMALL TRACTION

3200478

00‐2753‐011‐00 294.15

Other DILATOR SET  RENAL AMPLATZ

3800981

075000 3,241.95

Other PREVENA PEEL AND PLACE SYSTEM 20CM

3989110

PRE1001US 7,053.75

Other POWERPORT ISP MRI DEVICE 6FR CATH

3801108

1806060 4,132.50

Other JUGGERKNOT DISP KIT  2.9MM

3988832

912057 3,442.50

Other PLEUREX PERITONEAL CATHETER KIT

3981192

50‐9000B 1,500.00

Other EZ‐IO 9001 25ML REG ADLT VASC ACCESS

3300413

9001

9001‐VC‐005 2,049.00

Other AUTOTOME RX 39 / 30 MM

3800332

M00545200 3,880.85

Other EZ‐IO 9018 15ML PEDIATRIC VASCU ACCESS

3300403

9018

9018‐VC‐005 1,971.00

Other BOOT MEDIUM TRACTION

3200479

00‐2753‐012‐00 294.15

Other BOOT X‐ LRG TRACTION

3200481

00‐2573‐014‐00 294.15

Other CONNECTOR SUTURELESS PUMP

3901161

8578 2,250.00

Other SNARE 20MM MED ROTATABLE STIFF

3800890

M00561831 271.95

Other SPINCTERTOME SYSTEM DASH‐480

3801380

DASH‐480 2,902.50

Other INSTRUMENT DISPOSAL FOR MINI SUTURE TAK

3989788

AR‐1322DSC 2,625.00



Other KIT QUICK TRACH CIRCOTHYROTOMY

3981059

120900040 2,137.35

Other SUT SHUTL 7210424 ACCUPASS RT 45 DEG

3981177

7210424 1,965.60

Other SEAL INTELIJECT FLUID

3981244

72200027 324.45

Other STOCKING KNEE HI MED  X‐LIGHT

3989526

458‐02

0153045802 38.70

Other KIT GASTROSTOMY MIC‐KEY 18FR

3800892

0120‐18‐2.5

364201201825 1,610.40

Other SENSOR STRAIGHT TIP NITNOL 0.035"X150CM

3800899

M0066703050

M0066703051 1,161.00

Other CANNULA  11X120MM END DELIVERY

3989263

307.034 7,210.00

Other STOCKING KNEE HI REG MEDIUM

3989522

453‐02

0153045302 38.70

Other STOCKING KNEE HI LRG LNG X‐LIGHT

3989527

458‐03

0153045803 38.70

Other ULTRASLING III 11‐0449‐5  BLK XL ARM

3900796

11‐0449‐5

52551104495 752.55

Other LOCK‐STITCH PROCEDURE KIT NDL SZ2 SUT

3901538

CM‐9500 4,168.13

Other INBONE BONE REMOVAL SCREW

3901495

IB200051 3,000.00

Other NASAL SNARE WIRES CUT

3801188

443500 17.00

Other SLINGSHOT 70 DEGREE UP CHAMPION

3901592

CAT02862 4,275.00

Other ANCHOR XBRAID TT 1.2MM

3901550

3910‐900‐017 1,350.00

Other SHOULDER KIT  Q‐FIX 2.8MM IMPLNT 25‐2810

3981268

25‐2810 8,400.00

Other STOCKING KNEE HI REG  X‐LRG

3989525

453‐04

0153045304 34.65

Other STOCKING KNEE HI  X‐LG LNG X‐LGHT

3989532

458‐04

0153045804 38.70

Other AQUAPLAST T A96250 NASAL SPLINT

3901192

1675

A96250 107.55



Other STOCKING KNEE HI REG LARGE

3989523

453‐03

0153045303 38.70

Other KIT 50‐9900 PLEURX PERITONEAL CATHETER

6900032

50‐9900 11,872.00

Other KIT 50‐7700 PLEURAL CATH START  1000 ML

3800394

50‐7700 11,872.00

Other ORTHOCORD BLUE WO NDL 36IN 223111

3989296

223111

2129223111 733.35

Other DASH SPHINCTORTOME

3801341

DASH .021

G26850 2,880.00

Other CATHETER THORACIC 14020 20 FR X 20" SILC

0023904

14020 147.75

Other SHOE POST OP LG SQUARE TOE

3901769

79‐81237 144.15

Other PORTAL ENTRY CAT00241 KIT

3981195

CAT00241 4,638.52

Other IMMOBILIZER / SLING W/WEB STRP SM SHLDER

3901763

502233 111.60

Other STABLE SLING MD

3901766

502054 864.45

Other IMMOBILIZER 24" UNIVERSAL KNEE

3901762

505117 325.05

Other IMMOBILIZER / SLING W/WEB STRP LG SHLDER

3901765

502235 111.60

Other SHOE POST OP SM SQUARE TOE

3901770

79‐81233 144.15

Other CATH SUPRAPUBIC DRAINAGE

3411781

G55824 691.20

Other STABLE SLING LG

3901767

502055 864.45

Other SHOE POST OP MD SQUARE TOE

3901768

79‐81235 144.15

Other SHOE 79‐81135 MED  MEN POST OP

0027036

79‐81135

52557981135 53.70

Other SHOE 79‐81147 LARGE WOMENS POST OP BLK

0027027

79‐81147

52557981147 53.70

Other BRACE BRC3001 AIR ANKLE UNIVERSAL 10"

0027243

BRC3001

1314BRC3001 200.70

Other SHOE 79‐81143 SMALL WOMENS POST OP

0027009

79‐81143

52557981143 53.70



Other SLING 79‐84008 X‐LRG ARM W/SHOULDER PAD

0025815

79‐84008

52557984008 37.35

Other SLING 79‐84007 LRG ARM W/SHOULDER PAD

0025814

79‐84007

52557984007 37.35

Other BASKET 1089 3.0 TRAPEZOID

3800747

M00510890 4,680.27

Other ENTELLUS ENT DILATION LP 7X20MM

3901873

LPLF‐107 27,156.25

Other KIT ICY CATH START UP CG500

3400077

8700‐0784‐01 2,727.45

Other CATHETER PERMCATH 45CM

3902289

8831693001 4,040.59

Other ORTHALIGN PLUS

3902330

403001 11,186.00

Other ENDOMARK 10ML STERILE

3801601

P500 656.10

Other SUPPORTER 202549 MED ADULT 33" TO 38" WA

0025314

202549

4509202549 91.50

Other SLING 79‐84003 SMALL ARM W/SHOULDER PAD

0025804

79‐84003

52557984003 37.35

Other CONTROLLER FOR NEUROSTIMULATOR PUMP

3899296

97745 29,700.00

Other AUTOTOME RX 44 / 20 MM

3800166

M00545170 3,975.75

Other KIT CDSB‐10 COLON DECOMP BRODMERKEL

3810317

CDSB‐10

G22218 2,475.00

Other DILATOR FASCIAL 8FX20CM

3899300

M001481540 82.80

Other DILATOR FASCIAL 10FX20CM

3899299

M001482500 83.40

Other KIT PLATELET BONE MARROW NEEDLE

3993837

800‐0611A 30,375.00

Other BAG SPEC RETRIEVAL 5MM CD003

3902570

CD003 600.00

Other SNARE OLYMPUS SD‐230U‐20

3902689

SD‐230U‐20 136.65

Other PERSONAL THERAPY MANAGER

3902850

TH90T01 16,431.25

Other INFLATION DEVICE OLYMPUS MAJ‐1740

3809458

MAJ‐1740 525.00

Other TUBE G ENFIT FEEDING 16FR

3902507

8100‐16LV 461.70



Other 3.2MMX9IN GUIDE PIN

3903147

1147‐093‐00 2,685.00

Other INTRODUCER 5FR ULTIMUM 23CM

3899236

407853 348.75

Other CP SLEEVE LRG VP501LG CALF  SCD COMPRESS

0025331LUM

VP501LG

6996VP501LG 166.95

Other CP SLEEVE MED VP501MG CALF  SCD COMPRESS

0025330LUM

VP501MG

6996VP501MG 151.50

Other THUNDERBEAT 5MM 35CM TB‐0535FCS

3904026

TB‐0535FCS 6,270.00

Other THNUDERBEAT 5MM 20CM TB‐0520FCS

3904027

TB‐0520FCS 6,270.00

Other TRANSDUCER THUNDERBEAT TD‐TB400

3904024

TD‐TB400 29,700.00

Other ACCESSORY KIT 8785 ASCENDA

3904268

8785 3,000.00

Other KIT NERVEANA ENDOTRACH 6MM W/STIM

3802006

NVTKIT‐C6‐5 4,346.25

Other KIT NERVEANA ENDOTRACH 8MM W/STIM

3802008

NVTKIT‐C8‐5 4,346.25

Other PROBE TAPERED NERVEANA I‐D‐TTP90‐5 90MM

3802010

I‐D‐TTP90‐5 1,275.00

Other KIT NERVEANA FACIAL NVFKIT‐NP

3802009

NVFKIT‐NP‐5 1,890.00

Other KIT NERVEANA ENDOTRACH 7MM W/STIM

3802007

AVTKIT‐C7‐5

NVTKIT‐C7‐5 4,346.25

Other CATHETER DRAINAGE PLEURX CHEST W/ 500ML

3899770

50‐7500B 885.00

Other VIPER IMPLANT SYSTEM CPR AR‐8692DS

3904393

AR‐8692DS 15,056.25

Other PROBE LOCALIZER SET 09‐0006

4555251

09‐0006 3,904.50

Other K‐WIRE SHORE 2.0MM ADAPTER 110017641

3904481

110017641 1,980.00

Other DRIVER T‐15 110017562

3904532

110017562 6,270.00

Other CANNULA 6DIC SHILEY #6 INNER

0017806

6DIC‐SHILEY

3583006DIC 56.25

Other K‐WIRE .045X6 DBL TRO 6PK 164206045

3905052

164206045 915.00

Other SNARE CAPTIFLEX MICRO OVAL

0030156

M00562422 313.65



Other BRUSH RX BILIARY CYTOLOGY

3800739

M00545000 1,820.70


